








TECHNICAL
DOCUMENTATION

Production Site
Sustainability

Certifications and Declarations
International Standards
Insulation Classification
Degree of Protection
Vibration/Balancing
Environmental Conditions
Electrical Connections
Voltage & Frequency
Tolerances

Mounting Arrangements
Bearings

Lubrication

Painting

Feet

Terminal Box
Drain/Condensation Holes
Motor Identification Symbols
Permissible Radial Loads
Permissible Axial Loads
Duty-Type

Induction Motors Fed by Inverter
Efficiency

- f —
o . " —
== e —
b

I\

THREE PHASE
ALUMINIUM MOTORS

Electrical Characteristics IE4

Dimensions IE4 28
Electrical Characteristics IE3 36
Dimensions IE3 42
Electrical Characteristics N Series 60
Dimensions N Series 61
Electrical Characteristics IE2 66
Dimensions IE2 67

THREE PHASE
CAST IRON MOTORS

Electrical Characteristics IE3
Dimensions IE3 75

SMOKE EXTRACTION
MOTORS

F300 Series Electrical Characteristics

F300 Series Dimensions 88
F400 Series Electrical Characteristics 9l
F400 Series Dimensions 95




Dimensions

Brake Kit
Brake Kit Nomenclature

Brake Kit Dimensions m ﬂ@ @

MOTOR PARTS LIST
SINGLE PHASE

Technical Documentation ﬂﬂ ID
EEEEEE ical Characteristics (QM Series) 7
Dimensions [QM Series) 8

MANAGEMENT OF WASTE
MOTORS AND PARTS

A (A~




PRODUCTION SITE

WAT Motor Sanayi ve Ticaret A.S. performs manufacturing operations at its factory in Cerkezkoy, Tekirdag. WAT
Motor Sanayi ve Ticaret A.S. manufactures various kinds of three phase and single phase motors with up to date
technology in a closed area of 20.000m?.

With o team of engineers. expert on electrical motors. the plant provides the users with necessary technical
consultancy services. and offers a product range including three-phase asynchronous motors in 40.000 different
versions and single-phase asynchronous motors in 500 different versions.

With the purpose of launching products beyond customer expectations. new technologies are closely followed and
adapted in the plant. To convey product design into the production lines more quickly computer assisted production
technology and concurrent engineering methods are being used.

Exporting more than half of its production, export leader WAT Motor Sanayi ve Ticaret A.S. expands its customer
range with its continuous and competitive quality policies. Continuous follow-up customer demands and complaints
is considered main instrument for product development and customer satisfaction. Thanks to the advantage of long
term relationships with customers-producers and dealers. the plant increases competitive power for both itself and
the customers.

/)

WAT | IM en 24.0
L



SUSTAINABILITY

As a signatory to the United Nations Global Compact. Kog Holding abides by the 10 Principles of the UN Global Compact.
WAT Motor Sanayi ve Ticaret A.S.. a subsidiary of the Holding. adopts these Principles and strengthens its sustainability
structure every day for compliance.

WAT's Sustainability Vision

As WAT Motor, we focus on sustainable development and value creation with our principle of respect for people and

the environment. In our journey with the slogan "You are in the power of this transformation”. we take an active role

in projects that add value to society with our business model that puts environmental sustainability at its center. In

this context:

« With our sustainability approach. we focus on the needs of the environment. our business and people.

« We support gender equality. increase women's employment and provide equal career opportunities. We care about the needs of our stakeholders
with our diversity approach.

By producing energy efficient motors. we conserve natural resources and reduce our carbon footprint.

 With global trends and our innovative perspective. we improve our production and meet consumer needs.

« We take the lead on issues important to the world and society by developing innovative methods and collaborations. and we move our business
forward by acting with courage.

» We evaluate our environmental footprint and strive to minimize our impact.

« We aim for sustainable and profitable growth and develop business models that will create efficient and long-term value.

« In parallel with our sustainability approach. we direct our efforts to realize our SMART targets set in line with the Sustainable Development Goals.

Sustainable Development Goals Sustainability Strategies
GENDER g DECENT WORK AND
EQUALITY ECONOMIC GROWTH
@I Energy
Transition to~ Circulor Value in Efficient E G(iﬁder J
g INDUSTRY, 12 RESPONSIBLE Net Zeo  ~ Economy the Supply Products and quality an
INNOVATION AND CONSUMPTION Chain SaiEs Diversity

INFRASTRUCTURE AND PRODUCTION

CN)

« Energy efficiency « Industry and mobility collaborations sustainable development throughout — « LCA-based design
« 100% green electricity supply to promote energy efficiency the supply chain « Green mobility incentive
« Reduction of chemical consumption < Transition to highly energy efficient ~ « Global standardization of the WAT « Increasing women's employment
« Renewable energy systems motors Green Chemistry Management « Ensuring ergonomic working
« Developing innovative designs « Development. implementation and System in products and production conditions
focused on circular economy in the continuous improvement of an ESG ~ « Increasing energy efficient motor « Talent management
product Development Program for production « Digitalization of training activities

 Reducing raw material consumption

2030 CARBON REDUCTION TARGETS — 2050 NET ZERO EMISSION TARGET

Climate Change Program: Grade B =, Bronze Medal from EcoVadis
CDP (Management group: above its sector and global average) -Fm'“"“ WAT ranked in the top 35% of all companies
Water Security Program: A- Grade | ecovadis | entering the EcoVadis rating, in the top 23% in
(Leadership group: above its sector. global and European average) &":;“ its sector, and in the top 12% in the sustainable
. procurement theme.

WAT has many internationally recognized standards/certificates in the field of sustainability and carries out activities in compliance with its standards. ISO 14001
Environmental Management System. ISO 14064-1 Greenhouse Gas Inventory. ISO 50001 Energy Management System. ISO 45001 Occupational Health and Safety
Management System. ISO 31001 compliant WERM enterprise Risk Management. ISQ 27001 Information Security. Cyber Security and Privacy Protection Management
are some of them. It uses closed-loop water systems for its operations and supplies green electricity from renewable sources. It calculates climate and water risks and
has net zero targets in line with SBTi [Science Based Targets initiative).

Sede? e ™ SCIENCE
\S 2NN NN fﬁ"b BASED
§META°. @ Accountavilty Y S G Ié’;yo I \ MSTP & / TARGETS
WAT | IM en 24.0

N



TECHNICAL DOCUMENTATION

GLARI ENSTITUSU
KA UYGUNLUK BELGES]

TURK STANDAR

TURK STANDARDLARI a8
ANDARDS INSTITY

:Irnwi’;s;nmm TO TURKISH STANDARDS

I ]

i S

——
BRI MK (F LICEACT FEpp—
e i R TR
Emyndrnﬂ'ﬂ"“—":lﬂr' o
508 Ghgem i Tasiel
e by o w4 AT L THERRLT Ao i8I

e LR LI AL
mﬂtmwﬂ-m" & e, MRCELI T A U RATARL
v

S

Sl ML
O Tl LT IFACEE s v TRAET KR SETE

R TR 804 irpbrgid AN
it ol FLscH aas AL AR 8 L T
wnhoﬁ:ﬂﬂ" s ALY [
anreas -""""DE“ T TR
T frrapLCTsCE ol
Tr3cA L1 TiCARI MAREAN T
ST e b —————.t UL L
e i
BBl EAFAM
o O penh
e
11 D
Fa N CopPcation Cinker
o S T A
AT
TEE ET AL CEITF
Masi A THE TR
ot e e P S i
-T.,'I:'.-.‘-‘-:- _.:‘-.-:.'.,.-'u'"- ‘T#‘-"' e P oo i T
T T T T im. ] b e s
EE T

s e ey e -

TURK STANDAR DLAR]I
ENSTIT
TURK STANDARDLARINA UYGUNLUK m«;?s?ﬁ

TURKISH STANDARDS
I
CERTIFICATE OF CONFORMITY T wmm

o

ik ey

v D —rus

SELLR AL am
e T T F——

BN ORIF Tty

L G MY (L iy

i T ] g!u,mm TR

iwfxﬁ:‘m’ﬂ B 12

BELGE Saiia)

s
ML £ e e g LA LU LT — .
=) FURILLS L Aned
O TR L e m‘g“m'ﬂuamu

UnETi vERI Az

AL 5 AT AR Ay ORT LRS00 BN VE TR A =
iy A

Amweg O

e e AL 35048 %0413t s
P Ny |.“¢mﬂ:ﬂ O TR
WWTH.‘D‘W WaAT

TH O BT s SO e

Mt PE B ase.an

T8 AT |
%W-""'Dlmr.mr_m*;

TS gy
3,0y
Dbyl Morwayi
- ARDOGAR By At
:?%':‘.'}"‘-l'—:: "“"‘"-l-'—-—u-q—m FELGHLERIRIM MiDORG
= : Lt

o e
Rl Tl T =
T R i e e
o

g

S m Tl

Ce

EU DECLARATION OF CONFORMITY

CERTIFICATE OF COMPLIANCE

mm
UL LIS 235814
Bt Mebwiercs. Em”mﬁmzq
Owe 2 207
Rameditc  WAT Motor S
& Ticarnt A4
Kamagsc Mahaney g
B Sokak M0 4 a3
Kapai

Tokirng. Takiray Saa4a

SR A S RS 1 LR 0T (W)

[ERL L LN ol




TECHNICAL DOCUMENTATION

Electric motors are manufactured according to the international standards listed below:

IEC 60034-1 Rating and performance
IEC 60034-2-1 Methods for determining losses and efficiency
IEC 60034-5 Classification of degrees of protection
IEC 60034-6 Methods of cooling
IEC 60034-7 Symbols of construction and mounting arrangements
IEC 60034-8 Terminal markings and direction of rotation
IEC 60034-9 Noise limits
IEC 60034-11 Built-in thermal protection
IEC 60034-14 Vibration limits
IEC 60034-18-1 Functional evaluation of insulation system
IEC 60034-30 Efficiency classes [IE-code)
IEC 60038 Standard voltages
IEC 60072 Dimensions and output series for rotating electrical machines
EN 50347 Dimensions and output for electrical machines
EN 55014-1
EN 61000-3-2 Electromagnetic compatibility
EN 61000-3-3
ENI2101-3 Smoke and Temperature Control Systems
Turkey Germany Great Britain
TSE EN 60034-1 DIN VDE 0530 BS EN 60034
DIN EN 60034
ENERGg Three phase and single phase motor series are complying with UL Efficiency and are available in our standard
motor range. Those motors are marked with our certification number E235514 upon request.
E235514
Safety certification is the process of assessing the compliance of products to recognized safety requirements.
Our three phase and single phase motor series are complying with UL Safety. Those motors are marked with
us o
E235514 our certification number E235514 upon request.
Three phase and single phase motor series are complying with CC Certification and are available in our standard
motor range. Those motors are marked with our certification number CC329B upon request.
CC329B

= M CE A

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

INSULATION CLASSIFICATION

Our standard motors have insulation class F while the temperature rise is for Class B ensuring longer service life.
Upon the customer’s request, H class insulation motors are manufactured.

Under specified measuring conditions in accordance with I[EC 60034-1 standard. insulation class F for an electric motor means that at
ambient temperature of 40°C the temperature rise of its windings may be max. 105°C with the additional temperature margin of 10°C.

180°C sl Max. Permissible Temp. Limit

@ Temperature Margin

Max. Temp. Rise

@ Ambient Temperature

A ’ E B F - H  —smml] Insulation Class

DEGREE OF PROTECTION

According to IEC 60034-5 standard, electric motors are provided with IP code which determines the degree of protection ensured by the
housing against access to dangerous parts, introducing foreign matter and/or water.

Most of our motors comply with IPS6 protection class as standard.

Please ask for other protection classes.

5 S

The second characteristic numeral:
Protection against penetration of water and its harmful
effects

IP The first characteristicnumeral:
Protection from introduction of solid foreign matter

Non-protected machine Non-protected machine

Machine protected against solid objects greater than 50 mm Machine protected against dripping water

Machine protected against dripping water when tilted up to

Machine protected against solid objects greater than 12 mm 5°

Machine protected against solid objects greater than 2.5 mm Machine protected against spraying water
Machine protected against solid objects greater than 1 mm Machine protected against splashing water

0
1
2
3
4
Dust-protected machine Machine protected against water jest
6

Dust-tight machines Machine protected against heavy seas

O')I-L\ w N — | O

(0)

WAT | IM en 24.0
N



TECHNICAL DOCUMENTATION

Al rotors are dynamically balanced with a half wedge.

According to IEC 60034-14. A vibration level is provided in standard motors. According to customer request. it is possible to produce motors
with vibration level B.

Vibration levels with respect to frame size

Shaft Height [mm] 56< H <132 H>132
Vibration
Grade Connection Tuoe Displacement Velocitiy Displacemen Velocitiy
up um [mm/s] m [mm/s]
45 28 45 28

Free suspension

A - _ 23
Rigid Connection - - 37

28*

Free suspension 18 11 29 18

B 15

Rigid Connection - - 24 -

Motors are designed to operate at altitudes up to 1000 m and ambient temperature up to 40°C according to IEC 60034-1. Rated output
will change at the % ratings given below for different altitudes and ambient temperatures.

ALTITUDE

* 2 fn [twice the mains frequency] is the maximum permissible value for spectral measurement

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

Terminal plate has 6 connection terminals marked in accordance with IEC 60034-8.

Motor Type Frame Size - - - - 250-280
O Cable Entry M20 M25 M25 M32 M40 M50 M50/M63(*]
Number of Entries 1 1 2 2 2 2 2
QM Cable Entry M20 M25 M25 M32 M40 M50 M50
Number of Entries 1 2 2 2 2 2 2
Cable Entry - M20 M25 M25 M32 - -
0HS Number of Entries - 1 2 2 2 - -
N Cable Entry M20 M25 M25 - - - -
Number of Entries 1 2 2 - - - -
*Optional

Standard three-phase motors can be connected with star or delta method.

U u1

Gw D w B v w2 2 vz
u Vi Wi ul Vi wi
ﬁ}» ? ﬁ} " N
w1 \l
L1 L2 13 t L B
Star connection is achieved by wiring W2. U2, V2 to each other: and Ul V1. W1 Delta connection is achieved by wiring the end of a phase to the head of the
leads to voltage supply other

Most low voltage motors are delta wired to operate in 400V and star wired to operate at 690V. This flexibility can also be used to operate
the motor under lower voltages. Apart from the fact that startup current in star-delta starting drops to one third of direct starting. startup
torque also decreases by around 25%. The moator is started in star connection and accelerated as much as possible. then it is transferred to
delta connection. This method can only be used in asynchronous motors which are delta-connected to supply voltage. Three-phase 2-4-6
pole mators up to 3 kW are operated as 230 VA / 400 VY. while three-phase motors above 3 kW are operated as 400 VA / 690 VY.

Our motors are normally design for 400V. S0Hz. Other voltages and 60 Hz frequency are optional. Our motors wound for SOHz can be
operated on 60Hz for the same output power. The ratios given below indicate changes in the given parameters.

60 Hz Application Coefficients of 50 Hz Motor

50 Hz 60 Hz Rated Rated Rated Rated Starting Breakdown Starting
Voltage Voltage Speed Power Torque Current Torque Torque Current

230V 230V 083 083 083 0.83
230 V 265V 1,2 115 096 1 096 096 096
400 V 400 V 12 1 0.83 1 070 0.83 ‘ 0.83
400 V 460 V 12 115 096 ] 095 098 097

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

According to IEC 60034-1, catalogue values are permitted to deviate from the real values as follows:

Dn=+20%(n-n ) . P> kW
Speed [n)
An=+30%(ng-n) . P <=TkW

An= -15%(100-n,] . P,<=1S0kW
Efficiency % (n]
An= -10%(100-n,) . P,>ISOkW
Power Factor [ cos Q] AcosQ= -1/6(1-cosQ])

Locked Rotor Current {1, /1] All /1, )=+20% (1. /1)

min (M,/M, )=-15%(M, /M,)

Locked Rotor Torque (M, /M,]
max (M /M,J=+25%[M /M,]

Breakdown Torque [M, /M, ] AM,/M,J= -10%[M,/M,]
Pull-up Torque (M,/M,) AM,/M,J= -15%[M./M,)
Torque of Inertia (J] [kgm?] A)=+10%)
Sound Pressure Level [LPA] [dB] ALPA = +3dB[A]
. B3-NDE Bl4a/Blab
63
o Aluminium Aluminium Aluminium Aluminium
80
90
100 Aluminium/ Aluminium/
Cast Iron Cast Iron
112
132 Aluminium/ Aluminium/
160 Cast Iron Plastic Steel Cast Iron Cast Iron
180
200*
225*
250 Cast Iron
280
315 Cast Iron Cast Iron
355

* Plastic fan cover option is available for 200 - 225 frame motors

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

B3 - IM 1001 V5 - IM 101 V6 - IM 1031 B6 - IM 1051 B7 - IM 1061 BS - IM 107
P gé—-,
al dp
o Gl ]
Eilllls i
BS - IM 3001 VI - IM 301 V3 - IM 3031
FA (B5]
VI9 - IM 3631
FB (Bl4b)
FC (Bl4a)
IM 2051 IM 2061 IM 2071
o=ili=s e
P = mEm—— ===
V37 - IM 2131 IM 2151 IM 2161 IM 2171
[
» PB [B34b]
s i
///// n s

The standard application for aluminum body motors between 63-250 Frame is assembly without fixed bearings. with the bearing thrust
spring NDE [also on the rear cover). Fixed bearings can be produced on drive or non drive side according to customer demand. As a
manufacturer company. fixed bearing design on drive side is recommended for pump applications.

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

63-225 frame motors are equipped with deep grove ball bearings with ZZ shields.

250-355 frame size mators have external lubrication.

Please refer to the mechanical dimension section for specific motor data.

On the front and rear covers of our 100 Frame H and HS series motoars. there are steel bushings in the bearing seats.

There are also steel bushings in the bearing seats of our 100 H and 112-132 Frame H and HS platform Aluminum B5S flanges.

ALUMINIUM

CAST IRON

Drive Side NUI;S: °
80 HG 6204 77 6204 77
90 HG 6305 ZZ 6205 27
100 HG 6306 ZZ 6306 ZZ
HG 6306 ZZ 6306 ZZ
e HSG 6306 ZZ 6306 ZZ
HG 6308 ZZ 6308 77
e HSG 6308 ZZ 6306 ZZ
HG 6309 ZZ 6309 77
o0 HSG 6309 77 6309 77
HG 6310 ZZ 6310 ZZ
o HSG 6310 ZZ 6310 ZZ
200 HG 6312 22 6310 ZZ
225 HG 6313 27 6313 ZZ
250 HG 6315 ZZ 6313 ZZ

HG -2P 6314 6314

280
HG-4P-6P 6317 6317
HG -2P 6316 6316
315
HG-4P-6P 6319 6319

Drive Side Nogﬁ:ve

63 E 6201 ZZ 6201 27
71 E 6202 727 6202 77
H 6204 77 6204 77

% N 6204 77 6204 77
H 6305 ZZ 6205 ZZ

90 HS 6305 ZZ 6204 77
N 6205 ZZ 6205 ZZ

H 6306 ZZ 6205 ZZ

100 HS 6306 ZZ 6205 ZZ
N 6206 ZZ 6206 ZZ

H 6306 ZZ 6206 ZZ

2 HS 6306 ZZ 6205 ZZ
N 6206 ZZ 6206 ZZ

H 6208 ZZ 6208 ZZ

o HS 6208 ZZ 6206 ZZ
H 6309 ZZ 6209 ZZ

o0 HS 6309 ZZ 6208 ZZ
H 6310 ZZ 6310 ZZ

o0 HS 6310 ZZ 6209 77
200 H 8312 ZZ 6310 ZZ
225 E 6313 ZZ 6313 ZZ
250" E 6315 27 6312 27

* Lubricated Bearings

WAT [ IM en 24.0




TECHNICAL DOCUMENTATION

Closed type (ZZ] roller bearings are being used. These types of roller
bearings do not require maintenance since they are lubricated with
the type of lubricant specified by the manufacturer.

Roller bearings should be replaced after 20,000 hours of operation
(approx. 2-5 years of use) due to the specified operation temperature.
vibration level and shaft loads.

The grease type and quantity are written on the nameplate for
motors that have externally lubricated roller bearings. There are
bearing lubrication channel and grease nipple for motors that have
externally lubricated bearings. After lubrication, grease nipple cover
must be closed. Grease must be avoided from dirt and dust during
lubrication. Quantity of grease indicated on the naomeplatel should
be considered and different grease must not be used. The mix of
different grease must be avoided.

Grease
Entry Point

Bearing
Outer Cap

AT

— )

9

TN

Shaft and
Shaft-Mounted
Components
Spouse
PLATFORM Bearing BS / B35 | Bl4a / B34a | Bl4b / B34b
63 E YES
71 E YES
H YES
80
N YES
H NO
90 HS NO No lubrication option between 63-112.
N YES
H NO
100 HS NO
N YES
H NO
2 HS NO
N YES
H YES i
120 In design phase.
HS NO
H NO In design phase.
160
HS NO 1 |
180 H VES 2 2 Lubrication option for
HS NO 2 % Bl4-Bl4b flanges 160 and
above doesn't exist.
200 H NO 3 3
225 E YES In design phase.
250 E NO In design phase.

WAT [ IM en 24.0

160 Frame and above Aluminum motors with Bl4a and
Blab Flange is not available.

160 Frame and above all BS Flanges are made of cast
iron.

1  B3+B5+ DEEP NDE LUBRICATION OPTION
AVAILABLE [NO NDE LUBRICATION OPTION]

2 B3+B5+KTA+ DEEP NDE LUBRICATION OPTION
AVAILABLE (* NO LUBRICATION in NDE in HS
Frame)

3 B5+KTA+DEEP NDE LUBRICATION OPTIONS
AVAILABLE

4 B5 FLANGE LUBRICATION OPTION AVAILABLE
(NDE NO LUBRICATION OPTION]



TECHNICAL DOCUMENTATION

Spouse
PLATFORM Bearing B5 / B35 Bl4a / B34a Bl4b / B34b
80 HG YES
90 HG NO
100 HG YES
HG YES
12
HSG YES Lubricated bearing in design phase.
HG YES
132
HSG NO
HG YES There is no Bl4a Flange on the 160
160 Frame in the Cast Iron Motor range.
HSG YES There is no Bl4b Flange on all Cast
HG VES Iron Motors.
180
HSG YES Lubricated bearing in Bl4 and Bl4b flange on 180 * B3 Cover and BS and BI4 Flanges
200 HG VES design phase. frame  and vabov_e cast iron used in the pgst |mn Motor sgries
motors doesn't exist. not compatible with  aluminum
225 HG YES series.
o5 HG NO E E * Cast Iron Motor series 250 - 280
and 315 Frame motors B3 - BS and
280 HG YES E E It is manufactured as B35 with o
315 HG YES E E standard two-side open lubricated
bearing.

Our standard motors are delivered painted in RAL 7012 Gray and RAL 6011 Green. Products with FL and FP extension codes have UL approval and
is produced with RAL 7012 Grey color. Other paint options are also available on request. Products with Marine certificate are painted in accordance
with C5M paint standard.

For 63-200 frame size aluminium motors, feet can be mounted on three sides. allowing terminal box assembly on the desired side. For 63-250
frame size aluminium motors, the feet are detachable and this feature provides flexibility for different mounting types.
The mounting feet on the QN series housings are single-position removable.

Motors have terminal boxes positioned on top at drive end. Terminal boxes can be rotated 90° for 63-250 frame sizes [except N series). so that
cable inlet can be placed at each side of the motor. For PTIO0 inputs in the terminal boxes, gland inlet can also be provided as an option. In QN
series motors the terminal box can not be removed. Cable exit direction can be adjusted to the left or right when viewed from the shaft end. In
Aluminum motors between 63-225, the terminal box is Aluminum.

In the basic design. motors are supplied without drain holes. In case of customer requests, motors can be supplied with drain holes. A special plug
is used in the drain hole of this type of motors. Therefore, the protection class of the motors is not affected (IPS6).

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

Q4H [E4 efficiency class motors

Q3H IE3 efficiency class motors

Q3HS IE3 efficiency class motors

Q2H IE2 efficiency class motors

Q2HS IE2 efficiency class motors

Q4E IE4 efficiency class motors

Q3E IE3 efficiency class motors

Q2E IE2 efficiency class motors

Q3D IE3 efficiency class inverter entegrated motors S Short
S3H IE3 efficiency class smoke extraction motors M Medium
S2H IE2 efficiency class smoke extraction motors L Long
Q3N [E3 verim sinifina sahip motorlar

Q2N [E2 verim sinifina sahip motorlar

Q2MN IE2 efficiency class motors with run capacitor

Q2CN IE2 efficiency class motors with start and run capacitors

--- Aluminium

P or G Cast Iron

with feet B3,B6,B7B8,V5,V6/VI9 A Short
FA with A flange B5.VIV3 B Medium
FB with B flange B4 vig vi9 C Long
FC with C flange BI4.VI8.VI9 DE Extra Long
FS with special flange -

PA with feet and A flange B3/B5.V1/V5.V3/V6

PB with feet and B flange B3/B14,V5/VI8.V6/V19

PC with feet and C flange B3/B14,V5/VI8 V6/V19

PS with feet and special f -

X without feet flange and /or end-shield B9.V8,V9

WAT [ IM en 24.0




TECHNICAL DOCUMENTATION

Model Q 3 E - FA 225 M 4 C 40 BN uL
a b c d e f g h [ j k
Q - E - - 63 S 2 - - -
K 1 H GP FA 71 M 4 A 0-99 AA-Z7
S 2 HS FB 80 L 6 B
M 3 N FC 90 LH 8 C
4 NR FS 100 2-4 D
C PA 2 4-8 DE
CN PB 132 2-12 E
B PC 160 4-16
M PS 200
MN X 225
250
280
315
355
400
450
0:  Electric Motor Series -- with feet B3.B6,87.B8.V5,V6/V19
b: Efficiency Classes FA with A flange B5.VIV3
c:  Motor Type FB with B flange Bl4,Vi8 V19
d:  Body Material FC with C flange Bl4.Vi8 V19
e: Flange Structure Type FS with special flange -
f: Frame Size PA with feet and A flange B3/B5V1/V5V3/Ve6
g:  Motor Length PB with feet and B flange B3/B14,V5/V18,V6/V19
h: - Number of Poles PC with feet and C flange B3/B14.V5/V18.V6/V19
i Core Length PS with feet and special flange -
j: Special Motor Number X without feet flange and /or end-shield B9.V8.V9

UL Approval

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

fr
Radial Load Location
Speed Radial Load Radial Load X
Frame S
[rpm] (X=0) [kN] (X=max] [kN] |
3000 025 022
63 1500 029 025
1000 03l 027 /[ N\
3000 030 026 N /
71 1500 035 029
1000 037 03l
3000 054 045
80 1500 062 05l Xmax X,
1000 066 054
3000 09l 074 _
90 1500 099 080 Calculations are based on 20.000h [L10aah]
1000 104 084 bearing life time and the actual values will
3000 121 096 differ if radial and axial loads act at the
100 1500 131 104 same time. Mechanical strength of the end-
1000 138 109 _ . L
3000 128 - sh|e\.ds ghould also be considered for critical
n2 1500 133 109 applications.
1000 140 14
3000 122 098 Value of force Fr acting on any point of the
132 1500 131 104 .
shaft end (between points X=max and X=0]
1000 134 108 v _
3000 290 172 may be calculated according to the following
160 1500 234 182 formula:
1000 234 182
3000 268 212
180 1500 282 223
— X
1000 293 23l F = Fxo - X (Fxo N Fxmax) [kN]
3000 380 304
200 1500 395 36 Where:
1000 4,07 326 Fo, - vdlue of Fr force acting
3000 445 385 on the beginning of the shaft end
225 1500 459 360 .
F - value of Fr force acting
1000 473 371 xm
3000 497 393 on the shaft end
250
1500 578 457 E - length of the shaft end
3000 4,97 393
280
1500 578 457
3000 6.04 523
315
1500 6,08 56l
3000 588 517
355
1500 849 737

* Al calculations are based on floating bearing arrangement for standard
[excluding compact & super compact] motors

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

Position & Axial
Load Direction

MOTOR SERIES / AXIAL LOADS [kN]

Frame Speed

Size [rpm] QH, QHS, QE QH, QHS, QE
3000 0,09 023 022 010 024 0.08
63 1500 0,09 031 029 ol 033 0,07
1000 0,09 0.36 034 on 038 007
3000 on 025 023 013 027 0,09
71 1500 on 033 03l 0l4 0.36 0,09
1000 on 039 037 0l4 042 0,09
3000 015 015 043 040 018 018 0.46 012 012
80 1500 015 015 057 053 019 019 0,61 ol on
1000 015 015 067 063 019 019 071 on ol
3000 019 015 075 070 023 020 080 014 010
90 1500 019 015 099 093 025 022 108 0J2 0,09
1000 019 015 118 112 025 022 125 012 009
3000 019 019 094 0388 025 025 101 02 012
100 1500 019 019 125 117 027 027 134 010 (04[0]
1000 019 019 149 141 027 027 158 010 010
3000 023 019 094 086 0.3l 027 102 014 ol
12 1500 023 019 125 114 034 030 136 on 007
1000 023 019 149 138 034 030 160 on 007
3000 030 023 093 075 048 0.41 Al 012 0,04
132 1500 030 023 123 101 052 0.44 145 008 9,00
1000 030 026 146 124 052 047 168 008 0.04
3000 034 030 178 153 059 055 203 ** **
160 1500 034 030 240 201 072 069 279 *x e
1000 034 030 275 236 072 069 314 * *
3000 038 034 201 165 073 069 237 ** **
180 1500 038 034 270 218 090 086 322 * bl
1000 038 034 320 268 090 0.86 372 ** **
3000 038 260 195 103 325 el
200 1500 038 352 277 113 427 *k
1000 038 420 345 113 495 **
3000 049 290 210 129 370 *k
225 1500 049 390 290 149 490 **
1000 049 465 365 149 565 *
3000 060 365 265 160 465 *x
20 1500 060 475 354 181 596 **
3000 060 365 238 187 492 *x
280 1500 060 475 3l 224 6.39 **
3000 456 368 152 790 xk *
e 1500 520 400 108 962 ** *x
3000 452 362 038 950 il **
355
1500 6.40 500 273 1355 *k *

*

All caleulations are based on floating bearing arrangement for
standard {excluding compact & super compact) motors
** Please get in contact for a specific design

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

Duty types according to the IEC 80034-1 are given below:

SI: Continuous running duty

S2: Short-time duty

S3: Intermittent periodic duty

S4: Intermittent periodic duty
with starting

P P r
T .
s A _.‘
. ]
.
« s s
Py ’~
Py
Py
W 6 j
t t
.
o
o o a
e
Omax o,
|
«
. .
Bt . P load 4 lood
leC 326008 Py electrical losses P, electrical losses
P Joad P load e temperature ) temperature
Py electrical losses maximum temperature ottoined @y moxmum temperoturs attoned
P, electrical losses Bmox N me
a temperature t time
T time of one load cycle
e temperature O Moximum temperature ottained T time of one load cycle ¢
Aty starting/aceelerating time
©nox  moximum temperature attained t time Aty oporotion time ot canstant load M operoton time ot constont load
t time tp operation time at constant load Aty time de-energized and at rest Aty time de-energized and at rest
S5: Intermittent periodic duty S6: Continuous operation periodic duty S7: Continuous operation periodic duty
with electric braking 3 with electric braking
T
i T ‘ . Te
o
- - . | |
i 0 A A J
' -
3
Aty At P,
]
y
L L.
L L C
.
o
a
a O ™
e
N
\ \ ~J
. ! & 3%/00
P oad Te time of one load cycle » oad t time P lood Tc  time of one load cycle
P, electrical losses Aty starting/accelerating time
P, electrical losses Aty starting/accelerating time Py electrical losses Te time of one load oycle o
e temperature Atp  operation time ot constont load e temperature. Atp  operation time at constant load
] temperoture Aty operation time at constont load
Omax maximum temperature attained Atg  time of electric braking ton t  no-load Omox maximum temperature ottained At time of electric broking
o operation time ot no-loo
N time Mty time do-onorized on ot est ©pmox  maximum temperature ottained At, op N time

S8: Continuous operation periodic duty
with related load/speed changes

e

Te
P p p
- . [
Ay Aty
e
Ayl Aty
P. R L Aty
-
— =
a
[
I~
t
"
t
3 lood t tme
P, oectrcollosses Te time of one lood cycle
@ temperoture My storting/accelrating time
B, MOXUM tomparature ottained At operation time at constant load (P, P2, P3)
n speed Ate time of electric broking [FL F2)

S9: Duty with non-periodic load and
speed variations

[

reference lood
elctricol osses

tomperoture

maximum temperature attained

speed

= T_ . t
T [l
L [ L L
7
ﬂ;LI r-I_LI ,_FL\_‘ I'_‘_‘—| rr !
lood t time. -

starting/accelerating time
operation time ot constant lood

time of electric braking

time de-energized and ot rest

time under overlood

SI0: Duty with discrete

constant loads

and speeds ® .
.
P
v . ulf
b Wl boe L
B !
. f
=
oy =
Al 4
6.
!
"
!
[ [
P, st oo it ot el 4 ot o costont ot ik o il
P ol o bossd on uty e S1 To e of et o

P, ceotricalosses

@ tempontu

@t temparature of reforence lood bosed on duty
e 51

toe S

4@, diference betwoen the temperature fise of the
ing ot each of the various oo witin o
d the tomporature o bosed on duty
with tforence log

The duty type of our standard moators is SI. On customer demand. the other duty tupe-motors can be produced.

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

Due to its simple and rugged construction. low cost production and less maintenance requirements. squirrel cage induction motors are the
most preferred type of industry. In particular. technological developments and cost reduction in power electronics fields and also regulations
on energy efficiency especially in HVAC industry. motivate the use of induction machine fed by inverters.

Important issues regarding the motor operation fed by the inverter are listed below:

The application should be compatible with the torque-speed curve of the selected motor and also continuous and maximum output
current capability of the inverter. Please. get in contact with your inverter supplier regarding the normal duty and heavy duty operation
based on your application.

High switching frequency operation of the inverter imposes voltage stress on motor insulation. Please. get in contact with us if your
inverter switching frequency is higher than 5 kHz.

High switching frequency improves the efficiency of the motor and also decreases the noise level while decreases the inverter efficiency.

Motor control modes of the inverter (Scalar or Vector] are chosen depending on the applications. Scalar control [U/f] is used mainly in
applications like pump and fans where the requirements on speed accuracy and load dynamics. and starting torque are not so strict.

Vector control mode is used mainly in applications. where high starting torque. high accuracy on speed and the fast changes at load.
prolonged low speed operation at load are required. Due to the control principle. vector control can provide higher torque for the same motor
current and handle dynamic torque changes. In that sense. in case of operation by scalar control mode. a higher current rating inverter with
is required. for the same application conditions.

Beside the efficiency class of the motor, efficient operation of the motor is also dependent on the parameter settings of the inverter.
(Motor control modes. switching frequency. braking methods, torque boost in Scalar control have the influence on efficient operation and
thermal load of the motor)

Control methods used in speed sensor-less vector control may have varying performance. dependent on the motor design. Therefore.
although using the same inverter. user may experience different performance at the motors produced by the different manufacturers.

ldentification of the motor equivalent circuit. which is part of the auto-tuning procedure of the inverter. is a critical setting which has
influence on torque capability. speed accuracy. low and high speed performance and also efficient operation of the motor.

Inverter suppliers may have different PWM Modulation methods which has especially influence on noise characteristics of the motor
and other characteristics like inverter and motor efficiency and thermal behaviour as well.

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

European Committee of Manufacturers of Electrical Machines and Power Electronics (CEMEP] and European Commission issued a declaration
on June 28, 1999 that categorized the motors in efficiency classes.

This standard covers 2. 4 and 6 pole motors in 0.12kW and 1000kW power range and S0-60Hz frequency and refers to IEC standard
60034-2-1 to define efficiency.

Efficiency is defined as the ratio of output power of the motor to the input power reflected in the cost and it is actually an indicator of
losses.

P, 0y
T —— )
Input power N J / Output power
e ’ on osses riction and ventilation Stray load put p
Stator losses ~ Rotor losses losses losses

Commission Regulation EU 2019/1781. amendment [EU) 2021/341 had set new requirements for electric motors;

Latest Ecodesign Regulation (EU) 2019/1781 came into effect in October 2019 and it applies to low-voltage induction electric motors rated
at less than 1.000 V alternating current [AC).

The regulation has been implemented in two steps starting on July 1. 2021.

The second stage. which expands the scope further and increases the requirements for motors on July 1. 2023.

July 1. 2021

The regulation covers 3-phase single-speed motors 50 Hz. 60 Hz. 50/60 Hz for direct-on-line operation with continuous duty defined as
33 > 80% and SB > 80%.

Brake mators with external brake is also within the scope of new regulation.

Three phase motors with rated output > 012 kW and < 0.75 kW: minimum IE2 efficiency level is mandatory.
Three phose motors with rated output > 0.75 kW and < 1 000 kW: minimum IE3 efficiency level is mandatory. Please also note that IE2
+ VSD option is not allowed.

July 1. 2023
IE4 efficiency level mandatory for 3-phase motors:  Rated output equal to or above 75 kW and equal or below 200 kW: with 2. 4 or 6
poles which are not brake motors nor Ex-motors.

IE3 requirements as from July 1. 2021,

Three phase motors with rated output > 75 kW and < 200 kW: minimum |E4 efficiency level is mandatory.
Single phase motors with rated output > 012 kW and < 1000 kW: minimum IE2 efficiency level is mandatory.

WAT [ IM en 24.0



TECHNICAL DOCUMENTATION

According to EC No 640/2009 regulation. motor labels will include SOHz and/or 60Hz motor data as well as |E codes and efficiency
value. Most prominent feature of new labels is that 2D barcoding will be placed on the labels. This application ensures the customers to
track the motors.

With barcoding. the motor users will be able to reach information such as manufacture date of motor. results of routine testing [current
with neutral resistance. power etc) and serial no. and etc.

OlONNO ® GO Q01010

WAT Motor @
Sanayi ve Ticaret A.S.
Made in Tiirkiye TS EN 60034-1

3~Mot | Q4H 90L4D Icl F S1 01012024

() 2024 H S.F.:1.15 IP 55 Kg 20 IEC 60034

230/400 m 4.95/2.86 | IE4-87.2%

265/460 | 60 | 1766 | 1.1 | 0.62 | 4.49/2.59 | IE4-87.5%

OBONORONORNO © ® O

1 Motor type 1l Efficiency value [acc. to IEC 60034-2-1]
2 Motor code 12 Load value

3 Year of manufacture 13 Efficiency value [ace. to IEC 60034-2-1]
4 Insulation class 14 Nominal current

5 IP class 15 Power factor

6 Service type 16 Motor output power

7 Efficiency class (acc. to IEC 60034-30] 17 Rated speed

38 2D Barcode 18 Motor nominal frequency

9 Service factor * 19 Operation voltage

10 Motor weight 20  Production tracing number

* For IE2 and above efficiency [except 315 & 355 frame) motors, SF 115 is optional (with temperature rise F) for 315 & 355 frame motors

WAT [ IM en 24.0









IE4 THREE PHASE ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS @ 50 Hz

RATED VALUES STARTING VALUES
Breakdown EFFICIENCY * Weight Sound
HOUSING CURRENT TORQUE Torque Cosg J (B3] Pressure
MOTOR TYPE TYPE POWER SPEED CURRENT | TORQUE Ratio Level
NS rEry | a/a ] L s | g | kg

o [ W

Mk/ Mn dBA**

2 pole 3000 rpm

Q4E63M2B Aluminium 0l8 /4 2870 08 06 69 - 35 - 370 708 | 696 | 639 | 080 | 000025 52 52
Q4E63M2C Aluminium | 0,25 /3 2850 11 038 6.9 - 39 - 350 743 | 744 | 719 083 | 000028 6.0 53
Q4E7M2B Aluminium | 037 172 2855 15 12 76 - 46 - 450 781 763 | 719 0.80 | 000056 70 52
: Q4E7IM2C Aluminium | 055 3/4 2833 23 19 73 - 50 - 4,50 815 790 | 751 075 | 000067 75 54
5 Q4H80OM2D Aluminium | 075 1 2898 26 25 98 - 42 - 4,40 835 | 842 | 820 | 085 0,00170 8 57
§ Q4H80M2DE Aluminium 110 15 2915 4] 36 120 - 6.1 - 580 852 | 837 | 806 | 080 | 000224 148 )
Q4H90L2D Aluminium 150 2 2947 53 49 136 - 46 - 6,00 865 | 866 | 834 | 080 | 000283 185 61
Q4HIO0L2E Aluminium | 220 3 2925 73 72 4 - | 38| - 470 | 830 | 892 | 881 | 084 | 000318 | 200 | 62
Q4Hi00L2D Aluminium | 3,00 4 2943 n2 98 129 - 49 - 6.20 891 | 863 | 829 | 077 | 000536 | 250 63
Q4HI2mM2D Aluminium | 4,00 BI5] 2934 73 13.0 42 125 13 40 5,50 900 | 899 | 885 | 089 0.00741 346 66
Q4H132S2D Aluminium | 550 75 2946 107 180 39 1.8 13 38 6.00 909 | 899 | 882 | 082 | 002948 | 532 69
Q4HI32S2DE Aluminium | 7,50 10 2937 14] 245 34 103 13 38 510 917 913 | 90l 085 | 003326 585 70
Q4HIBOM2D Aluminium | 1,00 15 2975 216 351 4.7 14,0 16 48 7.00 926 | 923 | 903 | 078 004117 880 73
Q4HI60M2DE Aluminium | 15,00 20 2968 287 488 42 126 14 4] 610 933 | 931 | 919 082 | 004578 950 74
Q4H160L2D Aluminium | 18,50 25 2969 356 597 4.4 133 15 45 6,50 937 | 934 | 924 | 080 | 005575 | 1055 74
Q4H1I80M2B Aluminium | 22,00 30 2970 376 710 43 13.0 13 39 520 940 | 940 | 93l 0.90 0,09831 1428 75
: Q4H200L2D Aluminium | 30,00 40 2970 513 96.9 40 121 13 38 5.00 945 | 941 | 931 0.90 0.11383 166.0 76
@ Q4H200L2E Aluminium | 3700 50 2973 634 1189 44 133 13 8icl 6.80 948 | 947 | 939 | 089 014770 | 2000 76
§ Q4H225M2D Aluminium | 45,00 65 2967 769 1454 33 100 08 | 23 480 950 | 949 | 942 | 090 | 023500 | 2400 80
Q4HP250M2D | Cast Iron | 55,00 75 2980 94 171 38 1.4 09 | 28 5.80 953 | 947 | 937 091 054000 | 5370 78
Q4HG280M2C | Caost Iron | 75,00 100 2982 1242 2400 - 6.7 - 26 300 956 | 956 | 949 | 092 117890 6530 79
Q4HG280M2D | Cast Iron | 90,00 125 2985 1467 2882 - 78 - 29 570 958 | 957 | 949 | 092 126380 | 6800 79
Q4HG31552C Cast Iron | 110,00 150 2988 1939 3521 - 108 - 36 520 960 | 954 | 942 | 085 | 166000 | 8800 87
Q4HG315M2B Cast Iron | 132,00 180 2983 2237 4225 - 90 - 38 10,40 962 | 961 | 925 | 089 | 184000 | 9000 87
Q4HG3I5L2A Cast Iron | 160,00 215 2989 2847 Sl - 121 - 6.7 13.40 963 | 958 | 945 | 084 | 205000 | 9580 87
Q4HG315L2C Cast Iron | 20000 | 285 2983 3310 6440 94 - 44 868 965 | 966 | 959 | 089 | 230000 | N440 87
4 pole 1500 rpm
Q4E63M4B Aluminium 012 /6 1410 07 08 42 - 31 - 330 698 | 646 | 579 | 064 | 000026 47 4
Q4E63M4C Aluminium 08 1/4 1420 10 12 6.0 - 43 - 4,20 747 | 728 | 670 061 | 000030 57 43
Q4E7M4B Aluminium | 025 /3 1443 13 17 56 - 32 - 360 779 | 735 | 678 | 064 | 000085 70 44
8 Q4E7IM4C Aluminium 037 172 1438 17 24 62 = 37 = 390 8l1 779 | 737 067 0.0019 93 45
§ Q4H80M4D Aluminium 0.55 3/4 1463 24 36 81 - 37 - 460 839 815 | 777 071 0.00261 17 52
§ Q4H80M4E Aluminium | 075 1 1453 29 49 80 - 815 - 420 857 | 839 | 8Il 0.76 | 000306 139 52
¥ 04H90L4D Aluminium 110 15 1461 50 72 87 - 50 - 540 872 | 855 | 815 064 | 000526 | 200 51
Q4H90L4DE Aluminium 150 2 1460 6l 98 108 - 54 - 590 882 | 867 | 834 071 0.008691 245 54
Q4H100L4D Aluminium | 220 3 1462 86 14.4 96 - 40 - 500 895 | 880 | 855 | 072 0.01059 298 56
Q4HI00L4E Aluminium | 3,00 4 1453 6.6 198 85 - 32 - 4,00 904 | 905 | 896 | 077 0,01070 342 57
Q4HI2M4E Aluminium | 4,00 55 1452 83 264 31 94 13 38 4,50 all 904 | 897 | 078 001527 400 57
Q4HI32S4C | Auminium | 550 | 75 1478 120 356 | 34 | 101 | 12 [35| 500 919 | 912 | 899 | 073 | 003847 | 575 | 60
Q4H132M4DE Aluminium | 750 10 1473 146 486 34 101 07 | 20 450 926 | 920 | 9l 081 0.05441 780 6l
Q4HIBOM4D Aluminium | 1,00 15 1479 227 711 27 80 10 31 360 933 | 930 | 922 | 075 0.09146 CElS 62
Q4HBOL4C Aluminium | 15,00 20 1478 337 970 26 77 11 33 4,00 939 | 931 | 921 069 o.losn 16,0 63
Q4HI80L4B Aluminium | 18,50 25 1484 36.0 193 818 100 10 30 390 942 | 941 | 938 | 079 011398 154,0 67
Q4H180L4C Aluminium | 22,00 30 1487 447 1415 35 105 11 32 4,60 945 | 940 | 928 | 076 0,22166 1820 67
: Q4H200L4D Aluminium | 30,00 40 1480 538 1936 - 8l - 22 420 949 | 952 | 949 | 086 0,21590 1900 69
@ Q4H225M4D Aluminium | 37,00 50 1485 6838 2378 31 92 10 31 510 952 | 949 | 943 | 082 | 036400 | 2460 71
§ Q4H225M4E Aluminium | 45,00 65 1482 885 2901 29 86 10 31 5,00 954 | 949 | 944 | 078 | 043500 | 2700 71
Q4HP250M4E | Cast Iron | 55,00 75 1492 107.7 3522 29 87 09 | 27 330 957 | 950 | 94l 077 | 090800 | 5310 72
Q4HG280M4C | Cast Iron | 75,00 100 1492 1279 4805 - 5E - 17 430 960 | 958 | 95] 0389 172100 694,0 70
Q4HG280M4D | Cast Iron | 90,00 125 1492 1531 5766 - 79 - 24 340 961 | 960 | 952 | 088 184140 694,0 70
Q4HG315S4C Cast Iron | 110,00 150 1492 1885 7042 = 85 = BIo) 6.60 963 | 955 | 947 | 089 | 342000 | 9560 83
Q4HG315M4B Cast Iron | 132,00 180 1491 2273 8453 - 87 - 33 855 964 | 959 | 950 | 086 | 385000 | 10500 83
Q4HG315L4A Cast Iron | 160,00 215 1491 2604 964, - 95 - 48 565 966 | 958 | 952 | 088 | 466000 | 12000 83
Q4HG315L4C Cast Iron | 200,00 285 1488 3326 12818 - 74 36 425 967 | 964 | 963 | 089 | 466000 | 12000 83

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA

WAT | IM en 24.0



[E4 THREE PHASE ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS @ 60 Hz

RATED VALUES STARTING VALUES
Breakdown EFFICIENCY * Weight Sound
HOUSING CURRENT TORQUE Torque Cosg J (83) Pressure
MOTOR TYPE TYPE POWER SPEED | CURRENT | TORQUE Ratio Level

MK/ Mn 2/4 dBA**

2 pole 3600 rpm

Q4E63M2B Aluminium 018 /4 3493 041 05 6,45 - 383 - 491 700 | 688 | 639 | 080 | 000097 52 6l
Q4EB3M2C Aluminium | 025 1/3 3488 0.51 0.7 6.62 - 431 - 458 740 | 738 | 703 | 079 0.0012 6.0 6l
Q4E7M2B Aluminium | 037 172 3474 0.77 10 729 - 506 - 596 770 | 765 | 734 | 078 0.00131 70 65
: Q4E7IM2C Aluminium | 055 3/4 3462 117 15 6.90 - BI55) - 590 800 | 775 | 737 | 072 | 000140 75 65
§ Q4H80M2D Aluminium | 075 1 3535 136 20 810 - 290 - 370 825 | 831 | 809 | 083 0.00170 1.8 60
§ Q4H80M2DE Aluminium 110 15 3525 210 30 10,00 - 430 - 4380 855 | 840 | 808 | 079 | 000224 148 62
Q4H90L2D Aluminium 150 2 3575 272 40 1312 - 506 - 794 865 | 866 | 834 | 083 | 000294 185 69
Q4H90L2E Aluminium | 2,20 3 3535 370 60 950 - 270 | - 390 885 | 895 | 885 | 084 | 000318 | 200 65
Q4H100L2D Aluminium | 3,00 4 3555 555 81 1070 - 340 - 510 895 | 867 | 833 | 076 | 000536 | 250 66
Q4HN2M2D Aluminium | 4,00 BI5] 3543 6.40 108 - 10.40 - 2380 4,60 895 | 894 | 880 | 089 0,00741 346 69
Q4H13252D Aluminium | 550 75 3560 940 149 - 1018 - 438 722 902 | 897 | 884 | 080 | 002982 | 530 71
Q4HI32S2DE Aluminium | 7,50 10 3545 12,40 202 - 10,55 - 437 7.38 9.7 913 | 901 | 084 | 003326 | 590 72
Q4HIBOM2D Aluminium | 1,00 15 3575 1920 295 - 926 - 310 6,63 924 | 924 | 906 | 077 0,0417 880 74
Q4HIBOM2DE | Aluminium | 15,00 20 3570 2550 402 - 175 - 447 8,05 924 | 922 | 910 | 080 | 004578 | 950 75
Q4H160L2D Aluminium | 18,50 25 3570 3160 496 - 1082 - 712 6.90 930 | 927 | 917 079 | 005575 | 1060 75
Q4HIBOM2B | Aluminium | 22,00 30 3575 3410 590 - 9.04 - | 561 6.09 930 | 929 | 918 | 087 | 009831 | 1420 76
f, Q4H200L2D Aluminium | 30,00 40 3575 46,50 802 - 1362 - 372 71 936 | 932 | 922 | 087 01383 166.0 77
8 Q4H200L2E Aluminium | 45,00 50 3569 6840 1204 - 1094 - 370 6.87 945 | 946 | 940 | 080 014770 | 200.0 77
§ Q4H225M2D Aluminium | 45,00 65 3571 66.80 1201 - 830 - 160 4,00 945 | 943 | 936 | 089 | 023500 | 2400 8l
Q4HP250M2D Cast Iron | 55,00 75 3583 7960 1467 - 721 - 2386 384 945 | 939 | 929 091 035166 | 537.0 72
Q4HG280M2C | Cast Iron | 75,00 100 3584 107.40 2005 - 730 - 280 590 950 | 945 | 932 | 093 117890 6530 82
Q4HG280M2D | Cast Iron | 90,00 125 3586 128,40 2398 - 850 - 350 770 954 | 950 | 937 | 092 | 126380 | 6800 82
***Q4HG315S2C | Cost Iron | 110,00 150
***Q4HG3I5M2B | Cost Iron | 132,00 180
***Q4HG3ISL2A | Cast Iron | 160,00 215
***Q4HG315L2C | Cast Iron | 200,00 | 285

4 pole 1800 rpm

Q4E63M4B Aluminium | 02 1725 036 07 398 - 344 | - 436 700 | 647 | 580 | 061 47
Q4E63M4C Aluminium | 08 /4 1732 05l 10 574 - 479 | - 562 740 | 721 | 663 | 058 57
Q4E7IM4B Aluminium | 0,25 1/3 1753 070 14 540 - 360 | - 4,80 770 | 726 | 670 | 061 | 000095 | 70 48
= Q4E7IM4C Aluminium | 037 172 1747 091 20 582 = 415 = 510 815 783 | 741 065 93
§ Q4H80OM4D Aluminium | 055 3/4 1767 125 30 777 - 416 - 6.1 840 815 | 778 | 0869 n7
% Q4H80M4E Aluminium | 0.75 1 1758 153 4] 6,60 - 250 | - 350 855 | 837 | 810 | 073 | 000306 | 139 55
S Q4H90L4D Aluminium | 110 15 1766 259 59 720 - 350 | - 450 875 | 857 | 817 | 062 | 000526 | 200 54
Q4H90L4DE | Aluminium | 150 2 1763 320 81 9,00 - 380 | - 4,90 885 | 870 | 837 | 068 | 000691 | 245 57
Q4H100L4D Aluminium | 2,20 3 1765 4,50 n9 8,00 - 280 | - 420 070 | 001059 | 298 59
***Q4HI00L4E | Aluminium 4
Q4HN2M4E Aluminium | 4,00 55 1758 420 217 - 780 - | 270 370 910 | 903 | 896 | 076 | 001527 | 400 60
Q4HI32S4C | Aluminium | 5,50 75 1778 160 344 - 870 - 240 4,00 924 | 915 | 901 | 075 | 003847 | 570 63
Q4HI32M4DE | Aluminium | 7.50 10 1777 1290 44,5 - 778 - | 290 516 924 | 918 | 909 | 079 | 005444 | 780 64
Q4HIBOM4D | Aluminium | 1100 15 1781 20,00 590 - 764 - 310 476 936 | 933 | 924 | 074 | 009146 | 995 65
Q4HieoL4C Aluminium | 15,00 20 1781 2970 803 - 741 - | 257 463 941 | 930 | 921 | 068 0losn 16,0 66
Q4H180L4B Aluminium | 18,50 25 1786 3140 989 - 852 - 1307 397 945 | 944 | 943 | 078 | 0N398 | 1540 69
Q4HisoL4C Aluminium | 22,00 30 1785 40,00 176 - 991 - 359 516 945 | 941 | 924 | 073 | 022166 | 1820 69
; Q4H200L4D | Aluminium | 22,00 30 1783 4620 1608 - 764 - 1236 537 950 | 953 | 950 | 085 1900
S Q4H225M4D | Aluminium | 37,00 50 1787 60,50 1977 - 760 - | 220 420 954 | 950 | 944 | 081 | 036400 | 2460 72
§ Q4H225M4E Aluminium | 45,00 65 1784 7720 2409 = 710 = 220 420 954 | 949 | 944 | 077 | 043500 | 2720 72
Q4HP250M4E | Cast Iron | 55,00 75 1792 103,00 3469 - 756 - | 257 290 084 | 035166 | 5370 74
Q4HG280M4C | Cost Iron | 75,00 100 1793 108,80 4009 - 710 - |20 330 962 | 960 | 953 | 090 | 172100 | 6940 73
Q4HG280M4D | Cast Iron | 90,00 125 1794 146,40 4807 - 750 - | 270 450 962 | 961 | 953 | 081 184140 | 6940 73
***Q4HG315S4C | Cast Iron | 110,00 150
***Q4HG3ISM4B | Cast Iron | 132,00 180
***Q4HGBISL4A | Cast Iron | 160,00 215
***Q4HG315L4C | Cost Iron | 200,00 | 285

* According to IEC 60034-2-1

**The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA

*** Please consult with us.

WAT | IM en 24.0



IE4 THREE PHASE ALUMINIUM MOTORS

DIMENSION - B3

4
0o NN\
o o o F J
] £
poH——f42= =" |\ E .
@D -
o o o
: \
E C | B K A
M L
Mum Dimensions Foot Mounted Motors Shaft
Power Motor Type | Housing Type
(kw) o g up Drive | Non drive Drive Side Non drive
Side Side Side
012 4 Q4EB3M4B Aluminium 1xM20 125 6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
018 2 Q4E63M2B Aluminium | 123 220 | xM20 80 100 | 83 | 162 | 700 [ 40 | N 23 | 125 | 4 |6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
018 4 Q4E63M4C Aluminium | 123 234 | xM20 80 100 | 63 | 162 | 700 [ 40 | 0 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
025 2 Q4EB3M2C Aluminium | 123 234 | 1xM20 80 100 | 63 | 162 | 700 | 40 [ 1 23 | 125 | 4 |6201-ZZ | 6201-ZZ | 12*22*7 12%22*7
025 4 Q4E7IM4B Aluminium | 138 253 | IxM20 90 12 71 | 190 | 700 | 45 | 14 30 16 5 | 6202-ZZ | 6202-ZZ | 15*24*5 15*24*5
037 2 Q4E7IM2B Aluminium | 138 253 1xM20 90 12 71 | 190 | 700 | 45 | 14 30 16 5 |6202-ZZ | 6202-ZZ | 15*24*5 15%24*5
037 4 Q4E7IM4C Aluminium | 138 262 | IxM20 90 12 71 | 190 | 700 | 45 | 14 30 16 5 |6202-ZZ | 6202-ZZ | 15*24*5 15*24*5
055 2 Q4E7IM2C Aluminium | 138 253 | IxM20 90 n2 71 | 190 | 700 | 45 | 14 30 16 5 | 6202-ZZ | 6202-ZZ | 15*24*5 15*24*5

055 4 Q4H80M4D Aluminium | 158 | 268 | IxM20 100 125 | 80 | 216 | 1000 | 50 [ 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
075 2 Q4H80M2D Aluminium | 158 268 | IxM20 100 125 | 80 | 216 {1000 | 50 | 19 | 40 | 215 | 6 |6204-ZZ|6204-ZZ | 20*30*7 | 20*30*7
075 4 Q4H80M4E Aluminium | 158 | 293 | IxM20 100 125 | 80 | 216 | 1000 | 50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
110 2 Q4H8OM2DE | Aluminium | 158 293 | IxM20 100 125 | 80 | 216 {1000 | SO | 19 | 40 | 215 | 6 |6204-ZZ |6204-ZZ | 20*30*7 | 20*30*7
110 4 Q4H90L4D Aluminium | 172 | 344 | IxM25 | 100-125 | 140 | 90 | 223 (1000 | 56 | 24 | 50 | 27 | 8 |6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7
150 2 Q4H90L2D Aluminium | 172 | 344 | IxM25 | 100-125 | 140 | 90 | 223 | 1000 | 56 | 24 | 50 | 27 | 8 |6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7
150 4 Q4H90L4DE Aluminium | 172 379 | IxM25 | 100-125 | 140 | 90 | 223 | 1000 | 56 | 24 | 50 | 27 | 8 |[6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7
220 2 Q4H90L2E Aluminium | 172 | 344 | IxM25 | 100-125 | 140 | 90 | 223 (1000 | 56 | 24 | S0 | 27 | 8 |6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7
220 4 Q4HiooL4D Aluminium | 191 400 | 1xM25 140 160 | 100 | 243 | 1200 | 63 | 28 | 60 | 3I 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
300 2 Q4H100L2D Aluminium | 191 400 | 1xM25 140 160 | 100 | 243 {1200 | 63 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30%47*7
300 4 Q4H100L4E Aluminium | 191 400 | 1xM25 140 160 | 100 | 243 [ 1200 ( 63 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30%47*7
400 2 Q4HN2M2D Aluminium | 210 | 396 | xM25 140 190 | 2 [ 265 1200 70 | 28 | 60 | 3I 8 |6306-ZZ | 6206-2Z | 30*47*7 | 30*47*7
4,00 4 Q4HI2M4E Aluminium | 210 421 | xM25 140 190 | N2 | 266 [1200| 70 | 28 | 60 | 3l 8 |6306-ZZ | 6206-ZZ | 30%47*7 | 30*47*7
550 2 Q4H13252D Aluminium | 260 481 | 1xM32 | 140-178 | 216 | 132 | 328 [ 1200 | 89 | 38 | 80 | 41 | 10 [6208-ZZ| 6208-ZZ | 40*62*10 | 40*62*10
5.50 4 Q4H13254C Aluminium | 260 481 | 1xM32 | 140-178 | 216 | 132 | 328 | 1200 | 89 | 38 | 80 | 41 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
750 2 Q4HI32S2DE | Aluminium | 260 481 | 1xM32 | 140-178 | 216 | 132 | 328 [ 1200 | 89 | 38 | 80 | 41 | 10 |6208-ZZ| 6208-ZZ | 40*62*10 | 40*62*10
750 4 Q4HI32M4DE | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 328 [ 1200 | 89 | 38 | 80 | 41 | 10 |6208-ZZ| 6208-ZZ | 40*62*10 | 40*62*10
1.00 2 Q4HIB0M2D Aluminium | 305 | 591 | IxM32 | 210-254 | 254 | 160 | 378 | 1450 | 108 | 42 | WO | 45 | 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10

1.00 4 Q4H1IBOMA4D Aluminium | 305 | 591 | IxM32 | 210-254 | 254 | 160 | 378 | 1450 [ 108 | 42 | WO | 45 | 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10

WAT | IM en 24.0



[E4 THREE PHASE ALUMINIUM MOTORS

e 3
o0 AN
7
o o o F
f £
¢ D L, = - = °_ L é +
oD -
o o o
: \
E C | B K A
o L
Motor Type Housing Type - . -
| L 0 B Alww| k |c|o| e e | Dive [Nondive) o qg | Nondie

Side Side
1500 2 Q4HIBOM2DE | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 378 | 1450 | 108 | 42 | N0 | 45 | 12 [6309-ZZ| 6209-ZZ | 45*72*10 | 45*72*10

15,00 4 Q4HieoL4C Aluminium | 305 | 622 | 1xM32 | 210-254 | 254 | 160 | 378 [ 1450 | 108 | 42 | N0 | 45 | 12 |6B309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
18.50 2 Q4HieoL2D Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 378 | 1450 | 108 | 42 | N0 | 45 | 12 |6309-ZZ| 6209-ZZ | 45*72*10 | 45*72*10
18.50 4 Q4H180L4B Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 1450 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*I0
2200 2 Q4H1I8OM2B Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 {1450 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
2200 4 Q4H1B0L4C Aluminium | 349 | 750 | 1xM40 | 241-279 | 279 | 180 | 437 1450 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
30,00 2 Q4H200L2D Aluminium | 349 | 706 | 1xM50 | 267-305| 318 | 200 | 455 1850 | 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*I0
30,00 4 Q4H200L4D Aluminium | 349 | 755 | 2xM50 | 267-305 | 318 | 200 | 455 (1850 | 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10
3700 2 Q4H200L2E Aluminium | 349 | 759 | 1xM50 | 267-305| 318 | 200 | 455 (1850 | 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10
3700 4 Q4H225M4D | Aluminium | 456 | 765 | IxMS50 | 286-311 | 356 | 225 | 485 [ 1850 | 149 | 60 | 140 | 64 | 18 | 6313-ZZ | 63I13-ZZ | 65*100*13 | 65*100*13
4500 2 Q4H225M2D | Aluminium | 456 | 735 | IxMS50 | 286-31 | 356 | 225 | 485 | 1850 | 149 | 60 | 10 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13
45,00 4 Q4H225M4E | Aluminium | 456 | 765 | 1xM50 | 286-30l | 356 | 225 | 485 | 1850 | 149 | 60 | 140 | 65 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13
55,00 2 Q4HP250M2D | Costlron | 489 | 893 | 1xM50 | 311-349 | 406 | 250 | 616 (2400|149 | 65 | 140 | 69 | 18 | 6316-Z | 6316-Z | 80*100*I0 | 80*100*10
55,00 4 Q4HP250M4E | Costlron | 489 | 893 | 1xM50 | 31-349 | 406 | 250 | 616 (2400|149 | 65 | 140 | 69 | 18 | 6316-Z | 63I16-Z | 80*100*10 | 80*100*10
75,00 2 Q4HG280M2C | Cost lron | 574 | 1021 | 1xM63 | 368-419 | 457 | 280 | 664 (2400|190 | 65 | 140 | 69 | 18 6314 6314 70*90*10 | 70*90*10
75,00 4 Q4HG280M4C | Costlron | 574 | 1021 | 1xMB3 | 368-419 | 457 | 280 | 664 (2400|190 | 75 | 140 | 795 | 20 6317 6317 85*110*12 | 85*110*12
90,00 2 Q4HG280M2D | Cost lron | 574 | 1021 | 1xM63 | 368-419 | 457 | 280 | 664 (2400|190 | 65 | 140 | 69 | 18 6314 6314 70*90*10 | 70*90*10
90,00 4 Q4HG280M4D | Cast lron | 574 | 1021 | IxM63 | 368-419 | 457 | 280 | 664 (2400|190 | 75 | 140 | 795 | 20 6317 6317 85*110*12 | 85*110*12
110,00 2 Q4HG315S2C Cost Iron | 645 | 1000 | 2xM63 | 406 508 | 315 | 847 |2800| 216 | 65 | 140 | 69 | 18 6316 6316 80 VAR | 80VAR
10,00 4 Q4HG31554C Cast Iron | 645 | 1030 | 2xM63 | 406 508 | 315 | 847 |2800| 216 | 80 | 170 | 85 | 22 6319 6319 95 VAR 95 VAR
132,00 2 Q4HG315M2B Cast Iron | 645 | 1070 | 2xM63 | 406-457 | 508 | 315 | 847 (2800 216 | 65 | 140 | 69 | 18 6316 6316 80 VAR | 80VAR
132,00 4 Q4HG315M4B Cost Iron | 645 | 100 | 2xM63 | 406-457 | 508 | 315 | 847 (2800|216 | 80 | 170 | 85 | 22 6319 6319 95 VAR 95 VAR
160,00 2 Q4HG3ISL2A Caost Iron | 645 | 1070 | 2xM63 | 406-457 | 508 | 315 | 847 (2800 216 | 65 | 140 | 69 | 18 6316 6316 80 VAR | 80VAR
160,00 4 Q4HG3ISL4A Cost Iron | 645 | 180 | 2xM63 | 457-508 | 508 | 315 | 847 (2800|216 | 80 | 170 | 85 | 22 6319 6319 95 VAR 95 VAR
200,00 2 Q4HG315L2C Cost Iron | 645 | 150 | 2xM63 | 457-508 | 508 | 315 | 847 (2800 216 | 65 | 140 | 69 | 18 6316 6316 80 VAR | 80VAR

200,00 4 Q4HG3I5L4C Cost Iron | 645 | 180 | 2xM63 | 457-508 | 508 | 315 | 847 (2800|216 | 80 | 170 | 85 | 22 6319 6319 95 VAR 95 VAR

WAT | IM en 24.0



IE4 THREE PHASE ALUMINIUM MOTORS

DIMENSION - BS, B35

7 ] F
A o o o
] ‘ =
[N I ey [ () <C -
ISSRSEASE = = = =< — /*G
N I
A o o o
D
; le——of
<
T
£ C B A
L
, Main Dimensions Foot Mounted Motors Shaft Flange (FA B5, B35)
Power Motor Tune Housing
(kW] e Tupe

T« Lo Lo o T Tl Jomas o 5|+ T i+
012 4 Q4E63M4B | Aluminium | 123 | 220,00 | 1xM20 80 100 [ 63 | 162 | 700 | 40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 | - |10,00
018 2 Q4EB3M2B | Aluminium | 123 | 220,00 | IxM20 80 100 | 63 | 162 | 700 [ 40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | N5 | - |10,00
018 4 Q4E63M4C | Aluminium | 123 | 234,00 | 1xM20 80 100 [ 63 | 162 | 700 | 40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 | - |10,00
025 2 Q4E63M2C | Aluminium | 123 | 234,00 | 1xM20 80 100 [ 63 | 162 | 700 | 40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 | - |10,00
025 4 Q4E7IM4B | Aluminium | 138 | 253,00 | 1xXM20 90 M2 [ 71 1190 | 700 | 45 (14| 30 | 16 | 5 [6202-ZZ | 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 | - 10,00
037 2 Q4E7IM2B | Aluminium | 138 | 253,00 | 1xXM20 90 M2 | 711190 | 700 |45 (14| 30 | 6 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 10 | 130 | - (10,00
037 4 Q4E7IM4C | Aluminium | 138 | 262,00 | 1xXM20 90 M2 | 71 1190 | 700 (45 (14| 30 | 16 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 10 | 130 | - (10,00
055 2 Q4E7IM2C | Aluminium | 138 | 253,00 | 1xXM20 90 M2 | 711190 | 700 | 45 (14| 30 | 16 | 5 [6202-ZZ | 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 | - (10,00
055 4 Q4H80M4D | Aluminium | 158 | 268,00 | 1xM20 | 100 125 | 80 | 216 | 10,00 | 50 | 19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - [ 1200
075 2 Q4H80M2D | Aluminium | 158 | 268,00 | 1xXM20 100 125 |80 | 216 | 1000 | 50 | 19 | 40 |215| 6 |6204-ZZ| 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - [ 1200
0.75 4 Q4H8OM4E | Aluminium | 158 | 293,00 | 1xM20 100 125 | 80 | 216 (1000 | 50 [ 19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - |12.00
110 2 | Q4H8OM2DE | Aluminium | 158 | 293,00 | 1xXM20 100 125 | 80 | 216 | 1000 | 50 | 19 | 40 |215| 6 |6204-ZZ| 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - [ 1200
110 4 Q4H90L4D | Aluminium | 172 | 344,00 | 1xM25 | 100-125 | 140 | 90 | 223 | 1000 | 56 (24| 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - 12,00
150 2 Q4H90L2D | Aluminium | 172 | 344,00 | 1xM25 | 100-125 | 140 | 90 | 223 [ 1000 | 56 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - 12,00
150 4 Q4H90L4DE | Aluminium | 172 | 379,00 | 1xM25 | 100-125 | 140 | 90 | 223 | 1000 | 56 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - 12,00
220 2 Q4H90L2E | Aluminium | 172 | 344,00 | 1xM25 | 100-125 | 140 | 90 | 223 [ 10.00 | 56 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 12,00
220 4 Q4HI00L4D | Aluminium | 191 | 400,00 | IxM25 140 160 | 100 | 243 [ 1200 | 63 |28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - |14,50
3,00 2 Q4HI00L2D | Aluminium | 191 | 400,00 | 1xM25 140 160 {100 | 243 | 1200 | 63 (28| 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - |14,50
3,00 4 Q4HIOOL4E | Aluminium | 191 | 400,00 | 1xM25 140 160 100|243 | 1200 | 63 |28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 14,50
4,00 2 Q4HN2M2D | Aluminium | 210 | 396,00 | 1xM25 140 190 | 12 [ 265 | 1200 | 70 (28| 60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - |14,50
4,00 4 Q4HI2M4E | Aluminium | 210 | 42100 | 1xM25 140 190 | 112 [ 266 | 1200 | 70 |28 | 60 | 31 | 8 [6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - [14,50
550 2 Q4H132S2D | Aluminium | 260 | 48100 | 1xM32 | 140-178 | 216 | 132 | 328 | 1200 | 89 |38 | 80 | 41 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 |230| 265 | - | 14,50
5,50 4 Q4H132S4C | Aluminium | 260 | 481,00 |1xM32 | 140-178 | 216 | 132 | 328 | 1200 | 89 | 38| 80 | 41 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 |230 | 265 | - | 14,50
750 2 | Q4HI132S2DE | Aluminium | 260 | 48100 | 1xM32 | 140-178 | 216 | 132 | 328 | 1200 | 89 [ 38| 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 14,50
7.50 4 | Q4HI32M4DE | Aluminium | 260 | 539,00 | 1xM32 | 140-178 | 216 | 132 | 328 | 1200 | 89 (38| 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - |14,50
1,00 2 Q4H1I6OM2D | Aluminium | 305 | 59100 | 1xM32 | 210-254 | 254 | 160 | 378 | 1450 (108 [ 42| 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 18,50

100 | 4 | Q4HIBOMA4D | Aluminium | 305 | 59100 | 1xM32 | 210-254 | 254 | 160 | 378 | 1450 | 108 | 42| 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - 1850

WAT | IM en 24.0



Power
(kw]

15,00
15,00
18.50
18.50
22,00
22,00
3000
3000
3700
37,00
4500
45,00
55,00
55,00
75,00
7500
9000
90,00
10,00
110,00
132,00
132.00
160,00
160,00
200,00

200,00

[E4 THREE PHASE ALUMINIUM MOTORS

LA 5 o /o i
~
|

S als o ) < N /75{

A © o ©

|0
<]
T
£ C B
L
. Main Dimensions Foot Mounted Motors Shaft
Motor Type H(;:;':g
el o oo e[ el

2 | Q4HIBOM2DE | Aluminium | 305 | 59100 | 1xM32 | 210-254 | 254 | 160 | 378 | 14,50 {108 [ 42| 10 | 45 | 12
4 Q4HIBOL4C | Aluminium | 305 | 622,00 | 1xM32 | 210-254 | 254 | 160 | 378 | 1450 108 |42 | N0 | 45 | 12
2 Q4HI60L2D | Aluminium | 305 | 59100 | 1xM32 | 210-254 | 254 | 160 | 378 | 1450 108 | 42| N0 | 45| 12
4 Q4HIBOL4B | Aluminium | 349 | 696,00 | 1xM40 | 241-279 | 279 | 180 | 437 | 1450 | 121 | 48| N0 [515| 14
2 | Q4HIBOM2B | Aluminium | 349 | 696,00 | 1XM40 | 241-279 | 279 | 180 | 437 | 1450 | 121 | 48| 10 | 515| 14
4 Q4HIBOL4C | Aluminium | 349 | 750,00 | 1xM40Q | 241-279 | 279 | 180 | 437 | 1450 | 121 | 48| 10 [515| 14
2 | Q4H200L2D | Aluminium | 349 | 706,00 | 1xM50 |267-305| 318 (200 455 | 1850 [ 133 |55| 10 | 59 | 16
4 | Q4H200L4D | Aluminium | 349 | 755,50 | 2xM50 [267-305| 318 |200| 455 | 1850 | 133 | 55| 10 | 59 | 16
2 | Q4H200L2E | Aluminium | 349 | 759,00 | 1xM50 |267-305| 318 (200 455 | 1850 [ 133 |55| 10 | 59 | 16
4 | Q4H225M4D | Aluminium | 456 | 765,00 | 1xM50 | 286-311 | 356 |225| 485 | 1850 | 149 |60 | 140 | 64 | 18
2 | Q4H225M2D | Aluminium | 456 | 735,00 | 1xMS0 | 286-311 | 356 | 225| 485 | 1850 (149 (60| 10 | 64 | 18
4 | Q4H225M4E | Aluminium | 456 | 765,00 | 1xXM50 | 286-311 | 356 |225| 485 | 1850 | 149 |60 | 140 | 65 | 18
2 |Q4HP250M2D| Cast Iron | 489 | 893,00 | IxM50 | 311-349 | 406 |250| 616 | 24,00 (149 | 65| 140 | 69 | 18
4 |Q4HP250M4E| Cost Iron | 489 | 89300 | IXMS0 | 311-349 | 406 | 250| 616 | 24,00 (149 |65 140 | 69 | 18
2 |Q4HG280M2C| Cast Iron | 574 | 102100 | IxM63 | 368-419 | 457 {280 | 664 | 24,00 (190 [65 | 140 | 69 | 18
4 |Q4HG280MA4C| Cast Iron | 574 | 102100 | IxM63 | 368-419 | 457 {280 | 664 | 24,00 (190 | 75 | 140 (795| 20
2 |Q4HG280M2D| Caost Iron | 574 | 102100 | IxXM63 | 368-419 | 457 | 280 | 664 [ 24,00 (190 (65| 140 | 69 | 18
4 |Q4HG280M4D| Cast Iron | 574 | 102100 | 1xM63 | 368-419 | 457 {280 | 664 | 24,00 (190 [ 75 | 140 (795| 20
2 | Q4HG315S2C | Cast Iron | 645 |1000,00 | 2xMB3| 406 | 508 | 315 | 847 | 2800|216 65| 140 | 69 | 18
4 | Q4HG315S4C | Cost Iron | 645 (103000 | 2xM63| 406 | 508 | 315 | 847 [ 2800|216 80| 170 | 85 | 22
2 | Q4HG315M2B| Cast Iron | 645 [1070,00 | 2xM63 |406-457| 508 | 315 | 847 | 2800|216 | 65| 140 | 69 | 18
4 | Q4HG3I1SM4B| Cost Iron | 645 | 100,00 | 2xM63 [406-457| 508 | 315 | 847 | 2800|216 (80| 170 | 85 | 22
2 | Q4HG3ISL2A | Cast Iron | 645 | 1070,00 | 2xM63 [406-457| 508 | 315 | 847 | 2800 216 (65| 140 | 69 | 18
4 | Q4HG3ISL4A | Cost Iron | 645 | 180,00 | 2xM63 |457-508| 508 | 315 | 847 | 2800|216 | 80| 170 | 85 | 22
2 | Q4HG3I5L2C | Cast Iron | 645 | 150,00 | 2xM63 |457-508| 508 | 315 | 847 | 2800 | 216 | 65| 140 | 69 | 18
4 | Q4HG3I5L4C | Cost Iron | 645 | 180,00 | 2xM63 [457-508| 508 | 315 | 847 | 2800|216 |80 | 170 | 85 | 22

HD

Bearing

6309-77

6309-7Z

6309-7Z

6310-27Z

6310-27

6310-22

6312-7Z

6312-27

6312-7Z

6313-7Z

6313-7Z

6313-2Z

6316-Z

6316-Z

6314

6317

6314

6317

6316

6319

6316

6319

6316

6319

6316

6319

6209-77

6209-7Z

6209-77

6310-27Z

6310-27

6310-2Z

6310-27

6310-27Z

6310-2Z

6313-2Z

6313-2Z

6313-7Z

6316-Z

6316-Z

6314

6317

6314

6317

6316

6319

6316

6319

6316

6319

6316

6319

Seal

Drive Side Non.drive rive Side
Side

]
45*72*10
45*72*10
45*72*10
50*80*10
50*80*10
50*80*10
60*90*10
60*90*10
60*90*10
65*100*13
65*100*13
65*100*13
80*100*10
80*100*10
70*90*10
85*110*12
70*90*10
85*110*12
80 VAR
95 VAR
80 VAR
95 VAR
80 VAR
95 VAR
80 VAR

95 VAR

Non drive
Side

45*72*10
45*72*10
45*72*10
50*80*10
50*80*10
50*80*10
50*80*10
50*80*10
50*80*10
65*100*13
65*100*13
65*100*13
80*100*10
80*100*10
70*90*10
85*T10*12
70*90*10
85*110*12
80 VAR

95 VAR

80 VAR

95 VAR

80 VAR

95 VAR

80 VAR

95 VAR

Flange (FA BS, B35)

350

350

350

350

350

400

400

400

450

450

450

550

550

550

550

550

550

660

660

660

660

660

660

660

660

250

250

250

250

250

300

300

300

350

350

350

450

450

450

450

450

450

550

550

550

550

550

550

550

550

300

300

300

300

300

350

350

350

400

400

400

500

500

500

500

500

500

600

600

600

600

600

600

600

600

350 | 250|300 | -

18,50
18.50
18.50
18.50
18.50
1850
18,50
18.50
1850
1850
1850
1850
1850
18.50
18.50
18.50
18,50
18.50
24,00
24,00
2400
2400
24,00
2400
24,00

24,00

WAT | IM en 24.0



|E4 THREE PHASE ALUMINIUM

DIMENSION - Bl4a, B34a

D

@P

012
018
018
025
025
037
037
055
0.55
075
075
110
110
150
150
220

220

4,00

400

550

750

750

‘ 7
= o O O‘
ZD"A‘A 2 |
Qgt‘i; <o go’}
il (
| © O e‘
= -
£ C B
L

Motor Type

Q4E63M4B
Q4E63M2B
Q4E63M4C
Q4E63M2C
Q4E7IM4B
Q4E7M2B
Q4E7IM4C
Q4E7IM2C
Q4H80M4D
Q4H80M2D
Q4H80M4E
Q4H80M2DE
Q4H90L4D
Q4H9oL2D
Q4H90L4DE
Q4H90L2E
Q4H100L4D
Q4Hio0L2D
Q4HI00L4E
Q4HN2M2D
Q4HI2M4E
Q4HI3252D
Q4H13284C
Q4H132S2DE

Q4HI32M4DE

Housing
Type

Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium

Aluminium

Main Dimensions

123

123

123

123

138

138

138

138

158

158

158

158

172

172

172

172

191

191

191

210

210

260

260

260

260

AC

Foot Mounted Motors

xM20
220 |1xM20 | 80 100 |63 |162| 7
234 | 1xM20 | 80 100 | 63| 162 | 7
234 | 1xM20| 80 100 |63 |1B2| 7
253 |IxM20| 90 mn | 711190 7
253 |IxM20| 90 m{7jpmLo| 7
262 |1xM20| 90 m {71180 7
253 [IxM20 | 90 m{7jmLo| 7
268 | IxM20 | 100 125 |80 | 216 | 10
268 | 1xM20 | 100 125 |80 (26| 10
293 |IxM20| 100 | 125 |80 |26 | 10
293 |IxM20| 100 | 125 |80 |26 | 10
344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10
344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10
379 | 1xM25 | 100-125 | 140 | 90 | 223 | 10
344 | 1xM25 | 100-125 | 140 | 90 [ 223 | 10
400 |1xM25| 140 | 160 [100 |243| 12
400 | 1xM25 | 140 160 | 100 243 | 12
400 |1xM25| 140 | 160 100|243 | 12
396 | IxM25| 140 190 | 12 [265| 12
421 | xM25 | 140 190 | 12 [266 | 12
481 | IxM32 | 140-178 | 216 | 132 | 328 | 12
481 | 1xM32 | 140-178 | 216 | 132 | 328 | 12
481 | 1xM32 | 140-178 | 216 | 132 | 328 | 12
539 | xM32 | 140-178 | 216 132 | 328 | 12

40

40

40

40

45

45

45

45

50

50

50

50

56

56

56

56

63

63

63

70

70

89

89

89

89

on dnve
ﬂﬂﬂﬂ

24

24

24

24

28

28

28

28

28

38

38

38

38

23

23

23

30

30

30

30

40

40

40

40

50

50

S0

50

60

60

60

60

60

80

80

80

80

MOTORS

GA

125
125
125

125

215
215
215
215
27
27
27
27
3l
3l
3l
3l
3l
41
41
41

41

o | Non drive

6201-2Z
6201-2Z
6201-27
6201-2Z
6202-7Z
6202-27
6202-2Z
6202-27
6204-27
6204-2Z
6204-27
6204-27
6305-2Z
6305-Z2Z
6305-7Z
6305-7Z
6306-2Z
6306-7Z
6306-7Z
6306-2Z
6306-7Z
6208-7Z
6208-7Z
6208-7Z

6208-77

6201-2Z
6201-2Z
6201-2Z
6201-2Z
6202-77
6202-77
6202-7Z
6202-77
6204-77
6204-77
6204-77
6204-27
6205-7Z
6205-7Z
6205-72Z
6205-7Z
6205-2Z
6205-7Z
6205-2Z
6206-2Z
6206-2Z
6208-7Z
6208-7Z
6208-7Z

6208-7Z

12*22*7
12%22*7
12%22*7
12*22*7
15*24*5
15*24*5
15*24*5
15*24*5
20*30*7
20*30*7
20*30*7
20*30*7
25%40*7
25*40*7
25*40%7
25*40*7
30*47*7
30*47*7
30*47*7
30*47*7
30*47*7
40*62*10
40*62*10
40*62*10

40*62*10

12*22*7
12%22*7
12%22*7
12*22*7
15*24*5
15*24*5
15*24*5
15*24*5
20*30*7
20*30*7
20*30*7
20*30*7
25%40*7
25*40*7
25%40*7
25*40*7
30*47*7
30*47*7
30*47*7
30*47*7
30*47*7
40*62*10
40*62*10
40*62*10

40*62*10

90

90

90

105

105

200

200

200

200

60

60

60

70

70

70

70

80

80

80

80

95

95

95

95

10

1o

1o

1o

10

130

130

130

130

75

75

75

85

85

85

85

100

100

100

100

s

IS

s

115

130

130

130

130

130

165

165

165

165

MS

M5

M5

M5

M6

M6

M6

M6

M6

M6

M6

M6

M8

M8

M8

M8

M8

M8

M8

M8

M8

Mio

Mio

MI0

Mio

WAT | IM en 24.0



[E4 THREE PHASE ALUMINIUM MOTORS

Lx90°

DIMENSION - Blab, B34b

SP RS,
7
R o Y S < i
) gi=—=: :
[ =
s8] e[ = =0 > = ElE
N = g )
i e o o |
T il =
| Kl
£ C | B |
L

Foot Mounted Motors

012
018
018
025
025
037
037
055
055
075
075
110
110
150
150
220

220

4,00
4,00
550
550
750

750

Motor Type

Q4E63M4B
Q4E63M2B
Q4E63M4C
Q4E63M2C
Q4E7IM4B
Q4E71M2B
Q4E7IM4C
Q4E7IM2C
Q4H80M4D
Q4H80M2D
Q4H80OM4E
Q4H80M2DE
Q4H90L4D
Q4H90L2D
Q4H90L4DE
Q4H90L2E
Q4H100L4D
Q4Hio0L2D
Q4HI00L4E
Q4HN2M2D
Q4HI2M4E
Q4H13252D
Q4H13254C
Q4H132S2DE

Q4H132M4DE

.
Housing
o] ¢ |

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

123
123
123
123
138
138
138
138
158
158
158
158
172
172
172
172
191
191
191
210
210
260
260
260

260

220
220
234
234
253
253
262
253
268
268
293
293
344
344
379
344
400
400
400
39
421

481

481

539

xM20

1xM20

xM20

xM20

1xM20

xM20

xM20

xM20

xM20

xM20

1xM20

1xM20

xM25

xM25

xM25

xM25

1xM25

1xM25

xM25

1xM25

xM25

xM32

1xM32

1xM32

1xM32

80

80

80

80

90

90

90

920

100

100

100

100

100-125

100-125

100-125

100-125

140

140

140

140

140

140-178

140-178

140-178

140-178

100

100

100

n2

n2

2

n2

125

125

125

125

140

140

140

140

160

160

160

190

190

216

216

216

216

63

63

63

71

71

71

71

80

80

80

80

90

90

90

90

100

100

100

2

12

132

132

132

132

162

162

162

190

190

190

190

216

216

216

216

223

223

223

223

243

243

243

265

266

328

328

328

328

100 | 63| 162 | 7

7

7

40

40

40

40

45

45

45

45

S0

50

50

50

56

56

56

56

63

63

63

70

70

89

89

89

89

24

24

24

24

28

28

28

28

28

38

38

38

38

23

23

23

23

30

30

30

30

40

40

40

40

50

50

S0

50

60

60

60

60

60

80

80

80

80

125
125
125

125

215
215
215
215
27
27
27
27
3l
3l
3l
3
3l
4
41
4

41

o | Non drive

6201-2Z
6201-2Z
6201-27Z
6201-27
6202-77
6202-27
6202-7Z
6202-77
6204-77
6204-2Z
6204-27
6204-27
6305-7Z
6305-Z2Z
6305-7Z
6305-7Z
6306-2Z
6306-7Z
6306-2Z
6306-2Z
6306-7Z
6208-7Z
6208-7Z
6208-7Z

6208-77

6201-2Z
6201-2Z
6201-2Z
6201-2Z
6202-77
6202-77
6202-7Z
6202-77
6204-77
6204-77
6204-727
6204-77
6205-7Z
6205-7Z
6205-7Z
6205-7Z
6205-2Z
6205-7Z
6205-2Z
6206-2Z
6206-2Z
6208-2Z
6208-7Z
6208-7Z

6208-7Z

12*22*7
12*22*7
12%22*7
12*22*7
15*24*5
15*24*5
15*24*5
15*24*5
20*30*7
20*30*7
20*30*7
20*30*7
25%40%7
25*40*7
25*40%7
25*40*7
30*47*7
30*47*7
30%47*7
30*47*7
30*47*7
40*62*10
40*62*10
40*62*10

40*62*10

12*22*7
12%22*7
12%22*7
12*22*7
15*¥24*5
15*24*5
15*24*5
15*24*5
20*30*7
20*30*7
20*30*7
20*30*7
25%40*7
25*40*7
25%40*7
25%40%7
30*47*7
30*47*7
30*47*7
30*47*7
30*47*7
40*62*10
40*62*10
40*62*10

40*62*10

. on drive
ool

120

200

200

200

200

200

250

250

250

250

80

80

80

95

95

95

95

1[0}

1o

10

10

10

10

1[0}

1o

130

130

130

130

130

180

180

180

180

80 | 100 | -

100

100

100

1S

115

s

15

130

130

130

130

130

130

130

130

165

165

165

165

165

215

215

215

215

M6

M6
M6
M6
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
Mio
Mio
Mio
Mio
Mio
M2
Mi2
M2

Mi2

WAT | IM en 24.0






5 f MHREERRRIANSE

_ -
"‘-..______
—
g
E—-—\
p—
e

- AUV
OTORS

[Ee
_RM




IE3 THREE PHASE ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS @ 50 Hz

RATED VALUES STARTING VALUES Breckdown o o | S0
HOUSING CURRENT TORQUE Torque Cose J (83) Pressure
MOTOR TYPE | v Power SPEED | CURRENT | TORQUE Ratio e

v [ | aw

2 pole 3000 rpm

Q3E63M2K Aluminium | 02 017 2875 066/038 04 49 24 31 608 | 574 | 501 | 076 | 000022 43 58
Q3E63M2A Aluminium | 0I8 025 2780 086/050 06 50 28 28 659 | 633 | 579 | 087 | 000022 44 58
Q3E63M2B Aluminium | 0.25 030 2788 114/066 08 52 27 28 697 | 683 | 639 | 087 | 000025 5.0 58

C | Q3E63M2C Aluminium | 037 050 2872 173/100 12 72 45 4] 738 | 724 | 673 | 074 | 000030 6.0 58
Q3E7IM2A Aluminium | 037 050 2785 139/0.80 12 58 29 29 738 | 770 | 750 | 088 | 000043 68 62
Q3E7IM2B Aluminium | 0,55 075 2808 226/131 18 6.2 38 38 778 | 741 | 695 | 080 | 000057 70 62

=8 C |Q3E7IM2D Aluminium | 0.75 10 2883 32/184 25 86 4.7 47 807 | 806 | 774 | 074 | 000036 90 62
§ Q3H80OM2C Aluminium | 0.75 10 2890 28/16 24 78 31 37 807 | 804 | 757 | 085 | 000140 101 64
é Q3H80OM2D Aluminium | 110 15 2890 39/23 36 89 40 43 827 | 822 | 793 | 085 | 000170 135 64
& C | Q3H8OM2DE | Aluminium | 150 20 2918 56/32 49 13 49 55 842 | 833 | 805 | 081 | 000224 | 145 64
Q3Hg0L2C Aluminium | 150 20 2930 52/30 48 1S 38 Sl 842 | 862 | 842 | 084 | 000249 170 66
Q3HS90S2C | Aluminium | 150 20 2918 56/32 49 1.3 49 55 842 | 833 | 805 | 08I 0,00201 14,5 64
Q3H90L2D Aluminium | 2,20 30 2917 74/43 72 88 28 39 859 | 862 | 850 | 087 | 000283 180 66

C | Q3H90L2E Aluminium | 3,00 40 2890 | 10.25/592 99 96 33 44 871 | 872 | 868 | 085 | 000318 182 66
Q3H100L2D Aluminium | 3,00 40 2930 99/57 98 n7 38 46 871 | 865 | 851 | 089 | 000536 | 250 70
Q3HSI00L2C | Aluminium | 3,00 40 2890 | 1025/592 99 96 33 44 871 | 872 | 868 | 085 | 000310 250 66

C |Q3HIOOL2DE | Aluminium | 4,00 55 2925 78/45 130 125 44 54 881 | 881 | 858 | 085 | 000612 280 70
Q3HI2M2C Aluminium | 4,00 55 2918 73/42 131 i 34 45 881 | 866 | 796 | 089 | 000604 | 320 71
Q3HSTI2M2C | Aluminium | 4,00 55 2925 78/45 130 125 44 54 881 | 881 | 858 | 085 | 000638 | 290 70

SC | Q3HIOOL2E Aluminium | 5,50 75 2933 109/63 180 133 Sl 59 892 | 886 | 867 | 083 | 000612 | 350 70

C | Q3Hn2m2D Aluminium | 5,50 75 2920 105/611 179 122 50 61 892 | 889 | 875 | 086 0.00741 320 71
Q3HI32S2C | Aluminium | 5,50 75 2920 102/59 179 89 31 43 892 | 890 | 885 | 088 | 002792 | 500 73
Q3HSI13282C | Aluminium | 5,50 75 2920 105/611 179 122 50 61 892 | 889 | 875 | 086 | 000772 | 362 7

C |Q3HN2M2DE | Aluminium | 7.50 100 2918 139/80 245 126 48 59 901 | 903 | 8391 | 088 | 00092 410 71
Q3H13252D Aluminium | 750 100 2918 136/7.85 245 98 35 45 901 | 901 | 891 | 088 | 003091 555 73
Q3HS13282D | Aluminium | 750 100 2918 139/80 245 126 48 59 901 | 903 | 891 | 088 | 000932 | 425 7

C | Q3HI32M2A | Aluminium | 1,00 150 2925 207/19 359 94 35 51 912 | 914 | 906 | 085 | 003489 | 630 73
Q3HIBOM2C | Aluminium | 1100 150 2965 203/17 355 8l 24 42 912 | 899 | 876 | 087 | 004322 | 825 75

Z Q3HSIBOM2D | Aluminium | 1,00 150 2925 207/19 359 94 35 51 912 | 914 | 906 | 085 | 004015 | 630 73
@ C |Q3HI32M2B | Aluminium | 15,00 200 2930 279/16 490 107 38 Sl 919 | 914 | 901 | 084 | 003489 | 640 73
§ Q3HIBOM2D | Aluminium | 15,00 200 2951 274/158 485 97 28 48 919 | 921 | 910 | 089 | 004322 | 885 75
Q3H160L2C Aluminium | 18,50 250 2961 371/214 596 4 40 56 924 | 920 | 900 | 079 | 004809 | 948 75

C | Q3HiBOL2D Aluminium | 2200 | 300 2961 391/225 707 n7 36 52 927 | 924 | 913 | 087 | 005540 | 180 75
Q3HIBOM2A | Aluminium | 2200 | 300 2960 370/214 712 n2 32 42 927 | 925 | 913 | 092 | 009460 | 1350 76
Q3HSIBOM2B | Aluminium | 2200 | 300 2961 391/225 707 n7 36 52 927 | 924 | 913 | 087 | 005869 | 180 75

C | Q3HIBOM2B | Aluminium | 30,00 | 400 2969 533/308 96.5 107 3l Sl 933 | 931 | 917 | 088 | 010277 | 1380 76
Q3H200L2C | Aluminium | 30,00 | 400 2969 541/312 96,5 107 31 5] 933 | 932 | 922 | 086 | 010277 | 1430 79

C | Q3HI80L2D Aluminium | 3700 | 500 2962 614/355 188 101 29 44 937 | 944 | 940 | 093 onz212 1600 76
Q3H200L2D | Aluminium | 3700 | 500 2962 614/355 8.8 101 29 44 937 | 944 | 940 | 093 011383 176.0 79

SC | Q3HIBOL2DE | Aluminium | 4500 | 600 2963 74.8/432 1452 107 31 Sl 940 | 933 | 928 | 092 | 010277 | 1550 76

C | Q3H200L2DE | Aluminium | 4500 | 600 2963 748/432 145.2 107 31 51 940 | 933 | 928 | 092 014770 | 1986 79
Q3E225M2B | Aluminium | 4500 | 600 2976 788/455 | 1450 s 36 52 940 | 937 | 933 | 089 012158 2180 8l
Q3E250M2B | Aluminium | 5500 | 750 2973 984/568 | 1764 1.6 37 70 943 | 938 | 925 | 086 014216 | 2462 8l

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA

C: Compact Motor
SC: Super Compact Motor @ (
WAT | IM en 240
N S



IE3 THREE PHASE ALUMINIUM MOTORS

RATED VALUES STARTING VALUES Breckdown o o | S0
HOUSING CURRENT TORQUE Torque Cose J (83) Pressure
MOTOR TYPE | v Power SPEED | CURRENT | TORQUE Ratio e

4 pole 1500 rpm

Q3E63M4A Aluminium | 012 017 1390 077/0.45 08 37 28 30 648 | 559 | 476 | 065 | 000022 50 48
Q3E63M4B Aluminium | 018 025 1369 097/056 12 42 29 30 699 | 677 | 623 | 068 | 000026 45 48

C | Q3E63M4C Aluminium | 0.25 030 1400 144/083 17 43 36 36 735 | 712 | 646 | 061 | 000034 59 48
Q3E7IM4B Aluminium | 0.25 030 1435 126/073 17 54 30 34 735 | 742 | 694 | 068 | 00008 71 52
Q3E7IM4C Aluminium | 037 050 1428 185/107 25 53 30 34 773 | 758 | 726 | 070 | 000095 76 52

C | Q3E7IM4E Aluminium | 0,55 075 1425 248/143 37 55 28 30 808 | 786 | 755 | 071 00163 93 52

= Q3H80OM4C Aluminium | 0,55 075 1455 237137 36 66 28 36 808 | 798 | 758 | 073 | 000261 105 53
§ Q3H80M4D Aluminium | 0.75 100 1447 31/18 49 6.4 26 35 825 | 804 | 771 | 074 0.00261 n7 53
§ C | Q3HBOM4DE | Aluminium | 110 150 1447 45/26 73 71 30 38 841 | 834 | 821 | 074 | 000306 142 53
o Q3HS90S4C | Aluminium | 110 150 1447 45/26 73 71 30 38 841 | 834 | 821 | 074 | 000328 14,5 53
Q3H90L4C Aluminium | 110 150 1445 4.4/253 73 72 31 40 841 | 827 | 793 | 078 | 000464 185 54
Q3H90L4D Aluminium | 150 200 1449 61/315 99 82 37 43 853 | 850 | 821 | 076 | 000526 | 200 54

C | Q3H90L4DE | Aluminium | 220 300 1452 95/55 14,5 89 42 4.7 867 | 844 | 809 | 068 | 00069 250 54
Q3H100L4C Aluminium | 2.20 300 1447 83/48 14,5 84 34 4] 867 | 865 | 841 | 079 0.00871 265 58
Q3HSI00L4C | Aluminium | 220 300 1452 95/55 14,5 89 42 47 867 | 844 | 809 | 068 | 000690 | 250 54
Q3H100L4D Aluminium | 3,00 4,00 1445 107/62 200 86 34 39 877 | 874 | 854 | 082 | 001059 310 58
Q3HI2M4D Aluminium | 4,00 550 1455 83/48 26.7 9,50 370 44 886 | 888 | 873 | 079 001383 363 60

C | Q3HI2M4E Aluminium | 550 750 1443 125/6,5 36.5 850 310 38 896 | 892 | 883 | 080 | 001527 400 60
Q3HI3254B Aluminium | 5,50 750 1468 1.3/6.5 358 760 200 36 896 | 898 | 883 | 079 | 003560 | 495 63
Q3HSI13284B | Aluminium | 5,50 750 1443 1.25/65 36.5 850 310 38 896 | 892 | 883 | 080 | 001638 | 430 60
Q3HI32M4D | Aluminium | 750 1000 1467 152/88 488 890 260 40 904 | 907 | 896 | 080 | 004030 | S80 63

C | Q3HI32M4E | Aluminium | T1.00 15,00 1470 210/121 718 9.40 270 43 914 | 914 | 905 | 083 | 005940 | 770 63
Q3HIBOM4C | Aluminium | 1100 15,00 1475 209/120 712 730 270 31 914 | 910 | 901 | 083 | 007542 | 875 65
Q3HSIBOM4C | Aluminium | 1,00 15,00 1470 210/121 718 810 270 43 914 | 914 | 905 | 083 | 005940 | 770 63

= Q3HieOL4B Aluminium | 1500 | 20,00 1477 30.85/178 971 780 280 34 921 | 920 | 808 | 076 | 009005 | 1010 65
§ C | Q3HIBOL4C Aluminium | 1850 | 2500 1474 36.7/212 1200 730 270 31 926 | 931 | 925 | 079 olosn N34 65
g Q3HIBOM4B | Aluminium | 1850 | 2500 1475 339/196 9.4 9,00 290 35 926 | 926 | 915 | 085 | 018660 | 1450 65
S Q3HSIBOM4B | Aluminium | 1850 | 2500 1474 36.7/212 1200 730 270 31 926 | 931 | 925 | 079 011398 170 65
SC | Q3HIBOL4DE | Aluminium | 2200 | 3000 1473 450/260 | 1428 6.70 240 31 930 | 934 | 929 | 077 012070 | 1265 65
Q3HSIBOL4B | Aluminium | 2200 | 30,00 1473 450/260 | 1428 670 240 31 930 | 934 | 929 | 077 012070 | 1340 65
Q3HI80L4B Aluminium | 2200 | 30,00 1483 433/250 1415 850 270 36 930 | 929 | 919 | 079 | 018660 | 1460 68

C | Q3HisoL4C Aluminium | 30,00 | 4000 1483 590/34]1 1930 880 310 42 936 | 935 | 924 | 079 | 022166 | 1760 68
Q3H200L4D | Aluminium | 30,00 | 4000 1475 582/336 | 1940 6.80 195 29 936 | 946 | 948 | 085 022166 | 1740 79
Q3E22584B | Aluminium | 3700 | 50.00 1485 723/417 2384 916 340 46 939 | 937 | 926 | 078 | 020584 | 2250 8l
Q3E225M4C | Aluminium | 4500 | 60.00 1480 869/496 | 2904 830 290 49 942 | 940 | 933 | 085 | 022358 | 2495 8l
Q3E250M4B | Aluminium | 5500 | 7500 1478 99/57.2 3553 822 310 50 946 | 950 | 944 | 075 | 023795 | 2840 8l

* According to IEC 60034-2-1

** The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA

WAT | IM en 24.0
N L/



IE3 THREE PHASE ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS @ 50 Hz

RATED VALUES STARTING VALUES Breckdown o o | S0
HOUSING CURRENT TORQUE Torque Cose J (83) Pressure
MOTOR TYPE | v Power SPEED | CURRENT | TORQUE Ratio e

v [ | aw

6 pole 1000 rpm

Q3E63MBB | Auminium | 012 | 07 | 89800 | 094/056 | 128 | 260 240 260 | 577 | 535 | 442 | 048 | 000022 | 58 | 58
Q3E7IMBA | Auminum | 0I8 | 025 | 88500 | 098/055 | 194 | 3.00 187 206 | 639 |632| 61 | 073 | 000095 | 70 62
Q3E7IMEB | Auminum | 025 | 030 | 88800 | 137/08 | 269 | 300 196 217 | 686 | 671 | 636 | 071 | 000127 | 84 | 82

- Q3H8OMBA | Aluminium | 037 | 050 | 93500 | 173/097 | 380 | 372 148 200 | 735 | 758 | 730 | 075 | 000150 | 1385 | 64

8 Q3HBOMBB | Auminum | 055 | 075 | 94000 | 267/154 | 562 | 4l0 174 232 | 772 | 779 | 754 | 073 | 000188 | 150 | 65

3 Q3HI0L6C | Aluminium | 075 | 100 | 94700 | 355/206 | 758 | 510 259 309 | 786 | 782 | 747 | 067 | 000460 | 180 | 66

S Q3H90L6D | Aluminium | 110 | 150 | 94300 | 521/299 | 12 | 494 254 295 | 810 | 806 | 783 | 067 | 000528 | 220 | 66
Q3HSI00LBD | Aluminium | 150 | 200 | 94300 | 7.3/42 n2 | 494 253 293 | 825 | 827 | 797 | 086 | 00063 | 240 | 70
Q3HiooLeD | Aluminium | 150 | 200 | 94700 | 7/4l 1519 | 557 225 290 | 825 | 817 | 782 | 072 | 00059 | 260 | 70
Q3HSI2MBD | Aluminium | 220 | 300 | 95000 | 95/55 | 221 | 571 245 31 843 | 844 | 824 | 089 | OOR42 | 305 | 7
Q3HI32S6A | Aluminium | 300 | 400 | 98000 | 12/69 292 | 530 218 325 | 866 | 875 | 859 | 072 | 003560 | 528 | 73
Q3HI32MBA | Aluminium | 400 | 550 | 97600 | 9/52 | 3925 568 153 | 280 | 877 | 879 | 863 | 072 | 004030 | 576 | 73
Q3HI32MBB | Aluminum | 550 | 750 | 97120 | 126/73 | 5416 544 149 | 260 | 872 | 880 | 873 | 075 | 005940 | 635 | 73
Q3HSIBOMSC | Aluminium | 750 | 1000 | 97640 | 17/98 | 7335 657 267| 347 | 891 | 892 | 878 | 086 | 00890 | 797 | 75

= Q3HIBOMBC | Aluminium | 750 | 1000 | 97720 | 185/95 | 7334 48 204| 234 | 90 | 917 | 912 | 086 | 007540 | 100 | 75

& Q3HIBOLED | Aluminium | 100 | 1500 | 97650 | 24.4/141 | 10767 539 263| 277 | 905 | 909 | 900 | 067 | 009000 | W55 | 75

S Q3HIBOLEB | Aluminium | 1500 | 2000 | 98190 | 322/185 | 14593 510 161 | 236 | 95 | 920 | 916 | 076 | 0i8660 | 1580 | 76

C |Q3HIBOLEC | Aluminium | 1850 | 2500 | 98040 | 403/232 | 18012 572 220 279 | 915 | 920 | 94 | 075 | 022262 | 1885 | 76
Q3H200L6C | Aluminium | 1850 | 2500 | 98110 | 403/232 | 18015 496 188 | 25l 918 | 923 | 919 | 069 | 023286 | 1730 | 79
C |Q3HIBOLED | Aluminium | 2200 | 3000 | 98280 | 505/291 | 21374 531 207| 278 | 95 | 920 | 913 | 064 | 022852 | 1935 | 76
Q3H200L6D | Aluminium | 2200 | 3000 | 98360 | 505/29]1 | 21358 562 256 | 34 9l | 90 | 895 | 061 | 022186 | 1935 | 79
8 pole 750 rpm
Q3E7M8C | Auminum | 012 | 017 | 68000 | 1/059 169 | 240 171 209 | 507 | 479 | 402 | 057 | 000095 | 72 62
Q3H8OMSC | Aluminium | 0J8 | 025 | 70800 | 12/069 | 243 | 303 | - | 150 | - 218 | 587 | 601 | 530 | 060 | 000261 | 10] B4

= Q3H8oM8D | Aluminium | 025 | 030 | 69800 | 156/09 | 351 | 271 | - | 120 | - 175 641 | 634 | 573 | 062 | 000261 | N6 | 64

g Q3H90L8C | Aluminium | 037 | 050 | 69200 | 23/13I 555 | 296 162 205 | 680 | 670 | 617 | 061 | 000464 | 158 | 66

g Q3H90L8D | Aluminium | 055 | 075 | 70300 | 35/20 | 745 | 350 193 244 | 698 | 677 | 623 | 056 | 000460 | 18O | 66
Q3HI32M8C | Aluminium | 220 | 300 | 73000 | 107/616 | 2873 | 436 172 245 | 819 | 816 | 790 | 061 | 003052 | 526 | 73
Q3Hi32M8D | Aluminium | 300 | 400 | 72500 | 185/779 | 3951 | 1547 555 767 | 835 | 838 | 826 | 066 | 004030 | 572 | 73
Q3HIBOMSC | Aluminium | 400 | 550 | 72600 | 1077/62 | 5256 325 156 | 181 848 | 854 | 840 | 062 | 007542 | 863 | 75
Q3HIBOL8C | Aluminum | 550 | 750 | 73600 | 195/13 | 715l 410 276| 288 | 82 | 847|807 | 047 | o0losn | 1000 | 75

- Q3HIBOLSD | Aluminium | 750 | 1000 | 73000 |2384/138 | 9782 408 247| 250 | 873 | 866 | 837 | 053 | 010832 | 1070 | 75

3 Q3HIBOLSB | Aluminium | 100 | 1500 | 73200 |2893/167 | 14236 461 200| 234 | 886 | 892 | 878 | 06l | 012070 | 1850 | 76

3 Q3H200L8C | Aluminium | 100 | 1500 | 73200 | 2893/167 | 14236 461 200| 234 | 886 | 892|878 | 061 | 019202 | 1850 | 79

S Q3H200L8D | Aluminium | 1500 | 2000 | 73200 |3839/222| 19610 390 142| 212 | 896 | 900 | 890 | 063 | 02286 | 1950 | 79
Q3E225M8B | Aluminium | 1850 | 2500 | 73500 |4485/262| 23988 426 177 | 235 | 901 | 908 | 904 | 085 | 020584 | 2350 | 8
Q3E225M8C | Aluminium | 2200 | 3000 | 73270 557 | 28670 401 178 | 235 | 906 | 904 | 901 | 063 | 022358 | 2764 | s

* According to IEC 60034-2-1

** The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA O

WAT | IM en 24.0
N S



IE3 THREE PHASE ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS @ 60 Hz

RATED VALUES STARTING VALUES
; o0 Bn;akdown EFFICIENCY * : ’ Weight PSuunu:l
HOUSING URRENT TORQUE orque 0s ressure
MoToR TvPE | "TO] Power SPEED i (B3]
1A /IN MA / MN 1
pm

Level

Ratio

2 pole 3600 r
Q3E63M2K Aluminium | 012 017 3494 06/0.35 030 468 267 4]0 620 | 585 | 511 | 072 | 000022 43 61
Q3E63M2A Aluminium | 018 025 | 3440 | 074/043 050 477 Al 370 656 | 634 | 590 | 081 | 000022 44 61
Q3E63M2B Aluminium | 025 | 030 | 3445 | 097/056 070 496 300 370 695 | 690 | 661 | 087 | 000025 50 61
Q3E63M2C Aluminium | 037 | 050 | 3446 1.73/100 100 6.87 5,00 542 738 | 724 | 673 | 074 | 000030 6.0 61
Q3E7IM2A Aluminium | 037 | 050 3415 123/0.71 100 5,54 322 384 734 771 | 767 | 087 | 000043 68 65
Q3E7IM2B Aluminium | 055 | 075 | 3433 204/118 150 592 422 503 768 | 731 | 686 | 078 | 000057 70 65
= C |Q3E7IM2D Aluminium | 0,75 100 3496 28/162 200 82l 522 6.22 770 | 810 | 783 | 072 | 000036 90 65
“g? Q3H80M2C Aluminium | 0,75 100 3512 245/142 2,00 745 344 489 770 | 767 | 722 | 079 | 000140 122 67
g Q3H80M2D Aluminium 110 150 3510 38/22 3,00 850 444 569 840 | 835 | 805 | 079 | 000170 13.0 67
S C |Q3H8OM2DE Aluminium | 150 | 200 | 3525 48/28 410 10.79 544 727 855 | 846 | 817 | 079 | 000224 150 67
Q3H90L2C Aluminium | 150 200 | 3500 48/27 4]0 1098 4,22 6.74 855 | 851 | 826 | 085 | 000249 172 69
Q3HS90S2C Aluminium | 150 | 200 | 3525 48/28 4]0 10.79 544 727 855 | 846 | 817 | 079 | 000178 155 69
Q3H90L2D Aluminium | 220 | 3,00 3531 66/38 590 840 Al 516 865 | 870 | 858 | 085 | 000283 186 69
C |Q3H90L2E Aluminium | 300 | 400 | 3526 92/53 810 916 367 582 885 | 885 | 879 | 081 | 000318 186 69
Q3H100L2D Aluminium | 300 | 400 | 3533 85/49 810 17 422 6,08 885 | 877 | 862 | 089 | 000536 | 250 73
Q3HS100L2C Aluminium | 300 | 400 | 3526 92/53 810 916 367 582 885 | 885 | 879 | 081 | 000310 250 73
C |Q3HIO0L2DE Aluminium | 400 | 550 | 3536 6.9/4 10.80 13.89 489 714 885 | 893 | 880 | 085 | 000612 280 73
Q3H12M2C Aluminium | 400 | 550 | 3526 6.4/37 10.80 1233 378 595 885 | 870 | 800 | 089 | 000604 | 320 74
Q3HS112M2C Aluminium | 400 | 550 | 3536 6.7/39 10.80 1389 489 714 885 | 893 | 880 | 085 | 000638 | 290 74
SC |Q3HI00L2E Aluminium | 550 | 750 | 3570 92/53 14,70 14,77 567 780 895 | 889 | 870 | 084 | 000612 350 73
C |Q3H12M2D Aluminium | 550 | 750 | 3533 86/5 1490 13,55 555 807 895 | 892 | 876 | 089 | 000741 320 74
Q3H132S2C Aluminium | 550 | 750 | 3529 9/5.2 14.90 989 344 569 895 | 897 | 889 | 086 | 002792 | 500 76
Q3HS13252C Aluminium | 550 | 750 | 3533 86/5 1490 1355 5,55 807 895 | 892 | 876 | 089 | 000772 | 362 76
C |Q3H12M2DE Aluminium | 750 | 10,00 | 3515 17/66 2040 14,00 533 7.80 902 | 901 | 888 | 091 | 000921 410 74
Q3H132S2D Aluminium | 750 | 1000 | 3530 122/7 2030 1089 389 595 902 | 908 | 895 | 085 | 003091 555 76
Q3HS132S2D Aluminium | 750 | 1000 | 35I5 17/6.6 20,40 14,00 533 780 902 | 901 | 888 | 091 | 000932 | 425 76
C |Q3HI32M2A Aluminium | 100 | 1500 | 3519 1857106 29,90 1044 389 6,74 910 912 | 905 | 081 | 003489 610 76
Q3HI60M2C Aluminium | 1,00 | 1500 | 3570 177102 29,40 900 267 5,55 910 915 | 895 | 085 | 004322 | 825 78
- Q3HSI160M2D Aluminium | 1,00 | 1500 | 3519 18.5/106 2990 10.44 389 6,74 9.0 912 | 905 | 081 | 004015 630 78
E C |Q3HI132M2B Aluminium | 1500 | 2000 | 3534 24.4/14] 40,50 .89 422 6,74 910 | 898 | 891 | 083 | 003489 | 640 76
g Q3HI60M2D Aluminium | 1500 |2000 | 3557 239/138 4030 1078 Al 6.35 9.0 912 | 901 | 087 | 004322 | 885 78
S Q3HI60L2C Aluminium | 1850 | 2500 | 3567 321/185 4950 12,66 444 7.41 9.7 913 | 893 | 079 | 004809 | 948 78
C |Q3HI60L2D Aluminium | 22,00 | 3000 | 3562 | 352/203 59,00 1300 4,00 6,88 97 | 923 | 912 | 088 | 005540 | 1180 78
Q3HIBOM2A Aluminium | 22,00 | 3000 | 3570 334/19.3 5880 1244 BI5S 5,55 917 915 | 901 | 089 | 009460 | 1350 79
Q3HS180M2B Aluminium | 22,00 | 3000 | 3562 | 352/203 59,00 1300 4,00 6,88 917 | 923 | 912 | 088 | 005869 | 1080 79
C |Q3HI8OM2B Aluminium | 30,00 | 4000 | 3572 | 466/269 8020 189 344 6.74 924 | 822 | 917 | 087 | 010277 | 1385 79
Q3H200L2C Aluminium | 30,00 | 4000 | 3572 | 466/269 8020 189 344 6,74 924 | 922 | 917 | 087 | 010277 | 1430 82
C |Q3Hi8oL2D Aluminium | 3700 |5000| 3564 | 535/30.9 99.82 964 322 582 930 | 936 | 931 | 093 | 0I0512 | 1500 79
Q3H200L2D Aluminium | 3700 | 5000 | 3564 | 535/309 99.82 964 322 582 930 | 936 | 931 | 093 | 01383 1700 82
SC |Q3HIBOL2DE Aluminium | 45,00 | 6000 | 3570 | 6551/37.31 120,77 1262 34 7.55 935 | 933 | 920 | 093 | 010277 | 1990 79
C |Q3H200L2DE Aluminium | 45,00 | 6000 | 3570 | 6551/3731 120,77 1262 34 755 935 | 933 | 920 | 093 | 014770 199.0 82
Q3E225M2B Aluminium | 45,00 | 6000 | 3580 687/40] 120,86 1098 4,00 6.88 936 | 944 | 935 | 087 | 0J2158 2180 84
Q3E250M2B Aluminium | 55,00 | 7500 | 3577 | 854/494 14785 1,07 41 926 936 | 931 | 918 | 086 | 014216 | 2460 84
SC |***Q3HIBOL2DE | Aluminium | 45,00 | 60,00

* According to IEC 60034-2-1

**The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA

*** Please consult with us.

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS @ 60 Hz

RATED VALUES STARTING VALUES
; o0 Bn;akdown EFFICIENCY * : ’ Weight PSuunu:l
HOUSING URRENT TORQUE orque 0s ressure
MoToR TvPE | "TO] Power SPEED i i 83) |

4 pole 1800 rpm

Q3E63M4A Aluminium | 012 017 | 171000 | 071/0.41 067 353 41 397 66,00 | 5950|5230 | 060 | 000022 | 500 61
Q3E63M4B Aluminium | 018 | 025 | 169800 | 081/047 102 401 4,67 397 6950 | 6770 | 6420 | 067 | 000026 | 450 6l
Q3E63M4C Aluminium | 025 | 030 | 171800 | 132/076 140 410 478 476 7340 | 7240 | 6620 | 056 | 000034 | 590 61
Q3E7IM4B Aluminium | 025 | 030 | 174700 | 114/066 138 515 6,00 450 7340 | 7380|6890 | 063 | 00008! 710 65
Q3E7IM4C Aluminium | 037 | 050 | 174500 | 16/093 204 5,06 589 450 7820 | 7670 | 7340 | 063 | 000095 | 7.60 65
C |Q3E7IM4E Aluminium | 055 | 075 | 173700 | 223/129 304 525 61 397 8110 6980|6620 | 068 | 0.001S 920 65
- Q3H80M4C Aluminium | 055 | 075 | 176200 | 207/12 300 6.30 733 476 8110 7990|7600 | 070 | 000261 | 1050 67
§ Q3H80M4D Aluminium | 075 | 100 | 175800 | 282/163 410 6.1 71 463 8350 | 8140 | 7800 | 080 | 000261 | 170 67
E C |Q3H80OM4DE Aluminium | 110 150 | 175500 | 43/25 6.03 678 789 503 86,50 (8580|8440 | 072 | 000306 | 14.50 67
o Q3HS90S4C Aluminium | 110 150 | 175500 4/23 6.03 678 789 503 86,50 (8580|8440 | 072 | 000328 | 1450 69
Q3H90L4C Aluminium | 110 150 | 175000 | 38/22 6.04 687 800 529 8650 | 8610 | 8300 | 077 | 000464 | 1850 69
Q3H90L4D Aluminium | 150 | 6000 | 1752 54/3] 823 783 Al 5,69 86,50 |86.20 | 8330 | 072 | 000526 | 2000 69

C |Q3H90L4DE Aluminium | 220 | 300
Q3H100L4C Aluminium | 220 | 300 | 1750 79/46 1209 802 933 542 89,50 (8890|8520 | 082 | 000871 | 26,00 73
Q3HsiooL4C Aluminium | 220 | 300 | 1752 96/55 1207 850 989 6.22 89,50 | 8820|8620 | 068 | 000690 | 2500 73
Q3H100L4D Aluminium | 300 | 400 | 1765 121/6,95 16.34 821 9,55 516 89,50 (8690 | 8910 | 073 | 001059 | 3100 73
Q3Hn2mM4b Aluminium | 400 | 550 | 1760 74/43 2185 9,07 41 582 8950 (8970|8820 | 078 | 001383 | 3200 74
C |Q3HN2M4E Aluminium | 550 | 750 | 1784 95/55 2964 81 344 503 9170 | 9130 | 9040 | 080 | 001527 | 4000 74
Q3H13254B Aluminium | 550 | 750 1776 100/58 2978 725 222 476 9170 | 9150 | 8000 | 075 | 003560 | 5350 76
Q3HS132548 Aluminium | 550 | 750 | 1784 95/55 2964 8l 344 503 9170 | 9130 | 9040 | 080 | 001858 | 4300 76
Q3H132M4D Aluminium | 750 | 1000 | 1774 130/75 4065 850 289 529 9170 |90.80 | 9020 | 080 | 004030 | 5800 76
C |Q3HI32M4E Aluminium | 100 | 1500 | 1776 18.7/108 5955 897 300 5,69 9240 | 9240 | 9140 | 080 | 005940 | 69,00 76
Q3HIBOM4C Aluminium | 100 | 1500 | 1777 19.2/1.0 5952 6.97 300 410 9240 | 9090 | 9120 | 079 | 007542 | 8750 78
Q3HSIBOM4C Aluminium | 1,00 | 1500 | 1776 187/108 5955 773 300 569 9240 | 9240 | 9140 | 080 | 005940 | 8300 78
- Q3Hie0OL4B Aluminium | 15,00 | 2000 | 1780 270/156 8103 745 31 4,50 9300 | 9210 | 9150 | 076 | 009005 | 10100 78
E C |Q3HiBOL4C Aluminium | 1850 | 2500 | 1778 320/184 100,05 697 300 410 9360 | 9310 | 9220 | 078 | 0QlOSH | N340 78
@ Q3HI80M4B Aluminium | 1850 | 2500 | 1785 299/173 9966 859 322 463 9360 | 9360|9260 | 084 | 018660 | 14500 79
= Q3HSI80M4B Aluminium | 1850 |2500| 1778 320/184 100,05 6.97 300 410 9360 (9300|9230 | 078 | 01398 | 1700 79
SC | Q3HIBOL4DE Aluminium | 2200 | 3000 | 1776 | 390/225 nai 6.40 267 410 9360 | 9400|9350 | 076 | 012070 | 126,50 78
Q3HSI80L4B Aluminium | 22,00 | 3000 | 1776 | 39,0/225 191 6.40 267 410 9360 (9400|9350 | 076 | 012070 | 134,00 79
Q3H180L4B Aluminium | 22,00 | 30,00 | 1785 377/218 ng.sl 8l 300 476 9360 | 9340|9250 | 079 | 018660 | 146,00 79
C |Q3Hi8oL4C Aluminium | 3000 | 4000 | 1783 504/291 161,78 840 344 5,55 9410 | 9370|9280 | 080 | 022166 | 17000 79
Q3H200L4D Aluminium | 3000 | 4000 | 1778 472/272 16224 6.49 217 387 9410 | 9370|9280 | 084 | 022166 | 17400 82
Q3E22584B Aluminium | 37,00 | 5000 | 1786 638/37.3 19920 874 378 6.08 9450 | 9410 | 9250 | 078 | 020584 |23900| 84
Q3E225M4C Aluminium | 4500 | 6000 | 1788 | 86.4/505 242,00 792 322 6.48 9500 | 9440|9290 | 069 | 022358 |26500| 84
Q3E250M4B Aluminium | 5500 | 7500 | 1777 918/530 297,61 785 344 661 9540 | 9550|9480 | 080 | 023795 |27800| 84

* According to IEC 60034-2-1

**The sound pressure measurements are taken Im away from the motor / // /\ \
i

** Tolerance +3 dBA

WAT | IM en 24.0
L N



IE3 THREE PHASE ALUMINIUM MOTORS

RATED VALUES STARTING VALUES
; o0 Bn;akdown EFFICIENCY * : ’ Weight PSuunu:l
HOUSING URRENT TORQUE orque 0s ressure
MoToR TvPE | "TO] Power SPEED i v 83) |

6 pole 1200 rpm

***Q3E63MBB | Aluminium | 0]2 017
Q3E7IMBA Aluminium | 018 025 | M300 | 085/049 156 2386 208 272 6750 | 6680|6450 069 | 000095 | 6,00 65
Q3E7IM6B Aluminium | 025 | 030 | 10,00 123/0.71 217 2386 218 287 7140 | 6810 | 6550 | 066 | 000127 840 65
> Q3H80OMBA Aluminium | 037 | 050 | 114300 | 147/085 31 BI55) 164 265 7530 | 7770 | 7480 | 071 | 000150 | 1200 67
§ Q3H80M6B Aluminium | 055 | 075 | 115000 | 114/067 460 391 193 307 8170 8090|7780 | 067 | 000188 | 1250 68
% Q3H90L6C Aluminium | 0,75 100 | 115700 33/19 623 487 288 4,09 8250 8200 7790 | 062 | 000460 | 1800 69
=~ Q3H90L6D Aluminium 110 150 | 15100 | 102/059 919 472 282 390 8160 | 7970 | 7530 | 0.59 | 0.00528 | 1990 69
***Q3HSI00L6D | Aluminium | 150 200
***Q3HI00L6D | Aluminium | 150 200
***Q3HSN2M6D | Aluminium | 220 | 3,00
Q3HI32S6A Aluminium | 300 | 400 | 118200 10.7/6,2 2420 53l 169 356 895 8840 | 872 | 070 | 003560 | 5700 76
Q3HI32MBA Aluminium | 400 | 550 | 178,00 81/46 3265 542 170 370 8950 8860|8720 | 074 | 004030 | 5800 76
Q3H132M6B Aluminium | 550 | 750 | 180,00 13/65 44,82 519 166 344 9100 | 9110 | 8990 | 069 | 005940 | 6350 76
Q3HSIBOMBC | Aluminium | 750 | 1000 | 17900 | 150/87 6117 627 297 459 9100 | 9140 | 9040 | 069 | 008910 | 7500 78
z Q3HI60MBC Aluminium | 750 | 10,00 | 179,00 148/86 6117 459 227 309 9100 |[9230| 9140 | 070 | 007540 |100.00 78
8 Q3H160L6D Aluminium | 1,00 | 1500 | 17800 | 216/125 89,79 514 292 366 9170 | 9190 | 9120 | 0,70 | 009000 | 116,00 78
§ Q3HI180L6B Aluminium | 1500 |20,00 | 118300 | 27.7/16.0 12192 487 179 312 9170 | 9140 | 8920 | 073 | 018660 | 15500 79
C |Q3Hi8oLeC Aluminium | 1850 |2500 | 118100 | 36.2/209 150,62 546 244 369 9300 | 9270 | 9210 | 073 | 022271 | 18500 79
Q3H200L6C Aluminium | 1850 |2500 | 118100 | 36.2/209 150,62 473 209 332 9300 | 9270 | 9210 | 073 | 023286 | 19360 82
C |Q3HigoLeD Aluminium | 22,00 | 30,00 | 118300 | 452/26]1 178,82 507 230 368 9300 | 9290|9240 | 065 | 022873 | 190,00 79
Q3H200L6D Aluminium | 22,00 | 3000 | 18300 | 452/26] 178,82 536 284 415 9300 9290 | 9240 | 065 | 022166 | 19500 82
8 pole 900 rpm
Q3E7IM8C Aluminium | 0.2 017 | 84300 | 095/055 136 229 189 276 595 5620|4720 | 051 | 000095 | 720 65
Q3H80M8C Aluminium | 018 025 | 865,00 111/064 201 250 124 181 64 |6540| 5770 | 055 | 000261 1010 67
Z Q3H80M8D Aluminium | 025 | 030 | 85800 | 144/083 282 225 100 145 68 |6720 6080 | 056 | 000261 160 67
3 Q3H90L8C Aluminium | 037 | 050 | 853,00 2112 47 283 180 27 7200 | 7120 | 6570 | 055 | 000464 | 1580 69
§ Q3H90L8D Aluminium | 055 | 075 | 85800 31/19 6.6 334 214 323 7400 | 7370|6880 | 053 | 000460 | 1800 69
Q3H132M8C Aluminium | 220 | 300 | 88200 94/54 2398 416 191 324 8550 | 8540|8320 | 058 | 003052 | 5250 76
Q3H132M8D Aluminium | 300 | 400 | 879,00 70/4] 3282 1477 617 1014 86,50 | 86,60 | 8540 | 061 | 004030 | 5720 76
Q3H80M8C Aluminium | 018 550 | 865,00 111/064 201 64 |6540| 577 | 055 | 007542 | 1010 67
Q3H132M8C Aluminium | 220 | 750 | 88200 94/54 2398 4)6 191 324 8550 | 8540|8320 | 058 olosi 5250 76
Q3H132M8D Aluminium | 300 | 10,00 | 879,00 70/4] 3282 1477 617 1014 86,50 | 8660|8540 | 061 | 010832 | 5720 76
- Q3H1IBOMSC Aluminium | 4,00 | 1500 | 880,00 96/55 4371 310 173 239 86,50 | 8700|8580 | 060 | 0]12070 | 86,00 78
E Q3H160L8C Aluminium | 550 | 1500 | 88700 | 176/10.2 5962 391 307 38l 86.50 | 8500 | 8100 | 045 | 019202 | 100,00 78
g Q3H160L8D Aluminium | 750 |2000 | 88300 | 213/123 8167 389 274 33l 8950 | 8880|8580 | 050 | 022166 | 107.00 78
S Q3HI180L8B Aluminium | 1,00 | 2500 | 88700 | 259/150 19.24 440 222 3.09 8950 8980|8880 | 059 | 020584 | 169,00 79
Q3H200L8C Aluminium | 1,00 | 3000 | 88700 | 259/150 19,24 440 222 309 8950 8980|8880 | 059 | 022358 | 178,00 82
Q3H200L8D Aluminium | 1500 |2000 | 88500 | 339/196 16297 372 158 280 9020 | 9060 | 8960 | 062 | 022166 | 19500 82
Q3E225M8B Aluminium | 1850 |2500 | 88600 | 398/23 200,77 407 197 3 9020 19090 | 9050 | 066 | 020584 |23500 84

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA
*** Plegse consult with us. ﬂ

WAT | IM en 24.0
L1 L



IE3 THREE PHASE ALUMINIUM MOTORS

DIMENSION - B3

n@ﬁ
~7 <
lo o )
_ = 4
&7
N
F C B K
L

Power | Number Motor T H T _
(kW) | of Poles otor1ype ousing Type rive | Non drive Non drive
AC Drive Side
Side Side Side

Main Dimensions

F

da

0
| 40

Foot Mounted Motors

HO

Shaft

Bearing

Seal

2 pole
012 | 2 | Q3E63M2K | Aluminum | 123 | 220 | kM20 | 80 100 |63 [182| 70 |40 | N | 238 |125| 4 |62017Z | 620K2Z | 12%22*7 | 12*22*7
018 | 2 | Q3E63M2A | Auminium | 123 | 220 | xM20 | 80 100 |63 [162| 70 |40 | N | 23 |125| 4 |6201-7Z | 62022 | 12*22*7 | 12*22*7
0.25 2 Q3E63M2B Aluminium 123 220 1xM20 80 100 63 | 182 | 70 | 40 1 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
C |037 | 2 | aseeaMzc | Auminum | 123 | 234 | xM20 | 80 100 (63 [162| 70 |40 | N | 238 |125| 4 |6201-7Z | 62022 | 12%22*7 | 12227
037 | 2 | Q3E7M2A | Aluminum | 138 | 253 | xM20 | 90 M2 | 71 |w.0o| 70 [ 45| W | 30 |160| 5 |6202-2Z|6202-2Z | 15*24*5 | 15*24*5
055 2 Q3E7IM2B Aluminium 138 253 1xM20 90 12 71 | 180 | 70 | 45 | 14 30 | 160 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 15*24*5
C o075 | 2 | QE7M2D | Auminum | 138 | 262 | M20 | 90 m2 | 71 |w.o| 70 |45 | W | 30 | 60| 5 |6202-2Z|6202-2Z | 15*24*5 | 15*24*5
075 | 2 | Q3H8OM2C | Aluminum | 158 | 268 | 1xM20 | 100 125 |80 |26 | 100 |50 | 19 | 40 |25 | 6 |6204-2Z |6204-2Z | 20*30*7 | 20*30*7
110 2 Q3H80M2D | Aluminium 158 268 1xM20 100 125 80 [ 216 | 100 [ S0 | 19 40 | 215 | 6 |6204-7ZZ | 6204-ZZ | 20*30*7 | 20*30*7
C [ 150 | 2 |Q3HSOM2DE | Auminum | 158 | 293 | 1xM20 | 100 125 |80 |26 | 100 |50 |19 | 40 |25 | 6 |6204-2Z |6204-2Z | 20*30%7 | 20*30*7
150 | 2 | Q3H90L2C | Auminum | 172 | 344 |2xM25| 100-125 | 140 | 90 | 236 | 100 | 56 | 24 | 50 [270| 8 |6305-ZZ|6205-7Z | 25*40*7 | 25*40*7
150 | 2 | Q3HS90S2C | Auminium | 158 | 303 | 1xM20 | 100-125 | 140 | 90 | 226 [ 100 |56 | 24 | 50 | 270 | 8 |6305-2Z|6204-2Z | 25*40*7 | 20*30*7
220 | 2 | Q3H90L2D | Auminum | 172 | 344 |2«M25| 100-125 | 140 | 90 | 236 | 100 | 56 | 24 | 50 [270 | 8 |6305-ZZ |6205-7Z | 25*40*7 | 25*40%7
C [ 300 | 2 | Q3HYOL2E | Auminum | 172 | 344 |2xM25| 100-125 | 140 | 90 [ 236 | 100 | 56 | 24 | 50 [270 | 8 |6305-2Z|6205-7Z | 25*40*7 | 25*40*7
3,00 2 Q3HI00L2D | Aluminium 191 400 | 2xM25 140 160 100 [ 243 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 25*40*7
300 | 2 | Q3HSIOOL2C | Aluminum | 172 | 349 |2xM25 | 140 160 [ 100 | 246 | 120 | 63 | 28 | 60 | 310 | 8 [6306-ZZ |6205-7Z | 30*47*7 | 25*40*7
C [ 400 | 2 |Q3HIOOL2DE | Auminium | 191 | 400 |2xM25| 140 160 [100 | 243 | 120 | 63 | 28 | 60 | 310 | 8 |B306-ZZ | 6205-2Z | 30*47*7 | 25*40*7
400 | 2 | Q3HN2M2C | Auminum | 210 | 396 |2xM25 | 140 190 | M2 [265| 120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ|6206-2Z | 30*47*7 | 30*47*7
400 | 2 | Q3HSI2M2C | Aluminum | 191 | 399 |2xM25 | 140 190 |12 [260| 120 | 70 | 28 | 60 | 310 | 8 |6306-Z | 6205-2Z | 30*47*7 | 25%40*7
SC [ 550 | 2 | Q3HIOOL2E | Auminium | 191 | 400 |2xM25| 140 160 | 100 [ 243 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ | 6205-2Z | 30*47*7 | 25%40*7
C | 550 2 Q3HN2M2D Aluminium 210 396 | 2xM25 140 190 M2 | 265|120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ| 6206-ZZ | 30*47*7 30%47*7
550 | 2 | Q3HI32S2C | Aluminum | 260 | 481 |2xM32 | 140178 | 216 [ 182 | 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
550 | 2 | Q3HSI32S2C | Auminum | 210 | 422 |2x«M25 | 140178 | 216 [ 132 | 285 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7
© 7.50 2 Q3HN2M2DE | Aluminium | 210 421 2xM25 140 190 2 | 265|120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 30%47*7

WAT | IM en 24.0



Number

IE3 THREE PHASE ALUMINIUM MOTORS

Motor Type

Housing Type

AC L 0 B A H HD K C D E GA F

e | oW

of Poles Drive | Non drive Drive Side Non drive

Side Side

750 2 Q3H132S2D | Aluminium | 260 481 | 2xM32 | 140-178 216 132 | 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10

750 2 Q3HS132S2D | Aluminium | 210 447 | 2xM25 | 140-178 216 132 | 285 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7

C | noo 2 Q3HI32M2A | Aluminium | 260 48] | 2xM32 | 140-178 216 132 [ 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10

1,00 2 Q3HIBOM2C | Aluminium | 305 591 [ 2xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | N0 |450 | 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10

1.00 2 Q3HSIBOM2D | Aluminium | 260 | 520 | 2xM32 | 210-254 | 254 | 160 | 356 | 145 [108 | 42 | N0 | 450 | 12 |6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10

C | 1500 2 Q3HI32M2B | Aluminium | 260 | 539 | 2xM32 | 140-178 216 132 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10

15.00 2 Q3HIBOM2D | Aluminium | 305 591 | 2xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | M0 |450 | 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10

18,50 2 Q3HIBOL2C | Aluminium | 305 591 [ 2xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | 10 |450 | 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10

C | 2200 2 Q3HI60L2D | Aluminium | 305 591 | 2xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | MO |[450| 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10

22,00 2 Q3HIBOM2A | Aluminium | 348 | 696 | 2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 5.5 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10

22,00 2 Q3HSI80M2B | Aluminium | 305 | 600 |2xM32 | 241-279 | 279 | 180 | 398 | 145 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*I0 | 45*72*10

C | 3000 2 Q3HIBOM2B | Aluminium | 348 | 696 | 2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | MO | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10

30,00 2 Q3H200L2C | Aluminium | 348 | 706 |2xMS50 | 267-305 | 318 200 | 457 | 185 |133 | 55 | 10 | 590 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10

C | 3700 2 Q3HI80OL2D | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10

37.00 2 Q3H200L2D | Aluminium | 348 | 706 |2xM50 | 267-305 | 318 200 | 457 | 185 |133 | 55 | 10 | 590 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10

SC | 4500 2 Q3HIBOL2DE | Aluminium | 348 | 750 |2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10

C | 4500 2 Q3H200L2DE | Aluminium | 348 | 756 |2xM50 | 267-305| 318 | 200 | 457 | 185 | 133 | 55 | 10 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10

45,00 2 Q3E225M2B | Aluminium | 456 | 735 | 2xM50 356 286-31| 225 | 485 | 185 | 149 | 55 | 10O [590| 16 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13

55,00 2 Q3E250M2B | Aluminium | 456 | 787 | 2xM50 | 311-349 406 | 250 | 530 | 240 | 168 | 60 | 140 (640 | 18 | 6315-ZZ | 63I13-ZZ | 75*112*12 | 65*100*13
4 pole

012 4 Q3E63M4A | Aluminium | 123 220 | IxM20 80 100 63 [ 182 | 70 [ 40 | 1 23 | 125 | 4 |6201-ZZ | 6201-ZZ | 12*22*7 12*22*7

018 4 Q3E63M4B | Aluminium | 123 220 | 1xM20 80 100 63 [ 162 | 70 (40 | 1 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 12%22*7

C | 025 4 Q3E63M4C | Aluminium | 123 234 | xM20 80 100 63 [ 162 | 70 [40 | 1 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 12%22*7

0.25 4 Q3E7IM4B Aluminium | 138 253 | xM20 90 n2 71 | 180 [ 70 | 45 | 14 30 [ 160 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 15*24*5

037 4 Q3E7IM4C Aluminium | 138 253 | IxM20 90 2 71 180 | 70 | 45| 14 | 30 [ 160 | 5 |6202-ZZ|6202-ZZ | 15*24*5 15*24*5

C | 055 4 Q3E7IM4E Aluminium | 138 262 | xM20 90 2 71 | 180 | 70 | 45 | 14 | 30 [160 | 5 |6202-ZZ|6202-ZZ | 15*24*5 15*24*5

055 4 Q3H8OM4C | Aluminium | 158 268 | IxM20 100 125 80 [ 216 | 100 |50 | 19 | 40 | 215 | 6 |6204-ZZ|6204-ZZ | 20*30*7 | 20*30*7

075 4 Q3HB8OM4D | Aluminium | 158 268 | 1xM20 100 125 80 | 216 [ 100 |50 | 19 | 40 | 215 | 6 |6204-ZZ|6204-ZZ | 20*30*7 | 20*30*7

C 110 4 Q3H8OM4DE | Aluminium | 158 293 | xM20 100 125 80 | 216 [ 100 |50 | 19 | 40 | 25 | 6 |6204-ZZ|6204-ZZ | 20*30*7 | 20*30*7

110 4 Q3HS90S4C | Aluminium | 158 303 | IxM20 | 100-125 140 90 [ 226 | 100 | 56 | 24 | 50 | 270 | 8 |6305-ZZ|6204-ZZ | 25*40*7 | 20*30*7

110 4 Q3H90L4C | Aluminium | 172 344 | 2xM25 | 100-125 140 90 | 236 | 100 | 56 | 24 | 50 |270| 8 |6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7

150 4 Q3H90L4D | Aluminium | 172 379 | 2xM25 | 100-125 140 90 | 236 | 100 | 56 | 24 | 50 |270| 8 |6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7

C | 220 4 Q3H90L4DE | Aluminium | 172 379 | 2xM25 | 100-125 140 90 [ 236 | 100 | 56 | 24 | 50 | 270 | 8 |6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7

220 4 Q3HI0O0L4C | Aluminium 191 400 | 2xM25 140 160 100 | 243 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7

220 4 Q3HSI00L4C | Aluminium | 172 384 | 2xM25 140 160 100 [ 246 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7

300 4 Q3HIOO0L4D | Aluminium 191 400 | 2xM25 140 160 100 | 243 | 120 [ 63 | 28 | 60 | 310 | 8 |[6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Number
of Poles

Motor Type

Housing Type

e | oW

Drive

Non drive
Side

Drive Side

Non drive
Side

400 | 4 | Q3HI2M4D | Aluminum | 210 | 396 |2xM25| 140 190 |12 | 265|120 | 70 | 28 | 60 | 310 | 8 |6306-2Z | 6206-2Z | 30*47*7 | 30*47*7
C [550 | 4 | Q3HI2M4E | Auminium | 210 | 421 |2xM25| 140 190 |12 [265| 120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ | 6206-2Z | 30*47*7 | 30*47*7
550 | 4 | Q3HI32S4B | Auminum | 260 | 481 |2«M32 | 140178 | 216 [ 132|328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
550 | 4 | Q3HSI32S4B | Auminium | 210 | 447 |2xM25 | 140-178 | 216 | 132 | 285 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7
750 | 4 | Q3HI32M4D | Aluminum | 260 | 481 |2xM32 | 140-I78 | 216 | 132 (328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-2Z | 6208-2Z | 40*62*10 | 40*62*10
C [ 100 | 4 | Q3HI32M4E | Auminium | 260 | 539 |2xM32 | 140-78 | 216 | 132 | 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-2Z | 6208-ZZ | 40*62*10 | 40*62*10
100 | 4 | Q3HIBOMAC | Auminium | 305 | 591 |2x«M32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | 10 |450 | 12 |6309-2Z | 6209-7Z | 45*72*10 | 45*72*10
100 | 4 |Q3HSIBOMAC| Aluminum | 260 | 578 |2xM32 | 20-254 | 254 [ 160 | 356 | 145 |108 | 42 | 10 [450 | 12 |6309-7Z | 6208-7Z | 45*72*10 | 40*62*10
1500 | 4 | Q3HIBOL4B | Auminum | 305 | 591 |2xM32 | 210-254 | 254 | 160 | 378 | 145 [108 | 42 | N0 |450| 12 |6309-ZZ | 6209-7Z | 45*72*10 | 45*72*10
C | 1850 | 4 | Q3HIBOLAC | Aluminum | 305 | 591 |2xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | 10 |450| 12 [6309-7Z | 6209-ZZ | 45*72*10 | 45*72*10
1850 | 4 | Q3HIBOM4B | Aluminum | 348 | 696 |2«M40 | 241-279 | 279 | 180 | 437 | W45 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
1850 | 4 |Q3HSIBOM4B| Aluminum | 305 | 600 |2xM32 | 241-279 | 279 [ 180 | 398 | 145 |12 | 48 | N0 | 515 | 14 |6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10
SC |2200| 4 | Q3HIBOLADE | Auminium | 305 | 619 |2xM32 | 210-254 | 254 | 160 | 378 | 145 |108 | 42 | 10 |450 | 12 |6309-2Z | 6209-7Z | 45*72*10 | 45*72*10
2200 4 |Q3HSI8OL4B | Aluminum | 305 | 631 |2xM32 | 241-279 | 279 [ 180 | 398 | 145 | 121 | 48 | 1O | 55 | 14 | 6310-ZZ | 6209-ZZ | 50*80*I0 | 45*72*10
2200 | 4 | Q3HIBOL4B | Auminum | 348 | 696 |2xM40 | 241-279 | 279 | 180 | 437 | W45 | 121 | 48 | N0 | 515 | 14 |6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
C |3000| 4 | Q3HIBOLAC | Aluminum | 348 | 696 |2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | M0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*I0
3000| 4 | Q3H200L4D | Aluminum | 348 | 706 |2xM50 |267-305| 318 | 200 | 457 | 185 | 183 | 55 | 10 [590 | 16 |6312-ZZ | 6310-ZZ | 60*90%10 | 50*80*10
3700 | 4 | Q3E225S4B | Aluminum | 456 | 785 |2xM50 | 356 |286-311 | 225 | 485 | 185 | 149 | 60 | 140 640 | 18 |6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13
4500 | 4 | Q3E225M4C | Aluminum | 456 | 785 |2xMSO | 356 |286-311 | 225 | 485 | 185 | 149 | 60 | 140 640 | 18 |6313-2Z | 6313-2Z | 65*100*13 | B5*100*13
5500 4 | Q3E250M4B | Aluminum | 456 | 787 | 2xMS0 | 31-349 | 406 | 250 | 530 | 240 | 168 | 65 | 140 [690 | 18 |63I5-ZZ | 6313-2Z | 75*2*12 | 65*100*13
6 pol
012 | & | Q3E63MEB | Aluminum | 123 | 234 | xM20 | 80 100 (63 [182| 70 |40 | N | 23 |125| 4 |6201-7Z | 620M2Z | 12*22*7 | 12227
018 | 6 | Q3E7MBA | Aluminum | 138 | 253 | kM20 | 90 m2 | 71 |w.0o| 70 [ 45| w4 | 30 |160| 5 |6202-2Z|6202-2Z | 15*24*5 | 15*24*5
025 | 6 | Q3E7ZIMEB | Aluminum | 138 | 262 | xM20 | 90 m2 | 71 |1.0| 70 [45| 1 | 30 | 60| 5 |6202-2Z|6202-2Z | 15*24*5 | 15*24*5
037 | 6 | Q3HSOMBA | Aluminum | 158 | 268 | xM20 | 100 125 | 80 | 216 [ 100 |50 | 19 | 40 | 25| 6 |6204-2Z|6204-2Z | 20%30*7 | 20*30*7
055 | 6 | Q3HBOMSB | Aluminum | 158 | 268 | xM20 | 100 125 |80 |26 | 100 |50 |19 | 40 |25 | 6 |6204-7Z |6204-2Z | 20*30*7 | 20*30*7
075 | 6 | Q3H90L6C | Aluminum | 172 | 344 |2xM25 | 100-125 | 140 | 90 [ 236 | 100 | 56 | 24 | 50 |270 | 8 |6305-ZZ |6205-2Z | 25*40*7 | 25%40*7
0 | 6 | Q3H9OLGD | Auminum | 172 | 344 |2xM25 | 100-125 | 140 | 90 | 236 | 100 |56 | 24 | 50 | 270 | 8 |6305-ZZ |6205-ZZ | 25*40*7 | 25%40*7
150 | 6 |Q3HSI0OL6D | Auminum | 172 | 384 |2xM25| 140 160 | 100 | 246 | 120 | 63 | 28 | 60 | 310 | 8 |6306-2Z | 6205-2Z | 30*47*7 | 25%40*7
150 | 6 | Q3HIOOLBD | Aluminum | 191 | 400 |2xM25| 140 160 | 100 [ 243 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ | 6205-2Z | 30*47*7 | 25%40*7
220 | 6 | Q3HSI2MED | Auminium | 191 | 399 |2xM25 | 140 190 | M2 [260 | 120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ | 6205-2Z | 30*47*7 | 25*40*7
300 | 6 | Q3HI32S6A | Auminum | 260 | 481 |2xM32 | 140178 | 216 [ 182 | 328 | 120 | 89 | 38 | 80 [ 410 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
400 | 6 | Q3HIB2MBA | Auminium | 260 | 481 |2xM32 | 140-178 | 216 | 132 | 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-2Z | 6208-ZZ | 40*62*I0 | 40*62*10
550 | 6 | Q3HI32M6EB | Aluminium | 260 | 481 |2xM32 | 140-178 | 216 | 132 | 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-7Z | 6208-ZZ | 40*62*10 | 40*62*10

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Number
of Poles

Motor Type | Housing Type

AC L 0 B A H HD K C D E GA F

Drive Non drive Drive Side Non drive

Side Side
750 6 Q3HSIBOMBC | Aluminium | 260 | 520 | 2xM32 | 210-254 | 254 | 160 | 356 | 145 [108 | 42 | N0 |450 | 12 |6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10

750 6 Q3HIBOMBC | Aluminium | 305 | 591 | 2xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | 10 |450| 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
1.00 6 Q3HI6OL6D | Aluminium | 305 | 619 | 2xM32 | 210-254 | 254 | 160 | 378 | 145 [ 108 | 42 | M0 |[450 | 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
15,00 6 Q3HIBOL6B | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6810-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
C [1850 6 Q3HIBOL6C | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
18.50 6 Q3H200L6C | Aluminium | 348 | 706 | 2xMS50 | 267-305| 318 | 200 | 457 | 185 | 133 [ 55 | 10 | 590 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10
C [2200 6 Q3HIBOL6D | Aluminium | 348 | 750 |2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 1O | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10

22,00 6 Q3H200L6D | Aluminium | 348 | 756 | 2xM50 | 267-305| 318 200 | 457 | 185 | 133 | 55 | 10 |590 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10

8 pole
012 | 8 | Q3E7IMBC | Auminum | 138 | 253 | IxM20 | 90 m2 | 71|80 | 70 |45 | 14 | 30 | 160 | 5 |6202-7Z | 6202-7Z | 15*24*5 | I15*24*5
018 | 8 | Q3HSOMSC | Aluminum | 158 | 268 | xM20 | 100 125 | 80 | 216 [ 100 |50 | 19 | 40 | 25 | 6 |6204-2Z|6204-2Z | 20%30*7 | 20*30*7

025 8 Q3H8OM8D | Aluminium | 158 | 268 | IxM20 100 125 80 | 216 | 100 [ 50 | 19 | 40 | 215 | 6 |6204-ZZ|6204-ZZ | 20*30*7 | 20*30*7
037 8 Q3H90L8C | Aluminium | 172 | 344 | 2xM25 | 100-125 140 90 [ 236 | 100 | 56 | 24 | 50 | 270 | 8 |6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7
0.55 8 Q3H90L8D | Aluminum | 172 | 344 | 2xM25 | 100-125 140 90 [ 236 | 100 | 56 | 24 | 50 | 270 | 8 |6305-ZZ|6205-ZZ | 25*40*7 | 25*40*7
220 8 Q3H132M8C | Aluminium | 260 | 481 | 2xM32 | 140-178 216 132 | 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
300 8 Q3HI32M8D | Aluminium | 260 | 481 | 2xM32 | 140-178 216 132 | 328 | 120 | 89 | 38 | 80 | 410 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
400 8 Q3HIBOM8C | Aluminium | 305 | 591 | 2xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | N0 |450| 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
550 8 Q3HIBOLBC | Aluminium | 305 | 591 | 2xM32 | 210-254 | 254 | 160 | 378 | 145 [ 108 | 42 | 10 |450 | 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
750 8 Q3HIBOL8D | Aluminium | 305 | 591 | 2xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | 10 |[450| 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
1.00 8 Q3HIBOL8B | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
1.00 8 Q3H200L8C | Aluminium | 348 | 706 | 2xM50 | 267-305| 318 | 200 | 457 | 185 | 133 | 55 | 10 | 590 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10
1500 8 Q3H200L8D | Aluminium | 348 | 756 | 2xMSO0 | 267-305| 318 | 200 | 457 | 185 | 133 [ 55 | 10 |S90 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10
18,50 8 Q3E225M8B | Aluminium | 456 | 765 | 2xM50 356 | 286-311| 225|485 | 185 | 149 | 60 | 140 | 640 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13

22,00 8 Q3E225M8C | Aluminium | 456 | 765 |2xMS0 | 356 |286-3Il (225 | 485 | 185 | 149 | 60 | 140 | 640 | 18 | 6313-ZZ | 63I13-ZZ | 65*100*13 | 65*100*13

/=

WAT | IM en 24.0
L N/



IE3 THREE PHASE ALUMINIUM MOTORS

DIMENSION - BS, B35

SRS

a
IS
) Foot Mounted Motors
Motor Type H?:Isjl:g
012 Q3E63M2K | Aluminium | 123 | 220 |1xM20 | 80 100 |63 (162 70|40 | 1| 23 [125| 4 |6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 1S 100
018 Q3E63M2A | Aluminium | 123 | 220 | 1xM20 | 80 100 (63| 162 [70|40 | 11| 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 1S 100
025 Q3E63M2B | Aluminium | 123 | 220 | 1xM20 80 100 [ 63| 162 |70[40| | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 100
C| 037 Q3E63M2C | Aluminium | 123 | 234 |1xM20 | 80 100 |63 |162 [70|40 | 11 | 23 [125| 4 |6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | TS 100
037 Q3E7IM2A | Aluminium | 138 | 253 [1xM20 | 90 2 | 71180 |70(45|14| 30 |160| 5 |6202-2Z| 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 100
0.55 Q3E7IM2B | Aluminium | 138 | 253 | 1xM20 90 n2 711180 [70| 45|14 | 30 [1860| 5 |6202-ZZ| 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 100
C| 075 Q3E7IM2D | Aluminium | 138 | 262 |1xM20 | 90 2 | 71180 (70| 45|14 | 30 |160| 5 |6202-ZZ| 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 100
075 Q3HBOM2C | Aluminium | 158 | 268 | 1xM20 | 100 125 | 80 | 216 100 50 (19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 120
110 Q3H80M2D | Aluminium | 158 | 268 | IxM20 100 125 | 80 | 216 |{100| 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 120
C| 150 Q3HB8OM2DE | Aluminium | 158 | 293 | 1xM20 | 100 125 | 80 | 216 [10.0| 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 120
150 Q3H90L2C | Aluminium | 172 | 344 |2xM25|100-125 | 140 | 90 | 236 (10.0| 56 |24 | 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 120
150 Q3HS90S2C | Aluminium | 158 | 303 | 1xM20 | 100-125 | 140 | 90 | 226 |10.0| 56 (24| 50 |270| 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 200 | 130 | 165 120
220 Q3H90L2D | Aluminium | 172 | 344 |2xM25|100-125 | 140 | 90 | 236 (10.0| 56 |24 | 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 120
C | 300 Q3H90L2E | Aluminium | 172 | 344 [2xM25| 100-125 | 140 | 90 | 236 |10.0| 56 | 24| 50 |27.0| 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 120
300 Q3HI00L2D | Aluminium | 191 | 400 |2xM25| 140 160 [100 | 243 [120| 63 [28| 60 [310| 8 [6306-ZZ| 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 145
300 Q3HSI00L2C | Aluminium | 172 | 349 |2xM25| 140 160 [100 | 246 [120| 63 [28| 60 [310| 8 [6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 145
C | 400 Q3HIOOL2DE | Aluminium | 191 | 400 |2xM25| 140 160 [100 | 243 |120| 63 |28 | 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 145
4,00 Q3HI2M2C | Aluminium | 210 | 396 [2xM25| 140 190 | m2 [265|120| 70 |28 | 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 145
4,00 Q3HSN2M2C | Aluminium | 191 | 399 |2xM25| 140 190 | 112 | 260 (120| 70 |28 | 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 145
SC| 550 Q3HIOOL2E | Aluminium | 191 | 400 [2xM25| 140 160 [100 | 243|120| 63 |28 | 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 14,5
C | 550 Q3H12M2D | Aluminium | 210 | 396 |2xM25| 140 190 | M2 [265|120| 70 |28 | 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 145
550 Q3HI32S2C | Aluminium | 260 | 481 |2xM32 | 140-178 | 216 |132 | 328 [120| 89 [38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 145

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Non dnve Non dnve
il L1

550 | 2 |Q3HSI32S2C | Aluminium | 210 | 422 [2xM25 | 140-178 | 216 |132 | 285 (120| 89 [38| 80 [410| 10 |6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 145

Housing
Type

Motor Type

750 | 2 | Q3HN2M2DE | Aluminium | 210 | 421 |2xM25| 140 190 | m2 | 265|120| 70 |28 | 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 |0 | 145
750 | 2 | Q3HI32S2D | Aluminium 260 | 481 |2xM32 | 140-178 | 216 | 132 | 328 [120| 89 (38| 80 |410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | O | 145
750 | 2 |Q3HSI32S2D | Aluminium | 210 | 447 |2xM25 | 140-178 | 216 | 132 | 285 (120| 89 (38| 80 (410 10 |6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 300 | 230 | 265 | 0 | 145
100 | 2 | Q3HI32M2A | Aluminium | 260 | 481 |2xM32|140-178 | 216 | 132|328 |120| 89 |38 | 80 |410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 (230|265 | 0| 145
100 | 2 | Q3HIBOM2C | Aluminium | 305 | 591 |2xM32|210-254 | 254 | 160 | 378 (145|108 (42| 10 (450 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 [ 300 | 0 | 185
100 | 2 [Q3HSIBOM2D | Aluminium | 260 | 520 |2xM32|210-254 | 254 | 160 | 356 (145|108 42| 10 (450 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | 350 | 250 (300 | 0| 185
1500 | 2 | Q3HI32M2B | Aluminium | 260 | 539 [2xM32| 140-178 | 216 | 132|328 [120( 89 [38| 80 |410| 10 | 6208-ZZ| 6208-ZZ | 40*62*10 | 40*62*10 | 300 [ 230|265 |0 | 145
1500 | 2 | Q3HIBOM2D | Aluminium [ 305 | 591 |2xM32|210-254 | 254 |160 | 378 (145|108 (42| 10 [450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250|300 |0 | 185
1850 | 2 | Q3HIBOL2C | Aluminium (305 | 591 |2xM32|210-254 | 254 | 160 | 378 (145|108 (42| 10 (450( 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250|300 | 0| 185
2200 | 2 | Q3HIBOL2D | Aluminium | 305 | 591 |2xM32|210-254 | 254 |160 | 378 [145(108 | 42| 10 [450( 12 | 6309-ZZ| 6209-ZZ | 45*72*10 | 45*72*10 | 350 [ 250|300 | 0| 185
2200 2 | Q3HIBOM2A | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 |180 | 437 [145| 121 [ 48| N0 [515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 |250| 300 | O | 185
2200| 2 |Q3HSIBOM2B| Aluminium | 305 | 600 |2xM32|241-279 | 279 |180 | 398 (145 121 [ 48| N0 [S15| 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | 350 | 250|300 | O | 185
3000| 2 | Q3HIBOM2B | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 |180 | 437 [145| 121 | 48| 10 [515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 250|300 |0 | 185
3000| 2 | Q3H200L2C | Aluminium | 348 | 706 |2xM50|267-305| 318 |200 | 457 |185[133|55| 10 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 [ 300|350 | O | 185
3700 | 2 | Q3HIBOL2D | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 |180 | 437 (145|121 [ 48| 10 [515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 (250|300 |0 | 185
3700 | 2 | Q3H200L2D | Aluminium | 348 | 706 |2xM50(267-305| 318 (200|457 [185(133 (55| 10 [590( 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 {300 | 350 |0 | 185
4500 | 2 | Q3HIBOL2DE | Aluminium | 348 | 750 |2xM40|241-279 | 279 | 180 | 437 |145| 121 |48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 |250| 300 | O | 185
4500 | 2 |Q3H200L2DE | Aluminium | 348 | 756 |2xM50|267-305| 318 |200| 457 |185[133|55| 10 |S90| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 [ 300|350 | O | 185
4500| 2 | Q3E225M2B | Aluminium | 456 | 735 |2xM50| 356 |286-3ll 225 | 485 185|149 |55| 110 |590| 16 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13| 450 | 350 | 400 | 0 | 185

5500| 2 | Q3E250M2B | Aluminium | 456 | 787 |2xM50| 311-349 | 406 |250 | 530 |24,0[168 |60 | 140 |64.0| 18 | 6315-ZZ | 6313-ZZ | 75*12*12 |65*100*13| 550 | 450|500 | 0| 185

4 pole

012 | 4 | Q3EB3M4A | Aluminium | 123 | 220 [1xM20 | 80 | 100 |63 | 162 [70|40 | 11| 23 |[125| 4 |6201-ZZ | 6201-2Z | 12*22*7 | 12*22*7 | 140 | 95 | U5 [0 100
0l8 4 Q3E63M4B | Aluminium | 123 | 220 | 1xM20 80 100 |63 (162 |70|40 | 1| 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 [0 | 100
025 | 4 | Q3E63MAC | Aluminium | 123 | 234 | xM20 | 80 | 100 |63 | 162 (70|40 | 11 | 23 |125| 4 |6201-2Z | 6201-7Z | 12%22*7 | 12*22*7 | 140 | 95 | 15 | 0] 100

025 | 4 Q3E7IM4B | Aluminium | 138 | 253 | IxM20 | 90 2 | 71180 [70| 45|14 | 30 [160| 5 |6202-ZZ| 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 |0 | 100
037 | 4 Q3E7IM4C | Aluminium | 138 | 253 |1xM20 | 90 2 | 71180 |70|45|14| 30 |160| 5 |6202-ZZ| 6202-ZZ | 15*24*S | 15*24*S | 160 | 10 | 130 | O | 100
055 | 4 Q3E7IM4E | Aluminium | 138 | 262 | 1xM20 | 90 2 | 71180 [70| 45|14 | 30 [160| 5 |6202-ZZ| 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 |0 | 100
055 | 4 | Q3H8OMA4C | Aluminium | 158 | 268 | 1xM20 | 100 125 |80 | 216 |{100| 50 | 19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 |0 | 120
075 | 4 | Q3H8OM4D | Aluminium | 158 | 268 | 1xM20 | 100 125 | 80 | 216 (100| 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | 0| 120
110 4 | Q3HBOM4DE | Aluminium | 158 | 293 | IxM20 | 100 125 |80 | 216 {10050 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 |0 | 120
110 4 | Q3HS90S4C | Aluminium | 158 | 303 | IxM20 | 100-125 | 140 | 90 | 226 |100| 56 |24 | 50 |270| 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 200 | 130 | 165 |0 | 120
110 4 Q3H90L4C | Aluminium | 172 | 344 |2xM25|100-125 | 140 | 90 | 236 [100| 56 |24 | 50 [270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 |0 | 120
150 4 Q3H90L4D | Aluminium | 172 | 379 |2xM25| 100-125 | 140 | 90 | 236 |100| 56 |24 | 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 |0 | 120

220 | 4 | Q3HOOL4DE | Aluminium | 172 | 379 |2xM25 | 100-125 | 140 | 90 | 236 [100| 56 |24 | S0 [270| 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 |0 | 120

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Non dnve Non dnve
e LT

220 | 4 | QSHIOOLAC | Aluminium | 191 | 400 [2xM25| 140 160 (100|243 [120| 63 (28| 60 [310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 14.5

Housing
Type

Motor Type

220 | 4 | Q3HSIOOLAC | Aluminium | 172 | 384 [2xM25| 140 160 |100 | 246 |120| 63 |28 | 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 |0 | 145
300 | 4 | Q3HIOOL4D | Aluminium | 191 | 400 |[2xM25| 140 160 (100 | 243 [120| 63 [28| 60 [310| 8 [6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 (180 | 2I5 [0 | 145
400 | 4 | Q3HN2M4D | Aluminium | 210 | 396 [2xM25| 140 190 | 112 [ 265 [120| 70 (28| 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | 0| 145
550 | 4 Q3HII2M4E | Aluminium | 210 | 421 |2xM25| 140 190 | m2 | 265|120| 70 |28 | 60 |310| 8 |6306-ZZ| 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 |0 | 145
550 | 4 | Q3HI32S4B | Aluminium [ 260 | 481 [2xM32|140-178 | 216 |132 | 328 (120| 89 (38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 (230|265 |0 | 145
550 | 4 |[Q3HSI32S4B | Aluminium | 210 | 447 |2xM25 | 140-178 | 216 | 132 | 285 (120| 89 (38| 80 (410 10 |6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 300 | 230 | 265 | 0 | 145
750 | 4 | Q3HI32M4D | Aluminium | 260 | 481 |2xM32|140-178 | 216 | 132|328 |120| 89 |38 | 80 |410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 (230|265 | 0| 145
100 | 4 | Q3HI32M4E | Aluminium 260 | 539 |2xM32 | 140-178 | 216 | 132 | 328 [120| 89 (38| 80 |410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 [ 265 | 0 | 14.5
100 | 4 | Q3HIBOMAC | Aluminium | 305 | 591 | 2xM32|210-254 | 254 | 160 | 378 (145|108 | 42| 10 (450 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250300 | 0| 185
100 | 4 |Q3HSIBOM4C| Aluminium | 260 | 578 |2xM32|210-254 | 254 |160 | 356 |145/108 | 42| 10 (450| 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | 350 | 250|300 | 0| 185
1500 | 4 | Q3HIBOL4B | Aluminium | 305 | 591 |2xM32|210-254 | 254 | 160 | 378 (145|108 | 42| TO (450 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250|300 | 0| 185
1850 | 4 | Q3HIBOL4C | Aluminium | 305 | 591 |2xM32|210-254 | 254 | 160 | 378 (145|108 | 42| 10 (450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250|300 | 0| 185
1850 | 4 | Q3HIBOM4B | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 | 180 | 437 (145 121 | 48| N0 |S515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 250 | 300 [0 | 185
1850 | 4 |Q3HSIBOM4B| Aluminium | 305 [ 600 |2xM32 | 241-279 | 279 |180 | 398 (145|121 (48| TO [515| 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | 350 (250|300 |0 | 185
2200 | 4 | Q3HIBOLADE | Aluminium | 305 | 619 |2xM32|210-254 | 254 | 160 | 378 |145(108| 42| N0 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 [ 250|300 | O | 185
2200 | 4 |(Q3HSIBOL4B | Aluminium | 305 | 631 |2xM32|241-279 | 279 |180 [ 398 |145| 121 | 48| 10 |515| 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | 350 | 250|300 | 0 | 185
2200 | 4 | Q3HIBOL4B | Aluminium | 348 | 696 |2xM40|241-279 | 279 |180 | 437 |145| 121 | 48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250|300 | O | 185
3000 | 4 | Q3HIBOLAC | Aluminium | 348 | 696 |2xM40|241-279 | 279 | 180 | 437 |145| 121 |48| N0 |S15| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250|300 | 0| 185
3000 | 4 | Q3H200L4D | Aluminium | 348 | 706 |2xM50|267-305| 318 [200| 457 |185|133|55| 110 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 | 300|350 |0 | 185
3700 | 4 | Q3E225S4B | Aluminium | 456 | 765 |2xM50| 356 [286-3ll 225 | 485 185|149 [ 60 | 140 (640| 18 | 6313-ZZ | 6313-ZZ |65*100*13|65*100*13| 450 (350 | 400 |0 | 185
4500 | 4 | Q3E225MA4C | Aluminium | 456 | 765 [2xM50| 356 |286-311 225 | 485 185|149 |60 | 140 |64.0| 18 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13| 450 | 350 | 400 | 0| 185

5500 | 4 | Q3E250M4B | Aluminium | 456 | 787 [2xM50 | 31-349 | 406 |250 | 530 [24.0{ 168 | 65| 140 (690 18 | 6315-ZZ | 6313-ZZ | 75*112*12 |65*100*13| 550 | 450|500 | 0| 185

6 pole

012 6 Q3E63MBB | Aluminium | 123 | 234 | 1xM20 80 100 (63| 162 (70|40 | 11 | 28 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | NS [0 | 100
018 6 Q3E7IMBA | Aluminium | 138 | 253 | 1xM20 90 n2 | 71 (180 [70| 45|14 | 30 [180| 5 |6202-ZZ| 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 10 | 130 |0 | 100
025 | 6 Q3E7IMBB | Aluminium | 138 | 262 | IxM20 | 90 N2 | 71 |180|70|45|14| 30 |160| 5 |6202-ZZ | 6202-ZZ | 15*24*S | 15*24*S5 | 160 | 10 | 130 | O | 100
037 | 6 | Q3H8OM6A | Aluminium | 158 | 268 | IxM20 | 100 125 | 80 | 216 (100| 50 (19| 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | 0| 120
055 | 6 | Q3H8OM6B | Aluminium | 158 | 268 | 1xM20 | 100 125 |80 | 216 |100| 50 | 19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 |0 | 120
075 | 6 Q3H90LBC | Aluminium | 172 | 344 |2xM25|100-125 | 140 | 90 | 236 [100| 56 |24 | 50 [270| 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 |0 | 120
11 6 Q3H90L6D | Aluminium | 172 | 344 |2xM25 | 100-125 | 140 | 90 | 236 (100 56 (24 | S0 [270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 (130 | 165 |0 | 120
15 6 | Q3HSIOOL6D | Aluminium | 172 | 384 |2xM25| 140 160 |100 | 246 |120| 63 (28| 60 (310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 [0 | 145
15 6 | Q3HIOOL6D | Aluminium | 191 | 400 |2xM25| 140 160 (100|243 [120| 63 (28| 60 [310| 8 [6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 (180 | 2I5 [0 | 145
22 6 | Q3HSTI2MBD | Aluminium | 191 | 399 |[2xM25| 140 190 | 112 {260 (120| 70 (28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 | 0| 145

3 6 | Q3HI32SB6A | Aluminium | 260 | 481 |2xM32| 140-178 | 216 |132 | 328 |120| 89 |38 | 80 |410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230|265 |0 | 145

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Foot Mounted Motors Shaft Bearing Seal Flange (FA BS, B35)
-« | Non drive - Non drive
oo s [ T [+
230( 265 |0

4 6 | Q3HI32MBA | Aluminium | 260 | 481 [2xM32| 140-178 | 216 |132 | 328 |120| 89 |38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 14.5

Housing

Motor Type i

55 6 | Q3HI32M6B | Aluminium | 260 | 481 |2xM32| 140-178 | 216 |132 | 328 |120| 89 |38 | 80 |410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230|265 |0 | 145
75 6 | Q3HSIBOMGC | Aluminium | 260 | 520 |2xM32|210-254 | 254 | 160 | 356 |14.5(108 | 42| N0 |450| 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | 350 | 250|300 | O | 185
75 6 | Q3HIBOMBC | Aluminium [ 305 | 591 |2xM32|210-254 | 254 [160 | 378 (145|108 [ 42| 10 [450| 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 (250|300 (O | 185
I 6 | Q3HIBOLED | Aluminium | 305 | 619 |2xM32|210-254 | 254 |160 | 378 [14,5(108 [ 42| 10 [450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 [ 250|300 |0 | 185
15 6 | Q3HIBOLEB | Aluminium | 348 | 696 |2xM40 |241-279 | 279 |180 | 437 (145|121 48| 10 [515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 (250|300 (O | 185
185 6 | Q3HIBOLEC | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 |180 | 437 [145| 121 [ 48| 10 [S15| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 (250|300 |0 | 185
185 6 | Q3H200L6C | Aluminium | 348 | 706 |2xM50|267-305| 318 |200| 457 [185[133 (55| 10 [590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 [ 300|350 | 0| 185
22 6 | Q3HIBOLED | Aluminium | 348 | 750 |2xM40 | 241-279 | 279 |180 | 437 [145| 121 [ 48| 10 [515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 [ 250|300 |0 | 185

22 6 | Q3H200L6D | Aluminium | 348 | 756 |2xMS0(267-305| 318 [200| 457 (185|133 55| 10 [590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 (300|350 | O | 185

8 pole

012 8 Q3E7IM8C | Aluminium | 138 | 253 | IxM20 90 N2 | 71180 |70|45|14| 30 |160| 5 |6202-ZZ| 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 | O | 100
018 8 | Q3HBOMSC | Aluminium | 158 | 268 | 1xM20 | 100 125 | 80 | 216 [100| 50 19| 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | 0| 120
025 | 8 | Q3H8OMS8D | Aluminium | 158 | 268 |1xM20 | 100 125 |80 | 216 |100| 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 |0 | 120
037 | 8 Q3H90L8C | Aluminium | 172 | 344 |2xM25|100-125 | 140 | 90 | 236 (100 56 |24 | 50 [270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 |0 | 120
055 | 8 Q3H90L8D | Aluminium | 172 | 344 |2xM25 | 100-125 | 140 | 90 | 236 (100 56 (24 | S0 [270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 (130 | 165 |0 | 120
220 | 8 | Q3HI32M8C | Aluminium | 260 | 481 |[2xM32 | 140-178 | 216 |132 | 328 [120| 89 (38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 (230 | 265 |0 | 145
300 | 8 | Q3HI32M8D | Aluminium | 260 | 481 [2xM32 | 140-178 | 216 |132 | 328 [120| 89 (38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 (230|265 |0 | 145
400 | 8 | Q3HIBOMSC | Aluminium | 305 | 591 |2xM32|210-254 | 254 |160 | 378 (145|108 (42| 110 (450 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 (250|300 (0| 185
550 | 8 | Q3HIBOL8C | Aluminium [ 305 | 591 |2xM32|210-254 | 254 |160 | 378 [145[108 [ 42| 10 (450 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 [ 250|300 |0 | 185
750 | 8 | Q3HIBOL8D | Aluminium [ 305 | 591 |2xM32|210-254 | 254 | 160 | 378 (145|108 | 42| 10 (450 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | 0| 185
100 | 8 | Q3HIBOL8B | Aluminium | 348 | 696 |2xM40 | 241-279 | 279 | 180 | 437 (145|121 (48| 10 |55 14 | 6310-ZZ | 6310-ZZ | 50*80*10 [ S0*80*10 | 350 | 250 | 300 | 0| 185
100 | 8 | Q3H200L8C | Aluminium | 348 | 706 |2xMS0|267-305| 318 |200| 457 |185(133 55| 10 (590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 (300|350 (0| 185
1500 | 8 | Q3H200L8D | Aluminium | 348 | 756 |2xM50 |267-305| 318 [200| 457 (185|133 55| 10 [590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 (300|350 |0 | 185

1850 | 8 | Q3E225M8B | Aluminium | 456 | 765 |2xMS0| 356 |[286-31|225| 485 (185|149 (60| 140 (640 18 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13| 450 | 350 | 400 | 0| 185

2200 | 8 | Q3E225M8C | Aluminium | 456 | 765 [2xM50| 356 [286-311225| 485 (185|149 | 60| 140 (64,0 18 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13| 450 {350 | 400 | 0| 185

/(o)

WAT | IM en 24.0
L N/



IE3 THREE PHASE ALUMINIUM

DIMENSION - Bl4a, B34a

MOTORS

Lx 90°
LS
IEE) 1
i — ‘o o o | - S
=y o o
alal® A% <o} j"* < 877 3 1
LA & \
T
i = — [ '
£ C B
L
Power Voo 1 Housing Main Dimensions Foot Mounted Motors Shaft Bearing Seal Flange (FC Bl4a, B34a)
e B DO A A A P DO
Side Side

2 pole

012 Q3E63M2K | Aluminium | 123 | 220 |1xM20 | 80 [ 100 |63 [ 162 |70 |40 | N | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 M5

018 Q3E63M2A | Aluminium | 123 | 220 | 1xM20 | 80 | 100 | 63 | 162 [70| 40 | 1 | 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 M5

025 Q3E63M2B | Aluminium | 123 | 220 [1xM20 | 80 |[100 | 63 | 162 |70 |40 | I | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 MS
C| 037 Q3E63M2C | Aluminium | 123 | 234 |1xM20 | 80 | 100 | 63 | 162 |70 |40 | 11 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 M5

037 Q3E7IM2A | Aluminium | 138 | 253 [1xM20 | 90 | m2 | 71 | 180 |70| 45|14 | 30 |160| 5 |6202-ZZ| 6202-ZZ | 15*24*S5 | 15*24*5 | 105 | 70 | 85 M6

055 Q3E7IM2B | Aluminium | 138 | 253 | IxM20 | 90 | 12 | 71 [ 180 [70| 45 |14 | 30 (60| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 M6
C| 075 Q3E7IM2D | Aluminium | 138 | 262 [1xM20 | 90 | m2 | 71 | 180 |70| 45|14 | 30 |160| 5 |6202-ZZ| 6202-ZZ | 15*24*S | 15*24*S | 105 | 70 | 85 M6

075 Q3HBOM2C | Aluminium | 158 | 268 |1xM20 | 100 | 125 | 80 | 216 |100| 50 | 19 | 40 |215| 6 |6204-ZZ| 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6

110 Q3HBOM2D | Aluminium | 158 | 268 |1xM20 | 100 | 125 | 80 | 216 |100| 50 | 19 | 40 |215| 6 |6204-ZZ| 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
C| 150 Q3H8OM2DE | Aluminium | 158 | 293 | 1xM20 | 100 | 125 | 80 | 2I6 [100| 50 [ 19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6

150 Q3H90L2C | Aluminium | 172 | 344 |2xM25 [100-125| 140 | 90 | 236 (100 56 |24 | 50 [270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8

150 Q3HS90S2C | Aluminium | 158 | 303 | 1xM20 |100-125| 140 | 90 | 226 [100| 56 (24 | 50 [270| 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 140 | 95 | TS M8

220 Q3H90L2D | Aluminium | 172 | 344 |2xM25 [100-125| 140 | 90 | 236 (100 56 |24 | 50 [27.0| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | TS5 M8
C | 300 Q3H90L2E | Aluminium | 172 | 344 |2xM25 |100-125| 140 | 90 | 236 |10.0| 56 (24| 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8

300 Q3HI00L2D | Aluminium | 191 | 400 [2xM25| 140 | 160 |100 | 243 [120| 63 |28 | 60 |310| 8 |6306-ZZ| 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 1O | 130 ]

300 Q3HSI00L2C | Aluminium | 172 | 349 |2xM25| 140 | 160 |100 | 246 (120| 63 (28| 60 [310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | N0 | 130 M8
C| 400 Q3HIOOL2DE | Aluminium | 191 | 400 |2xM25| 140 | 160 [100 | 243 |120| 63 |28 | 60 |310| 8 |6306-ZZ| 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 1O | 130 M8

4,00 Q3HIM2M2C | Aluminium | 210 | 396 |2xM25| 140 | 190 | 112 | 265 [120| 70 (28 | 60 (310 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | N0 | 130 M8

4,00 Q3HSN2M2C | Aluminium | 191 | 399 |2xM25| 140 | 190 | N2 | 260 |120| 70 |28 | 60 |310| 8 |6306-ZZ| 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 1O | 130 M8
SC| 550 Q3HIOOL2E | Aluminium | 191 | 400 |2xM25| 140 | 160 [100 | 243 [120| 63 [28 | 60 [310| 8 [6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | N0 | 130 M8
C| 550 Q3HIM2M2D | Aluminium | 210 | 396 |2xM25| 140 | 190 | 112 | 265 [120| 70 |28 | 60 [310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | N0 | 130 M8

550 Q3H13252C | Aluminium | 260 | 481 [2xM32|140-178| 216 | 132 | 328 |120( 89 | 38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 MIO

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Non drlve Non dnve
e L L

550 | 2 |Q3HSI32S2C | Aluminium | 210 | 422 |2xM25 (140-178| 216 | 132 | 285 [120| 89 (38| 80 [410| 10 |6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7

Housing
Type

Motor Type

750 | 2 | Q3HI2M2DE | Aluminium | 210 | 421 |2xM25| 140 | 190 | 112 | 265 |120| 70 (28| 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 |0 | M8
750 | 2 | Q3HI32S2D | Aluminium 260 | 481 |2xM32 (140-178| 216 |132 | 328 [120| 89 [38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | O | MIO
750 | 2 [Q3HSI32S2D | Aluminium | 210 | 447 |2xM25 [140-178| 216 |132 | 285 [120| 89 (38| 80 (410 | 10 |6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 200 | 130 | 165 | O | MIO
100 | 2 | Q3HI32M2A | Aluminium | 260 | 481 |2xM32 (140-178| 216 | 132 | 328 |120| 89 (38| 80 |410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | O | MIO
100 | 2 | Q3HIBOM2C | Aluminium 305 | 591 |2xM32 210-254) 254 | 160 | 378 (145|108 |42 | 10 [450| 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 | O [ MIO
100 | 2 [Q3HSIBOM2D | Aluminium 260 | 520 |2xM32 210-254) 254 | 160 | 356 (145|108 |42 | 10 (450 12 |6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | - - E I
1500 | 2 | Q3HI32M2B | Aluminium | 260 | 539 |2xM32 (140-178| 216 | 132 | 328 [120| 89 (38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 [ O | MIO
1500 | 2 | Q3HIBOM2D | Aluminium | 305 | 591 |2xM32 [210-254( 254 | 160 | 378 |14,5(108 | 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 [ O | MIO
1850 [ 2 | Q3HIBOL2C | Aluminium | 305 | 591 |2xM32 [210-254( 254 | 160 | 378 |14,5(108 | 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 [ O | MIO
2200 | 2 | Q3HIBOL2D | Aluminium | 305 | 591 |2xM32 [210-254( 254 | 160 | 378 |14,5|108 | 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 | 0 | MIO
2200 | 2 | Q3HIBOM2A | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 (145|121 (48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*I0 | 50*80*10 | - = = = =
2200| 2 |Q3HSIBOM2B | Aluminium | 305 | 600 |2xM32[241-279| 279 | 180 | 398 (145|121 (48| N0 |515| 14 | 6310-ZZ | 6209-ZZ | 50*80*I0 | 45*72*10 | - - - - -

3000| 2 | Q3HIBOM2B | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 |145| 121 |48 | 10 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = =] =
267-

3000 | 2 |Q3H200L2C | Aluminium | 348 | 706 |2xM50 305 318 [200| 457 |185|133 |55 10 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -
3700 | 2 | Q3HIBOL2D | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 |145| 121 | 48| 10 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = =] =
3700 | 2 | Q3H200L2D | Aluminium | 348 | 706 |2xM50 23%75_ 318 |200| 457 |185[133 | 55| 10 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -
4500| 2 | Q3HIBOL2DE | Aluminium | 348 | 750 |2xM40 [241-279| 279 | 180 | 437 |14,5| 121 |48 | 10 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = = =
4500 | 2 |Q3H200L2DE | Aluminium | 348 | 756 |2xM50 236075- 318 |200| 457 (185(133 (55| N0 [590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -
4500| 2 | Q3E225M2B | Aluminium | 456 | 735 |2xM50| 356 2;?_ 225|485 (185(149 (55| N0 [590| 16 | 6313-ZZ | 6313-ZZ |65*100*13|65*100*13| - = = = =

5500 | 2 | Q3E250M2B | Aluminium | 456 | 787 |2xM50 |31-349| 406 [250 | 530 |24,0| 168 | 60 | 140 |64.0| 18 | 6315-ZZ | 6313-ZZ | 75*112*12 |65*100*13| - - - - -

4 pole

012 4 | Q3E63M4A | Aluminium | 123 [ 220 [1xM20 | 80 |[100 | 63 | 162 (70|40 | I | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| MS
018 4 Q3E63M4B | Aluminium | 123 | 220 |1xM20 | 80 | 100 | 63 [ 162 |70 |40 | 11 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| MS
025 | 4 Q3E63M4C | Aluminium | 123 | 234 [1xM20 | 80 |[100 | 63 | 162 | 70|40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| M5
025 | 4 Q3E7IM4B | Aluminium | 138 | 253 |1xM20 | 90 | W2 | 71 | 180 |70 | 45|14 | 30 |160| 5 |6202-ZZ| 6202-ZZ | 15*24*S | 15*24*5 | 105 | 70 | 85 [0 | M6
037 | 4 Q3E7IM4C | Aluminium | 138 | 253 | IxM20 | 90 | 12 | 71 | 180 | 70| 45|14 | 30 |160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 | 0| M6
055 | 4 Q3E7IM4AE | Aluminium | 138 | 262 [1xM20 | 90 | T2 | 71 | 180 |70 | 45|14 | 30 [160| 5 |6202-ZZ| 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 [0 | M6
055 | 4 | Q3H8OM4C | Aluminium | 158 | 268 | 1xM20 | 100 | 125 [ 80 | 216 [100| 50 [ 19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | O | M6
075 | 4 | Q3H8OM4D | Aluminium | 158 | 268 |1xM20 | 100 | 125 | 80 | 216 (100| 50 |19 | 40 (25| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | 0| M6
110 4 | Q3HBOMA4DE | Aluminium | 158 | 293 |1xM20 | 100 | 125 | 80 | 216 |100| 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | O | M6

110 4 | Q8HSY0S4C | Aluminium | 158 | 303 | 1xM20 {100-125

40 | 90 | 226 (100| 56 (24| S0 (270 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 140 | 95 [ IS | 0| M8

110 4 Q3H90L4C | Aluminium | 172 | 344 |2xM25 |100-125

40 | 90 | 236 |10.0| 56 |24 | 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 115 |0 | M8

150 4 Q3H90L4D | Aluminium | 172 | 379 |2xM25 |100-125

40 | 90 | 236 (100| 56 (24| 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 [ 15 | 0| M8

220 4 | Q3H9OL4DE | Aluminium | 172 | 379 |2xM25 |100-125

40 | 90 | 236 (100| 56 (24| S0 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | NS | 0| M8

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Non drlve Non dnve
Bl L

220 | 4 | QSHIOOLAC | Aluminium | 191 | 400 (2xM25| 140 | 160 |100 | 243 |120( 63 |28 | 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7

Housing
Type

Motor Type

220 | 4 | Q3HSIOOL4C | Aluminium | 172 | 384 [2xM25| 140 | 160 |100 | 246 [120| 63 [28| 60 [310| 8 |6306-ZZ| 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 [0 | M8
300 | 4 | Q3HIOOL4D | Aluminium | 191 | 400 [2xM25| 140 | 160 |100 | 243 |120| 63 |28 | 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 1O | 130 [0 | M8
400 | 4 | Q3HN2M4D | Aluminium | 210 | 396 [2xM25| 140 | 190 | N2 | 265 |120| 70 | 28| 60 |310| 8 |6306-ZZ| 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 1O | 130 [0 | M8
550 | 4 Q3HI2M4E | Aluminium | 210 | 421 |2xM25| 140 | 190 | 112 | 265 |120| 70 (28| 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 (0| M8
550 | 4 | Q3HI32S4B | Aluminium | 260 | 481 |2xM32 [140-178| 216 | 132 | 328 |120| 89 |38 | 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 [ O | MIO
550 | 4 |Q3HSI32S4B | Aluminium | 210 | 447 |2xM25S (140-178( 216 | 132 | 285 |120| 89 |38 | 80 |410| 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 200 | 130 | 165 [ O | MIO
750 | 4 | Q3HI32M4D | Aluminium | 260 | 481 |2xM32 (140-178| 216 | 132 | 328 |120| 89 (38| 80 |4l0| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | O | MIO
100 | 4 | Q3HI32MA4E | Aluminium 260 | 539 |2xM32 (140-178| 216 |132 | 328 [120| 89 (38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | O | MIO
100 | 4 | Q3HIBOM4C | Aluminium 305 | 591 |2xM32 210-254) 254 | 160 | 378 (145|108 |42 | TIO (450 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 | 0 | MIO
100 | 4 |Q3HSIBOMAC | Aluminium | 260 | 578 |2xM32 210-254 254 | 160 | 356 (145108 (42| 10 (450| 12 |6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | - = = = =
1500 | 4 | Q3HIBOL4B | Aluminium 305 | 591 |2xM32 [210-254( 254 | 160 | 378 |14,5(108 | 42| N0 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 [ O | MIO
1850 [ 4 | Q3HIBOLAC | Aluminium | 305 | 591 |2xM32 [210-254( 254 | 160 | 378 |14,5(108 | 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 [ O | MIO
1850 | 4 | Q3HIBOM4B | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 (145 121 48| N0 [515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - - - -] -
1850 | 4 |Q3HSIBOM4B| Aluminium | 305 [ 600 |2xM32 [241-279| 279 | 180 | 398 |145( 121 | 48| 10 |515| 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | - = = =] =
2200 | 4 | Q3HIBOLADE | Aluminium | 305 | 619 |2xM32 [210-254| 254 | 160 | 378 (145|108 |42 | 10 |450( 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 | O | MIO
2200 | 4 |Q3HSIBOL4B | Aluminium | 305 | 631 |2xM32[241-279| 279 | 180 | 398 |14,5| 121 |48 | 10 |515| 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | - = = =] =
2200 | 4 | Q3HIBOL4B | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 (145|121 (48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - - - -] -

3000 | 4 | Q3HIBOLAC | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 (145|121 (48| 10 |S15| 14 | 6310-ZZ | 6310-ZZ | 50*80*I0 | 50*80*10 | - = = | =] =

3000 | 4 | Q3H200L4D | Aluminium | 348 | 706 |2xM50 23%75_ 318 |200| 457 185|133 (55| 10 (590 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -
3700 | 4 | Q3E225S4B | Aluminium | 456 | 765 |2xM50| 356 2;(]3— 225|485 (185|149 [60 | 140 (640| 18 | 6313-ZZ | 6313-ZZ |65*100*13 [65*100*13 | - = = | =] =
4500( 4 | Q3E225M4C | Aluminium | 456 | 765 |2xM50| 356 225- 225|485 (185(149 (60| 140 [640| 18 | 6313-ZZ | 6313-ZZ |65*100*13|65*100*13| - - - -] -

5500 | 4 | Q3E250M4B | Aluminium | 456 | 787 |2xM50 |311-349| 406 | 250 | 530 (24.0| 168 |65 | 140 (690 18 | 6315-ZZ | 63I13-ZZ | 75*12*12 |65*100*13| - - - -

6 pole

012 6 Q3E63M6B | Aluminium | 123 | 234 [1xM20 | 80 (100 | 63 | 162 |70 |40 | I | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 [ 60 | 75 | 0| M5
018 6 Q3E7IMBA | Aluminium | 138 | 253 [1xM20 | 90 | T2 | 71 | 180 |70 | 45 |14 | 30 |160| S |6202-ZZ | 6202-ZZ | 15*24*S | 15*24*5 | 105 | 70 | 85 | 0| M6
025 | 6 Q3E7IMBB | Aluminium | 138 | 262 | IxM20 | 90 | 12 | 71 | 180 |70| 45|14 | 30 |160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 | 0| M6
037 | 6 | Q3HBOM6A | Aluminium | 158 | 268 | IxM20 | 100 | 125 [ 80 | 26 (100| 50 [ 19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | 0 | M6
055 | 6 | Q3H8OMGB | Aluminium | 158 | 268 | IxM20 | 100 | 125 [ 80 | 216 {100/ 50 [ 19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | O | M6
075 | 6 Q3H90L6C | Aluminium | 172 | 344 |2xM25 |100-125| 140 | 90 | 236 |10.0| 56 |24 | 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 | 0| M8
110 6 Q3H90L6D | Aluminium | 172 | 344 |2xM25 [100-125| 140 | 90 | 236 |100| 56 |24 | 50 |27.0| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 (0| M8
150 6 | Q3HSIOOL6D | Aluminium | 172 | 384 |[2xM25| 140 | 160 | 100 | 246 |120| 63 (28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 | 0| M8

150 6 | Q3HIOOL6D | Aluminium | 191 | 400 |2xM25| 140 | 160 |100 | 243 |120| 63 |28 | 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 |0 | M8

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Foot Mounted Motors Shaft Bearing Seal Flange (FC Bl4a, B34a)
- | Non drive e Non drive
o S mea [ T[T
10 [ 130 (0| M8

220 | 6 | Q3HSN2MeD | Aluminium | 191 | 399 [2xM25| 140 | 190 | N2 | 260 |120| 70 | 28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160

Housing
Type

300 | 6 | Q3HI32S6A | Aluminium | 260 | 481 |2xM32 (140-178| 216 | 132 | 328 [120| 89 [ 38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 [ O | MIO
400 | 6 | Q3HI32MBA | Aluminium | 260 | 481 |2xM32 [140-178| 216 | 132 | 328 |120| 89 |38 | 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 [ O | MIO
550 | 6 | Q3HI32M6B | Aluminium | 260 | 481 |2xM32 (140-178( 216 | 132 | 328 |120| 89 |38 | 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 [ O | MIO
750 | 6 |Q3HSIBOMGC | Aluminium | 260 | 520 |2xM32 210-254 254 | 160 | 356 (145108 (42| 10 (450| 12 |6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | - - - -] -
750 | 6 | Q3HIBOMGBC | Aluminium 305 | 591 |2xM32 [210-254) 254 | 160 | 378 (145|108 |42 | TI0 [450( 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 | O [ MIO
100 | 6 | Q3HIBOL6D | Aluminium [ 305 | 619 |2xM32 210-254) 254 | 160 | 378 145|108 |42 | 10 [450| 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 | 0 | MIO
1500 | 6 | Q3HIBOL6B | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 (145 121 48| N0 [515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = =] =

1850 | 6 | Q3HIBOLEC | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 |145( 121 | 48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - - - -] -
267-

1850 | 6 | Q3H200L6C | Auminium | 348 | 706 24M50| S0 | 318 [200| 457 185|133 55| 10 |590| 16 | 63I2-ZZ | 63I0-ZZ |60*90*10 [50*80*I0| - | - | - |-| -
2200 | 6 | Q3HIBOLED | Aluminium | 348 | 750 |2xM40 [241-279| 279 | 180 | 437 [145| 121 [48| 10 |515| 14 | 6310-2Z | 6310-2Z | 50*80*I0 |50*80*10| - | - | - [-| -
2200| 6 |Q3H200L6D | Aluminium | 348 | 756 |2xM50 23%75 318 200 457 [185[133 [55| 10 |590| 16 | 6312-2Z | 6310-2Z | 60*90*10 | 50*80*10| - | - | - [-| -
8 pole

012 8 Q3E7IM8C | Aluminium | 138 | 253 | IxM20 | 90 | 112 | 71 | 180 |70| 45|14 | 30 |160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 |0 | M6
018 8 | Q3HBOMSC | Aluminium | 158 | 268 | 1xM20 | 100 | 125 | 80 | 216 {100| 50 | 19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 |0 | M6
025 | 8 | Q3H8OM8D | Aluminium | 158 | 268 | IxM20 | 100 | 125 [ 80 | 26 (10.0| 50 [ 19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | 0 | M6

037 | 8 Q3H90L8C | Aluminium | 172 | 344 |2xM25 |100-125

40 | 90 | 236 |100| 56 |24 | 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 115 | 0| M8

055 | 8 Q3H90L8D | Aluminium | 172 | 344 | 2xM25 |100-125

40 | 90 | 236 |100| 56 |24 | 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 | 0| M8
220 | 8 | Q3HI32M8C | Aluminium | 260 | 481 |2xM32 [140-178| 216 | 132 | 328 |120| 89 |38 | 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 [ O | MIO
300 | 8 | Q3HI32M8D | Aluminium | 260 | 481 |2xM32 (140-178| 216 | 132 | 328 [120| 89 [ 38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 [ O | MIO
400 | 8 | Q3HIBOMSC | Aluminium | 305 | 591 |2xM32 [210-254| 254 | 160 | 378 [145(108 [ 42| N0 (450 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 [ O | MIO
550 | 8 | Q3HIBOLBC | Aluminium | 305 | 591 |2xM32 [210-254( 254 | 160 | 378 |14,5(108 | 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 [ O | MIO
750 | 8 | Q3HIBOL8D | Aluminium | 305 | 591 |2xM32 210-254 254 | 160 | 378 (145108 |42 | 10 (450| 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 | 0 | MIO

100 | 8 | Q3HIBOL8B | Aluminium | 348 | 696 |2xM40 241-279| 279 | 180 | 437 (145|121 |48 | 10 (5.5 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = = =

100 | 8 | Q3H200L8C | Aluminium | 348 | 706 |2xMS0 23%75_ 318 |200| 457 [185(133 [55| 10 [590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -
1500 | 8 | Q3H200L8D | Aluminium | 348 | 756 |2xM50 %6075- 318 |200| 457 [185(133 [55| N0 [590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - = = = =
1850 | 8 | Q3E225M8B | Aluminium | 456 | 765 [2xM50| 356 22]?— 225|485 (185|149 |60 | 140 (640| 18 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13 | - - - - -
2200 | 8 | Q3E225M8C | Aluminium | 456 | 765 |2xM50| 356 225_ 225|485 (185|149 |60 | 140 (640( 18 | 6313-ZZ | 6313-ZZ |65*100*13 [65*100*13 | - = = = =

D)

WAT | IM en 24.0
N S



IE3 THREE PHASE ALUMINIUM MOTORS

4x90°

DIMENSION - Blab, B34b

oD

@P

] fo o /o F %
== | -
i ] = %°7 ‘ o <<
ISYRSE ‘ g = J / 8]
L &
(= | D
5] o 5]
TR [T =
| Kl
£ C | B |
L

hictiel Motor Type
(kW) Toe | ac | L c E [Drive side | MOMITVE | pive g | on ciiva S
Side Side

2 pole

012 2 Q3E63M2K | Aluminium | 123 | 220 | 1xM20 80 100 |63 |162 |70|40| 1| 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 | 0| M6
018 | 2 | Q3E63M2A | Aluminium | 123 | 220 |1xM20| 80 | 100 |63 | 162 [70|40 | 1| 23 |125| 4 |6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 |O| M8
025 | 2 | Q3E63M2B | Aluminium | 123 | 220 |xM20 | 80 | 100 |63 | 162 [70|40 | 1| 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 |O| M8
037 2 Q3E63M2C | Aluminium | 123 | 234 | 1xM20 80 100 |63 |162 |70|40 | 1| 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 | 0| M6

037 | 2 Q3E7IM2A | Aluminium | 138 | 253 | IxM20 | 90 m2 | 711180 |70 |45 |14 | 30 (60| 5 |6202-ZZ| 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 [0 | M8
055 | 2 Q3E7IM2B | Aluminium | 138 | 253 | IxM20 | 90 2 | 71180 70|45 (14| 30 (60| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 (O | M8
075 | 2 Q3E7IM2D | Aluminium | 138 | 262 |1xM20 | 90 W2 | 71180 70| 45|14 | 30 (60| S5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 [0 | M8
075 | 2 | Q3H8OM2C | Aluminium | 158 | 268 | 1xM20 | 100 125 |80 | 216 {10050 | 19| 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 |0 | M8
110 2 | Q3H8OM2D | Aluminium | 158 | 268 | 1xM20 | 100 125 | 80| 216 (10050 (19| 40 (215| 6 |6204-ZZ| 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 [0 | M8
150 2 | Q3HBOM2DE | Aluminium | 158 | 293 |1xM20 [ 100 125 (80| 216 [100| 50 [ 19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 1O | 130 (O | M8
150 2 Q3H90L2C | Aluminium | 172 | 344 |2xM25{100-125| 140 | 90 | 236 |10.0| 56 | 24| 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 (0| M8
150 2 | Q3HS90S2C | Aluminium | 158 | 303 | 1xM20 [100-125| 140 | 90 | 226 |100| 56 | 24| 50 |270| 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 160 | 10 | 130 (0| M8
220 | 2 Q3H90L2D | Aluminium | 172 | 344 |2xM25/100-125| 140 | 90 | 236 [100| 56 |24 | 50 [270| 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 1O | 130 (O | M8
300 | 2 Q3H90L2E | Aluminium | 172 | 344 |2xM25|100-125| 140 | 90 | 236 (100| 56 | 24| S0 |270| 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 [0 | M8
300 | 2 | Q3HIOOL2D | Aluminium | 191 | 400 [2xM25| 140 160 |100 | 243 |120| 63 | 28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO
300 [ 2 |Q3HSI00L2C | Aluminium | 172 | 349 [2xM25| 140 160 |100 | 246 |120| 63 | 28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO
400 | 2 | Q3HIOOL2DE | Aluminium | 191 | 400 [2xM25| 140 160 |100 | 243 {120| 63 [28| 60 [310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO
400 | 2 | Q3HNI2M2C | Aluminium | 210 | 396 [2xM25| 140 190 | M2 | 265 |120| 70 | 28| 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | O | MIO
400 [ 2 | Q3HSTI2M2C | Aluminium | 191 | 399 [2xM25| 140 190 | m2 | 260 |120| 70 | 28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO
550 | 2 | Q3HIOOL2E | Aluminium | 191 | 400 |[2xM25| 140 160 | 100 | 243 |120( 63 [28| 60 [310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO
550 | 2 | Q3HN2M2D | Aluminium | 210 | 396 [2xM25| 140 190 | N2 | 265 (120( 70 [28| 60 [310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | O | MIO
550 | 2 | Q3HI32S2C | Aluminium | 260 | 481 [2xM32[140-178| 216 |132 [ 328 |120( 89 |38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | 0| MI2

550 | 2 |Q3HSI132S2C | Aluminium | 210 | 422 |2xM25 (140-178| 216 | 132|285 |120( 89 [38| 80 [410| 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 250 | 180 | 215 | O | Mi2

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

-« | Non drive - Non drive
o B ol T ] <
130 | 165 [ 0| MIO

750 | 2 | Q3HN2M2DE | Aluminium | 210 | 421 |2xM25| 140 190 | N2 | 265 |120| 70 |28 | 60 |310| 8 |6306-ZZ | 6206-ZZ | 30%47*7 | 30*47*7 | 200

Housing
Type

Motor Type

750 | 2 | Q3HI32S2D | Aluminium | 260 | 481 |2xM32140-178| 216 132|328 [120( 89 (38| 80 [410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | O | M2
750 | 2 |[Q3HSI32S2D | Aluminium | 210 | 447 |2xM25 (140-178| 216 |[132 | 285 |120( 89 |38| 80 |410| 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 250 | 180 | 215 | O | Mi2
100 | 2 | Q3HI32M2A | Aluminium [ 260 | 481 |2xM32(140-178| 216 |132|328|120( 89 |38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 21S | O | Mi2
100 | 2 | Q3HIBOM2C | Aluminium | 305 | 591 |2xM32|210-254| 254 |160 | 378 [145(108 | 42| 10 [450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 0
100 | 2 |Q3HSIBOM2D | Aluminium 260 | 520 |2xM32 (210-254| 254 |160 | 356 |14,5(108 | 42| 10 [450| 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 0
1500 [ 2 | Q3HI32M2B | Aluminium | 260 | 539 |2xM32[140-178| 216 |132 [ 328 |120| 89 |38| 80 |4l0| 10 | 6208-ZZ | 6208-ZZ | 40*62*I0 | 40*62*10 | 250 | 180 | 215 | 0| MI2
1500 | 2 | Q3HIBOM2D | Aluminium [ 305 | 591 |2xM32(210-254| 254 |160 | 378 145|108 | 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - - - -] -
1850 [ 2 | Q3HIBOL2C | Aluminium | 305 | 591 |2xM32 (210-254| 254 | 160 | 378 |145(108| 42| N0 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - = = =] =
2200 | 2 | Q3HIBOL2D | Aluminium [ 305 | 591 |2xM32(210-254| 254 | 160 | 378 |145[108| 42| N0 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - - E I
2200 | 2 | Q3HIBOM2A | Aluminium | 348 | 696 |2xM40 |241-279| 279 |180 | 437 |145| 121 | 48| 10 |55 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = =] =
2200 | 2 |Q3HSIBOM2B| Aluminium | 305 | 600 |2xM32(241-279| 279 |180 | 398 |145| 121 | 48| N0 |515| 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | - - E I
3000 | 2 | Q3HIBOM2B | Aluminium | 348 | 696 |2xM40 (241-279| 279 | 180 | 437 |145| 121 | 48| 10 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*I0 | 50*80*10 | - = = =] =
3000 | 2 | Q3H200L2C | Aluminium | 348 | 706 |2xM50 [267-305 318 [200| 457 |185|133|55| 110 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -
3700 | 2 | Q3HIBOL2D | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 |145| 121 | 48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = = =
3700 | 2 | Q3H200L2D | Aluminium | 348 | 706 |2xM50 [267-305{ 318 |200 | 457 |185(133|55| 10 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -
4500 | 2 | Q3HIBOL2DE | Aluminium | 348 | 750 |2xM40|241-279| 279 |180 | 437 (145|121 |48 | N0 |S515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = = =
4500 | 2 |Q3H200L2DE | Aluminium | 348 | 756 |2xM50 [267-305 318 |200| 457 (185|133 (55| 10 (590 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -
4500 | 2 | Q3E225M2B | Aluminium | 456 | 735 [2xM50| 356 |286-3I1|225 | 485 (185|149 (55| 10 (S90| 16 | 6313-ZZ | 63I13-ZZ |65*100*13 65*100*13| - = = = =

5500 | 2 | Q3E250M2B | Aluminium | 456 | 787 |2xM50|311-349| 406 |250| 530 (240|168 |60 | 140 (640| 18 | 6315-ZZ | 6313-ZZ | 75*112*12 |65*100*13| - - - -] -

4 pole

012 | 4 | Q3E63M4A | Aluminium | 123 | 220 |1xM20 | 80 | 100 |63 [ 162 (70| 40| 11| 23 |125| 4 | 6201-2Z | 6201-2Z | 12*22*7 | 12*22*7 | 120 | 80 | 100 |0 | M8
018 | 4 | Q3E63M4B | Aluminium | 123 | 220 [1xM20 | 80 | 100 |63 | 162 (70|40 | N | 23 |125| 4 |6201-2Z | 6201-7Z | 12*22*7 | 12*22*7 | 120 | 80 | 100 0| M8
025 | 4 | Q3E63M4C | Aluminum | 123 | 234 [1XM20| 80 | 100 |63 |162 (70|40 | 11| 23 |125| 4 | 6201-2Z | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 [O| Ms

025 | 4 Q3E7IM4B | Aluminium | 138 | 253 |1xM20 [ 90 W2 | 71| 180 [70|45 (14| 30 (60| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 (O | M8
037 | 4 Q3E7IM4C | Aluminium | 138 | 253 | IxM20 | 90 m2 | 711180 |70 |45 |14 | 30 (60| 5 |6202-ZZ| 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 5 [0 | M8
055 | 4 Q3E7IMAE | Aluminium | 138 | 262 | 1xM20 | 90 N2 | 71180 70|45 (14| 30 (60| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 (0| M8
055 | 4 | Q3H8OM4C | Aluminium | 158 | 268 | IxM20 | 100 125 |80 | 216 |100| 50|19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 | 0| M8
075 | 4 | Q3H8OMA4D | Aluminium | 158 | 268 | 1xM20 | 100 125 |80 | 216 {100 50 | 19| 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 |0 | M8
110 4 | Q3HBOM4DE | Aluminium | 158 | 293 | 1xM20 | 100 125 |80 | 216 [100| 50 [19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 1O | 130 (O | M8
110 4 | Q3HS90S4C | Aluminium | 158 | 303 | 1xM20 (100-125| 140 | 90 | 226 |100| 56 |24 | 50 |270| 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 160 | 1O [ 130 |0 | M8
110 4 Q3H90L4C | Aluminium | 172 | 344 |2xM25|100-125| 140 | 90 | 236 (100| 56 |24 | 50 |270| 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 [0 | M8
150 4 Q3H90L4D | Aluminium | 172 | 379 |2xM25 (100-125| 140 | 90 | 236 |100| 56 |24 | 50 |27.0| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 1O | 130 | 0| M8
220 | 4 | Q3H9OL4DE | Aluminium | 172 | 379 [2xM25[100-125| 140 | 90 | 236 |100( 56 (24| SO |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 | 0| M8

220 | 4 | Q3HIOOL4C | Aluminium | 191 | 400 [2xM25| 140 160 |100 | 243 [120( 63 [28| 60 [310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

-« | Non drive - Non drive
o o 2 LT ] <
130 | 165 [ O | MIO

220 | 4 | Q3HSIOOLAC | Aluminium | 172 | 384 [2xM25| 140 160 |100 | 246 |120| 63 | 28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200

Housing
Type

Motor Type

300 | 4 | Q3HIOOL4D | Aluminium | 191 | 400 |[2xM25| 140 160 |100 | 243 [120| 63 [28| 60 [310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO
400 | 4 | Q3HN2M4D | Aluminium | 210 | 396 [2xM25| 140 190 | M2 | 265|120| 70 | 28| 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | O | MIO
550 | 4 Q3HI2M4E | Aluminium | 210 | 421 |2xM25| 140 190 | N2 | 265|120( 70 | 28| 60 |310| 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | O | MIO
550 | 4 | Q3HI32S4B | Aluminium | 260 | 481 |2xM32[140-178| 216 |[132 | 328 |120| 89 |38 | 80 |4l0| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 |0 | M2
550 | 4 |Q3HSI32S4B | Aluminium | 210 | 447 |2xM25[140-178| 216 |132 [ 285 |120( 89 |38| 80 |410| 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 250 | 180 | 215 | 0| M2
750 | 4 | Q3HI32M4D | Aluminium [ 260 | 481 |2xM32(140-178| 216 |[132|328|120( 89 |38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 2IS | O | Mi2
100 | 4 | Q3HI32M4E | Aluminium | 260 | 539 |2xM32140-178| 216 | 132|328 [120( 89 [38| 80 |410| 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | O | Mi2
100 | 4 | Q3HIBOMA4C | Aluminium [ 305 | 591 |2xM32 (210-254| 254 | 160 | 378 |14,5(108 | 42| N0 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - - S I
100 | 4 [Q3HSIBOMAC| Aluminium | 260 | 578 |2xM32 (210-254| 254 | 160 | 356 |14,5(108 | 42| N0 |450| 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | - - - -] -
1500 | 4 | Q3HIBOL4B | Aluminium [ 305 | 591 |2xM32(210-254| 254 |160 | 378 (145|108 | 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - - - -] -
1850 | 4 | Q3HIBOL4C | Aluminium 305 | 591 |2xM32 (210-254| 254 | 160 | 378 |145(108| 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - = = =] =
1850 | 4 | Q3HIBOM4B | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 |145| 121 | 48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - - E I
1850 | 4 |Q3HSIBOM4B| Aluminium | 305 | 600 |2xM32(241-279| 279 |180 | 398 |145| 121 | 48| 10 |55 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | - = = = =
2200 | 4 | Q3HIBOLA4DE | Aluminium | 305 | 619 |2xM32|210-254| 254 |160 | 378 (145|108 42| N0 (450 12 |6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - - - -] -
2200 | 4 | Q3HSIBOL4B | Aluminium | 305 | 631 |2xM32|241-279| 279 |180 398 (145|121 (48| 10 (SIS | 14 | 6310-ZZ | 6209-ZZ | 50*80*I0 | 45*72*10 | - = = = =
2200 | 4 | Q3HIBOL4B | Aluminium | 348 | 696 |2xM40|241-279| 279 |180 | 437 (145|121 48| N0 |S515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - - - - -
3000 | 4 | Q3HIBOL4C | Aluminium | 348 | 696 |2xM40|241-279| 279 |180 | 437 (145|121 (48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10| - = = = =
3000 | 4 | Q3H200L4D | Aluminium | 348 | 706 |2xMS50 [267-305 318 |200| 457 (185|133 55| 10 (S90| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | S0*80*10 | - - - -] -
3700 | 4 | Q3E225S4B | Aluminium | 456 | 765 [2xM50| 356 [286-311{225 | 485 |185|149 |60 | 140 |64.0| 18 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13| - = = = =
4500 | 4 | Q3E225MA4C | Aluminium | 456 | 765 |[2xM50| 356 |286-311| 225 | 485 (185|149 (60 | 140 (64.0| 18 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13| - - - -] -

5500 | 4 | Q3E250M4B | Aluminium | 456 | 787 |2xM50|31-349| 406 |250 | 530 (240|168 (65| 140 (690 18 | 6315-ZZ | 63I13-ZZ | 75*112*12 [65*100*13| - - - - -

6 pole

012 6 Q3E63M6B | Aluminium | 123 | 234 |1xM20 | 80 100 |63 |162 70|40 | N | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 |O| M6
018 6 Q3E7IMBA | Aluminium | 138 | 253 | 1xM20 | 90 W2 | 71 |180 [70| 45|14 | 30 (60| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | NS (0| M8
025 | 6 Q3E7IMBB | Aluminium | 138 | 262 | IxM20 | 90 m2 | 71180 |70 | 45|14 | 30 60| 5 |6202-ZZ| 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 5 [0 | M8
037 | 6 | Q3HBOMBA | Aluminium | 158 | 268 |1xM20 | 100 125 |80 | 216 |100| 50|19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 |O| M8
055 | 6 | Q3H8OMBB | Aluminium | 158 | 268 | IxM20 | 100 125 |80 | 216 |100| 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 | 0| M8
075 | 6 Q3H90L6C | Aluminium | 172 | 344 |2xM25|100-125| 140 | 90 | 236 (100| 56 |24 | 50 |270| 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 [0 | M8
110 6 Q3H90L6D | Aluminium | 172 | 344 |2xM25(100-125| 140 | 90 | 236 |100( 56 |24 | 50 |27.0| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 | 0| M8
150 6 | Q3HSIOOL6D | Aluminium | 172 | 384 |2xM25| 140 160 |100 | 246 |120| 63 | 28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO
150 6 | Q3HIOOL6D | Aluminium | 191 | 400 |2xM25| 140 160 | 100 | 243 [120( 63 [28| 60 [310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO

220 | 6 | Q3HSn2MeD | Aluminium | 191 | 399 [2xM25| 140 190 | M2 | 260 |120| 70 | 28| 60 |310| 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | O | MIO

WAT | IM en 24.0



IE3 THREE PHASE ALUMINIUM MOTORS

Foot Mounted Motors Shaft Bearing Seal Flange (FB Bl4b, B34b)
-« | Non drive - Non drive
oo e [ T W
180 | 215 [0 | M2

300 | 6 | Q3HI32SBA | Aluminium | 260 | 481 [2xM32[140-178| 216 |132 (328 |120( 89 |38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250

Housing

Motor Type i

400 | 6 | Q3HI32MBA | Aluminium | 260 | 481 |2xM32[140-178| 216 |[132 | 328 |120| 89 |38 | 80 |4l0| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 |0 | M2
550 | 6 | Q3HI32M6B | Aluminium | 260 | 481 [2xM32[140-178| 216 |132 [ 328 |120( 89 |38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | 0| MI2
750 | 6 [Q3HSIBOMBC| Aluminium (260 | 520 |2xM32 (210-254| 254 | 160 | 356 |14.5(108 | 42| N0 |450| 12 | 6309-Z7Z | 6208-ZZ | 45*72*10 | 40*62*10 | - - - -] -
750 | 6 | Q3HIBOMBC | Aluminium | 305 | 591 |2xM32|210-254| 254 |160 | 378 [145(108 [ 42| 10 [450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - = = = =
100 | 6 | Q3HIBOL6D | Aluminium [ 305 | 619 |2xM32 (210-254| 254 | 160 | 378 |14,5(108| 42| N0 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - - C I
1500 | 6 | Q3HIBOLGB | Aluminium | 348 | 696 |2xM40 [241-279| 279 | 180 | 437 |145| 121 | 48| 10 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*I0 | 50*80*10 | - = = | = =
1850 | 6 | Q3HIBOL6C | Aluminium | 348 | 696 |2xM40 (241-279| 279 |180 | 437 |145| 121 | 48| 10 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - - - -] -
1850 | 6 | Q3H200L6C | Aluminium | 348 | 706 |2xM50 [267-305 318 |200 | 457 |185(133|55| 10 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - = = =] =
2200| 6 | Q3HIBOLED | Aluminium | 348 | 750 |2xM40 [241-279| 279 | 180 | 437 |145| 121 | 48| N0 |515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - - E I

2200 | 6 | Q3H200L6D | Aluminium | 348 | 756 |2xM50 [267-305 318 [200| 457 |185|133|55| 110 |59.0| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - = = =] =

8 pole

012 8 Q3E7IMBC | Aluminium | 138 | 253 |I1xM20 [ 90 W2 |71 |180 [70|45 (14| 30 (60| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 1S (0| M8
018 8 | Q3HBOMS8C | Aluminium | 158 | 268 | IxM20 | 100 125 |80 | 216 {10050 |19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 |0 | M8
025 | 8 | Q3H80MS8D | Aluminium | 158 | 268 |1xM20 | 100 125 |80 | 216 |100| 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 1O | 130 |O| M8
037 | 8 Q3H90L8C | Aluminium | 172 | 344 |2xM25 [100-125| 140 | 90 | 236 |100| 56 |24 | 50 |270| 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 |0 | M8
055 | 8 Q3H90L8D | Aluminium | 172 | 344 |2xM25|100-125| 140 | 90 | 236 |100| 56 |24 | 50 |270| 8 |6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 {0 | M8
220 | 8 | Q3HI32M8C | Aluminium | 260 | 481 [2xM32[140-178| 216 |132 [ 328 |120( 89 |38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | 0| M2
300 [ 8 | Q3HI32M8D | Aluminium | 260 | 481 [2xM32[140-178| 216 |132 [ 328 |120( 89 |38| 80 |410| 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | 0| M2
400 | 8 | Q3HIBOMSC | Aluminium | 305 | 591 |2xM32 (210-254| 254 |160 | 378 |145|108 |42 | 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - - - -] -
550 | 8 | Q3HIBOL8C | Aluminium | 305 | 591 [2xM32(210-254| 254 | 160 | 378 |145(108 42| 10 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - = = = =
750 | 8 | Q3HIBOL8D | Aluminium (305 | 591 |2xM32 (210-254| 254 | 160 | 378 |14,5(108| 42| N0 |450| 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | - - - -] -
100 | 8 | Q3HIBOL8B | Aluminium | 348 | 696 |2xM40 (241-279| 279 |180 | 437 (145|121 48| 10 [515| 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | - = = = =
100 | 8 | Q3H200L8C | Aluminium | 348 | 706 |2xM50 [267-305( 318 [200| 457 |185(133|55| 10 |590| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - E I

1500 | 8 | OQ3H200L8D | Aluminium | 348 | 756 |2xM50 [267-305 318 |200 | 457 |185(133|55| 10 |S90| 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | - - - -] -

1850 | 8 | Q3E225M8B | Aluminium | 456 | 765 [2xM50| 356 [286-311{225| 485 (185|149 |60 | 140 |64.0| 18 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13| - - - -] -

2200 | 8 | Q3E225M8C | Aluminium | 456 | 765 [2xM50| 356 |286-3I1| 225|485 (185|149 (60| 140 (640 18 | 6313-ZZ | 6313-ZZ |65*100*13 |65*100*13| - = = =] =

=7/

WAT | IM en 24.0
NS L/



W 7/ A
—

—]
Sc
=)

=L

Z I_ni)u
=
(IR
A

(@ %W ?/4 By
S %
—1 =9
== = Gal ==
7 SI=]







IE3 THREE PHASE N SERIES ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS @ 50 Hz

RATED VALUES STARTING VALUES ,
. - Breakdown EFFICIENCY * e Weight | Sound
5 URRENT TORQUE Torque 7%Cose ,
moroR Type | MOUSING Power speen | 9| oraue Ratio (B3) | Pressue
A N A N BA *k

I S S P PPN RR T

2 poles 3000 rpm

Q3N80S2C Aluminium | 0,75 10 2890 18 25 77 34 4] 807 | 776 | 732 0.77 82 57
= Q3N80S2D Aluminium 110 15 2880 23 37 82 33 40 827 | 806 | 774 082 95 58
§ Q3N90S2C Aluminium | 150 20 2885 31 50 74 29 Bl 842 | 826 | 805 083 120 6l
S Q3N90S2D Aluminium | 2,20 30 2880 46 73 56 34 37 859 | 857 | 845 08l 140 62
Q3N100S2C Aluminium | 3,00 40 2913 57 98 98 32 47 871 | 873 | 855 0388 207 65
4 poles 1500 rpm
Q3N80S4C Aluminium | 055* | 075 | 1425 14 38 6.4 30 34 808 | 804 | 768 070 85 47
- Q3N80S4D Aluminium | 0,75 110 1425 19 5] 6.0 29 32 825 | 815 791 072 98 48
§ Q3N90S4C Aluminium 110 150 1433 25 73 69 29 36 84] | 838 | 823 077 125 45
§ Q3N90L4D Aluminium | 150 | 220 | 1433 34 100 3] 872 €19 853 | 850 | 835 0.76 155 46
- Q3NI00S4C Aluminium | 220 | 300 | 1443 48 146 80 32 39 867 | 858 | 84] 078 20] 48
Q3N100L4D Aluminium | 300 | 400 | 1445 6.6 19.8 80 8i8 €19 877 | 871 849 0.76 240 Sl

* Please consult the sales team for electrical data for IE2 motors not covered by the regulation.

* According to IEC 60034-2-1

**The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA ﬂ

WAT | IM en 24.0
N S



IE3 THREE PHASE N SERIES ALUMINIUM MOTORS

DIMENSION - B3

L I
N N
- f’f:i 2
s (122’ '

U= - | [
‘ B )

’ | I— "o
O\ s pynp .‘J ] U
C __ s SR | -

il il e N N RN DI N D DO O D S Y

Side Side Side
075 2 Q3N80S2C Aluminium | 156 | 2557 | M20 100 125 80 | 1870 | 10 |50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
110 2 Q3N80S2D Aluminium | 156 | 2705 | M20 100 125 80 | 1870 | 10 |50 | 19 | 40 | 215 | 6 |6204-ZZ|6204-ZZ | 20*30*7 | 20*30*7
055 4 Q3N80S4C Aluminium | 156 | 2557 | M20 100 125 80 | 1870 | 10 |50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
075 4 Q3N80S4D Aluminium | 156 | 2557 | M20 100 125 80 | 1870 | 10 |50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
150 2 Q3N90S2C40 | Aluminium | 176 | 2900 | M25 100 140 90 [ 2100 | 10 |56 | 24 | 50 |270 | 8 |6205-ZZ|6205-ZZ | 25*40*7 | 25*40*7
220 2 Q3N90S2D40 | Aluminium | 176 | 2900 | M25 100 140 90 | 2100 | 10 |56 | 24 | 50 |270| 8 |6205-ZZ|6205-ZZ | 25*40*7 | 25*40*7
300 2 Q3N100S2C40 | Aluminium | 196 | 3400 | M25 140 160 | 100 [2305| 12 |63 | 28 | 60 | 310 | 8 |[6206-ZZ| 6206-ZZ | 30*47*8 | 30*47*8
110 4 Q3N90S4C40 | Aluminium | 176 | 2900 | M25 100 140 90 | 2100 | 10 |56 | 24 | 50 |270| 8 |6205-ZZ|6205-ZZ | 25*40*7 | 25*40*7
150 4 Q3N90L4D40 | Aluminum | 176 | 3200 | M25 125 140 90 | 2100 | 10 |56 |24 | 50 |270| 8 |6205-ZZ|6205-ZZ | 25*40*7 | 25*40*7
220 4 Q3N100S4C40 | Aluminium | 196 | 3400 | M25 140 160 | 100 [2305| 12 |63 | 28 | 60 | 310 | 8 |6206-ZZ| 6206-ZZ | 30*47*8 | 30*47*8
300 4 Q3N100L4D40 | Aluminium | 196 | 3700 | M25 140 160 [100 |2305| 12 |63 | 28 | 60 | 310 | 8 |6206-ZZ| 6206-ZZ | 30*47*8 | 30*47*8

9]

WAT | IM en 24.0
N L



IE3 THREE PHASE N SERIES ALUMINIUM MOTORS

DIMENSION - BS, B35

- o
siamn
w—

075 | 2
075 | 2
110 2
110 2
055 | 4
055 | 4
075 | 4
075 | 4
150 | 2
150 | 2
220 | 2
220 | 2
300 | 2
300 | 2
220 | 4
220 | 4
300 | 4
300 | 4

Motor Type

Q3NPA80S2C

Q3NFAB0S2C

Q3NPA80S2D

Q3NFAB0S2D

Q3NPAB0S4C

Q3NFAB0S4C

(Q3NPA80S4D

Q3NFAB0S4D

(Q3NFAS0S2C40

Q3NPAS0S2C40

Q3NFAS0S2D40

Q3NPAS0S2D40

Q3NFA100S2C40

Q3NPAI00S2C40

Q3NFA90S4C40

Q3NPAI00S4C40

(Q3NFAIOOL4D40

Q3NPAIO0L4D40

Housing
Tupe

Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium

Aluminium

156.0

156.0

156.0

156.0

156.0

156.0

156.0

156.0

1989

1989

1989

1989

2489

2489

2489

248.9

2489

2489

2557

2557

2557

2557

2557

2900

2900

2900

2900

3400

3400

3400

3400

3700

3700

M20

M20

M20

M20

M20

M20

M25

M25

M25

M25

M25

M25

M25

M25

M25

M25

100

100

100

100

140

140

140

I}
Iy
LA

Foot Mounted Motors

125

125

140

140

160

160

160

80

80

80

90

90

100

100

100

187 [ 10 |50 | 19| 40
-1 -1]me] 40
187 [ 10 |50 | 19| 40
-1 -9 40
187 [ 10 |50 | 19| 40
-1 -1]me] 40
187 [ 10 |50 | 19| 40
-1 -1]me] 40
| -] - |24 50
210 | 10| 56| 24| 50
- | -] - [24] 50
210 | 10| 56| 24| 50
- | -] - [28] 60
2305| 12 | 63 | 28| 60
- | -] - [28] 60
2305 12 | 63 (28] 60
- |- |- [28] 60
2305 12 | 63 [ 28] 60

215

215

215

215

215

215

270

270

270

270

310

310

310

310

310

310

6204-727

6204-77

6204-77

6204-77

6204-2Z

6204-77

6204-77

6204-727

6205-77

6205-2Z

6205-7Z

6205-2Z

6206-2Z

6206-72Z

6206-2Z

6206-7Z

6206-2Z

6206-7Z

6204-727

6204-27

6204-727

6204-77

6204-727

6204-27

6204-77

6205-77

6205-7Z

6205-7Z

6205-7Z

6206-77

6206-7Z

6206-2Z

6206-72Z

6206-2Z

6206-72Z

20*30*7

20*30*7

20*30*7

20*30*7

20*30*7

20*30*7

20*30*7

20*30*7

25*40*7

25%40*7

25%40%7

25*40*7

30*47*8

30*47*8

30*47*8

30*47*8

30%47*8

30*47*8

Side
20*30*7
20*30*7
20*30*7
20*30*7
20*30*7
20*30*7
20*30*7
20*30*7
25*40*7
25%40*7
25*40*7
25*40*7
30*47*8
30*47*8
30*47*8
30%47*8
30*47*8

30*47*8

Flang (FA BS,

198.0

1980

198.0

198.0

1980

198.0

198.0

198.0

1989

1989

1989

1989

2489

2489

2489

2489

2489

2489

130

165 | -

165 | -
165 | -
165 | -
165 | -
165 | -
165 | -
165 | -
165 | -
165 | -
165 | -
165 | -
215 | -
215 | -
25 | -
215 | -

215 | -

120

120

120

120

120

120

120

120

120

120

120

120

14.5

145

14,5

145

14,5

215 | -

14,5

(35)

WAT | IM en 24.0
A



IE3 THREE PHASE N SERIES ALUMINIUM MOTORS

DIMENSION - Bl4a, B34a

} ’
¥

.‘j | ——tte—

Y 3! | 3
LiX —_— ® L
1 D =
— — R
- —y= ~ ~
ot ) I A
i

Motor Type

=

Einnnonnn
0.55 4 Q3N80S4C | Aluminium | 156 | 2557 | M20 | 100 | 125 | 80 |1870( 10 | 50 [ 19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 16,8 | 80 | 100 | - | M6
075 2 Q3N80S2C | Aluminium | 156 | 2557 | M20 100 | 125 |80 (187010 [ 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 168 | 80 [ 100 | - | M6
075 4 Q3N80S4D | Aluminium | 156 [ 2557 | M20 | 100 | 125 | 80 [1870| 10 [ 50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 16,8 | 80 | 100 | - | M6
110 2 Q3N80S2D | Aluminium | 156 | 255.7 | M20 100 | 125 |80 |1870| 10 |50 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 (1168 | 80 | 100 | - | M6
110 4 Q3N90S4C | Aluminium | 176 | 2900 | M25 | 100 | 140 | 90 |2100| 10 | 56 |24 | 50 [270| 8 |6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 [1350| 95 | 15 |- | M8
150 2 Q3N90S2C | Aluminium | 176 | 2900 | M25 | 100 | 140 | 90 |2100| 10 | 56 |24 | 50 |270| 8 |6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 |1350| 95 | 15 | - | M8
150 4 Q3N90L4D | Aluminium | 176 | 3200 | M25 125 | 140 | 90 [2100| 10 | 56 |24 | 50 |270| 8 |6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 |1350| 95 | IS | - | M8
220 2 Q3N90S2D | Aluminium | 176 | 2900 | M25 100 | 140 | 90 [2100| 10 | 56 |24 | 50 |270| 8 |6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 |1350| 95 | NS | - | M8
220 4 Q3N100S4C | Aluminium | 196 | 3400 | M25 140 | 160 [100 (2305| 12 [ 63 [28| 60 |310| 8 |6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8 |1550| 10 [ 130 | - | M8

300 | 2 Q3N100S2C | Aluminium | 196 | 3400 | M25 | 140 | 160 |100 2305| 12 | 63 |28 | 60 |310| 8 |6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8 | 1550 | 10 | 130 | - | M8

300 | 4 Q3NI00L4D | Aluminium | 196 | 3700 | M25 | 140 | 160 |100 (2305( 12 | 63 (28| 60 (310 | 8 |6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8 |1550| N0 | 130 | - [ M8

(3]

WAT | IM en 24.0
N S



IE3 THREE PHASE N SERIES ALUMINIUM MOTORS

DIMENSION - Blab, B34b

N

ks

—f—
,,:;J, i
,} 1
./ 1 )—-:
KESIT BB
B 0LCEx 12

Housing __
Motor Type Type Non drive
Side

Q3N90S4C40 6205-ZZ | 6205-Z7

Aluminium 25*40*7 | 25*40*7
15 2 Q3N90S2C40 | Aluminium | 176 | 290 | M25 | 100 | 140 [ 90 | 210 | 10 | 56 | 24| 50 | 27 | 8 |6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 {1504 | 10 | 130 | - | M8
15 4 Q3N90L4D40 | Aluminium | 176 | 320 | M25 | 125 | 140 [ 90 [ 210 |10 | 56 |24 | 50 | 27 | 8 |6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 (1504 | 10 | 130 | - | M8

22 2 Q3N90S2D40 | Aluminium | 176 | 290 | M25 | 100 | 140 | 90 | 210 [ 10 [ 56 (24| S50 | 27 | 8 |6205-ZZ| 6205-ZZ | 25*40*7 | 25*40*7 {1504 | 10 | 130 | - | M8

(/I

WAT | IM en 24.0
N L



=l

_ -
"‘-..______
—
e
E—-—\
p—
—
e

SN
OTORS

2




I[E2 THREE PHASE ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS @ 50 Hz

RATED VALUES STARTING VALUES
Breakdown EFFICIENCY * Weight Sound
HOUSING CURRENT | TORQUE | Torque Cosep J (B3) | Fressure
MOTOR TYPE | "o Power SPEED | CURRENT Ratio Level

o [ e | on | R | Cs | e

2 poles 3000 rpm

***Q2E63M2K | Aluminium 012 017
Q2E63M2A | Auminum | 018 | 025 | 344000 | 08/043 | 050 | 420 21l 291 6400 |6830| 670 | 083 | 000022 530 6l
= Q2663M2B | Auminium | 025 | 030 | 345000 | 14/08 070 | 39 278 357 | 6800 |6960| 650 | 075 | 000025 450 6l
§ ***02E7IM2K | Aluminium | 025 | 030
=) C |Q2E63M2C | Auminum | 037 | 050 | 349000 | 155/099 | 100 | 640 41 529 | 7200 | 7110 |5560 | 074 000025 610 8l
5 Q2E7IM2A Aluminium | 037 | 050 | 342500 | 144/083 | 100 | 468 300 384 | 7220 |7280| 7170 | 076 000032 600 | 65
C |Q2E63M2D | Auminum | 055 | 075 | 345000 | 21/12 150 | 620 378 489 | 7400 | 7420 | 7070 | 080 | 000044 670 6l
Q2E7IM2B Aluminum | 055 | 075 | 346800 | 223/129 | 150 | 535 378 476 | 7400 | 7520 | 7250 | 072 000048 700 | 65
4 poles 1500 rpm
Q2E63M4A | Auminum | 012 | o017 1875 | 076/044 | 08 | 37 30 30 591 | 584 | 513 | 070 | 000022000 | 42 48
Q2E63M4B | Auminum | 018 | 025 | 1350 | 096/055 | 12 36 23 26 647 | 663 | 605 | 072 | 000026000 | 48 48
S8 C |Q2E63M4C | Auminum | 025 | 03 1360 | 132/076 | 17 40 28 28 685 | 674 | 623 | 071 | 000026000 | 48 48
8 Q2E7IM4A Aluminum | 025 | 03 ws | 124/072 | 17 42 20 25 685 | 693 | 640 | 073 | 000095000 | 71 52
S Q2E63M4D | Auminum | 037 | 05 1853 | 199/115 26 | 40 3l 30 727 | 720 | 668 | 067 | 000022000 | 58 48
5y Q2F7IM4B Aluminum | 037 | 05 w07 | 173100 | 25 | 48 24 27 727 | 735 | 694 | 075 | 0001003521 | 75 52
C | Q2E7IM4E Auminum | 055 | 075 | 1428 | 246/142 | 36 | 55 28 32 771 | 768 | 731 | 076 | 000095000 | 92 52
Q2H80M4B Aluminium 055 075 1449 2.4/14 37 5S4 19 25 771 780 | 747 074 0,00210000 105 53
6 poles 1000 rpm
Q2E63MBB | Aluminum | 012 | 017 860 | 107/062 | 133 | 254 230 25 506 | 444 | 361 | 057 | 0000260000 | 54 58
> Q2E7IM6B Aluminium | 018 | 025 928 | 133/077 | 182 | 300 243 29 566 | 525 | 442 | 058 | 0000950000 | 59 62
=i C | 02E7IMeC Aluminium | 025 | 030 923 | 168/097 | 261 | 330 260 28 616 | 598 | 575 | 060 | 0000950000 | 7.2 62
3 Q2E7IMBD Aluminium | 037 | 050 a8 22/135 | 385 | 360 280 3] 676 | 652 | 585 | 060 | 00013847460 | 86 62
08 ¢ |Q2HSOMBA | Aluminium | 037 | 050 953 | 203/17 | 371 | 440 210 28 676 | 687 | 625 | 065 | 00015495140 | 104 64
Q2H8OMBB | Aluminium | 055 | 075 942 | 278/181 | 559 | 4l0 182 23 731 | 706 | 659 | 070 | 00014013000 | 15 64
ELECTRICAL CHARACTERISTICS @ 60 Hz
RATED VALUES STARTING VALUES . Sound
HOUSING CURRENT | TORQUE HORICE Cosg VOO | preseure
IA/IN | MA/MN %
IR N e Y o S R S e T R T 7 T B T
2 poles 3600 rpm
Q2E63MBB | Auminum | 012 | 017 860 | 107/062 | 133 | 254 230 25 | 506 | 444 | 361 | 057 [ 0000260000 54 58
Q2E7IMBB | Auminum | 018 | 025 928 | 133/077 | 182 | 300 243 29 | 566 | 525 | 442 | 058 | 0000950000 | 59 62
B8 C |Q267MBC | Auminum | 025 | 030 923 | 188/097 | 261 | 330 260 28 | 616 | 598 | 575 | 060 | 0000950000 | 7.2 62
3 Q2E7IMBD | Auminium | 037 | 050 ai8 22/135 385 | 360 280 3l 676 | 652 | 585 | 060 | 0001384746 | 86 62
A C | Q2H8OMBA | Auminum | 037 | 050 953 | 203/117 371 | 440 210 28 | 676 | 687 | 625 | 065 | 0001549514 | 104 64
N Q2H8OMBB | Aluminum | 055 | 075 942 | 278/181 | 559 | 410 182 23 | 731 | 708 | 659 | 070 | 0001401300 | 15 64
C |Q2E63M2D | Aluminum | 055 | 075 | 345000 | 21/12 150 | 620 378 489 | 7400 | 7420|7070 | 080 | 0001900000 | 670 6l
Q2E7M2B | Auminum | 055 | 075 | 346800 | 223/129 | 150 | 535 378 476 | 7400 | 7520|7250 | 072 | 000210950 | 700 | 65
4 poles 1800 rpm
Q2E63M4A | Aluminum | 012 | 07 | 170800 | 065/037 | 068 | 353 41 397 | 6600 | 6520|5790 | 061 | 0000220000 | 420 6l
Q2E63M4B | Auminum | 0I8 | 025 | 169000 | 088/051 | 102 | 344 400 344 | 6800 | 7150 | 6790 | 063 | 0000260000 | 480 8l
S8 C |02663M4C | Auminum | 025 | 030 | 169000 | 12/068 142 | 382 444 370 | 7000 |6920 | 6530 | 065 |0000260000 | 480 8l
2 Q2E7IM4A | Auminium | 025 | 030 | 173300 | 11/064 139 | 401 467 331 | 7000 | 7080 | 6840 | 067 |0000950000 | 710 65
3 Q2E63M4D | Auminum | 037 | 050 | 166600 18/1 214 | 382 444 397 | 7020 | 6580|6030 | 065 |0000220000 | 580 6l
N Q2E7M4B | Auminum | 037 | 050 | 172500 | 154/089 | 206 | 458 533 357 | 7020 | 7080|6650 | 071 | 0001003521 | 750 | 65
C |Q2E7M4E | Auminum | 055 | 075 | 173000 | 24/14 306 | 525 6l 423 | 7550 | 7510 | 7140 | 075 | 0000950000 | 920 | 65
Q2H8OM4B | Aluminium | 055 | 075 | 175600 | 2i8/126 301 | 515 6.00 331 | 7550 | 7680 | 7550 | 069 | 0002100000 | 1030 | 67
6 poles 1200 rpm
Q2663M6B | Auminium | 012 [ 017 | 12500 | 1027059 [ 103 | 245 256 331 | 5050 [4430]3600] 050 | 0000260000 | 540 6l
> Q2E7IMBB | Auminum | 018 | 025 | 14200 | 125/072 | 152 | 286 270 384 | 5500 |5420| 4910 | 052 | 0000950000 | 590 | 65
=) C [Q2E7IM6C | Auminium | 025 | 030 | 113800 | 156/080 211 3l5 289 370 | 5950 |5820 | 5410 | 054 | 0000950000 | 690 | 65
3 Q2E7M6D | Auminum | 037 | 050 | 14000 | 2112 312 | 344 3l 410 | 6400 | 6200|6000 | 054 | 0001368644 | 850 | 65
S8 C |Q2HBOMBA | Auminum | 037 | 050 | 18300 | 185/107 | 306 | 420 233 370 | 6400 |6820| 6190 | 059 | 0001537349 | 1030 | 67
Q2H8OMBB | Aluminium | 055 | 075 | 15300 | 248/143 | 459 | 39l 202 304 | 6800 | 7100 | 6720 | 064 | 0001401300 | 1130 | 67

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA
*** Please consult with us.

WAT | IM en 24.0
N S



I[E2 THREE PHASE ALUMINIUM MOTORS

DIMENSION - B3

ﬂ@%ﬂ H-E hﬁ
CEC; . < | D\o 3
| 1o o o F
(4 ; = | 2
- 2
o o No | _@_ -
' ;
- |
Fo]oc B K | A |
L T 1

Main Dimensions Foot Mounted Motors Bearing “
e LT Motor Type | Housing Type
(kW] | of Poles AC L A c GA P Drl|ve Non‘dnve Drive Side Non.dnve
Side Side Side

2 pole

012 | 2 | Q2E63M2K | Auminum | 123 | 220 |xM20 | 80 | 100 |63 |62 | 7 |40 | W | 238 | 125 | 4 |6201-7Z | 6201-2Z | 12*22*7 | 12*22*7
018 | 2 | Q2E63M2A | Auminum | 123 | 220 |M20 | 80 | 100 | 63 [162 | 7 |40 | M | 28 | 125 | 4 |6201-7Z | 6201-2Z | 12*22*7 | 12*22*7
025 | 2 | Q2E63M2B | Auminum | 123 | 220 | xM20 | 80 | 100 |63 |62 | 7 |40 | W | 28 |25 | 4 |62012Z | 6201-2Z | 12*22*7 | 12*22*7

025 2 Q2E7IM2K | Aluminium | 138 | 253 | IxM20 90 m | 71 | 180 7 | 45| 14 | 30 |60 | 5 |6202-Z7Z|6202-ZZ | 15*24*5 15*24*5
C | 037 2 Q2E63M2C | Aluminium | 123 | 234 | xM20 80 100 | 63 | 162 7 (40| M 23 | 125 | 4 |6201-ZZ | 6201-ZZ | 12*22*7 12*22*7

037 2 Q2E7IM2A | Aluminium | 138 253 | IxM20 90 m | 71 | 180 7 45 | 14 | 30 [ 160 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 15*24*5

C |055| 2 | Q2E63M2D | Auminum | 123 | 234 |IxM20 | 80 | 100 | 83 | 182 | 7 |40 | M | 23 | 25| 4 |620-2Z | 6201-7Z | 12%22*7 | 12*22*7
055 2 Q2E7IM2B Aluminium 138 253 1xM20 90 12 71 | 180 7 45 | 14 30 | 160 5 |6202-ZZ | 6202-ZZ | 15*24*5 15*24*5
4 pole
012 | 4 | Q2E63M4A | Auminium | 123 | 220 [ xM20 | 80 | 100 | 63 |62 | 7 |40 | M | 23 | 125 | 4 |62017Z | 6201-2Z | 12%22*7 | 12*22*7
018 4 Q2E63M4B | Aluminium 123 220 1xM20 80 100 | 63 | 162 7 40 n 23 | 125 4 | 6201-ZZ | 6201-Z2Z 12*22*7 12*22*7

C [025| 4 | Q2E63M4C | Aluminum | 123 | 220 |IxM20 | 80 | 100 | 83 | 182 | 7 |40 | W | 23 |25 | 4 |620-2Z | 6201-7Z | 12*22*7 | 12*22*7
025 | 4 | Q2E7M4A | Aluminium | 138 | 253 | xM20 | 90 | M2 | 71 |80 | 7 |45 | 14 | 30 | 160 | 5 |6202-7Z | 6202-2Z | 15*24*5 | 15*24*5
037 | 4 | 02663M4D | Auminum | 123 | 234 [M20 | 80 100 |63 [182 | 7 |40 | N | 28 |25 | 4 |6201-7Z | 6201-7Z | 12*22*7 | 12*22*7
037 | 4 | 02E7M4B | Auminium | 138 | 253 | mwM20 | 90 | M2 | 71 |80 | 7 | 45| 14 | 30 |60 | 5 |6202-7Z | 6202-2Z | 15*24*5 | 15*24*5

C | 055 4 Q2E7IM4E | Aluminium | 138 | 262 | xM20 90 m | 71 | 180 7 | 45| 14 | 30 | 160 | 5 |[6202-ZZ| 6202-ZZ | 15*24*5 15*24*5

055 4 Q2H80M4B | Aluminium | 158 268 | IxM20 100 125 |80 | 26| 10 |50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7

6 pole

012 6 Q2E63M6B | Aluminium | 123 | 234 | xM20 80 100 | 63 | 162 7 (40| M 23 | 125 | 4 |6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
0l8 6 Q2E7IMBB | Aluminium | 138 | 253 | 1xM20 20 mn2 | 71 | 180 7 | 45| 14 | 30 | 160 | 5 |[6202-ZZ| 6202-ZZ | 15*24*5 15*24*5
C | 025 6 Q2E7IMBC | Aluminium | 138 | 253 | IxM20 90 2 [ 71 | 180 7 | 45| 14 | 30 | 160 | 5 |6202-ZZ|6202-ZZ | 15*24*5 15*24*5
037 6 Q2E7IMBD | Aluminium | 138 | 262 | 1xM20 90 m | 71 | 180 7 | 45| 14 | 30 | 160 | 5 |[6202-ZZ| 6202-ZZ | 15*24*5 15*24*5
C | 037 6 Q2H8OM6BA | Aluminium | 158 | 268 | IxM20 100 125 |80 | 26| 10 |50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7

0.55 6 Q2H80MEB | Aluminium | 158 | 268 | IxM20 100 125 (80 |26 | 10 [50 | 19 | 40 |25 | 6 |6204-ZZ|6204-ZZ | 20*30*7 | 20*30*7

WAT | IM en 24.0



I[E2 THREE PHASE ALUMINIUM MOTORS

DIMENSION - BS, B35

—
@
S 7 ] F
A o oo
‘Fk |
%\ = \S\ ; —~ ° ) <t
\& ] = —— BES B ] — J
] 2
A ‘
e o He 0
/ s
£ C B A
L

IR Motor Type . .

= [l T [T Do [ o] o e o | o[ ]
Side Side

2 pole

012 2 Q2E63M2K | Aluminum | 123 | 220 | 1xM20 | 80 | 100 | 63 | 162 | 7 |40 [ 1 | 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 [0 10

018 2 | Q2E63M2A | Aluminum | 123 | 220 [1xM20 | 80 [ 100 | 63 (162 | 7 |40 [ I | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 [ IS |0 | 10
025 | 2 Q2E63M2B | Aluminum | 123 | 220 |1xM20 | 80 | 100 | 63 [ 162 | 7 |40 | 11 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | IS |0O| 10
025 | 2 Q2E7IM2K | Aluminum | 138 | 253 | IxM20 | 90 | 12 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 10 | 130 |0 | 10
C|037 | 2 Q2E63M2C | Aluminum | 123 | 234 |[1xM20 | 80 | 100 | 63 [ 162 | 7 |40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 |0 | 10
037 | 2 Q2E7IM2A | Aluminum | 138 | 253 |IxM20 | 90 | 112 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 10 | 130 |0 | 10
C|l|05 | 2 Q2E63M2D | Aluminum | 123 | 234 |1xM20 | 80 | 100 | 63 [ 162 | 7 |40 | 11 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | IS |O| 10

055 | 2 Q2E7IM2B | Aluminum | 138 | 253 |1xM20 | 90 | T2 | 71 | 180 | 7 [ 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 10 | 130 [0 | 10

4 pole
012 | 4 | Q2E63M4A | Aluminum | 123 | 220 | 1xM20 | 80 [ 100 | 63 | 162 | 7 [40 | 1 | 23 |125| 4 | 6201-2Z | 6201-7Z | 12*22*7 | 12*22*7 | 140 [ 95 [ U5 |0 10
018 4 Q2E63M4B | Aluminum | 123 | 220 [1xM20 | 80 | 100 [ 63 [ 162 | 7 |40 | 1 | 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 |0 10

C|l025 | 4 Q2E63M4C | Aluminum | 123 | 220 |1xM20 | 80 | 100 | 63 [ 162 | 7 |40 | 11 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | IS |0O| 10
025 | 4 Q2E7IM4A | Aluminum | 138 | 253 |IxM20 | 90 | M2 | 71 (180 | 7 |45 |14 | 30 |160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 10 | 130 (0| 10
037 | 4 | Q2E6G3M4D | Aluminum | 123 | 234 | IxM20 | 80 | 100 [ 63 | 162 | 7 |40 | 11 | 23 [125| 4 | 620-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 [0 10
037 | 4 Q2E7IM4B | Aluminum | 138 | 253 | IxM20 | 90 | 112 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 10 | 130 |0 | 10
C|05 | 4 Q2E7IM4E | Aluminum | 138 | 262 [1xM20 | 90 | M2 | 71 | 180 | 7 [ 45|14 | 30 |160| 5 |6202-ZZ| 6202-Z7Z | 15*24*5 | 15*24*5 | 160 | 10 [ 130 [0 | 10

055 | 4 | Q2H8OM4B | Aluminum | 158 | 268 | 1xM20 | 100 | 125 [ 80 | 216 | 10 | 50 |19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 (0| 12

6 pole

012 6 Q2E63M6B | Aluminum | 123 | 234 |1xM20 | 80 | 100 | 63 [ 162 | 7 |40 | 11 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | IS |0O| 10
018 6 Q2E7IMBB | Aluminum | 138 | 253 |1xM20 | 90 | W2 | 71 | 180 | 7 |45 |14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*S | 160 | 10 | 130 [0 | 10
C|l025 | 6 Q2E7IM6C | Aluminum | 138 | 253 | IxM20 | 90 | 112 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 110 | 130 |0 | 10
037 | 6 Q2E7IM6D | Aluminum | 138 | 262 | IxM20 | 90 | T2 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 160 | 110 | 130 |0 | 10
C| 037 | 6 | Q2H8OMBA | Aluminum | 158 | 268 |1xM20 | 100 | 125 | 80 | 216 | 10 [ 50 | 19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 [0 | 12

055 | 6 | Q2H8OMGB | Aluminum | 158 | 268 |1xM20 | 100 | 125 | 80 | 216 | 10 | S0 |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 |0 | 12

WAT | IM en 24.0



I[E2 THREE PHASE ALUMINIUM MOTORS

Lx 90°

DIMENSION - Bl4a, B34a

[L 11
iR 7/ S F
[ o o] o “
o A | =
e =S RS o iy —- Ao N o <
ISURST tsLh < =L s 0| ¢
== | |
|
5] [e] ]
D
s . _ 3 —
K
E C B
L
Mu|n Dimensions Foot Mounted Motors “ Flange (FC Bl4a, B34a)
Power i e Housing
ki) Tupe AC GA Drive Side LI Drive Side L)
Side Side
2 pole
012 2 Q2E63M2K | Aluminium | 123 | 220 |1xM20 | 80 [ 100 | 63 [ 162 | 7 |40 | 11 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| M5
018 2 | Q2E63M2A | Aluminium | 123 | 220 | 1xM20 | 80 | 100 |63 | 162 | 7 |40 | I | 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 |0 | M5
025 | 2 Q2E63M2B | Aluminium | 123 | 220 | 1xM20 | 80 [ 100 | 63 [ 162 | 7 |40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| M5

025 | 2 Q2E7IM2K | Aluminium | 138 | 253 | IxM20 | 90 | 12 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 |0 | M6
037 | 2 Q2E63M2C | Aluminium | 123 | 234 [1xM20 | 80 [ 100 | 63 | 162 | 7 |40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| M5
037 | 2 Q2E7IM2A | Aluminium | 138 | 253 |IxM20 | 90 | 112 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 |0 | M6
055 | 2 Q2E63M2D | Aluminium | 123 | 234 |1xM20 | 80 [ 100 | 63 [ 162 | 7 |40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| M5

055 | 2 Q2E7IM2B | Aluminium | 138 | 253 | IxM20 | 90 | N2 | 71 | 180 | 7 |45 |14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 (0| M6

4 pole
012 | 4 | Q2E63M4A | Aluminium | 123 | 220 | 1xM20 | 80 [ 100 |63 | 162 | 7 [40 | 1 | 23 |125| 4 | 6201-2Z | 6201-ZZ | 12*22*7 | 12*22*7 | 90 |60 | 75 |0 M5
018 4 Q2E63M4B | Aluminium | 123 | 220 |1xM20 | 80 | 100 [ 63 | 162 | 7 |40 | 1 | 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| M5

025 | 4 Q2E63M4C | Aluminium | 123 | 220 |1xM20 | 80 [ 100 | 63 | 162 | 7 |40 | 11 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| M5
025 | 4 Q2E7IM4A | Aluminium | 138 | 253 |1xM20 | 90 | N2 | 71 [ 180 | 7 | 45 |14 | 30 |160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 (0| M6
037 | 4 | Q2E6G3M4D | Aluminium | 123 | 234 | 1xM20 | 80 | 100 [ 63 | 162 | 7 |40 | 11 | 23 [125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 [0O| M5
037 | 4 Q2E7IM4B | Aluminium | 138 | 253 | IxM20 | 90 | 112 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 |0 | M6
055 | 4 Q2E7IM4E | Aluminium | 138 | 262 [1xM20 | 90 | 12 | 71 | 180 | 7 [ 45|14 | 30 |160| 5 |6202-ZZ| 6202-Z7Z | 15*24*5 | 15*24*5 | 105 | 70 | 85 [0 | M6

055 | 4 | Q2H8OM4B | Aluminium | 158 | 268 | 1xM20 | 100 | 125 [ 80 | 216 | 10 [ 50 |19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 (0| M6

6 pole

012 6 Q2E63M6B | Aluminium | 123 | 234 |1xM20 | 80 | 100 | 63 [ 162 | 7 |40 | I | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | 0| M5
018 6 Q2E7IMBB | Aluminium | 138 | 253 |1xM20 | 90 | W2 | 71 | 180 | 7 [ 45|14 | 30 |160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 | 0| M6
025 | 6 Q2E7IM6C | Aluminium | 138 | 253 | IxM20 | 90 | 12 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 |0 | M6
037 | 6 Q2E7IMBD | Aluminium | 138 | 262 | IxM20 | 90 | T2 | 71 | 180 | 7 | 45|14 | 30 [160| 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 |0 | M6
037 | 6 | Q2HBOMBA | Aluminium | 158 | 268 | 1xM20 | 100 | 125 [ 80 | 216 | 10 | 50 |19 | 40 [215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 [0 | M6

055 | 6 | Q2H8OM6B | Aluminium | 158 | 268 |1xM20 | 100 | 125 | 80 | 216 | 10 | SO |19 | 40 |215| 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 |0 | M6

WAT | IM en 24.0



I[E2 THREE PHASE ALUMINIUM MOTORS

DIMENSION - Blab, B34b

[L

SORS

Lx90°

=] o °
J
ISYRSERSY - =
T
T -
I
1
Power Numbe Housin Main Dimensions Foot Mounted Motors Shaft Bearing Seal Flange (FB Bl4b, B34b)
e Polf o Tupeg Al L c F | Drive Side | NN 9™ | pyive sige | NOn drive S
s Side Side
2 pole
012 | 2 | Q2E63M2K | Aluminum | 123 | 220 |1xM20 | 80 [ 100 | 63 | 162 | 7 |40 | 11 | 23 |125 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6
018 | 2 | Q2E63M2A | Aluminum | 123 | 220 | 1xM20 | 80 | 100 | 63 [162 | 7 |40 | | 23 |125 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6
025 | 2 | Q2E63M2B | Aluminum | 123 | 220 | 1xM20 | 80 | 100 | 63 [ 162 | 7 |40 | 1| 23 |125 6201-ZZ | 6201-ZZ | 12¥22*7 | 12*22*7 | 120 | 80 | 100 M6
025 | 2 | Q2E7M2K | Aluminum | 138 | 253 |1xM20 | 90 | m2 | 71 | 180 | 7 | 45|14 | 30 |160 6202-ZZ | 6202-7Z | 15*24*5 | 15*24*5 | 140 | 95 | 15 M8
C| 037 | 2 | Q2E63M2C | Aluminum | 123 | 234 [1xM20 | 80 [ 100 [ 63 | 162 | 7 |40 | 11 | 23 [125 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6
037 | 2 | Q2E7IM2A | Aluminum | 138 | 253 [1xM20 | 90 | 112 | 71 [ 180 | 7 | 45|14 | 30 |160 6202-77 | 6202-7Z | 15*24*5 | 15*24*5 | 140 | 95 | 115 M8
C| 055 | 2 | Q2E63M2D | Aluminum | 123 | 234 [1xM20 | 80 [ 100 [ 63 | 162 | 7 [40 | 11 | 23 [125 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6
055 | 2 | Q2E7M2B | Aluminum | 138 | 253 |1xM20 | 90 | 12 | 71 | 180 | 7 | 45|14 | 30 |160 6202-77 | 6202-7Z | 15*24*5 | 15*24*5 | 140 | 95 | 115 M8
4 pole
012 | 4 | Q2E63M4A | Aluminum | 123 | 220 | 1xM20 | 80 | 100 | 63 | 162 | 7 |40 | 1 | 23 |125 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6
018 | 4 | Q2E63M4B | Aluminum | 123 | 220 [ 1xM20 | 80 | 100 | 63 [162 | 7 |40 | 1| 23 |125 6201-ZZ | 6201-ZZ | 12¥22*7 | 12*22*7 | 120 | 80 | 100 M6
C| 025 | 4 | Q2E63M4C | Aluminum | 123 | 220 |1xM20 | 80 [ 100 [ 63 | 162 | 7 [40 | 11 | 23 [125 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6
025 | 4 | Q2E7IM4A | Aluminum | 138 | 253 |1xM20 | 90 | T2 | 71 | 180 | 7 | 45 |14 | 30 |160 6202-77 | 6202-7Z | 15*24*5 | 15*24*5 | 140 | 95 | 15 M8
037 | 4 | Q2E63M4D | Aluminum | 123 | 234 [1xM20 | 80 | 100 | 63 [ 162 | 7 |40 | 1 | 23 |125 6201-ZZ | 6201-ZZ | 12¥22*7 | 12*22*7 | 120 | 80 | 100 M6
037 | 4 | Q2E7IM4B | Aluminum | 138 | 253 [1xM20 | 90 | 112 | 71 [ 180 | 7 | 45|14 | 30 [160 6202-77 | 6202-7Z | 15*24*5 | 15%24*5 | 140 | 95 | 15 M8
C| 055 | 4 | Q2E7M4E | Aluminum | 138 | 262 |1xM20| 90 | T2 | 71 | 180 | 7 |45 |14 | 30 [160 6202-77 | 6202-7Z | 15*24*5 | 15*24*5 | 140 | 95 | 15 M8
055 | 4 | Q2H8OM4B | Aluminum | 158 | 268 | 1xM20 | 100 | 125 |80 | 216 [ 10 | 50|19 | 40 |215 6204-77 | 6204-7Z | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
6 pole
012 | 6 | Q2E63MEB | Aluminum | 123 | 234 |1xM20 | 80 [ 100 | 63 | 162 | 7 |40 | 11 | 23 |125 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6
018 | 6 | Q2E7IMBB | Aluminum | 138 | 253 [1xM20 | 90 | 12 | 71 [180 | 7 | 45 |14 | 30 [160 6202-77 | 6202-7Z | 15*24*5 | 15*24*5 | 140 | 95 | 115 M8
C| 025 | 6 | Q2E7IM6C | Aluminum | 138 | 253 [1xM20 | 90 | 12 | 71 [ 180 | 7 | 45|14 | 30 [160 6202-77 | 6202-7Z | 15*24*5 | 15%24*5 | 140 | 95 | 15 M8
037 | 6 | Q2E7IMED | Aluminum | 138 | 262 |1xM20 | 90 | T2 | 71 | 180 | 7 | 45 |14 | 30 |160 6202-7Z | 6202-7Z | 15*24*5 | 15*24*5 | 140 | 95 | 15 M8
C| 037 | 6 | Q2HBOMBA | Aluminum | 158 | 268 | 1xM20 | 100 | 125 | 80 | 216 | 10 | 50 [ 19| 40 |215 6204-77 | 6204-7Z | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
055 | 6 | Q2HBOM6B | Aluminum | 158 | 268 | 1xM20 | 100 | 125 | 80 | 216 [ 10 |50 | 19 | 40 |215 6204-77 | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8

WAT | IM en 24.0






—
I

TURIEE PHASE’

>

RON =

\GAST

=
=







IE3 THREE PHASE CAST IRON MOTORS

ELECTRICAL CHARACTERISTICS @ 50 Hz

RATED VALUES STARTING VALUES
Breakdown EFFICIENCY * Weight | Sound
CURRENT TORQUE Torque .
HOUSING Power SPEED | CURRENT | TORQUE Ratio (B3) | Pressure
TYPE LeveldBA
/1, M, / M, &

e [ Lon [ a e ﬂ-“--

2 pole 3000 rpm

Q3HG8OM2C | Casthon | 075 | 1 | 2890 16 25 |82 - ]33] - 40 807 | 795 | 758 | 082 | ooowo | 19 57
=) Q3HG8OM2D | Costlron | 110 | 15 | 2900 24 36 | 74| - |35 ]| - 43 827 | 802 | 764 | o8l | ooovo | 22 57
S8 03HG90L2C | Costlron | 150 | 2 | 2930 3] 49 | 95| - |30 | - 49 842 | 862 | 842 | 084 | 000249 | 26 62
<l Q3HG90L2D | Castlron | 220 | 3 | 2077 43 72 |92 |- | 31| - 49 859 | 864 | 852 | 087 | 000283 | 30 62
Q3HGI00L2D | Castlon | 300 | 4 | 2925 55 98 | ng | - | 38| - 46 871 | 871 | 854 | 090 | 000536 | 39 63
Q3HGN2M2C | Costlron | 400 | 55 | 2916 74 132 - |wo7| - |34 43 |s8sio|8ss40| 8710 | 090 | 00004 | 52 67
Q3HSGII2M2C | Coston | 400 | 55 | 2950 77 127 - |Bs| - | 49 58 | 8810|8700 |8440| 086 | 000838 | 45 68
Q3HSGI3252C | Castlon | 550 | 75 | 2918 10 180 - e | - | 42 54 |8920|8830|8670| 090 | 000772 | 56 69
Q3HSG13252D | Castlron | 750 | 10 | 2903 | 185 247 - mo| - | 42 52 | 9010|8980 8890 090 | 000932 | 63 69
Q3HGIBOM2C | Castlron | 100 | 15 | 2965 | 201 34 | - |[na| - | 34 51 9120 | 9180 | 9040 | 086 | 003957 | 84 70
Q3HSGIBOM2D | Costlron | 1100 | 15 | 2940 | 208 38 | - [n8| - | 48 65 |9120 | 9070 |8930| 082 | 00357 | 99 70
Q3HGIBOM2D | Castlron | 1500 | 20 | 2960 | 264 44 | - |m| - |33 49 |90 | 9150 [ 8980 | 089 | 004322 | 108 70
Q3HSGIBOM2DE | Cast lron | 1500 | 20 | 2941 | 275 488 | - [roO| - | 43 59 | 9190 | 9050 [ 8900 | 086 | 004015 | TS 7l
Q3HGIB0L2C | Castlon | 1850 | 25 | 2957 | 329 567 | - |w06| - | 34 51 |9240|9280 [ 9200| 087 | 004809 | 132 70
Q3HSGIBOM2B | Cost lron | 2200 | 30 | 2959 | 395 710 - |ns| - |37 54 |9270| 9190 | 9070 | 087 | 005869 | 155 77
=) (03HG200L2C | Costhon | 3000 | 40 | 2964 | 5I2 976 - |woa| - | 27 41 |9330|9280 | 960 | 091 | 010277 | 208 78
<8 03HG200L2D | Costfion | 3700 | 50 | 2960 | 616 187 - 99| - |27 42 |9370|9370 | 9310 | 092 | oms3 | 22 78
=N 03HG225M2B | Castlron | 4500 | 60 | 2976 | 777 was | - |na| - | 32 67 |9400| 9440|9350 | 089 | 023500 | 3w 80
Q3HG250M2B | Costlron | 5500 | 75 | 2968 | 936 177 - |85 | - | 28 50 |9430|9390 (9330| 090 | 048700 | 332 80
Q3EP28OM2C | Costlron | 7500 | 100 | 2975 | 1249 | 2407 | - |84| - | 22 44  |9470|9420 | 9310 | 092 | 054000 | 585 82
Q3EP280M2D | Costlron | 9000 | 125 | 2975 | 1507 | 2889 | - |86 - | 24 54 |9500|9470 | 9370 | 093 | 064500 | 596 82
Q3HG315520 | Castlron | 1000 | 150 | 2989 | 2022 | 3516 | - |ns5| - | 20 54 |9520|9390 (9230 | 083 | 219900 | 880 84
Q3HG3ISM2B | Cost o | 18200 | 180 | 2984 | 2262 | 4232 | - |97| - | 20 43 |9540| 9510 | 9410 | 087 | 237790 | 903 84
Q3HG3I5L2A | Cast lron | 16000 | 215 | 2990 | 3021 5ile - |m2| - | 28 6] |9560 (9450|9270 | 081 | 26270 | 958 84
Q3HG3I5L2C | Castlron | 20000 | 270 | 2983 | 3430 | 6403 | - [108| - | 22 47  |9580| 9540 | 9450 | 087 | 290860 | 1013 84
Q3EP355M2C | Cast lron | 25000 | 280 | 2983 | 4190 | 8000 | - |73 | - | 17 25 |9580|9580 (9470 | 090 | 381300 | 162 gl
Q3EP355L28 | Costlron | 31500 | 353 | 2984 | 5270 | 10080 | - |73 | - | 18 25 |9580|9570 | 9440 | 080 | 452000 | 1771 9l
Q3EP35512C | Costlron | 35500 | 398 | 2081 | 5940 | me70 | - |79| - | 22 25 | 9580|9580 | 9500| 090 | 558000 | 2002 al
4 pole 1500 rpm
Q3HG8OM4C | Castlron | 055 | 075 [ 1453 14 36 |66 -] - 20 808 | 793 [ 752 | 073 [ ooomo | 19 57
=) 03HOSOM4D | Costlron | 075 | 1 | 1447 18 50 | 66| - |26 - 35 825 | 804 | 771 | 074 | 000261 | 19 52
S8 Q3HGS0L4C | Costlron | 110 | 15 | 1445 25 73 |77 | - | 84| - 40 841 | 832 | 806 | 078 | 000464 | 29 53
<l Q3HG90L4D | Costlron | 150 | 2 | 1449 35 99 | 81 | - |38 | - 42 853 | 850 | 821 | 076 | 000526 | 30 53
Q3HGI0OLAC | Castlron | 220 | 3 | 1453 45 w4 |96 | - | 36| - 44 867 | 863 | 84 | 08 | 000871 | 4 56
Q3HGII2M4D | Costlron | 400 | 55 | 1459 85 261 - |e7| - | 40 47 886 | 879 | 857 | 077 | 001383 | 56 54
Q3HGI3284B | Castlron | 550 | 75 | 1470 109 36 | - |88 22 37 896 | 890 | 873 | 081 | 003560 | 82 8l
Q3HGIZ2M4D | Castlhion | 750 | 10 | 1467 148 488 | - || - |23 40 904 | 898 | 886 | 082 | 004030 | 87 60
Q3HGIBOMAC | Castlon | 100 | 15 | 175 | 220 713 - |78 - | 27 3l 94 | 96 | 907 | 079 | oo7s42 | 125 62
Q3HSGIBOMAC | Castlron | 10O | 15 | 170 | 208 716 - |er| - | 28 39 94 | 90 | 901 | 084 | 005940 | W2 63
Q3HGIBOL4B | Castlron | 1500 | 20 | 176 | 308 %9 | - [77] - | 29 36 91 | 94 | 901 | 077 | 009005 | 137 62
Q3HSGIBOM4B | Costlon | 1850 | 25 | 1474 | 368 198 - 72| - | 27 32 926 | 923 | 97 | 079 | omsss | 163 67
Q3HGISOL4B | Castlon | 2200 | 30 | 1484 | 424 1414 - |e3| - | 28 38 930 | 926 | 915 | 081 | 0l8e6O | 205 68
Q3HG200L4D | Castlon | 3000 | 40 | 1475 | 548 954 | - |80| - | 25 3l 936 | 942 | 939 | 085 | 022166 | 263 68
=) (0316225848 | Costlion | 3700 | 50 | 1483 | 685 2379 | - |84| - |28 39 939 | 929 | 917 | 084 | 036420 | 323 7l
<8 03HG225M4C | Costlon | 4500 | 60 | 148l 823 291 | - |78| - | 26 42 942 | 938 | 931 | 084 | 043500 | 355 71
=8 Q3HG250M4B | Costlron | 5500 | 75 | 1477 | 1087 371 | - |75 - | 28 40 946 | 940 | 934 | 082 | 090782 | 383 72
Q3EP28OM4C | Castlron | 7500 | 100 | 485 | 1389 | 4823 | - |78 - | 30 32 95 | 948 | 94 | 082 | 10600 | 638 73
Q3EP280M4D | Castlron | 9000 | 125 | 185 | 1635 | 5787 | - |79| - | 30 32 952 | 950 | 939 | 086 | 114760 | 653 73
Q3HG3ISS4D | Costlron | 1000 | 150 | 91 | 1953 | 7033 | - |[m| - |286 41 954 | 945 | 932 | 085 | 346500 | 908 83
Q3HG3ISM4B | Cast lron | 13200 | 180 | 1489 | 2237 | 8466 | - [91| - | 23 32 956 | 956 | 951 | 089 | 396600 | 995 83
Q3HG3ISL4A | Castlon | 16000 | 215 | 1489 | 2706 | 10262 | - [95| - | 25 33 958 | 958 | 952 | 089 | 488320 | 1078 83
Q3HG3I5L4B | Castlron | 20000 | 270 | 1489 | 3450 | 12826 | - [101| - | 28 35 960 | 956 | 947 | 088 | 523440 | 1068 83
Q3EP35SMAC | Costlron | 25000 | 280 | w91 | 4220 | 6010 | - |75| - | 19 24 960 | 960 | 955 | 089 | 930600 | 1692 82
Q3EP355L4B | Costlron | 31500 | 353 | 191 | 5320 | 2070 | - |75 - | 19 24 960 | 960 | 955 | 089 | 1006700 | 1879 82
Q3EP355L4C | Costron | 35500 | 398 | 1491 | 6000 | 22730 | - | 75| - | 20 23 960 | 960 | 955 | 089 | 190000 | 1953 82

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA ﬂ

WAT | IM en 24.0
L] L



IE3 THREE PHASE CAST IRON MOTORS

DIMENSION - B3

QO

1)

1/

T
C B -ll - - A -
Power | Number ST Mcun Dimensions Foot Mounted Motors Shaft
(kW] | of Poles iy 10z Type
122 A N N 2 R ) e A e

2 pole
075 | 2 | Q3HGBOM2C | Costlron | 175 | 282 | 2xM25 | 100 | 125 | 80 | 225 | 100 | 50 | 19 | 40 | 215 | 6 |62047ZC3|620427ZC3| 20*30*7 20*30*7

110 2 Q3HG8OM2D | Cast lron | 175 | 317 | 2xM25 100 125 | 80 [ 225|100 | 50 | 19 | 40 | 215 | 6 | 6204 ZZ C3 | 6204 ZZ C3 20*30*7 20*30*7
150 2 Q3HGIOL2C | Cost Iron | 185 | 339 | 2xM25 100 140 | 90 [ 232|100 | 56 | 24 | 50 |270| 8 |6305-ZZ C3 |6205-ZZ C3 25%40*7 25%40*7
220 2 Q3HG90L2D | Cast Iron | 185 | 369 | 2xM25 125 140 | 90 | 232|100 | 56 | 24 | 50 | 270 | 8 |6305-ZZ C3 |6205-ZZ C3 25*40*7 25*40*7
300 2 Q3HGI00L2D | Cost Iron | 203 | 416 | 2xM25 140 160 | 100 | 266 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ C3 |6306-ZZ C3 30%47*7 30%47*7
4,00 2 Q3HSGN2M2C | Cost Iron | 205 | 416 | 2xM25 140 190 | 12 [ 283 | 120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ C3 |6306-ZZ C3 30*47*7 30*47*7
400 2 Q3HGN2M2C | Cost Iron | 222 | 434 | 2xM25 140 190 | M2 [ 290 | 120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ C3 |6306-ZZ C3 30*47*7 30*47*7
550 2 Q3HSGI32S2C | Cast Iron | 222 | 471 | 2xM25 140 216 (182 | 31 | 120 | 89 | 38 | 80 | 410 | 10 |6308-ZZ C3 |6306-ZZ C3| 40*62*10 30%47*7
750 2 Q3HSG132S2D | Cost Iron | 222 | 491 | 2xM25 140 216 | 132 | 31| 120 | 89 | 38 | 80 | 410 | 10 | 6308-ZZ C3 | 6306-ZZ C3| 40*62*10 30*47*7
1.00 2 Q3HGIBOM2C | Cast Iron | 328 | 626 | 2xM32 210 254 | 160 | 387 | 145 [ 108 | 42 | N0 |450 | 12 | 6309-ZZ C3 | 6309-ZZ C3| 45*72*10 45*72*10
1.00 2 Q3HSGIBOM2D | Cast Iron | 273 | 563 | 2xM32 210 254 | 160 | 366 | 145 | 108 | 42 | N0 |450 | 12 | 6309-ZZ C3 | 6309-ZZ C3| 45*72*10 45*72*10
15,00 2 Q3HGIBOM2D | Cast Iron | 328 | 626 | 2xM32 210 254 | 160 | 387 | 145 | 108 | 42 | MO |450 | 12 | 6309-ZZ C3 | 6309-ZZ C3| 45*72*10 45*72*10
1500 2 Q3HSGIBOM2DE | Cast Iron | 273 | 605 | 2xM32 210 254 | 160 | 366 | 145 [ 108 | 42 | N0 |450 | 12 | 6309-ZZ C3 |6309-ZZ C3|  45*72*10 45*72*10
18.50 2 Q3HGIBOL2C | Cost Iron | 328 | 626 | 2xM32 210 254 | 160 | 387 | 145 | 108 | 42 | N0 |450 | 12 |6309-ZZ C3 | 6309-ZZ C3| 45*72*10 45*72*10
22,00 2 Q3HSGIBOM2B | Cost Iron | 328 | 680 | 2xM32 241 279 | 180 | 407 | 145 | 121 | 48 | MO | 515 | 14 | 6310 ZZ C3 | 6310 ZZ C3 50*80*10 50*80*10
30,00 2 Q3HG200L2C | Cast Iron | 356 | 763 | 2xM50 305 318 | 200 | 458 | 185 | 133 | 55 | 10 | 590 | 16 | 6312-ZZ C3 | 6310-2Z C3 60*90*10 50*80*10
3700 2 Q3HG200L2D | Cost Iron | 356 | 763 | 2xMSO 305 318 | 200 | 458 | 185 | 133 | 55 | 10 | 590 | 16 | 6312-ZZ C3 | 6310-ZZ C3 60*90*10 50*80*10
4500 2 Q3HG225M2B | Cast Iron | 440 | 789 | 2xM50 31 356 | 225 | 524 | 185 [ 149 | 55 | N0 |590 | 16 | 6313-ZZ C3 | 6313-ZZ C3 | 65*100*13 65*100*13
55,00 2 Q3HG250M2B | Cost Iron | 440 | 818 | 2xM50 349 406 | 250 | 549 | 240 | 168 | 60 | 140 | 640 | 18 | 6315-ZZ C3 | 6313-2Z C3 75*112*12 75*112*12
7500 2 Q4HG280M2C | Cost Iron | 574 | 1021 | 2xM50 | 368/419 | 457 | 280 | 664 | 240 | 190 | 65 | 140 690 | 18 | 6314-ZZ C3 | 6314-ZZ C3 | 85*110*12 X2 | 70*90*10 X2

90,00 2 Q4HG280M2D | Cast Iron | 574 | 1021 | 2xM50 | 368/419 | 457 | 280 | 664 | 240 | 190 | 65 | 140 | 690 | 18 | 6314-ZZ C3 | 6314-ZZ C3 | 85*110*12 X2 | 70*90*10 X2

110,00 2 Q4HG315S2C | Cost Iron | 645 | 1000 | 2xM63 406 508 | 315 | 847 | 280 | 216 | 65 | 140 | 690 | 18 | 6316-ZZ C3 | 6316-2Z C3 80 VAR 80 VAR
132,00 2 Q4HG315M2B | Cast Iron | 645 | 1070 | 2xM63 | 406/457 | 508 | 315 | 847 | 280 | 216 | 65 | 140 | 690 | 18 | 6316-ZZ C3 | 6316-ZZ C3 80 VAR 80 VAR
160,00 2 Q4HG3ISL2A | Cost Iron | 645 | 1070 | 2xM63 | 406/457 | 508 | 315 | 847 | 280 | 216 | 65 | 140 | 690 | 18 | 6316-ZZ C3 | 6316-ZZ C3 80 VAR 80 VAR
20000| 2 Q4HG315L2C | Cast Iron | 645 | NS0 | 2xM63 | 457/508 | 508 | 315 | 847 | 280 | 216 | 65 | 140 (690 | 18 | 6316-ZZ C3 | 6316-ZZ C3 80 VAR 80 VAR
25000 2 Q3EP355M2C | Cast Iron | 762 | 1512 | 4xM63 560 610 | 355 | 997 | 280 | 254 | 75 | 140 | 800 | 20 6317 6317 85*105*55 | 85*105*55
315,00 2 Q3EP355L2B | Cast Iron | 762 | 1512 | 4xMB3 |560/630| 610 | 355 | 997 | 280 | 254 | 75 | 140 | 800 | 20 6317 6317 85*105*55 | 85*105*5,5
35500 2 Q3EP355L2C | Cast lron | 762 | 1512 | 4xM63 |560/630| 610 | 355 | 997 | 280 [ 254 | 75 | 140 | 800 | 20 6317 6317 85*105*55 | 85*105*55
WAT | IM en 24.0

L) NS



IE3 THREE PHASE CAST IRON MOTORS

(kW] | of Poles iy 10z Type

2N A N S A I Y R e e e
4 pole
0.55 4 Q3HG8OM4C | Cast Iron | 175 | 282 | 2xM25 100 125 | 80 [ 225|100 | SO | 19 40 | 215 | 6 | 6204 ZZ C3 | 6204 ZZ C3 20*30*7 20*30*7

075 4 Q3HG8OM4D | Cast lron | 175 | 282 | 2xM25 100 125 | 80 [ 225|100 | 50 | 19 | 40 | 215 | 6 | 6204 ZZ C3 | 6204 ZZ C3 20*30*7 20*30*7
110 4 Q3HG90L4C | Cost lron | 185 | 369 | 2xM25 100 140 | 90 | 232|100 | 56 | 24 | 50 | 270 | 8 |6305-ZZ C3 |6205-ZZ C3 25*40*7 25*40*7
150 4 Q3HG9OL4D | Cast Iron | 185 | 369 | 2xM25 125 140 | 90 [ 232|100 | 56 | 24 | 50 |270| 8 |6305-ZZ C3 |6205-ZZ C3 25%40*7 25%40%7
220 4 Q3HGI00L4C | Cost ron | 203 | 416 | 2xM25 140 160 | 100 | 266 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ C3 |6306-ZZ C3 30%47*7 30%47*7
300 4 Q3HGI00L4D | Cost Iron | 203 | 445 | 2xM25 140 160 | 100 | 266 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ C3 |6306-ZZ C3 30*47*7 30*47*7
400 4 Q3HGN2M4D | Caost Iron | 222 | 459 | 2xM25 140 190 | 12 [ 290 | 120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ C3 | 6306-ZZ C3 30*47*7 30*47*7
550 4 Q3HGI32S4B | Cast Iron | 273 | 533 | 2xM32 178 216 | 132 | 337 | 120 | 89 | 38 | 80 | 410 | 10 | 6308-ZZ C3 |6308-ZZ C3| 40*62*10 40*62*10
750 4 Q3HGI32M4D | Cast Iron | 273 | 533 | 2xM32 178 216 | 132 [ 337 | 120 | 89 | 38 | 80 | 410 | 10 |6308-ZZ C3 |6308-ZZ C3| 40*62*10 40*62*10
1.00 4 Q3HGIBOMA4C | Cast Iron | 328 | 626 | 2xM32 210 254 | 160 | 387 | 145 [ 108 | 42 | N0 |450 | 12 | 6309-ZZ C3 | 6309-ZZ C3| 45*72*10 45*72*10
.00 4 Q3HSGIBOM4C | Cast Iron | 273 | 605 | 2xM32 210 254 | 160 | 366 | 145 | 108 | 42 | N0 |450 | 12 | 6309-ZZ C3 | 6309-ZZ C3| 45*72*10 45*72*10
15,00 4 Q3HGIBOL4B | Cost Iron | 328 | 626 | 2xM32 210 254 | 160 | 387 | 145 | 108 | 42 | N0 |450 | 12 | 6309-ZZ C3 | 6309-ZZ C3| 45*72*10 45*72*10
1850 4 Q3HSGIBOM4B | Cast Iron | 328 | 680 | 2xM32 241 279 | 180 | 407 | 145 | 121 | 48 | N0 | 515 | 14 | 6310 ZZ C3 | 6310 ZZ C3 50*80*10 50*80*10
22,00 4 Q3HGIBOL4B | Cost Iron | 356 | 759 | 2xM40 279 279 | 180 | 441 | 145 | 121 | 48 | N0 | 515 | 14 | 6310 ZZ C3 | 6310 ZZ C3 50*80*10 50*80*10
3000 4 Q3HG200L4D | Cast Iron | 356 | 816 | 2xMSO 305 318 | 200 | 458 | 185 | 133 | 55 | 10 | 590 | 16 | 6312-ZZ C3 | 6310-2Z C3 60*90*10 50*80*10
3700 4 Q3HG22584B | Cast Iron | 440 | 818 | 2xMSO 286 356 | 225 | 524 | 185 | 149 | 60 | 140 | 640 | 18 | 6313-ZZ C3 | 6313-ZZ C3 | 65*100*13 65*100*13
4500 4 Q3HG225M4C | Cast Iron | 440 | 883 | 2xMS0 31 356 | 225 | 524 | 185 | 149 | 60 | 140 | 640 | 18 | 6313-ZZ C3 | 6313-ZZ C3 | 65*100*13 65*100*13
5500 4 Q3HG250M4B | Cast Iron | 440 | 883 | 2xMS0 349 406 | 250 | 549 | 240 | 168 | 65 | 140 | 690 | 18 | 6315-ZZ C3 | 6313-ZZ C3 | 65*100*13 65*100*13
75,00 4 Q4HG280M4C | Cost Iron | 574 | 1021 | 2xMS0 | 368/419 | 457 | 280 | 664 | 240 | 190 | 75 | 140 | 795 | 20 | 6317-ZZ C3 | 6317-ZZ C3 |100*120*12 X 2 | 85*110*12 X 2

90,00 4 Q4HG280M4D | Cost Iron | 574 | 1021 | 2xMS0 | 368/419 | 457 | 280 | 664 | 240 | 190 | 75 | 140 | 795 | 20 | 6317-ZZ C3 | 6317-ZZ C3 [100*120*12 X 2 | 85*110*12 X 2

1000 | 4 | Q4HG3ISS4C | Costlron | 645 | 1030 | 2xM63 | 406 | 508 | 315 | 847 | 280 | 216 | 80 | 170 | 850 | 22 | 6319-2Z C3 | 6319-2ZZC3 | 95 VAR 95 VA R
138200 | 4 | Q4HG3ISM4B | Costlron | 645 | 1100 | 2xM63 | 406/457 | 508 | 315 | 847 | 280 | 216 | 80 | 170 | 850 | 22 | 6319-2Z C3 | 6319-22C3 | 95 VAR 95 VAR
16000 | 4 | Q4HG3ISL4A | Costlron | 645 | 1180 | 2xM63 |457/508 | 508 | 315 | 847 | 280 | 216 | 80 | 170 | 850 | 22 | 6319-2Z C3 | 6319-2ZZC3 | 95 VAR 95 VAR
20000| 4 Q4HG3ISLAC | Cost Iron | 645 | 1180 | 2xM63 | 457/508 | 508 | 315 | 847 | 280 | 216 | 80 | 170 | 850 | 22 | 6319-2Z C3 | 6319-22C3 | 95 VAR 95 VAR
25000 4 | Q3EP355M4C | Costlron | 762 | 1542 | 4xM63 | 560 | 610 | 355|997 | 280 |254| 95 | 170 [1000| 25 | 6322 6322 10*130*55 | 110*130*55
31500 | 4 | Q3EP355L4B | Costlron | 762 | 1542 | 4xM63 |560/630| 610 | 355 | 997 | 280 |254| 95 | 170 [1000| 25 | 6322 6322 10%130*55 | 10*130*55
35500 4 | Q3EP355L4C | Costlron | 762 | 1542 | 4xM63 |560/630| 610 | 355 | 997 | 280 |254| 95 | 170 1000 25 | 6322 6322 10*130*55 | 10*130*55
6 pole

037 6 Q3HG8OMBA | Cast Iron | 175 | 317 | 2xM25 100 125 | 80 [ 225|100 | SO | 19 | 40 | 215 | 6 |6204ZZ C3 |6204 ZZ C3 20*30*7 20*30*7
055 6 Q3HG8OMEB | Cast Iron | 175 | 317 | 2xM25 100 125 | 80 [ 225|100 | 50 | 19 | 40 | 215 | 6 |6204 ZZ C3 |6204 ZZ C3 20*30*7 20*30*7
075 6 Q3HG90LBC | Cast Iron | 185 | 369 | 2xM25 100 140 | 90 | 232|100 | 56 | 24 | 50 | 270 | 8 |6305-ZZ C3 |6205-ZZ C3 25%40*7 25*40*7
110 6 Q3HG90L6D | Cast Iron | 185 | 369 | 2xM25 125 140 | 90 | 232|100 | 56 | 24 | 50 |270| 8 |6305-ZZ C3 |6205-ZZ C3 25*40%7 25*40*7
150 6 Q3HGIOOLBD | Cost Iron | 203 | 445 | 2xM25 140 160 | 100 | 266 | 120 | 63 | 28 | 60 | 310 | 8 |6306-ZZ C3 |6306-ZZ C3 30*47*7 30*47*7
220 6 Q3HGI2MBD | Cast Iron | 222 | 459 | 2xM25 140 190 | M2 [ 290 | 120 | 70 | 28 | 60 | 310 | 8 |6306-ZZ C3 |6306-ZZ C3 30%47*7 30%47*7
300 6 Q3HGI32S6A | Cost Iron | 273 | 533 | 2xM32 140 216 | 132 [ 337 | 120 | 89 | 38 | 80 | 410 | 10 |6308-ZZ C3 |6308-ZZ C3| 40*62*10 40*62*10
400 6 Q3HGI32MBA | Cast Iron | 273 | 533 | 2xM32 178 216 | 132 | 337 | 120 | 89 | 38 | 80 | 410 | 10 | 6308-ZZ C3 |6308-ZZ C3| 40*62*10 40*62*10
550 6 Q3HGI32M6B | Cast Iron | 273 | 533 | 2xM32 178 216 | 132 | 337 | 120 | 89 | 38 | 80 | 410 | 10 | 6308-ZZ C3 |6308-ZZ C3| 40*62*10 40*62*10
750 6 Q3HGIBOMBC | Cast Iron | 328 | 626 | 2xM32 210 254 | 160 | 387 | 145 [ 108 | 42 | N0 |450 | 12 |6309-ZZ C3 |6309-ZZ C3| 45*72*10 45*72*10
1.00 6 Q3HGIBOLBD | Cast Iron | 328 | 668 | 2xM32 254 254 | 160 | 387 | 145 [ 108 | 42 | N0 |450 | 12 | 6309-ZZ C3 |6309-ZZ C3| 45*72*10 45*72*10
15,00 6 Q3HGIBOL6B | Cast Iron | 356 | 759 | 2xM40 279 279 | 180 | 441 | 145 | 121 | 48 | 10 | 515 | 14 | 6310 ZZ C3 | 6310 ZZ C3 50*80*10 50*80*10
18.50 6 Q3HG200L6C | Cost Iron | 356 | 816 | 2xMS0 305 318 | 200 | 458 | 185 | 133 | 55 | 10 | 590 | 16 | 6312-ZZ C3 | 6310-2Z C3 60*90*10 50*80*10

2200 6 Q3HG200L6D | Cast Iron | 356 | 816 | 2xMS0 305 318 (200 | 458 | 185 (133 | 55 | 10 [590 | 16 | 6312-ZZ C3 | 6310-ZZ C3 | 60*90*10 50*80*10

/(e

WAT | IM en 24.0
L] N




IE3 THREE PHASE CAST IRON MOTORS

DIMENSION - BS, B35

. ?lll—.lgl

Motor Type

075 | 2 | Q3HG8OM2C | Cast Iron | 175 | 282 | 2xM25 | 100 125 |80 |225(10 |50 (19| 40 |215| 6 (6204 ZZ C3|6204 ZZ C3|  20*30*7 20*30*7 | 200 | 130 | 165 | - | 120
110 2 | Q3HG8OM2D | Cast Iron | 175 | 317 | 2xM25 | 100 125 |80 |225|10 50|19 | 40 |215| 6 [6204 ZZ C3|6204 ZZ C3| 20*30*7 20*30*7 | 200 | 130 | 165 | - | 120
150 2 | Q3HG90L2C | Cost lron | 185 | 339 | 2xM25 | 125 140 | 90 | 232 | 10 | 56 [ 24| 50 [270| 8 |6305-ZZ C3(6205-ZZ C3|  25*40*7 25*40*7 | 200 | 130 | 165 | - | 135
220 | 2 | Q3HG9OL2D | Costlron | 185 | 369 | 2xM25 | 125 140 | 90 | 232 | 10 | 56 | 24| 50 |270| 8 |6305-ZZ C3(6205-ZZ C3|  25*40*7 25*40*7 | 200 | 130 | 165 | - | 135
300 | 2 | Q3HGIOOL2D | Costlron | 203 | 416 | 2xM25 | 140 160 | 100 | 266 | 12 | 63 28| 60 [310| 8 |6306-ZZ C3|6306-ZZ C3|  30*47*7 30*47*7 | 250 | 180 | 215 | - | 145
400 | 2 | Q3HGN2M2C | Cost lron | 222 | 434 | 2xM25 | 140 190 | 12 (290 | 12 | 70 [28| 60 [310| 8 |6306-ZZ C3|6306-ZZ C3| 30*47*7 30*47*7 | 250 | 180 | 215 145
400 | 2 | Q3HSGN2M2C | Cast Iron | 205 | 416 | 2xM25 | 140 190 | 12 | 283 | 12 [ 70 | 28| 60 |310| 8 [6306-ZZ C3|6306-ZZ C3| 30*47*7 30*47*7 | 250 | 180 | 215 | - | 145
550 | 2 |(Q3HSGI32S2C | Cost Iron | 222 | 471 | 2xM25 | 140 216 | 132 31 |12 |89 38| 80 |410| 10 [6308-ZZ C3|6306-2Z C3|  40*62*10 30*47*7 | 300 (230|265 | - | 145
750 | 2 |Q3HSGI32S2D | Caost Iron [ 222 | 491 | 2xM25 | 140 216 (132 31 |12 |89|38| 80 |410| 10 |6308-ZZ C3|6306-ZZ C3| 40*62*10 30*47*7 | 300 | 230|265 | - | 145
100 | 2 | Q3HGIBOM2C | Cost Iron [ 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 [145(108 | 42| N0 |450| 12 |6309-ZZ C3|6309-2Z C3|  45*72*10 45*72*10 | 350 | 250 | 300 185
100 | 2 |Q3HSGIBOM2D | Cast Iron [ 273 | 563 | 2xM32 | 210 | 254 | 160 | 366 [145(108 | 42| N0 (450| 12 [6309-ZZ C3|6309-ZZ C3| 45*72*10 45*72*10 | 350 250 (300 | - | 185
1500 | 2 | Q3HGIBOM2D | Cast Iron | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 |14,5|108 | 42| 10 [450| 12 |6309-ZZ C3|6309-ZZ C3|  45*72*10 45*72*10 | 350 | 250 (300 | - | 185
1500 | 2 |Q3HSGIBOM2DE| Cast Iron | 273 | 605 | 2xM32 | 210 | 254 | 160 | 366 145|108 | 42| 10 [450| 12 |6309-ZZ C3|6309-ZZ C3|  45*72*10 45*72*10 | 350 250 (300 | - | 185
1850 | 2 | Q3HGIBOL2C | Castlron | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 145|108 | 42| 10 [450| 12 |6309-ZZ C3|6309-ZZ C3|  45*72*10 45*72*10 | 350 | 250 (300 | - | 185
2200 | 2 [Q3HSGIBOM2B| Cast Iron | 328 | 680 | 2xM32 | 241 | 279 | 180 | 407 (145|121 | 48| 10 |515| 14 |6310-ZZ C3|6310-ZZ C3| 50*80*10 50*80*10 | 350 250|300 |- [ 185
3000 | 2 | Q3HG200L2C | Cast Iron (356 | 763 | 2xM50 [ 305 | 318 {200 | 458 (185133 |55 10 |590( 16 |6312-ZZ C3|6310-ZZ C3| 60*90*10 50*80*10 | 400 [ 300|350 |- [185
3700 | 2 | Q3HG200L2D | Cast Iron | 356 | 763 | 2xM50 | 305 | 318 200 | 458 |185|133 (55| 10 [590| 16 |6312-ZZ C3 [6310-ZZ C3| 60*90*10 50*80*10 | 400 [ 300|350 |- [ 185
4500 | 2 |(Q3HG225M2B | Cost Iron 440 | 789 | 2xM50 | 31 356 225|524 |185|149 [ 55| 10 [590| 16 |6313-ZZ C3 |6313-ZZ C3| 65*100*13 65*100*13 | 450 350|400 | - [ 185
5500 | 2 | Q3HG250M2B | Cast Iron | 440 | 818 | 2xM50 | 349 | 406 [250 | 549 | 24 | 168 |60 | 140 (640 18 |6315-ZZ C3|6313-ZZ C3|  75*12*12 75*112*12 | 550 | 450 | 500 | - | 185
7500 | 2 |Q4HG280M2C | Cast Iron | 574 | 1021 | 2xM50 |368/419| 457 | 280 | 664 | 24 190 | 65 | 140 |690| 18 |6314-ZZ C3|6314-ZZ C3| 85*1N0*12 X2 | 70*90*10 X2 | 550 | 450|500 | - | 185
9000 | 2 |Q4HG280M2D | Cast Iron | 574 | 1021 | 2xM50 [368/419| 457 [ 280 | 664 | 24 | 190 | 65 | 140 |690| 18 |6314-ZZ C3|6314-ZZ C3| 85*N0*12 X2 | 70*90*10 X2 | 550 | 450|500 | - | 185
1000 | 2 | Q4HG3I5S2C | Cast Iron | 638 | 1000 | 2xM63 | 406 | 508 | 315 | 771 |28 | 216 | 65| 140 |690( 18 | 6316 C3 6316 C3 80 VAR 80 VAR | 660 550 (600 |- |240

13200 | 2 | Q4HG3I1SM2B | Cost Iron (638 | 1070 | 2xM63 | 457 | 508 | 315 | 771 |28 | 216 | 65| 140 |690| 18 | 6316 C3 6316 C3 80 VAR 80 VAR | 660 |550 (600 |- (240

16000 | 2 | Q4HG3ISL2A | Cast Iron | 638 | 1070 | 2xM63 | 457 | 508 | 315 | 771 |28 | 216 | 65| 140 (690| 18 | 6316 C3 6316 C3 80 VAR 80 VAR | 660 550 (600 |- |240

20000| 2 | Q4HG3ISL2C | Cast lron | 638 | 1070 | 2xM63 | 457 | 508 | 315 | 771 | 28 [ 216 |65 | 140 (690| 18 | 6316 C3 6316 C3 80 VAR 80 VAR | 660 | 550|600 | - [24.0

25000| 2 | Q3EP355M2C | Cast lron | 762 | 1512 | 4xM63 | 560 | 610 | 355|997 | 28 (25475 | 140 (800| 20 6317 6317 85*105*55 | 85*105*55 | 800 | 680 | 740 | - | 24.0

31500 | 2 | Q3EP355L2B | Cast Iron | 762 | 1512 | 4xMB3 |S60/630| 610 |355| 997 | 28 |254| 75| 140 (800 20 6317 6317 85*105*55 | 85*105*55 | 800 | 680 | 740 | - | 24,0

35500| 2 | Q3EP355L2C | Cast lron | 762 | 1512 | 4xM63 |S60/630| 610 | 355| 997 | 28 (254 75| 140 (800| 20 6317 6317 85*105*55 | 85*105*55 | 800 | 680 | 740 | - | 24.0
WAT | IM en 24.0

L/ L)



IE3 THREE PHASE CAST IRON MOTORS

Motor Type

Non drive
lﬂﬂﬂﬂﬂﬂlﬂﬂﬂl--

055 | 4 | Q3HGBOM4C | CostlIron | 175 | 282 | 2xM25 | 100 | 125 | 80 | 225 |100| 50 [ 19 | 40 [215| 6 |6204 ZZ C3|6204 ZZ C3| 20*30*7 20*30*7 | 200 | 130 | 165 | - | 120

075 | 4 | Q3HGBOM4D | CostIron | 175 | 282 | 2xM25 | 100 | 125 | 80 | 225 |100| 50 [ 19 | 40 |215| 6 |6204 ZZ C3|6204 ZZ C3| 20*30*7 20*30*7 | 200 [ 130 | 165 | - [ 120
110 4 | Q3HG9OL4C | Cast lron [ 185 | 369 |[2xM25| 125 | 140 | 90 | 232 [100| 56 |24 | 50 |27.0 6305-ZZ C3(6205-2Z C3|  25*40*7 25*40*7 | 200 [ 130 | 165 | - [ 135
150 | 4 | Q3HG9YOL4D | Castlron | 185 | 369 | 2xM25 | 125 | 140 | 90 | 232 |100| 56 |24 | 50 [27.0 6305-ZZ C3(6205-ZZ C3|  25*40*7 25*40*7 | 200 [ 130 | 165 | - [ 135

300 | 4 | Q3HGIOOL4D | Cost Iron {203 | 445 | 2xM25 | 140 | 160 | 100 | 266 [120| 63 |28 | 60 | 310

8
8

220 | 4 | Q3HGIOOL4C | Cast Iron | 203 | 416 | 2xM25 | 140 | 160 |100 | 266 |120| 63 |28 | 60 |310| 8 |6306-ZZ C3|6306-2ZZ C3|  30*47*7 30*47*7 | 250 [ 180 | 215 | - | 145
8 |6306-ZZ C3(6306-ZZ C3|  30*47*7 30*47*7 | 250 [ 180 | 21S | - | 145
8

400 | 4 | Q3HGN2MA4D | Cost Iron [ 222 | 459 | 2xM25 | 140 | 190 | 112 [ 290 [120| 70 |28 | 60 | 310 6306-ZZ C3|6306-2Z C3|  30*47*7 30*47*7 | 250 | 180 | 215 | - | 145
550 | 4 | Q3HGI32S4B | Cost Iron | 273 | 533 | 2xM32 | 178 | 216 | 132 | 337 120| 89 | 38| 80 |410| 10 |6308-ZZ C3[6308-ZZ C3| 40*62*10 40*62*10 | 300 | 230 | 265 | - | 145
750 | 4 | Q3HGI32M4D | Cost Iron | 273 | 533 | 2xM32 | 178 | 216 | 132 | 337 |120| 89 |38 | 80 |410| 10 |6308-ZZ C3(6308-ZZ C3| 40*62*10 40*62*10 | 300 | 230 | 265 | - | 145
100 | 4 | Q3HGIBOMAC | Cost Iron | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 (145|108 | 42| N0 |450| 12 |6309-ZZ C3[6309-ZZ C3| 45*72*10 45*72*10 | 350 250|300 | - | 185
100 | 4 |Q3HSGIBOMAC| Cost Iron | 273 | 605 | 2xM32 | 210 | 254 | 160 | 366 (145|108 | 42 | N0 |450| 12 |6309-ZZ C3[6309-ZZ C3| 45*72*10 45*72*10 | 350 | 250 | 300 | - | 185
1500 | 4 | Q3HGIBOL4B | Cost Iron [328| 626 | 2xM32 | 210 | 254 | 160 | 387 (145|108 |42 | 10 |450| 12 (6309-ZZ C3|6309-ZZ C3|  45*72*10 45*72*10 | 350 | 250 | 300 | - | 185
1850 | 4 [Q3HSGIBOM4B| Cost Iron [ 328 | 680 | 2xM32 | 241 | 279|180 | 407 (145|121 |48 | 1O |55 14 [6310 ZZ C3|6310 ZZ C3| 50*80*10 50*80*10 | 350 | 250|300 | - | 185
2200 | 4 | Q3HGIBOL4B | Cost lron (356 | 763 | 2xM40 | 279 | 279 | 180 | 441 (145|121 | 48| 10 |515| 14 6310 ZZ C3|6310 ZZ C3| 50*80*10 50*80*10 | 350 | 250|300 | - | 185
3000 | 4 |Q3HG200L4D | Cast Iron {356 | 816 |2xMS0 | 305 | 318 |200| 458 [185(133 | 55| 10 (590| 16 |6312-ZZ C3|6310-ZZ C3| 60*90*10 50*80*10 | 400 | 300350 | - | 185
3700 | 4 |Q3HG225S4B | Cost Iron [440| 818 |2xMS0 | 286 | 356 [225| 524 (185|149 |60 | 140 |640| 18 |6313-ZZ C3|6313-ZZ C3| 65*100*13 65*100*13 | 450 | 350 | 400 | - | 185
4500 | 4 |Q3HG225M4C | Cast Iron [ 440 | 883 [ 2xM50 | 311 | 356 | 225| 524 (185(149 |60 | 140 (640| 18 |6313-ZZ C3|6313-ZZ C3| 65*100*13 65*100*13 | 450 | 350 | 400 | - | 185
5500 | 4 |Q3HG250M4B | Cost Iron [ 440 | 883 | 2xM50 | 349 | 406 |250| 549 [24,0(168 | 65| 140 (690| 18 |6315-ZZ C3|6313-ZZ C3| 65*100*13 65*100*13 | 550 | 450|500 | - | 185
7500 | 4 |Q4HG280M4C | Cast Iron | 574 | 1021 | 2xM50 |368/419| 457 | 280 | 664 (24.0(190 | 75 | 140 (795| 20 |6317-ZZ C3 |6317-ZZ C3|100*120*12 X 2|85*110*12 X 2| 550 | 450 | 500 | - | 185
9000 | 4 |Q4HG280M4D | Cast Iron | 574 | 1021 | 2xM50 |368/419| 457 | 280 | 664 [24.0(190 | 75| 140 |795| 20 |6317-ZZ C3 |6317-ZZ C3[100*120*12 X 2|85*110*12 X 2| 550 | 450 | 500 | - | 185
1000 | 4 | Q4HG315S4C | Cost Iron 638 | 1030 | 2xMB3 | 406 | 508 | 315 | 771 (280|216 |80 | 170 |850( 22 | 6319 C3 6319 C3 95 VAR 95 VAR | 660 550|600 | - 240
13200| 4 | Q4HG3ISM4B | Cast Iron | 638 | 1100 | 2xM63 | 457 | 508 | 315 | 771 (280|216 |80 | 170 |850| 22 | 6319 C3 6319 C3 95 VAR 95 VAR | 660 550|600 |- (240
16000 | 4 | Q4HG3ISL4A | Cast Iron [ 638 | 1100 |2xMB3 | 457 | 508 | 315 | 771 {280 216 |80 | 170 (850( 22 | 6319 C3 6319 C3 95 VAR 95 VAR | 660 |550 (600 |- |240
20000( 4 | Q4HG3ISL4C | Cast Iron | 638 | 180 | 2xMB3 | 457 | 508 | 315 | 771 |280( 216 |80 | 170 {850| 22 | 6319 C3 6319 C3 95 VAR 95 VAR | 660 [ 550|600 | - (240

25000| 4 |Q3EP3SSMAC | Cost Iron | 762 | 1542 | 4xM63 | 560 | 610 | 355|997 [280(254| 95| 170 [1000| 25 | 6322 6322 | 10%30*55 | 1I0*130*55 | 800 |680 | 740 | - 240
31500 4 | Q3EP355L4B | Cost Iron | 762 | 1542 | 4xM63 [560/630] 610 | 355 | 997 [280(254| 95 | 170 [1000| 25 | 6322 6322 | 10%30*55 | 110*130*55 | 800 |680 | 740 | - 240
35500| 4 | Q3EP355L4C | Cost Iron | 762 | 1542 | 4xM63 [560/ 30| 610 | 355 | 997 [280(254| 95 | 170 [1000| 25 | 6322 6322 | 10%130*55 | 1I0*130*55 | 800 |680 | 740 | - |240
6 pole

037 | 6 | Q3HGBOMBA | Cost Iron | 175 | 317 | 2xM25 | 100 | 125 | 80 | 225 |100| 50 | 19 | 40 |215| 6 |6204 ZZ C3|6204 ZZ C3| 20*30*7 20*30*7 | 200 | 130 | 165 | - [ 120
055 | 6 | Q3HGBOM6B | Cost Iron | 175 | 317 | 2xM25 | 100 | 125 | 80 | 225 |100| 50 | 19 | 40 |215| 6 |6204 ZZ C3|6204 ZZ C3| 20*30*7 20*30*7 | 200 | 130 | 165 | - [ 120
075 | 6 | Q3HGIYOLEC | Cost Iron | 185 | 369 | 2xM25 | 125 | 140 | 90 | 232 |10.0| 56 |24 | 50 |27.0| 8 |6305-ZZ C3[6205-ZZ C3| 25*40*7 25*40*7 | 200 | 130 | 165 | - [ 135
110 6 | Q3HGIOL6D | Cast Iron [ 185 | 369 |2xM25| 125 | 140 | 90 | 232|100 56 |24 | 50 [270| 8 |6305-ZZ C3/6205-ZZ C3|  25*40*7 25*40*7 | 200 | 130 | 165 | - [ 135
150 | 6 | Q3HGIOOLBD | Cost Iron | 203 | 445 | 2xM25 | 140 | 160 | 100 | 266 |120| 63 |28 | 60 [310| 8 |6306-ZZ C3|6306-ZZ C3|  30*47*7 30*47*7 | 250 [ 180 | 215 | - | 145
220 | 6 | Q3HGN2MBD | Cost Iron | 222 | 459 | 2xM25 | 140 | 190 | N2 | 290 |120| 70 {28 | 60 [310| 8 |6306-ZZ C3|6306-ZZ C3|  30*47*7 30*47*7 | 250 (180 | 215 | - [ 145
300 | 6 | Q3HGI32S6A | Costlron (273 | 533 |2xM32 | 178 | 216 | 132 | 337 |120| 89 |38 | 80 |4l0| 10 |6308-ZZ C3|6308-ZZ C3| 40*62*10 40*62*10 | 300 | 230 | 265 | - | 145
400 | 6 |Q3HGI32MBA | Cost Iron (273 | 533 |2xM32 | 178 | 216 | 132 | 337 |120| 89 |38 | 80 |4l0| 10 |6308-ZZ C3|6308-ZZ C3| 40*62*10 40*62*10 | 300 | 230 | 265 | - | 145
550 | 6 | Q3HGI32MeB | Cost Iron (273 | 533 |2xM32 | 178 | 216 | 132 | 337 |120| 89 |38 | 80 |4l0| 10 |6308-ZZ C3|6308-ZZ C3| 40*62*10 40*62*10 | 300 | 230 | 265 | - | 145
750 | 6 | Q3HGIBOMGC | Cost Iron | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 145|108 |42 | 10 [450| 12 |6309-ZZ C3|6309-ZZ C3|  45*72*10 45*72*10 | 350 [ 250|300 - [ 185
100 | 6 | Q3HGIBOLED | Cost Iron | 328 | 668 | 2xM32 | 210 | 254 | 160 | 387 145|108 |42 | 10 (450 12 |6309-ZZ C3|6309-ZZ C3|  45*72*10 45*72*10 | 350 | 250 | 300 | - | 185
1500 | 6 | Q3HGIBOLEB | Cost Iron | 356 | 763 | 2xM40 | 279 | 279 [ 180 | 441 145|121 | 48| 10 |55 14 |6310 ZZ C3|6310 ZZ C3| 50*80*10 50*80*10 | 350 | 250|300 | - | 185
1850 | 6 |Q3HG200L6C | Cost Iron [ 356 | 816 | 2xMSO | 305 | 318 |200| 458 (185|133 |55 | 10 |S90( 16 |6312-ZZ C3|6310-ZZ C3| 60*90*10 50*80*10 | 400 (300|350 | - | 185

2200 | 6 |Q3HG200L6D | Cast Iron | 356 | 816 |2xM50 | 305 | 318 (200|458 [185(133 55| 10 [590| 16 |6312-ZZ C3|6310-ZZ C3| 60*90*10 50*80*10 | 400 | 300|350 | - | 185

WAT | IM en 240
L) N



IE3 THREE PHASE CAST IRON MOTORS

DIMENSION - Bl4a, B34a

QO
i V’CE L
——
zlof [
! -l
| 5
LU Y Y
I S I B
|

Housmg
Motor Type

075 | 2 Q3HG8OM2C | Cast Iron| 175 | 282 |2xM25| 100 | 125 | 80 [ 225 |100( 50 |19 | 40 |215| 6 (6204 ZZ C3|6204 ZZ C3| 20*30*7 | 20*30*7 | 120 | 80 | 100 |- | M6

110 2 | Q3HG8OM2D |Castlron| 175 | 317 [2xM25| 100 | 125 | 80 | 225 |100| 50 |19 | 40 [215| 6 |6204 ZZ C3|6204 ZZ C3| 20*30*7 | 20*30*7 | 120 | 80 | 100 |- | M6
150 2 Q3HGIOL2C | Cast Iron | 185 | 339 |2xM25| 100 | 140 | 90 | 232|100 S6 |24 | 50 [270| 8 |6305-ZZ C3|6205-ZZ C3| 25*40*7 | 25*40*7 | 140 | 95 | NS |- | M8
220 | 2 Q3HGY0L2D | Cast Iron| 185 | 367 |2xM25| 125 | 140 | 90 | 232 (100 56 |24 | 50 |270| 8 |6305-ZZ C3|6205-ZZ C3| 25*40*7 | 25*40*7 | 140 | 95 | 15 |- | M8
300 | 2 | Q3HGIOOL2D |Castlron|203 | 416 |2xM25| 140 | 160 |100 | 266 |120| 63 |28| 60 |310| 8 |6306-ZZ C3[6306-ZZ C3| 30*47*7 | 30*47*7 | 160 | 1O [ 130 | - | M8
400 | 2 Q3HGN2M2C | Cast Iron | 222 | 434 |2xM25| 140 | 190 | T2 [ 290 (120| 70 (28| 60 |310| 8 |6306-ZZ C3|6306-ZZ C3| 30*47*7 | 30*47*7 | 160 | 10 | 130 |- | M8
400 | 2 | Q3HSGN2M2C | Cost Iron [ 205 | 408 |2xM25| 140 | 190 | N2 | 283 |120| 70 [28| 60 [310| 8 |6306-ZZ C3|6306-ZZ C3| 30*47*7 | 30*47*7 | 160 | MO | 130 | -| M8
550 | 2 |Q3HSGI32S2C | Cast Iron | 222 | 471 |2xM32| 140 | 216 132 | 31 |120| 89 |38| 80 |410| 10 |6308-ZZ C3(6308-ZZ C3| 40*62*10 | 40*62*10 | 300 | 130 | 165 | - | MIO
750 | 2 | Q3HSGI32S2D |Cast Iron | 222 | 491 [2xM32| 140 | 216 | 132 | 31 [120( 89 (38| 80 |410| 10 [6308-2Z C3|6308-2Z C3| 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
100 | 2 | Q3HGIBOM2C |Cost Iron | 328 | 626 [2xM32| 210 | 254 160 | 387 |145(108 |42 | TI0 (450 12 |6309-ZZ C3|6309-ZZ C3| 45*72*10 | 45*72*10 | 250 (180 | 215 | - [ MIO
100 | 2 |Q3HSGIBOM2D |Cast Iron | 273 | 563 [2xM32| 210 | 254|160 | 366 [145(108 42| 10 (450| 12 |6309-ZZ C3|6309-ZZ C3| 45*72*10 | 45*72*10 | 250 | 180 | 215 | - | MIO
1500 | 2 | Q3HGIBOM2D | Cast Iron | 328 | 626 |2xM32| 210 | 254 | 160 | 387 |145(108 | 42| N0 |450| 12 |6309-ZZ C3[6309-ZZ C3| 45*72*10 | 45*72*10 | 250 | 180 | 215 | - | MIO
1500 | 2 |Q3HSGIBOM2DE| Cast Iron | 273 | 605 |2xM32| 210 | 254 | 160 | 366 |14,5(108| 42| N0 |450| 12 |6309-ZZ C3(6309-ZZ C3| 45*72*10 | 45*72*10 | 250 | 180 | 215 | - | MIO

1850 | 2 Q3HGIBOL2C | Cast Iron [ 328 | 626 |2xM32| 254 | 254 (160 | 387 |145(108 | 42| 10 [450| 12 |6309-ZZ C3|6309-ZZ C3| 45*72*10 | 45*72*10 | 250 | 180 | 2I5 | - | MIO

/0]

WAT | IM en 24.0
L/ N4



IE3 THREE PHASE CAST IRON MOTORS

Power
(]

4 pole

Motor Type FELSTE .
el oo T [ [ e fo e [T [owon | % oo e+ [0 [ i+

055 | 4 | QB3HGBOM4C |Cost lron| 175 | 282 [2xM25| 100 | 125 | 80 | 225 |100( 50 [ 19 | 40 [215| 6 |6204 ZZ C3|6204 ZZ C3| 20*30*7 | 20*30*7 | 120 | 80 | 100 |- | M6

075 | 4 | Q3HG8OM4D |Cast Iron| 175 | 282 [2xM25| 100 | 125 | 80 | 225 (100|550 (19 | 40 |215| 6 [6204 ZZ C3|6204 ZZ C3| 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
110 4 Q3HGIOL4C | Cast Iron | 185 | 367 [2xM25| 125 | 140 | 90 | 232 |100| 56 |24 | 50 [270| 8 |6305-ZZ C3|6205-ZZ C3| 25*40*7 | 25*40*7 | 140 [ 95 | N5 |- | M8
150 4 Q3HGI0L4D | Cast Iron| 185 | 367 |2xM25| 125 | 140 | 90 | 232 (100 56 |24 | 50 |270| 8 |6305-ZZ C3|6205-ZZ C3| 25*40*7 | 25*40*7 | 140 | 95 | 15 |- | M8
220 | 4 Q3HGI00L4C | Cast Iron| 203 | 416 |2xM25| 140 | 160 | 100 | 266 (120| 63 | 28| 60 |310| 8 |6306-ZZ C3|6306-ZZ C3| 30*47*7 | 30*47*7 | 160 | 1O [ 130 | - | M8
300 | 4 Q3HGI00L4D | Cast Iron| 203 | 445 |2xM25| 140 | 160 | 100 | 266 |120| 63 | 28| 60 |310| 8 |6306-ZZ C3[6306-ZZ C3| 30*47*7 | 30*47*7 | 160 | MO [ 130 | - | M8
400 | 4 Q3HGN2M4D | Cost Iron | 222 | 464 |2xM25| 140 | 190 | 2 | 290 |120| 70 [28| 60 [310| 8 |6306-ZZ C3|6306-ZZ C3| 30*47*7 | 30*47*7 | 160 | N0 | 130 | -| M8
550 | 4 Q3HGI32S4B | Cast Iron | 273 | 533 |2xM32| 178 | 216 | 132 | 337 |120| 89 | 38| 80 |410| 10 |6308-ZZ C3|6308-ZZ C3| 40*62*10 | 40*62*10 | 300 | 130 | 165 Mio
750 | 4 | Q3HGI32M4D |Cast Iron | 273 | 533 [2xM32| 178 | 216 | 132 | 337 [120( 89 (38| 80 |410| 10 [6308-ZZ C3|6308-2Z C3| 40*62*10 | 40*62*10 | 300 | 130 | 165 | - | MIO
100 | 4 | Q3HGIBOM4C |Cost Iron | 328 | 626 [2xM32| 210 | 254 160 | 387 |145(108 |42 | T0 (450 12 |6309-ZZ C3|6309-ZZ C3| 45*72*10 | 45*72*10 | 250 [180 | 215 | - [ MIO
100 | 4 |Q3HSGIBOMAC | Cost Iron (273 | 605 [2xM32 | 210 | 254 160 | 366 |145(108 |42 | 10 (450| 12 |6309-ZZ C3|6309-ZZ C3| 45*72*10 | 45*72*10 | 250 [180 | 215 | - [ MIO

1500 | 4 Q3HGIBOL4B | Cast Iron| 328 | 626 |2xM32 | 254 | 254 | 160 | 387 (145108 | 42| 10 |450| 12 |6309-ZZ C3|6309-ZZ C3| 45*72*10 | 45*72*10 | 250 | 180 | 215 | - | MIO

6 pole

037 | 6 Q3HGBOMBA | Cast Iron | 175 | 317 [2xM25| 100 | 125 | 80 | 225 (100( 50 |19 | 40 |215| 6 [6204 ZZ C3|6204 ZZ C3| 20*30*7 | 20*30*7 | 120 | 80 | 100 |- | M6
055 | 6 Q3HG8OM6B | Cast Iron | 175 | 317 [2xM25| 100 | 125 | 80 | 225 |100| 50 [ 19 | 40 [215| 6 |6204 ZZ C3|6204 ZZ C3| 20*30*7 | 20*30*7 | 120 | 80 | 100 |- [ M6
075 | 6 Q3HGI0L6C | Cast Iron| 185 | 367 |2xM25| 125 | 140 | 90 | 232 (100 56 |24 | 50 |270| 8 |6305-ZZ C3|6205-ZZ C3| 25*40*7 | 25*40*7 | 140 | 95 | 15 |- | M8
110 6 Q3HGIOL6D | Cast Iron | 185 | 367 [2xM25| 125 | 140 | 90 | 232 |100| 56 |24 | 50 [270| 8 |6305-ZZ C3|6205-ZZ C3| 25*40*7 | 25*40*7 | 140 | 95 | N5 |- | M8
150 6 Q3HGIOOLED | Cast Iron | 203 | 445 |2xM25| 140 | 160 | 100 | 266 |120| 63 | 28| 60 |310| 8 |6306-ZZ C3[6306-ZZ C3| 30*47*7 | 30*47*7 | 160 | MO [ 130 | - | M8
220 | 6 Q3HGI2MBD | Cost Iron | 222 | 464 |2xM25| 140 | 190 | 2 | 290 |120| 70 [28| 60 [310| 8 |6306-ZZ C3|6306-ZZ C3| 30*47*7 | 30*47*7 | 160 | N0 | 130 | -| M8
300 | 6 | Q3HGI32S6A |Castlron|273 | 533 |2xM32| 178 | 216 | 132|337 |120| 89 |38| 80 |410| 10 |6308-ZZ C3[6308-ZZ C3| 40*62*10 | 40*62*10 | 200 (230 | 165 | - | MIO
400 | 6 | Q3HGI32MBA |Cost Iron | 273 | 533 |2xM32| 178 | 216 | 132 | 337 |120| 89 [38| 80 [410| 10 |6308-ZZ C3|6308-ZZ C3| 40*62*10 | 40*62*10 | 200 (230 | 165 | - | MIO
550 | 6 | Q3HGI32M6B | Cast Iron| 273 | 533 | 2xM32| 178 | 216 | 132 | 337 |120| 89 |38| 80 |410| 10 |6308-ZZ C3[6308-ZZ C3| 40*62*10 | 40*62*10 | 200 (230 | 165 | - | MIO
750 | 6 | Q3HGIBOM6C |Cost Iron | 328 | 626 [2xM32| 210 | 254 160 | 387 |145(108 |42 | 10 (450| 12 |6309-ZZ C3|6309-ZZ C3| 45*72*10 | 45*72*10 | 250 (180 | 215 | - [ MIO

oo | 6 Q3HGIBOLED | Cast Iron| 328 | 668 |2xM32 | 254 | 254 | 160 | 387 (145108 | 42| 10 |450| 12 |6309-ZZ C3|6309-ZZ C3| 45*72*10 | 45*72*10 | 250 [ 180 | 215 | - | MIO

QM

WAT | IM en 24.0
N S






(7

Xwﬂm@w@u

VIOTORS

—

==

x\,\ | \ 1w,

;7






IE3-IE4 SMOKE EXTRACTION MOTORS

F300 SERIES ELECTRICAL CHARACTERISTICS @ 50 Hz

2 pole 3000 rpm
S3HBOM2C | Aluminium | 075 | 100 | 2903 | 306/177 | 246 83 - 39| - 43 | 807 | 795|758 | 081 | 00040 | 105 | 57
S3HBOM2D | Auminum | 110 | 150 | 2908 | 425/245 | 360 90 - | a0 | - 43 | 827 | 802 | 764 | 083 | 0000 | 180 | 57
S3H90L2C | Aluminium | 150 | 200 | 2926 | 54/3l 490 95 - e - 46 | 842 | 862|842 | 087 | 000249 | 170 | 62
S3H90L2D | Aluminium | 220 | 300 | 2931 | 85/49 717 8l - |28 | - 41 | 859 | 850|830 | 081 | 000283 | 178 | 62
S3HI00L2D | Aluminium | 300 | 400 | 2934 | 100/57 977 94 - 84| - 40 | 871 | 853 | 851 | 090 | 000536 | 258 | 63
S3HI2M2C | Aluminum | 400 | 550 | 2977 | 75/43 1310 - 94 | - |82| a 88] | 880 | 858 | 092 | 000604 | 295 | 67
S3HIZ2S2C | Aluminium | 550 | 750 | 2927 | Wi/64 18.00 - 84 | - |32| 43 | 892 890|885 | 088 | 002792 | 500 | 69
S3HI32S2D | Auminium | 750 | 1000 | 2934 | 15/84 | 2430 - 94 | - | 33| 48 | 901 | 890|885 | 086 | 003091 | 542 | 69
S3HIBOM2C | Aluminium | 100 | 1500 | 2971 | 208/120 | 3540 - mo| - | 33| sI 912 | 899|876 | 086 | 00357 | 812 | 70
S3HIBOM2D | Aluminium | 1500 | 2000 | 2967 | 276/16 | 4830 - | w9 | - |34| 49 | 919 | 904|879 | 087 | 004322 | 874 | 70
S3HIBOL2C | Aluminium | 1850 | 2500 | 2972 | 374/216 | 5930 - Mo | - | 35| 54 | 924 | 907|880 | 080 | 004809 | 936 | 70
S3HIBOM2A | Aluminium | 2200 | 3000 | 2969 | 403/233 | 7106 - 97 | - | 80| 41 | 927 |928| 919 | 090 | 009460 | M50 | 77
S3H200L2C | Aluminium | 3000 | 4000 | 2970 | 533/308 | 9730 - w2 - |30| 70 | 933 |928| 96 | 090 | 010277 | 1506 | 78
S3H200L2D | Aluminium | 3700 | 5000 | 2969 | 628/363 | 11860 - 98 | - | 29| 40 | 937 | 937 | 931 | 093 | onss3 | 660 | 78
S3H225M2B | Aluminium | 4500 | 6000 | 2976 | 77.7/449 | 14440 - | wa | - | 35| 56 | 940 | 944|935 | 089 | 023500 | 2130 | 80
S3EP250M2B | Cast lron | 5500 | 7500 | 2983 | 96:3/556 | 17590 - 85 | - | 24| 44 | 943 | 936| 921 | 092 | 048700 | 4750 | 8l
S4HP28OM2C | Costlron | 200 | 7500 | 2982 | 1242/718 | 24000 | - 67 | - | 26| 30 | 956 |956| 949 | 092 | 17890 | 6530 | 79
S4HP280M2D | Costlron | 200 | 9000 | 2985 | 467/848 | 28820 | - 78 | - | 29| 57 | 958 | 957 | 949 | 092 | 126380 | 6800 | 79
S4HP3I5S2C | Costlron | 200 | 1000 | 2988 | 1939/M9 | 35210 - | 08| - | 36| 52 | 960 | 954|942 | 085 | 166000 | 8800 | 87
S4HP3ISM2B | Cast lon | 200 | 13200 | 2986 | 2282/1319 | 42250 | - 90 | - |38| 104 | 962 | 91| 925 | 088 | 184000 | 9520 | 87
S4HP3ISL2A | Costlron | 200 | 16000 | 2990 |2906/1680 | SIIO - 21 | - | 67| 1B4 | 963 | 958 | 945 | 084 | 205000 | 10100 | 87
S4HP3I5L2C | Costlon | 200 | 20000 | 2983 | 3310/1912 | 6440 - 94 | - | 44| 868 | 965 | 966 | 959 | 089 | 230000 | 1440 | 87

4 pole 1500 rpm

I S3H8OM4C Aluminium | 055 075 1455 25/14 360 50 = 27 = 36 808 | 782 | 771 071 0,00180 106 53

S3H8OM4D Aluminium | 075 100 1458 33/18 493 74 - 32 - 40 825 | 804 | 771 071 000261 n7 52
S3H90L4C Aluminium | 110 150 1448 43/25 730 75 = 34 = 38 841 | 810 | 773 | 077 000464 179 53
S3H90L4D Aluminium | 150 200 1452 6,05/35 990 80 - 38 - 43 853 | 849 | 820 | 074 000526 200 53
S3HI00L4C Aluminium | 2.20 300 1458 92/53 14,40 75 = 35 = 43 867 | 854 | 835 | 080 000871 260 56
S3HI00L4D Aluminium | 300 4,00 1457 1.3/6.5 19,66 86 - 33 - 40 877 | 861 | 844 | 078 0.01059 298 58
S3HI2M4D Aluminium | 4,00 5,50 1765 93/52 2620 = 88 = 37 46 886 | 873 | 864 | 078 001383 353 54
S3HI3254B Aluminium | 5,50 750 1473 1.2/6,5 3550 - 87 - 29 39 896 | 873 | 850 | 08I 0.03560 520 60
S3HI32M4D Aluminium | 7.50 10,00 1474 152/88 4853 = 80 = 23 36 904 | 900 | 887 | 08I 0,04030 636 63
S3HIBOL4A Aluminium | 11,00 15,00 1475 220/127 7130 - 73 - 27 3l 914 | 916 | 807 | 079 0.05940 900 63
S3HIBOL4B Aluminium | 1500 | 20,00 1480 317/183 96.90 = 79 ° 30 36 921 | 914 | 896 | 074 0,09005 100.0 62
S3HIBOM4B Aluminium | 1850 | 2500 1485 350/202 118,90 - 92 - 30 36 926 | 918 | 903 | 084 018660 1420 68
S3HIBOL4B Aluminium | 22,00 | 3000 1487 424/245 14110 = 95 = 31 38 930 | 926 | 95 | 082 018660 1574 68
S3H200L4D Aluminium | 30,00 | 4000 1484 572/33] 19415 - 75 - 21 33 936 | 938 | 936 | 083 022166 176.2 68
S3H22554B Aluminium | 3700 | 5000 1481 598/346 | 23860 = 88 = 21 37 939 | 941 | 934 | 091 0.36400 1900 71
S3H225M4C | Aluminium | 4500 | 60,00 1485 851/492 29190 - 74 - 26 38 942 | 938 | 931 | 083 043500 | 2364 71
S3EP250M4E Cast Iron | 5500 | 7500 1492 | 104.7/605 | 35310 = 82 = 30 35 946 | 938 | 915 | 08I 090800 | 4940 72
S4HP280M4C | Cost lron | 400 | 7500 1492 | 1279/739 | 48050 - 59 - 17 43 960 | 958 | 951 | 089 172100 6940 70
S4HP280M4D | Cost lron | 400 | 90.00 1492 1531/885 | 576.60 = 79 ° 24 34 961 | 960 | 952 | 088 184140 6940 70
S4HP3I5S4C Cast Iron | 4,00 | 1000 1494 1918/108 | 70420 - 85 - 35 6.6 963 | 955 | 957 | 087 342000 9710 83
S4HP315SM4B Cast Iron | 4,00 | 13200 1491 | 2294/1326 | 84530 = 87 = 33 855 964 | 959 | 950 | 086 385000 | 1016.0 83
S4HP3ISL4A Cost Iron | 400 | 16000 | 1492 | 2805/1621 | 96410 - 95 - 48 565 966 | 958 | 952 | 086 466000 | 1156.0 83
S4HP3ISL4C Cost Iron | 400 | 20000 | 1488 | 3320/1917 | 128180 = 74 = 36 4.25 967 | 964 | 963 | 089 466000 | 1167.0 83

* According to IEC 60034-2-1
** The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA
**+ pogording to EN 12101-3 O ﬂ

WAT | IM en 24.0
N L]



|E3-IE4 SMOKE EXTRACTION MOTORS

F300 SERIES ELECTRICAL CHARACTERISTICS @ 60 Hz

2 pole 3600 rpm

S3H80M2C40-KG | Aluminium | 075 | 3498 27/155 205 800 - 37 - 42 IE3-770 | 759 | 723 | 083 000140 105 57
S3H80M2D40-KG | Aluminium | 110 3505 36/21 300 8.80 = 38 = 43 IE3-840 | 815 | 776 | 083 000170 130 57
S3H90L2C40-KG Aluminium | 150 3532 4.4/27 4,07 9.20 - 29 - 45 | IE3-855| 875 | 855 | 086 000249 170 62
S3H90L2D40-KG Aluminium | 220 | 3536 74/43 595 788 = 25 = 405 |IE3-865 | 856 | 836 | 080 000283 78 62
S3HI00L2D40-KG | Aluminium | 3,00 3536 85/50 810 910 - 32 - 38 IE3-885| 876 | 862 | 092 0.00536 258 63
S3HI12M2C40-KG Aluminium | 4,00 3517 67/39 10.90 = 910 = 3l 40 IE3-885| 881 | 869 | 092 0.00604 295 67
S3HI3252C40-KG | Aluminium | 5,50 3532 96/55 14,90 B 810 - 30 4.2 IE3-895| 898 | 890 | 086 002792 500 69
S3HI32S2D40-KG | Aluminium | 7.50 3536 127/73 2030 = 910 = 31 46 | IE3-902 | 898 | 890 | 086 003091 542 69
S3HIBOM2C40-KG | Aluminium | 1,00 3572 | 182/105 2940 - 10.80 - 3l 50 IE3-910 | 915 | 895 | 085 003517 81.2 70
S3HIBOM2D40-KG | Aluminium | 1500 | 3568 134/77 4020 = 1050 = 32 47 IE3-910 | 902 | 877 | 086 004322 874 70
S3HI60L2C40-KG | Aluminium | 1850 | 3573 331/191 4950 - 1070 - 34 53 IE3-917 | 915 | 895 | 082 004809 936 70
S3HIBOM2A40-KG | Aluminium | 2200 | 3572 | 347/201 | 5886 = 940 = 28 399 | IE3-917 | 919 | 910 | 09 009460 15,0 77
S3H200L2C40-KG | Aluminium | 3000 | 3572 | 459/265 | 8022 - 990 - 29 69 |IE3-924| 919 | 907 | 090 010277 1506 78
S3H200L2D40-KG | Aluminium | 3700 | 3571 | 549/31.7 | 9900 = 950 27 40 |IE3-930| 930 | 924 | 093 011383 166.0 78
S3H225M2B40-KG | Aluminium | 4500 | 3579 | 67.9/392 | 12013 B 1010 - 33 55 |IE3-936| 940 | 931 | 088 023500 2130 80
S3EP250M2B40-KG | Cost Iron | 5500 | 3585 | 838/484 | 147.30 = 820 = 23 43 | IE3-936| 932 | 926 | 092 048700 | 4750 8l
S4HP280M2C40-KG | Cast Iron | 7500 | 3584 | 107.4/619 | 20050 - 730 - 28 59 |IE4-950| 945 | 932 | 093 117890 6530 82
S4HP280M2D40-KG | Cast Iron | 9000 | 3586 | 1284/742 | 23980 = 850 = 35 77 IE4-954 | 950 | 937 | 092 126380 680.0 82

***S4HP31582C40-KI | Cast Iron | 110,00 - - - - - - - - - - - - - - -
***S4HP315M2B40-KI | Cast Iron | 132,00 - - - - - - - - = - - - - - -
***S4HP3ISL2A40-KI | Cast Iron | 160,00 - - - - - - - - - - - - - - -
***S4HP315L2C40-KI | Cast Iron | 200,00 - - - - - - = - o - - - - - -

4 pole 1800 rpm

S3H80M4C40-KG | Aluminium | 0,55 1758 225/13 302 47 = 260 | - 355 IE3-811 | 780 | 768 | 070 0,00180 106 53
S3H8OM4D40-KG | Aluminium | 075 1758 30/175 413 703 - 275 | - 392 |IE3-835| 810 | 790 | 070 0,00261 7 52
S3H90L4C40-KG Aluminium | 110 1752 40/23 6.00 73 = 320 | - 380 |IE3-865 | 84l | 827 | 078 000464 179 53
S3H90L4D40-KG Aluminium | 150 1753 54/31 820 77 B 370 | - 420 |IE3-865| 861 | 832 | 072 000526 200 53

S3HI00L4C40-KG | Aluminium | 220 - - - = - a a - - - - - R - R
S3HI00L4D40-KG | Aluminium | 3,00 - - - - - - - - - - - - R - R

S3HN2M4D40-KG | Aluminium | 4,00 1765 82/47 2170 - 85 - 35 | 450 |IE3-895| 886 | 878 | 079 001383 353 54
S3HI3254B40-KG Aluminium | 5,50 - - - - - - - - - - - - - - -

S3HI32M4D40-KG | Aluminium | 750 1775 134/77 4035 - 75 - 21 350 | IE3-917 | 911 | 899 | 080 004030 636 63
S3HIBOL4A40-KG | Aluminium | 11,00 1777 19.3/1.2 59,00 - 72 - 25 | 290 |IE3-924| 920 | 898 | 081 005940 900 63
S3HIBOL4B40-KG | Aluminium | 15,00 1782 | 278/160 | 8040 - 76 - 29 | 350 |IE3-930| 921 | 915 | 074 009005 | 1000 62
S3HIBOM4B40-KG | Aluminium | 18,50 1786 | 305/176 | 9890 - 78 - 20 | 356 |IE3-936| 921 | 905 | 084 018660 1420 68
S3HIBOL4B40-KG | Aluminium | 2200 | 1786 | 37.3/215 17.50 - 93 - 29 | 369 |IE3-936| 932 | 921 | 080 018660 1574 68
S3H200L4D40-KG | Aluminium | 30,00 | 1786 | 497/287 | 16050 - 73 - 20 | 320 |IE3-941| 935 | 926 | 082 022166 176.2 68

S3H22554B40-KG | Aluminium | 37,00 - - - - a - - o - - - - - - _
S3H225M4C40-KG | Aluminium | 45,00 - - - - - - - - - - - - - - -

S3HP250M4E40-KG | Cast lron | 5500 | 1793 | 905/523 | 29380 = 79 = 28 340 |IE3-954 | 948 | 913 | 080 090800 | 4940 72
S4HP280M4C40-KG | Cast Iron | 7500 | 1793 |1088/629 | 40090 - 71 - 21 33 IE4-962 | 960 | 953 | 090 172100 6940 73

S4HP280M4D40-KG | Cost lron | 9000 | 1794 | 146.4/846 | 48070 - 75 - 27 45 | IE4-962| 961 | 953 | 08I 184140 6940 73
***S4HP315S4C40-KI | Cast Iron | 110,00 - - - - - - - - - R -

***S4HP3ISM4BA0-KI | Cast Iron | 132,00 - - - - - - o - - - - - - - -
***S4HP3IISL4A40-KI | Cast Iron | 160,00 - - - - - - - - - - - - - - _
***S4HP3I5L4C40-KI | Cast Iron | 200,00 - o - = = = = - - - - - - - -

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA
*** Please contact us for your requests O

WAT | IM en 24.0
N S



DOUBLE SPEED THREE PHASE
SMOKE EXTRACTION MOTORS

DAHLANDER F300 SERIES 2-4 POLE ELECTRICAL CHARACTERISTICS @ 50 Hz

@2 pole 3000 rpm

S2HBOM2-4A | Aluminium | 080 | 107 | 2848 190 269 46 | - | 20| - 24 | 7450 | - - | 083 | 000205 | 92 56
S2H8OM2-4B | Aluminum | 110 | 147 | 2865 230 367 50 | - | 20| - 23 | 7960 | - - | 087 | 000205 | 107 | 54
S2H90S2-4B | Aluminium | 150 | 200 | 2860 330 504 57 | - | 23| - 27 | 7500 | - - | 088 | 000267 | 158 | 54
S2H90L2-4C | Aluminium | 220 | 293 | 2835 453 7.39 51 | - | 18| - 22 | 7850 | - - | 092 | 000205 | B85 | 55
S2HI00L2-4B | Aluminum | 250 | 333 | 2910 520 816 84 | - | 31| - 37 |8380 | - - | oss | ooos2t | 260 | 70
S2HI00L2-4D | Aluminium | 310 | 413 | 2913 625 020 | 82 | - | 28| - 33 | 8250 | - - | 090 | 000694 | 300 | 60
SoHI2M2-4D | Auminum | 440 | 587 | 2925 905 w34 | 90 | - | 32| - 39 |8620 | - - | o085 | 001383 | 36 | 71
S2HI3252-4B | Aluminium | 600 | 800 | 2963 | 1540 930 | 85 | - | 83| - 49 | 8550 | - - | 070 | 003560 | 624 | 73
S2HI32M2-4D | Auminum | 800 | 1067 | 2927 | 1630 %10 | 87 | - | 21| - 31 | 8780 | - - | 0ss | 003842 | 626 | 73
S2HIBOM2-4B | Aluminum | 1200 | 1600 | 2974 | 2690 | 3860 | 97 | - | 35 | - 51 | 8970 | - - | 075 | 00357 | 1000 | @l
SoHIBOL2-4B | Aluminium | 1600 | 2133 | 2963 | 3010 576 | 79 | - | 24 | - 35 |8890 | - - | 087 | 005940 | 1080 | 62
S2HIB0L2-4B | Aluminium | 2500 | 3333 | 2975 | 4500 | 8030 | W | - | 22 | - 55 | 940 | - - | oss | omss | w20 | 70
S2HIBOL2-4C | Aluminium | 2000 | 2667 | 2957 | 3280 | 6460 | 72 | - | 20 | - 32 | 940 | - - | 096 | omess | @3 | 70
S2H200L2-4B | Aluminium | 3300 | 4400 | 2973 | 6630 | 10600 | 97 | - | 21 | - 53 | 940 | - - | oso | oiss98 | w90 | 70
S2H225M2-4C | Aluminium | 3700 | 4933 | 2979 | 8980 | 1940 | 86 | - | 29 | - 38 | 9300 | - - | 070 | 038420 | 2340 | 7
S2H225M2-4D | Auminium | 4600 | 6133 | 2973 | 9140 4700 | 82 | - | 23 | - 54 | 9310 | - - | 088 | 043500 | 2500 | 69

S2EP250M2-4C | Castlron | 5500 | 7333 | 2978 | 9200 | 17840 | 95 | - | 20 | - 40 | 9330 | - - | 091 | 036400 | 5060 | 72

S2EP280M2-4B | Caston | 7500 | 10000 | 2983 | 13980 | 24030 | 79 | - | 24 | - 33 | 9380 - - | 089 | 14800 |6090 | 76

@4 pole 1500 rpm
S2HBOM2-4A | Aluminum | 020 | 027 | 1437 049 133 - |as| - 17| 25 | 740 | - - | 082 | 000205 | 92 46
S2H8OM2-4B | Aluminium | 025 | 033 | 1483 120 161 - 75| - | 54| 79 |ess0| - - | 044 | 000205 | 107 | 54
S2H90S2-4B | Aluminium | 037 | 049 | 1480 152 238 - |94| - | 58| 85 | 7150 | - - | 049 | 000267 | 158 | 57
S2H90L2-4C | Aluminum | 050 | 067 | 1475 179 323 - |e5| - |s7| 75 |7500| - - | 054 | 000205 | 1B5 | 58
S2HI00L2-4B | Aluminum | 065 | 087 | 1452 140 427 - |oea| - |24| 31 |7800] - - | oss | 000521 | 260 | 58
S2HI00L2-4D | Aluminium | 080 | 107 | 1448 167 526 - |ea| - | 21| 29 |7900] - - | 087 | oooe9s | 300 | 57
SeHii2M2-4D | Auminium | 10 | 147 | 1455 223 720 - 74| - | 23| 33 |80 | - - | 085 | 001383 | 366 | 60
S2HIZ2S2-4B | Aluminium | 150 | 200 | 1482 310 966 - e9| - | 27| 46 |s00] - - | 080 | 003560 | 624 | 63
S2HI32M2-4D | Aluminium | 200 | 267 | 1468 420 1310 - 60| - |20| 28 |80 - - | 088 | 003842 | 626 | 63
S2HIBOM2-4B | Aluminium | 300 | 400 | 1485 6.25 19.30 - |88| - |382| 43 |ss50| - - | o78 | 00357 | 1000 | 56
SoHIBOL2-4B | Aluminium | 400 | 533 | 1479 770 2560 - |66| - | 22| 29 |ss50| - - | 084 | 005940 | 1080 | 58
S2HIB0L2-4B | Aluminum | 630 | 840 | 1485 1200 4050 - |e4| - | 24| 47 |s850| - - | oss | omes | w20 | 73
S2HIBOL2-4C | Aluminium | 500 | 667 | 1479 900 3230 - |60| - | 14| 28 |ss30| - - | o9 | omess | @3 | 73
S2H200L2-4B | Aluminum | 850 | 1133 | 1484 1560 5470 - 89| - | 22| 43 |90 | - - | oss | oisse8 | w90 | 73
S2H225M2-4C | Aluminum | 900 | 1200 | 1489 1770 58,00 - |oe8| - | 30| 50 |9040| - - | 088 | 036420 | 2340 | &7
S2H225M2-4D | Aluminum | 1200 | 1600 | 485 | 2240 7790 - 75| - | 22| 387 |90 | - - | 089 | 043500 | 2500 | &7

S2EP250M2-4C | Castlron | 1500 | 2000 | 1488 | 2600 | 9630 - 90| - | 24| 40 |900]| - - | 091 | 036400 | 5060 | 75

S2EP280M2-4B | Cost lon | 2000 | 2667 | 1492 3910 | 12920 - 89| - | 20| 23 |99 - - | 087 | 14800 | 6090 | 68

* According to IEC 60034-2-1

**The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA O

WAT | IM en 24.0
N S



DOUBLE SPEED THREE PHASE
SMOKE EXTRACTION MOTORS

DAHLANDER F300 SERIES 4-8 POLE ELECTRICAL CHARACTERISTICS @ 50 Hz

@4 pole 1500 rpm

S2H80M4-8C | Aluminium | 060 080 1430 210 390 49 - 24 - 6.7 7070 - - 059 0,00205 86 54
S2H80M4-8D | Aluminium | 0.80 107 1432 180 530 6.4 = 25 = &3 7820 = = 083 000216 102 54
S2H90S4-8B | Aluminium 120 160 1430 270 803 56 - 21 - 27 85,50 - - 082 0,00205 174 55
S2H90L4-8C | Aluminium | 160 213 1427 345 1067 55 - | 20 - 25 8280 | - - 085 000267 195 54
S2HI00L4-8B | Aluminium | 2,00 267 1465 525 13.07 75 - 32 - 42 8360 - - 070 0.00521 256 46
S2HI00L4-8C | Aluminium | 280 373 1438 560 18.60 6.2 = 20 = 26 84.30 = = 087 000694 290 46
S2HI2M4-8B | Aluminium | 3,80 507 1458 7.80 24,90 75 - 23 - 32 84,50 - - 082 001085 330 60
S2H13284-8B | Aluminium | 5,00 6,67 1476 1020 32,50 82 = 21 = 36 85,90 = = 083 014136 604 59
S2HI32M4-8C | Aluminium | 7.20 960 1479 14,70 46,40 92 - 21 - 42 88,70 - - 081 0,03560 66.4 63
S2HIBOM4-8B | Aluminium | 1100 14,67 1476 22,50 7120 6.4 ° 23 ° 29 89,80 = = 080 003517 766 64
S2HI60L4-8A | Aluminium | 14,00 1867 1475 2810 90,72 54 - 18 - 23 90,50 - - 081 0,09940 840 63
S2HI80M4-8B | Aluminium | 17,00 2267 1484 3320 109,54 78 = 19 = 32 91,00 = = 083 018660 1210 70
S2H180L4-8A | Aluminium | 20,00 | 2667 1484 39,00 128,90 6.7 - 20 - 27 9140 - - 083 018598 1275 70
S2H200L4-8B | Aluminium | 2800 | 37.33 1487 5710 18120 87 = 27 = 40 9230 = = 080 018660 1916 70
S2H200L4-8D | Aluminium | 30,00 | 40,00 1489 7100 19310 92 - 3l - 43 9230 - - 075 036420 180,6 70
S2H225S4-8A | Aluminium | 37,00 | 4933 1483 72,60 236,60 71 = 22 = 32 90.20 = = 081 036421 2010 71
S2H225M4-8B | Cast Iron | 44,00 | 5867 1483 8580 282,40 74 - 22 - 33 9310 - - 081 036421 2186 71
S2EP250L4-8D | Cast ron | 5500 | 7333 1488 92,50 352,90 102 - 33 - 45 9360 | - - 092 | 043500 | 2782 72
@8 pole 750 rpm
S2H80M4-8C | Aluminium 015 020 728 100 196 = 26 = 22 6.0 4840 = = 048 0,00205 86 58
S2H80M4-8D | Aluminium | 020 027
S2H90S4-8B | Aluminium | 0.30 040 705 120 404 = 27 = 15 20 50,60 = = 059 0,00205 174 58
S2H90L4-8C | Aluminium | 040 053 693 140 550 - 28 - 15 20 5720 - - 085 000267 195 57
S2HI00L4-8B | Aluminium | 0.50 067 723 250 660 - 30 - 24 30 6170 - - 050 000521 256 54
S2H100L4-8C | Aluminium | 0,70 093 707 210 940 - 32 - 15 20 70,00 - - 0867 000694 290 54
S2HII2M4-8B | Aluminium | 100 133 718 310 13.30 = 39 = 15 23 7080 = = 061 001085 330 G5)
S2H13254-8B | Aluminium 130 173 739 4]0 16.80 - 42 - 15 26 7520 - - 058 014136 60.4 62
S2H132M4-8C | Aluminium | 180 240 737 5,70 2320 = 50 = 16 32 74,00 = = 055 0,03560 664 58
S2HIBOM4-8B | Aluminium | 3,00 4,00 732 910 3925 - 33 - 17 20 80,00 - - 058 0,03517 766 52
S2HI60L4-8A | Aluminium | 350 467 734 1040 4556 - 36| - 18 21 8000 | - - 058 | 009940 840 66
S2HI80M4-8B | Aluminium | 430 573 739 1215 5542 - 44 - 15 23 8190 - - 060 018660 1210 66
S2H180L4-8A | Aluminium | 5,00 6,67 731 13.30 65,60 = 3l = 14 18 8140 = = 085 018598 1275 67
S2H200L4-8B | Aluminium | 6,50 867 737 17.40 84,05 - 44 - 16 23 8530 - - 062 018660 1916 73
S2H200L4-8D | Aluminium | 800 1067 738 2180 103,60 = 40 = 15 21 85.30 = = 062 036420 180.6 73
S2H225S4-8A | Aluminium | 920 1227 739 2320 19,40 - 49 - 18 26 86.10 - - 067 036421 2010 74
S2H225M4-8B | Cast Iron 1,00 14,67 740 2720 14300 = 46 = 20 23 86.90 = = 066 036421 2186 74
S2EP250L4-8D | Cast Iron | 14,70 19.60 740 3190 193,50 - 72 - 26 30 90,60 - - 075 043500 2782 75

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA
*** Please contact us for your requests. O

WAT | IM en 24.0
NS L/



THREE PHASE SMOKE EXTRACTION MOTORS

F300 SERIES DIMENSIONS

KESIT A-A
OLCEK 25

075 S3H80M2C Aluminium | 17250 | 26300 [ M20 100 125 | 80 | 212 [ 10,00 | 5000 |19 | 40 [215| 6 |6204 ZZ C4|6204 ZZ C4| 20*30*7 -
110 S3H80M2D Aluminium | 17250 | 26300 | M20 100 125 | 80 | 212 [ 1000 | 5000 |19 | 40 [215| 6 |6204 ZZ C4|6204 ZZ C4| 20*30*7 -
150 S3H90L2C Aluminium | 188,00 | 30800 | M25 100 140 | 90 | 238 [ 10,00 | 5600 [24| 50 | 27 | 8 |6305 ZZ C4|6205 ZZ C4| 25*40*7 -
220 S3H90L2D Aluminium | 188,00 | 30800 | M25 100 140 | 90 | 238 [ 1000 | 56,00 (24| 50 | 27 | 8 |6305 ZZ C4|6205 ZZ C4| 25*40*7 -
300 S3H100L2D Aluminium | 196,00 | 34800 | M25 140 160 | 100 | 257 [ 1200 | 6300 (28| 60 | 31 | 8 6306 ZZ C4|6205 ZZ C4| 30*47*7 -
400 S3HI2M2C Aluminium | 22500 | 35500 | M25 140 190 | m12 | 277 [ 1200 | 7000 (28| 60 | 31 | 8 |6306 ZZ C4|6206 ZZ C4| 30*47*7 -
550 S3HI3252C Aluminium | 26000 | 43000 | M32 140 216 | 132323 (1200 | 8900 (38| 80 | 41 | 10 [6208 ZZ C4|6208 ZZ C4| 40*62*10 -
750 S3HI3252D Aluminium | 26000 | 43000 | M32 140 216 | 132323 (1200 | 8900 (38| 80 | 41 | 10 [6208 ZZ C4|6208 ZZ C4| 40*62*10 -
1,00 S3HIBOM2C Aluminium | 314,00 |53850 | M32 210 254 (160 | 374 | 1450 | 108,00 |42 | 10 | 45 | 12 |6309 ZZ C4 (6209 ZZ C4| 45*72*10 -
15.00 S3HIBOM2D Aluminium | 31400 |53850 | M32 210 254 (160 | 374 | 1450 | 108,00 |42 | M0 | 45 | 12 |6309 ZZ C4 (6209 ZZ C4| 45*72*10 -
18.50 S3HI60L2C Aluminium | 31400 |53850 | M32 210 254 (160 | 374 | 1450 | 108,00 |42 | 10 | 45 | 12 |6309 ZZ C4 (6209 ZZ C4| 45*72*10 -
22,00 S3HIBOM2A Aluminium | 346,00 |63200 | M40 241 279 | 180 | 430 [ 1450 | 12100 [48| N0 |515| 14 | 6310 ZZ C4 | 6310 ZZ C4 | 50*80*10 -
30,00 S3H200L2C | Aluminium | 388,00 |69200 | M40 267 318 | 200 450 [ 1850 | 13300 55| 10 | 59 | 16 | 6310 ZZ C4 | 6312 ZZ C4 | 50*80*10 -
3700 S3H200L2D Aluminium | 38800 |69200 | M40 267 318 |200| 450 [ 1850 | 13300 55| 10 | 59 | 16 | 6310 ZZ C4 | 6312 ZZ C4 | 50*80*10 -
45,00 S3H225M2B | Aluminium | 44200 | 665,00 | M40 286 356 (225|500 | 1850 | 14900 |55| 10 | 59 | 16 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 -
55,00 S3EP250M2B | Aluminium | 522,00 | 79500 | M5S0 3l 406 |250| 578 |24.00| 16800 |60 | 140 | 64 | 18 | 6316 Z C4 | 6316 Z C4 | 80*100*10 -
75,00 S3H280M2C | Aluminium | 55000 | 92900 [ M50 368 457 |280| 612 |24,00| 190,00 | 65| 140 | 69 | 18 | 6316 Z C4 | 6316 Z C4 | 80*100*10 -
90,00 S3EP280M2D | Aluminium | 55000 |92900 | M50 368 457 | 280 612 |2400| 190,00 |65| 140 | 69 | 18 | 6316 Z C4 | 6316 Z C4 | 80*100*10 -
055 S3HB8OM4C Aluminium | 17250 | 26300 | M20 100 125 | 80 | 212 [ 10,00 | 5000 |19 | 40 [215| 6 |6204 ZZ C4|6204 ZZ C4| 20*30*7 -
075 S3H80M4D Aluminium | 158,00 | 26300 | M20 100 125 | 80 | 216 {1000 | 5000 |19 | 40 [215| 6 |6204 ZZ C4|6204 ZZ C4| 20*30*7 -
110 S3HI0L4C Aluminium | 188,00 | 30800 | M25 100 140 | 90 | 238 [ 10,00 | 5600 [24| 50 | 27 | 8 |6305 ZZ C4|6205 ZZ C4| 25*40*7 -
150 S3HI0L4D Aluminium | 188,00 | 346,00 | M25 100 140 | 90 [ 238 [ 10,00 | 5600 [24| 50 | 27 | 8 |6305 ZZ C4|6205 ZZ C4| 25*40*7 -
220 S3H100L4C Aluminium | 196,00 | 34800 | M25 140 160 | 100 | 257 [ 1200 | 6300 (28| 60 | 31 | 8 [6205 ZZ C4|6306 ZZ C4| 30*47*7 -
300 S3HI00L4D Aluminium | 196,00 | 34800 | M25 140 160 | 100 | 257 [ 1200 | 6300 (28| 60 | 31 | 8 [6205 ZZ C4|6306 ZZ C4| 30*47*7 -
4,00 S3HI2M4D Aluminium | 22500 | 38100 | M25 140 190 | M2 | 277 [ 1200 | 7000 (28| 60 | 31 | 8 [6206 ZZ C4|6306 ZZ C4| 30*47*7 -
550 S3H132S4B Aluminium | 26000 | 43000 | M32 140 216 | 132323 (1200 | 8900 (38| 80 | 41 | 10 [6208 ZZ C4|6208 ZZ C4| 40*62*10 -
750 S3HI32M4D Aluminium | 26000 | 49000 | M32 | 140-178 | 216 | 132 | 312 | 1200 | 8900 |38 | 80 | 4l | 10 [6208 ZZ C4|6208 ZZ C4| 40*62*10 -
11,00 S3HIGOL4A Aluminium | 31400 |53850 | M32 210 254 (160 | 374 | 1450 | 10800 |42 | M0 | 45 | 12 |6309 ZZ C4 (6208 ZZ C4| 45*72*10 -
O ) O
WAT | IM en 240

N S



THREE PHASE SMOKE EXTRACTION MOTORS

15,00 4 S3HIBOL4B | Aluminium | 314,00 | 53850 1450 | 108,00 6309 ZZ C4 (6209 ZZ C4| 45*72*10
18.50 4 S3HIBOM4B | Aluminium | 34600 |63200 | M40 241 | 279 180 | 430 | 1450 | 12100 | 48| N0 |515| 14 | 6310 ZZ C4 | 6310 ZZ C4 | 50*80*10 -
22,00 4 S3HIBOL4B | Aluminium | 346,00 |68200 | M40 241 | 279|180 | 430 | 1450 | 12100 (48| N0 |515| 14 | 6310 ZZ C4 6310 ZZ C4 | 50*80*10 =
3000 4 S3H200L4D | Aluminium | 38800 | 692,00 | M40 267 | 318 [200| 450 1850 | 13300 (55| 10 | 59 | 16 | 6310 ZZ C4 6312 ZZ C4 | 50*80*10 -
3700 4 S3H225S84B | Aluminium | 44200 | 69500 | M40 286 | 356 (225|500 | 1850 | 14900 (60| 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 =
4500 4 S3H225M4C | Aluminium | 44200 | 69500 | M40 286 | 356 (225|500 | 1850 | 14900 (60| 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 -
55,00 4 S3EP250M4E | Aluminium | 522,00 | 79500 | M5S0 3l 406 {250 | 578 |24,00| 16800 (65| 140 | 69 | 18 | 6316 Z C4 | 6316 Z C4 |80*100*10 =
7500 4 S3EP280M4D | Aluminium | 55000 | 929,00 | MSO 368 | 457 [280| 612 |24,00| 19000 |75 140 [795| 20 | 6316 Z C4 | 6316 Z C4 |80*100*10 -
020-080 | 2-4 | S2HBOM2-4A | Aluminium | 17300 | 23800 | M20 100 125 | 80 | 213 | 1000 | 5000 |19 | 40 |215 6204 77 C4 (6204 ZZ C4| 20*30*7 -

»
o~

0.25-110 S2H8OM2-4B | Aluminium | 17300 | 26300 | M20 100 125 | 80 | 213 [ 1000 | 5000 |19 | 40 |215 6204 77 C4 (6204 ZZ C4| 20*30*7 -

037-150 | 2-4 | S2H90S2-4B | Aluminium | 189,00 | 30800 | M25 100 140 | 90 (238 [ 1000 | 5600 (24| SO | 27 6305 ZZ C4 (6205 ZZ C4| 25%40*7 =
065-250 | 2-4 | S2HI00L2-4B | Aluminium | 206,00 |348,00 | M25 140 160 | 100 | 257 [ 1200 | 6300 (28| 60 | 3I 6306 ZZ C4 (6205 ZZ C4| 30*47*7 =

080-310 | 2-4 | S2HI00L2-4D | Aluminium | 206,00 | 348,00 | M25 140 160 | 100 | 257 [ 1200 | 6300 (28| 60 | 3l

6
6
8

050-220 | 2-4 | S2H90L2-4C | Aluminium | 18900 30800 | M25 100 140 | 91 | 238 (1000 | 5600 |24| 50 | 27 | 8 |6305 ZZ C4|6205 ZZ C4| 25*40*7 -
8
8 | 6306 ZZ C4|6205 ZZ C4| 30*47*7 -
8

110-440 | 2-4 | S2HN2M2-4D | Aluminium | 22800 | 38000 | M25 140 190 | M2 | 277 [ 1200 | 7000 (28| 60 | 3I 6306 ZZ C4|6205 ZZ C4| 30*47*7 =
150-600 | 2-4 | S2HI32S82-4B | Aluminium | 29100 | 49000 | M32 140 216 | 132 | 323 [ 1200 | 8900 38| 80 | 41 | 10 |6208 ZZ C4|6208 ZZ C4| 40*62*10 -
200-800 | 2-4 | S2HI32M2-4D | Aluminium | 29100 | 49000 | M32 140 216 | 132|323 |1200 | 8900 |38| 80 | 41 | 10 (6208 ZZ C4 (6208 ZZ C4| 40*62*10 =
300-1200 | 2-4 | S2HIBOM2-4B | Aluminium | 34500 |[53800 | M32 210 | 254|160 | 374 | 1450 | 10800 |42| N0 | 45 | 12 |6309 ZZ C4|6209 ZZ C4| 45*72*10 -
4,00-16.00 | 2-4 | S2HIBOL2-4B | Aluminium | 34500 | 56800 | M32 210 | 254|160 | 374 | 1450 | 10800 (42| N0 | 45| 12 |6309 ZZ C4 (6209 ZZ C4| 45*72*10 =
6.30-2500 | 2-4 | S2HIBOL2-4B | Aluminium | 346,00 | 68300 | M40 241 | 279 180 | 430 | 1500 | 12150 (48| 10 |515| 14 | 6310 ZZ C4 [6310 ZZ C4 | 50*80*10 -
500-2000 | 2-4 | S2HIB0OL2-4C | Aluminium | 346,00 | 68300 | M40 241 | 279 | 180 | 430 | 1500 | 12150 | 48| N0 |515| 14 | 6310 ZZ C4 | 6310 ZZ C4 | 50*80*10 =
850-3300 | 2-4 | S2H200L2-4B | Aluminium | 346,00 |692.00 | M40 267 | 318 [200| 450 | 1850 | 13300 |55| 10 | 59 | 16 | 6312 ZZ C4 | 6310 ZZ C4 | 60*90*10 -
900-3700 | 2-4 | S2H225M2-4C | Aluminium | 442,00 | 69500 | M40 286 | 356 (225|500 | 1850 | 149,00 [60| 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 =

1200-46,00 | 2-4 | S2H225M2-4D | Aluminium | 442,00 |69500 | M40 286 | 356 | 225|500 | 1850 | 149,00 (60| 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 -

1500-55,00 | 2-4 | S2EP250M2-4C | Cost Iron | 52200 | 79500 | M5S0 3l 406 | 250 | 578 [24,00 | 16800 | 65| 140 | 69 | 18 | 6316 C4 6316 C4 |90*130*10 =

2000-7500| 2-4 | S2EP280M2-4B | Cast Iron | 55000 |92900 | M5S0 368 | 457 |280| 612 {2400 19000 | 75| 140 {795| 20 | 6316 C4 6316 C4 | 90*130*10 N
0]5-060 | 4-8 | S2H80M4-8C | Aluminium | 17300 |26300 | M20 100 125 | 80 | 213 | 1000 | 5000 |19 | 40 |215| 6 (6204 ZZ C4 (6204 ZZ C4| 20*30*7 =

020-080 | 4-8 | S2H8OM4-8D | Aluminium | 17300 |26300 | M20 100 125 | 80 | 213 [ 1000 | 5000 |19 | 40 [215| 6 |6204 ZZ C4|6204 ZZ C4| 20*30*7 -

030-120 | 4-8 | S2H90S4-8B | Aluminium | 189,00 |30800 | M25 100 140 | 90 | 238 (1000 | 5600 24| S0 | 27 | 8 |6305 ZZ C4 (6205 ZZ C4| 25*40*7 -

040-160 | 4-8 | S2H90L4-8C | Aluminium | 189,00 | 346,00 | M25 100 140 | 90 | 238 | 1000 | 5600 |24 50 | 27 | 8 (6305 ZZ C4 (6205 ZZ C4| 25*40*7 -

050-200 | 4-8 | S2HIOOL4-8B | Aluminium | 206,00 | 34800 | M25 140 160 | 100 | 257 (1200 | 6300 (28| 60 | 31 | 8 |6306 ZZ C4[6205 ZZ C4| 30*47*7 =

070-280 | 4-8 | S2HI00L4-8C | Aluminium | 206,00 |34800 | M25 140 160 | 100 | 257 | 1200 | 6300 28| 60 | 31 | 8 |6306 ZZ C4[6205 ZZ C4| 30*47*7 -

100-380 | 4-8 | S2HN2M4-8B | Aluminium | 22800 |380,00 | M25 140 190 | 12 | 277 | 1200 | 7000 |28| 60 | 31 | 8 (6306 ZZ C4|6205 ZZ C4| 30*47*7 =
130-500 | 4-8 | S2HI32S4-8B | Aluminium | 29100 | 49000 | M32 140 216 | 132|323 | 1200 | 8900 |38| 80 | 41 | 10 (6208 ZZ C4 (6208 ZZ C4| 40*62*10 -
180-720 | 4-8 | S2HI32M4-8C | Aluminium | 29100 | 490,00 | M32 140 216 | 132 | 323 [ 1200 | 8900 (38| 80 | 41 | 10 |6208 ZZ C4 |6208 ZZ C4| 40*62*10 =
300-100 | 4-8 | S2HIBOM4-8B | Aluminium | 34500 |53800 | M32 210 | 254|160 | 374 |1450 | 10800 (42| N0 | 45| 12 |6309 ZZ C4 (6209 ZZ C4| 45*72*10 N
350-1400 | 4-8 | S2HIBOL4-8A | Aluminium | 34500 |53600 | M32 210 | 254 (160 | 374 | 1450 | 10800 |42| N0 | 45 | 12 (6309 ZZ C4|6209 ZZ C4| 45*72*10 =
430-1700 | 4-8 | S2HIBOM4-8B | Aluminium | 346,00 |63200 | M40 241 | 279 180 | 430 | 1500 | 12150 | 48| N0 |515| 14 | 6310 ZZ C4 | 6310 ZZ C4 | 50*80*10 -

5.00-2000 | 4-8 | S2HIB0L4-8A | Aluminium | 346,00 | 63200 | M40 241 | 279|180 | 430 | 1500 | 12150 (48| N0 |515| 14 | 6310 ZZ C4 6310 ZZ C4 | 50*80*10 =

6.50-2800 | 4-8 | S2H200L4-8B | Aluminium | 346,00 | 69200 | M40 267 | 318 [200| 450 (1850 | 13300 (55| N0 | 59 | 16 | 6312 ZZ C4 6310 ZZ C4 | 60*90*10 -

800-3000 | 4-8 | S2H200L4-8D | Aluminium | 346,00 |692.00 | M40 267 | 318 |200| 450 | 1850 | 13300 |55| N0 | 59 | 16 | 6312 ZZ C4 | 6310 ZZ C4 | 60*90*10 =

920-3700 | 4-8 | S2H225S4-8A | Aluminium | 44200 |69500 | M40 286 | 356 |225|500 | 1850 | 149,00 (60| 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 N

100-44,00 | 4-8 | S2H225M4-8B | Cost Iron | 44200 | 69500 | M40 286 | 356 225|500 | 1850 | 149,00 [ 60| 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 =

1470-5500 | 4-8 | S2EP250L4-8D | Cost Iron | 522,00 | 79500 | MSO 3l 406 {250 | 578 |24,00| 16800 (65| 140 | 69 | 18 | 6316 C4 6316 C4 | 90*130*10 -

WAT | IM en 24.0



THREE PHASE SMOKE EXTRACTION MOTORS

F300 PAD MOUNT SERIES DIMENSIONS

SECTION A-A

D
O o
——
4;\ - )
E: i e g
<I - —
' —
£ = iRy !
£ [ B
075 2 | S2HPM8OM2B40-KG | Aluminium 9500
110 2 | S2HPMBOM2C40-KG | Aluminium | 154 | 263 210 M20 85 | 105 |9500
150 2 | S2HPM90S2B40-KG | Aluminium | 171 | 308 234 | M25 100 115 {100,00
220 2 | S2HPM90L2C40-KG | Aluminium | 171 | 308 234 | M25 100 115 {100.00
300 2 | S2HPMIOOL2C40-KG | Aluminium | 193 | 348 252 | M25x1| 100 | 125 1050
110 4 | S2HPM90S4B40-KG | Aluminium | 171 | 308 234 | M25 100 115 |100,00
220 4 | S2HPMI00L4B40-KG | Aluminium | 193 | 348 252 | M25 100 | 125 | 10,50
150 4 | S2HPM90L4C40-KG | Aluminium | 171 | 308 234 | M25 100 1S {100.00
300 4 | S2HPMIOOL4C40-KG | Aluminium | 193 | 348 252 M25 100 125 110,50
075 4 | S2HPMBOM4B40-KG | Aluminium | 154 | 238 210 M20 85 | 105 |9500
055 4 | S2HPM8OM4C40-KG | Aluminium | 154 | 263 210 | M20 85 | 105 |9500
020/080 | 2-4 |S2HPM8OM2-4A40-KG| Aluminium | 154 | 238 210 M20 85 | 105 |9500
025/110 | 2-4 [S2HPM8OM2-4B40-KG| Aluminium | 154 | 263 210 M20 85 | 105 |9500
037/150 | 2-4 |S2HPM90S2-4B40-KG| Aluminium | 172 | 308 234 | M25 100 15 {10000
050/220 | 2-4 |S2HPM90L2-4C40-KG | Aluminium | 172 | 308 234 | M25 100 115 {100,00
065/250 | 2-4 |S2HPMIOOL2-4B40-KG| Aluminium | 193 | 348 252 | M25 100 | 125 | 1050
080/310 | 2-4 |S2HPMIOOL2-4D40-KG| Aluminium | 193 | 348 252 | M25 100 | 125 | 10,50
015/060 | 4-8 |S2HPM8OM4-8C40-KG| Aluminium | 154 | 263 210 | M20 85 | 105 |9500
020/080 | 4-8 |S2HPM8OM4-8D40-KG| Aluminium | 154 | 263 210 | M20 85 | 105 |9500
030/120 | 4-8 |S2HPM9I0S4-8B40-KG| Aluminium | 172 | 308 234 | M25 100 15 {100,00
040/160 | 4-8 |S2HPM90L4-8C40-KG | Aluminium | 172 | 346 234 | M25 100 115 {100,00
055/220 | 4-8 |S2HPMIOOL4-8B40-KG| Aluminium | 193 | 348 252 | M25 100 | 125 | 1050
070/2.80 | 4-8 |S2HPMIOOL4-8C40-KG| Aluminium | 193 | 348 252 | M25 100 | 125 | 1050

189
199
199
221
199
221
199
221
191
189
189
189
199
199
22
22
189
189
199
199
221
221

24
24
28
24
28
24

40
50
50
60
50
60
50
60
40
40
40
40
50
50
60
60
40
40
50
50
60
60

215
215
27
27
3l
27
3l
27
3l
215
215
215
215
27
27
3l
3l
215
215
27
27
31
3l

© © © © o0 o o

© © 0w w o O 0 o o0

6204 77 C4
6204 ZZ C4
6305 ZZ C4
6305 ZZ C4
6306 ZZ C4
6305 ZZ C4
6306 ZZ C4
6305 ZZ C4
6306 ZZ C4
6204 ZZ C4
6204 ZZ C4
6204 ZZ C4
6204 ZZ C4
6305 ZZ C4
6305 ZZ C4
6306 ZZ C4
6306 ZZ C4
6204 ZZ C4
6204 ZZ C4
6305 ZZ C4
6305 ZZ C4
6306 ZZ C4
6306 ZZ C4

6204 77 C4
6204 77 C4
6205 ZZ C4
6205 ZZ C4
6205 ZZ C4
6205 ZZ C4
6205 ZZ C4
6205 ZZ C4
6205 77 C4
6204 77 C4
6204 77 C4
6204 77 C4
6204 77 C4
6205 ZZ C4
6205 ZZ C4
6205 ZZ C4
6205 ZZ C4
6204 77 C4
6204 77 C4
6205 ZZ C4
6205 ZZ C4
6205 ZZ C4
6205 ZZ C4

20*30*7 -
20*30*7 -
25%40%7 -
25%40%7 -
30%47%7| -
25%40%7 -
30%47%7| -
25%40%7| -
30%47*7| -
20%30%7| -
20*30*7[ -
20%30*7| -
20*30*7| -
25%40%7 -
25%40%7 -
30%47*7| -
30%47%7 -
20*30*7 -
20*30*7 -
25%40%7 -
25%40%7 -
30%47%7 -
30%47%7 -

an

WAT | IM en 24.0
N S



|E3-IE4 THREE PHASE SMOKE
EXTRACTION MOTORS

F400 SERIES ELECTRICAL CHARACTERISTICS @ 50 Hz

2 pole 3000 rpm

S3HGBOM2C | Cast Iron | 075 100 2893 2380/160 247 860 - 38 - 420 807 | 795 | 758 | 086 | 000140 19 57
S3HGBOM2D | Cast Iron 110 150 2902 4150/2.40 362 910 = 38 = 430 827 | 802 | 764 | 085 | 000170 22 57
S3HGI0L2C Cast Iron | 150 200 2930 550/310 490 950 - 31 - 430 842 | 862 | 842 | 086 | 000249 26 62
S3HGI0L2D Cast Iron | 220 300 2928 740/430 720 10,00 = 32 = 430 859 | 850 | 830 | 086 | 000283 30 62
S3HGIOOL2D | Cost Iron | 3,00 4,00 2932 950/550 970 150 - 41 - 500 871 | 865 | 851 | 090 | 000536 39 63
S3HG2M2C Cast Iron | 4,00 5,50 2918 750/430 1310 = 10,00 - |330 410 881 | 873 | 854 | 093 | 000604 52 67
S3HG132S2C | Cast Iron | 550 750 2922 1110/6.40 18.00 - 840 - /300 440 892 | 890 | 885 | 088 | 002792 56 69
S3HGI32S2D | Cast Iron | 750 1000 | 2929 14,50/8.40 2435 = 1370 - 830 1070 901 | 890 | 885 | 088 | 00309 63 69
S3HGIBOM2C | Cast Iron | 1100 1500 | 2965 2010/160 3560 - .00 - | 350 520 912 | 881 | 832 | 083 | 003517 84 70
S3HGIBOM2D | Cost lron | 1500 | 2000 | 2967 | 2640/1525 4840 = 10,50 - /330 495 919 | 903 | 879 | 088 | 004322 108 70
S3HGIBOL2C | Costlron | 1850 | 2500 | 2971 32,90/19,00 59,00 - 1.50 - 1380 550 924 | 907 | 880 | 084 | 004809 132 70
S3HGIBOM2A | Cast Iron | 2200 | 3000 | 2969 | 3950/2280 70,70 = 918 - |a77 424 927 | 918 | 917 | 090 | 009460 | 155 77
S3HG200L2C | Cast Iron | 3000 | 4000 | 2973 5120/29.50 96.40 - 1020 - /300 470 933 | 928 | 918 | 091 | 010277 206 78
S3HG200L2D | Cast Iron | 3700 | 5000 | 2968 | 6160/3550 119,20 = 9,50 - | 285 410 937 | 937 | 931 | 092 | 01383 22 78
S3HG225M2B | Cost Iron | 4500 | 6000 | 2981 77.70/44,90 145,20 - .01 - 335 4,56 940 | 939 | 937 | 089 | 023500 | 34 80
S3HG250M2B | Cast Iron | 5500 | 7500 | 2982 | 9360/54.00 176110 = 1.90 = 410 430 943 | 936 | 921 | 087 | 048700 | 332 80
S4HG280M2C | Cast Iron | 7500 | 10000 | 2982 | 12420/7180 240,00 - 6.70 - | 260 300 956 | 956 | 949 | 092 | 117890 653 79
S4HG280M2D | Cast Iron | 9000 | 12500 | 2985 | 146.70/84.80 28820 = 780 - |290 570 958 | 957 | 949 | 092 | 126380 | 680 79
S4HG315S2C | Cast Iron | 10,00 | 15000 | 2988 | 193.90/1190 35210 - 10,80 - 1360 520 960 | 954 | 942 | 085 | 166000 | 880 87
S4HG3I1SM2B | Cost Iron | 13200 | 18000 | 2986 | 22820/13190 422,50 = 9,00 - 1380 10,40 962 | 961 | 925 | 088 | 184000 | 952 87
S4HG3ISL2A | Cost lron | 160,00 | 21500 | 2990 | 290.60/168,00 SILI0 - 1210 - | 870 13.40 963 | 958 | 945 | 084 | 205000 | 1010 87
S4HG3I5L2C | Cost Iron | 200,00 | 27000 | 2983 | 33100/19120 644,00 = 9,40 - | 440 868 965 | 966 | 959 | 089 | 230000 | Ml44 87

4 pole 1500 rpm

I S3HG80M4C | Cast lron | 055 075 1452 240/140 360 6.20 = 28 = 350 808 | 782 | 771 | 074 | 000190 19 57

S3HG8OM4D | Cast Iron | 075 100 1460 330/190 491 780 - 31 - 400 825 | 804 | 771 | 072 | 000261 19 52
S3HGI0L4C Cast Iron 110 150 1443 4,50/2,60 730 740 = 36 = 410 841 | 810 | 773 | 077 | 000464 29 53
S3HGIO0L4D Cast Iron | 150 200 1450 5.90/3.40 9.80 800 B 36 B 420 853 | 849 | 820 | 076 | 000526 30 53
S3HGI00L4C | Cast lron | 220 300 1458 920/530 14.40 850 = 40 = 470 867 | 854 | 835 | 080 | 000871 41 56
S3HGI00L4D | Cast Iron | 3,00 400 1453 1.20/6.50 19,60 870 - 37 - 430 877 | 861 | 844 | 078 | 001059 45 56
S3HGII2M4D Cast Iron | 4,00 550 1462 850/4.90 2620 = 920 - | 370 430 886 | 873 | 864 | 079 | 001383 56 54
S3HG132S4B | Cast Iron | 550 750 1475 1.30/6.50 3530 - 820 - | 240 375 896 | 873 | 850 | 081 | 003560 68 60
S3HGI32M4D | Cost lron | 750 10.00 1474 15.40/8.90 4860 = 830 - | 240 370 904 | 900 | 887 | 081 | 004030 87 60
S3HGIBOM4C | Cost lron | 1100 1500 1481 2280/1320 7110 - 750 - 1280 330 914 | 910 | 898 | 078 | 005940 125 62
S3HGIBOL4B | Costlron | 1500 | 2000 | 1480 3060/17.70 97.30 = 6.50 - 230 290 921 | 914 | 901 | 080 | 009005 137 62
S3HGIBOM4B | Cast Iron | 1850 | 2500 | 1485 | 36,00/20.80 119,00 - 850 - 280 370 926 | 918 | 903 | 084 | 018660 163 67
S3HGIBOL4B | Cast lron | 2200 | 3000 | 1486 4350/2510 14140 = 9,00 - | 240 400 930 | 926 | 95 | 080 | 0I8660 | 205 68
S3HG200L4D | Castlron | 3000 | 4000 | 1484 | 6060/3500 193.40 - 780 - | 260 360 936 | 938 | 936 | 078 | 022166 263 68
S3HG225S4B | Cast Iron | 3700 | 5000 | 1486 | 7020/4050 23820 = 830 = 310 420 939 | 934 | 925 | 084 | 036400 | 323 71
S3HG225M4C | Cast Iron | 4500 | 6000 | 1485 8140/47,00 28220 - 810 - 1290 340 942 | 939 | 937 | 085 | 043500 | 355 71
S3HG250M4B | Cast Iron | 5500 | 7500 | 1485 | 106.80/6170 35530 = 780 = 310 350 946 | 942 | 938 | 082 | 090800 | 383 71
S4HG280M4C | Cast Iron | 7500 | 10000 | 1492 | 127.90/7390 480,50 - 590 - 170 430 960 | 958 | 951 | 089 | 172100 694 70
S4HG280M4D | Cast Iron | 9000 | 12500 | 1492 | 153]10/88,50 576,60 = 790 - | 240 340 961 | 960 | 952 | 088 | 184140 694 70
S4HG3I5S4C | Cast lron | 10,00 | 15000 | 1494 191.80/110.90 704,20 - 850 - | 350 660 963 | 955 | 957 | 087 | 342000 971 83
S4HG3ISM4B | Cost Iron | 13200 | 18000 | 1491 | 229.40/13260 | 84530 = 870 - /330 855 964 | 959 | 950 | 086 | 385000 | 1016 83
S4HG3ISL4A | Cost lron | 16000 | 21500 | 1492 | 28050/16210 96410 - 950 - | 480 565 966 | 958 | 952 | 086 | 466000 | 156 83
S4HG3I5L4C | Cost Iron | 200,00 | 27000 | 1488 | 332.00/19170 128180 = 740 - | 3860 4.25 967 | 964 | 963 | 089 | 466000 | 167 83

* According to IEC 60034-2-1

**The sound pressure measurements are taken Im away from the motor
** Tolerance +3 dBA O
A

WAT | IM en 24.0
N L



|E3-IE4 THREE PHASE SMOKE
EXTRACTION MOTORS

F400 SERIES ELECTRICAL CHARACTERISTICS @ 60 Hz

2 pole 3600 rpm
S3HGBOM2C | Costlon | 075 | 100 | 3501 270/160 205 80 - 3l | - 39 770 | 759 | 723 | 086 | 00040 | 19 57
S3HG8OM2D | Costlon | 110 150 | 3512 360/210 292 86 - | 36| - 4] 840 | 815 | 776 | 083 | 000170 | 22 57
S3HGYOL2C | Costlron | 150 | 200 | 3534 | 480/280 410 90 - 29| - 4] 855 | 875 | 855 | 085 | 000249 | 26 62
S3HGYOL2D | Costlon | 220 | 300 | 3568 | 6:80/390 590 95 - |30 - 4] 865 | 856 | 836 | 085 | 000283 | 30 62
S3HGIOOL2D | Costlron | 300 | 400 | 3536 | 850/5.00 810 109 - |89 - 48 871 | 865 | 851 | 089 | 000536 | 39 63
S3HGN2M2C Cast Iron | 4,00 550 - - - - - - - -
S3HGI32S2C | Costlon | 550 | 750 | 3528 | 970/560 14,90 - | 798| - |33 58 895 | 898 | 890 | 086 | 002792 | 56 69
S3HBI32S2D | Castlron | 750 | 1000 | 3531 | 1310/760 2030 - |Bo2| - |79 102 902 | 898 | 890 | 087 | 003091 | 63 69
S3HGIBOM2C | Castlron | 100 | 1500 | 3572 | 1850/1060 | 2940 - |45 | - |33 49 910 | 865 | 821 | 093 | 003577 | 84 70
S3HGIBOM2D | Castlron | 1500 | 2000 | 3570 | 2470/1420 | 4010 - |eg| - |3 47 910 | 902 | 877 | 088 | 004322 | 108 70
S3HGIBOL2C | Castlron | 1850 | 2500 | 3572 | 3070/1770 | 4950 - |ogs| - |42 72 917 | 915 | 895 | 084 | 004809 | 132 70
S3HGIBOM2A | Castlron | 2200 | 3000 | 3570 | 3490/2000 | 5880 - 872 | - |26 40 917 | 910 | 904 | 090 | 009460 | 155 77
S3HG200L2C | Castlron | 3000 | 4000 | 3574 | 46.00/2650 | 8020 - |oeg | - |29 45 924 | 919 | 907 | 090 | 0i0277 | 206 78
S3HG200L2D | Castron | 3700 | 5000 | 3569 | 5600/3230 | 9890 - 903 | - |27 39 930 | 930 | 924 | 091 | 01383 | 221 78
S3HG225M2B | Cost lron | 4500 | 6000 | 3580 | 7010/4040 | 1990 - |04 | - |32 43 936 | 931 | 924 | 088 | 023500 | 3 80
S3HG250M2B | Cost lron | 5500 | 7500 | 3580 | 8620/4980 | 14720 - n3 | - | 39 4] 936 | 932 | 926 | 086 | 048700 | 332 80
S4HG28OM2C | Cast ron | 7500 | 10000 | 3584 | 107.40/6190 | 20050 - | 730 | - |28 59 950 | 945 | 932 | 093 | 117890 | 653 | 82
S4HG28OM2D | Cast ron | 9000 | 12500 | 3586 | 12840/7420 | 23980 - |8s0| - |35 77 954 | 950 | 937 | 092 | 126380 | 680 | 82
***$4HB3I552C | Cast lon | 1000 | 15000 | - - - - - - - - - - - - - - -
***S4HG3ISM2B | Cost lron | 132,00 | 18000 | - - - - - - - - - - - - - - -
***S4HG3I5L2A | Cast lron | 16000 | 21500 | - - - - - - - - - - - - - - -
***S4HB3I5L2C | Cast Iron | 20000 | 27000 | - - - - - - - - - - - - - - -

4 pole 1800 rpm

I S3HG80M4C | Cast ron | 055 075 1755 230/130 300 58 = 27 = 33 8l1 | 793 | 763 | 072 | 000190 19 57

S3HG8OM4D | Cast Iron | 075 100 1758 300/175 413 75 - 29 - 38 835 | 810 | 790 | 070 | 000261 19 52
S3HGI0L4C Cast Iron 110 150 1720 4,30/250 6,00 70 = 34 = 39 865 | 856 | 829 | 082 | 000464 29 53
S3HGIO0L4D Cast Iron | 150 200 1755 540/310 820 76 B 34 - 40 865 | 861 | 832 | 073 | 000526 30 53
S3HGI00L4C | Cast lron | 220 300 = = = = = = = = = = = = = = =
S3HGI00L4D | Cast Iron | 3,00 400 1755 990/570 16.30 83 - 41 - 57 895 | 882 | 861 | 079 | 001059 45 56
S3HGII2M4D Cast Iron | 4,00 550 1775 750/430 2150 = 874 = 35 41 895 | 886 | 878 | 077 | 001383 56 54
S3HG132S4B | Cast Iron | 550 750 1777 990/570 2960 - 779 - 23 36 917 | 898 | 890 | 079 | 003560 68 60
S3HGI32M4D | Cost Iron | 7.50 10.00 1775 1360/7.90 4040 = 789 = 23 35 97 91l | 898 | 079 | 004030 87 60
S3HGIBOM4C | Cost Iron | 1100 1500 1782 20,00/1.60 5910 - 713 - 27 31 924 | 920 | 898 | 077 | 005940 125 62
S3HGIBOL4B | Costlron | 1500 | 2000 1781 26.50/15.30 80.40 = 618 = 22 38 93 | 923 | 91l | 078 | 009005 | 137 62
S3HGIBOM4B | Cast Iron | 1850 | 2500 | 1787 3140/1810 9880 - 808 - 31 49 936 | 921 | 905 | 083 | 018660 163 67
S3HGIBOL4B | Cast ron | 2200 | 3000 | 1787 3820/2210 17.70 = 855 = 26 53 936 | 932 | 921 | 079 | 018660 205 68
S3HG200L4D | Castlron | 3000 | 4000 | 1785 | 5280/3050 160,70 - 741 - 25 34 941 | 935 | 926 | 078 | 022166 263 68
S3HG225S4B | Cast Iron | 3700 | 50,00 = = = = = = = = = = = = = = =
S3HG225M4C | Cast Iron | 4500 | 60,00 - - - - - - - - - - - - - - -
S3HG250M4E | Cost lron | 5500 | 7500 | 1785 9310/5370 29440 = 741 = 30 33 954 | 951 | 944 | 079 | 090800 | 383 7
S4HG280M4C | Cast Iron | 7500 | 10000 | 1793 | 10880/6290 | 40090 - 710 - 21 33 962 | 960 | 953 | 090 | 172100 694 73
S4HG280M4D | Cast Iron | 9000 | 12500 | 1794 | 146.40/8460 | 48070 = 750 = 27 45 962 | 961 | 953 | 080 | 184140 694 73
***S4HG315S4C | Cost Iron | 10,00 | 150,00 - - - - - - - - - - - - - - -
***S4HG3I5M4B | Cast Iron | 132,00 | 180.00 = = = ° = = = = = = = = = = =
***S4HG3ISL4A | Cast Iron | 160,00 | 21500 - - - - - - - - - - - - - - -
***S4HG315L4C | Cast Iron | 200,00 | 270,00 = = = = = = = = = = = = = = =

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA
*** Please contact us for your requests. O
A

WAT | IM en 24.0
D



DOUBLE SPEED THREE PHASE
SMOKE EXTRACTION MOTORS

DAHLANDER F400 SERIES 2-4 POLE ELECTRICAL CHARACTERISTICS @ 50 Hz

(@2 pole 3000 rpm

S2HGBOM2-4A Cast Iron | 0,80 2850 175 268 460 - 20 - 24 7740 - - 090 000205 1590 56
S2HG80M2-4B Cast Iron 110 2878 230 360 6,00 = 19 = 26 7960 = = 092 000205 | 2020 54
S2HG90S2-4B Cast Iron | 150 2843 340 500 560 - 22 - 25 7500 - - 093 000267 | 2380 54
S2HG90L2-4C Cast Iron | 220 2870 450 730 6,60 = 25 = 29 7500 = = 091 0.00205 2910 55
S2HG100L2-4B Cast Iron | 250 2910 520 820 840 - Al - 37 8380 - - 088 0,00521 4070 70
S2HGI00L2-4D Cast Iron | 3]0 2918 6.30 1010 870 = 30 = 37 84,70 = = 093 000694 | 4200 60
S2HGN2M2-4D Cast Iron | 440 2925 850 14,40 9,00 - 32 - 39 86.20 - - 093 001383 54,00 71
S2HGI32S2-4B Cast Iron | 6,00 2947 1200 19.50 850 = 27 = 40 87.00 = = 089 003560 | 8500 73
S2HG132M2-4D Cast Iron | 8,00 2924 15,80 26.30 6,60 - 19 - 26 8810 - - 091 003842 | 8500 73
S2HGIBOM2-4B Cast Iron | 12,00 2962 2300 3870 970 = 35 = Sl 8970 = = 091 003517 | 136,00 61
S2HGI60L2-4B Cast Iron | 16,00 2962 2960 5160 780 - 24 - 35 9050 - - 091 005940 | 149,00 62
S2HG180L2-4C Cast Iron | 25,00 2975 45,00 8030 1o = 22 = 55 9140 = = 088 011398 142,00 70
S2HGI80L2-4B Cast Iron | 20,00 2957 3280 64,60 720 - 20 - 32 9140 - - 096 014659 131,30 70
S2HG200L2-4B Cast Iron | 33,00 2973 66,30 106,00 970 = 21 = 53 9140 = = 0.80 018598 | 149,00 70
S2HG225M2-4C Cast Iron | 37.00 2969 67.30 19,00 860 - 29 - 38 9250 - B 091 036420 | 35300 71
S2HG225M2-4D Cast Iron | 46,00 2974 8860 14770 820 = 23 = 54 9290 = = 087 043500 |36400| 69

***$2HG250M2-4C | Costlron | - - - - - - - -] - - - - - - - - -
@4 pole 1500 rpm

S2HG8OM2-4A Cast Iron | 020 1420 049 135 - 46 - 17 25 65.9 - - 084 0,00205 15,90 46
S2HG80M2-4B Cast Iron | 025 1448 06l 160 = 53 = 20 25 685 = = 083 000205 | 2020 44
S2HG90S2-4B Cast Iron | 037 1420 090 250 - 46 - 18 24 715 - - 087 000267 | 2380 57
S2HGI0L2-4C Cast Iron | 0,50 1433 110 330 = 6.2 = 23 29 754 = = 084 0.00205 2910 58
S2HG100L2-4B Cast Iron | 070 1452 140 427 - 94 - 24 31 780 - - 086 0.00521 4070 58
S2HGI00L2-4D Cast Iron | 080 1448 170 520 = 66 = 22 31 799 = = 087 000694 | 4200 57
S2HG2M2-4D Cast Iron 110 1453 215 720 - 74 - 23 33 8l4 - - 088 001383 54,00 60
S2HGI32S2-4B Cast Iron | 150 1478 300 970 = 82 = 21 3l 828 = = 082 003560 | 8500 63
S2HG132M2-4D Cast Iron | 200 1467 4,00 1310 - 59 - 15 27 843 - - 087 003842 | 8500 63
S2HGIBOM2-4B Cast Iron | 3,00 1479 630 19.40 = 88 = 32 43 855 = = 084 003517 | 136.00 56
S2HGIBOL2-4B Cast Iron | 4,00 1478 780 2590 - 6.6 - 22 29 86.6 - - 084 005940 | 149,00 58
S2HG180L2-4C Cast Iron | 630 1485 1200 4050 = 94 = 24 47 885 = = 085 011398 142,00 73
S2HGI80L2-4B Cast Iron | 500 1479 9,00 3230 - 6.0 - 14 28 883 - - 091 014659 131,30 73
S2HG200L2-4B Cast Iron | 850 1484 15,60 5470 = 89 = 22 43 916 = = 086 018598 | 149,00 73
S2HG225M2-4C Cast Iron | 9,00 1486 1710 57.80 - 75 - 22 37 895 - - 088 036420 |35300| &7

S2HG225M2-4D Cast Iron | 12,00 1486 2300 7710 ° 90 = 24 40 894 = ° 088 043500 | 364,00 57
***S2HG250M2-4C | Cast Iron - - - - - -

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA
*** Please contact us for your requests. O
A

WAT | IM en 24.0
N S



DOUBLE SPEED THREE PHASE
SMOKE EXTRACTION MOTORS

DAHLANDER F400 SERIES 4-8 POLE ELECTRICAL CHARACTERISTICS @ 50 Hz

@4 pole 1500 rpm

S2HG80M4-8C Cast Iron 015 725 090 198 - 29 - 22 32 489 - - 050 0,00205 1720 58
S2HG8OM4-8D Cost Iron | 020 77 085 260 = 29 = 16 22 56.7 = = 060 0.00216 19.80 58
S2HG90S4-8B Cost Iron | 030 700 120 4,00 B 31 - 17 21 609 B B 061 000205 | 2750 58
S2HG90L4-8C Cast Iron | 040 662 130 580 = 23 = 14 14 572 = = 071 000267 | 3080 57
S2HGI00L4-8B Cast Iron | 0,55 725 230 730 - 30 - 24 30 62 - - 051 0.00521 36.50 54
S2HG100L4-8C Caost Iron | 070 720 255 9.30 = 32 = 15 20 698 = = 057 000694 | 4000 54
S2HGT2M4-8B Cast Iron 100 730 430 13.00 - 39 - 23 34 708 - - 048 0.01085 4830 55
S2HG13254-8B Cost Iron | 130 734 410 16.90 = 42 = 15 26 74] = = 0.58 014136 146,60 62
S2HGI32M4-8C Cast Iron 180 737 510 2330 - 50 - 16 32 74 - - 054 003560 | 99.00 58
S2HGIBOM4-8B Cast Iron | 300 732 9.30 3910 ° 33 = 17 20 806 ° = 0.58 0,03517 .50 52
S2HGIBOL4-8A Cast Iron | 350 734 1060 4550 - 36 - 18 21 80 - - 058 009940 | 12000 66
S2HGIB0M4-8B Cast Iron | 4,30 739 1280 5560 = 44 = 15 23 819 = = 057 018660 | 166.00 66
S2HG180L4-8A Cast Iron | 500 730 13.50 65.40 - 31 - 14 18 875 - - 064 018598 | 172,00 67
S2HG200L4-8B Cast Iron | 650 738 18.20 84,00 = 40 = 13 24 853 = = 058 018660 | 250,00 73
S2HG200L4-8D Cost Iron | 800 739 2290 103,40 - 40 - 15 21 853 - - 0.56 036420 | 250,00 73
S2HG22554-8A Cost Iron | 920 740 2350 118,70 = 49 = 18 26 853 = = 085 036421 | 299,00 74
S2HG225M4-8B Cost Iron | 1,00 740 2750 142,00 - 46 - 20 23 878 - - 0,66 036421 | 31300 74

***32HG250L4-8D | Cast Iron - - - - = - o o - - - - - - R - R
@8 pole 750 rpm

S2HG80OM4-8C Cost Iron | 060 1463 180 390 5,80 = 29 = 4] 7300 = = 062 0,00205 1720 5S4
S2HG8OM4-8D Cost Iron | 080 1455 185 520 5,60 - 19 - 29 76.30 - - 077 0.00216 19.80 54
S2HG90S4-8B Cast Iron 120 1432 270 800 5,80 = 21 = 28 7720 = = 082 000205 | 2750 55
S2HGI0L4-8C Cast Iron 160 1378 360 110 420 - 16 - 20 8280 - - 088 000267 | 3080 54
S2HGI00L4-8B Cast Iron | 220 1463 525 14.40 750 = 32 = 42 8430 = = 075 000521 36.50 46
S2HG100L4-8C Cast Iron | 280 1457 616 18.40 6.20 - 20 - 26 8190 - - 0.80 000694 | 4000 46
S2HGTI2M4-8B Cast Iron | 380 1470 1030 24,60 810 = 32 = 47 86.40 = = 0,66 0.01085 4830 60
S2HG13254-8B Cost Iron | 500 1474 1030 3240 820 - 21 - 36 87.30 - - 083 014136 146,60 59
S2HGI32M4-8C Cost Iron | 7.20 1479 15,30 46,50 920 = 21 = 42 8870 = = 079 003560 | 99.00 63
S2HGIB0M4-8B Cost Iron | 1,00 1477 2290 7110 6.40 - 23 - 29 89.80 - - 080 003517 .50 64
S2HGIB0L4-8A Cast Iron | 14,00 1475 2860 9070 540 = 18 = 23 9050 = = 080 009940 | 120,00 63
S2HGIBOM4-8B Cast Iron | 17.00 1484 3390 109.40 780 - 19 - 32 9100 - - 081 018660 | 166.00 70
S2HGIB0L4-8A Cast Iron | 20,00 1473 3800 12970 670 = 20 = 27 9140 = = 0.86 018598 | 172,00 70
S2HG200L4-8B Cast Iron | 28,00 1484 5250 180,50 730 - 17 - 41 9210 - - 085 018660 | 250.00 70
S2HG200L4-8D Cast Iron | 3000 1485 5860 192.90 920 = 31 = 43 92,00 = = 082 036420 | 250,00 70
S2HG22554-8A Cast Iron | 37.00 1482 68,50 23840 710 - 22 - 32 92,70 - - 087 036421 | 299,00 71
S2HG225M4-8B Cast Iron | 44,00 1483 80.80 28330 | 740 = 22 = 33 9040 = = 087 036421 | 31300 71

***S2HG250L4-8D | Cast Iron - - - - - - - - - - R - - - R _ R

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA
*** Please contoct us for your requests. O ﬂ
A

WAT | IM en 24.0
N4 L



THREE PHASE SMOKE EXTRACTION MOTORS

F400 SERIES DIMENSION B3

075 2 S3HG8OM2C  |Cast Iron| 175 247 |M20x15[ 100 | 125 |80 (230 (1000 | 50 (19| 40 (25| 6 (6204 ZZ C4|6204 ZZ C4| 20*30*7 -
110 2 S3HG8OM2D  |Cost Iron| 175 282 |M20x15[ 100 | 125 |80 (230 |1000| 50 (19| 40 |215| 6 |6204 ZZ C4|6204 ZZ C4| 20*30*7 -
150 2 S3HG90L2C  [Cost Iron| 185 295 |M25x1.5( 100 | 140 | 90 | 242 | 1000 | 56 (24| 50 |27 | 8 (6305 ZZ C4|6205-ZZ C4| 25*40*7 -
220 2 S3HG9OL2D  [Cast Iron| 185 325 |M25x15| 125 140 | 90 | 242 (1000 | 56 |24| 50 | 27 | 8 |6305 ZZ C4|6205 ZZ C4| 25*40*7 -
300 2 S3HGIOOL2D  |Cost Iron| 202 373 |M25x15| 140 160 | 100 | 269 (1200 | 63 |28| 60 | 31 | 8 |6306 ZZ C4 (6306 ZZ C4| 30*47*7 =
400 2 S3HGI2M2C  |Cast Iron| 222 380 |M25x15| 140 190 | 12 | 294 | 1200 | 70 |28| 60 | 31 | 8 (6306 ZZ C4|6306 ZZ C4| 30*47*7 -
550 2 S3HGI32S2C  |Cost Iron| 273 479 |M32x15| 140 216 | 132|354 (1200 | 89 38| 80 | 41 | 10 (6308 ZZ C4|6306 ZZ C4| 40*62*10 =
750 2 S3HG132S2D  |Cast Iron| 273 479 |M32x15| 140 216 | 132|354 (1200 | 89 38| 80 | 41 | 10 (6308 ZZ C4|6306 ZZ C4| 40*62*10 -
.00 2 S3HGIBOM2C  |Cost Iron| 327 543 |M32x15| 210 | 254 160 | 404 | 1450 [ 108 |42| 10 | 45 | 12 |6309 ZZ C4|6309 ZZ C4| 45*72*10 =

15,00 2 S3HGIBOM2D  |Cast Iron| 327 543 |M32x15| 210 | 254 160 | 404 | 1450 [ 108 |42| 10 | 45 | 12 |6309 ZZ C4|6309 ZZ C4| 45*72*10 -

18.50 S3HGIBOL2C  |Cast Iron| 327 543 |M32x15| 210 | 254 160 | 404 | 1450 [ 108 |42| 10 | 45 | 12 |6309 ZZ C4|6309 ZZ C4| 45*72*10 =

2
22,00 2 S3HGIBOM2A  |Cast Iron| 355 618 |M40Ox15| 241 | 279|180 | 467 | 1450 | 121 (48| 10 |515| 14 | 6310 ZZ C4 6310 ZZ C4 | 50*80*10 N
30,00 2 S3HG200L2C  |Cost Iron| 355 680 |M4Ox15/ 305 | 318 (200|484 (1850 | 135 (55| N0 |59 | 16 | 6312 ZZ C4 6310 ZZ C4 | 60*90*10 =
3700 2 S3HG200L2D  |Cast Iron| 355 680 [M40x15| 305 | 3I8 [200| 484 |1850 | 135 |S5| 10 |59 | 16 | 6312 ZZ C4 6310 ZZ C4 | 60*90*10 -
4500 2 S3HG225M2B  |Cast Iron| 438 710 |M4Ox1.5| 286 | 356 (225|550 | 1850 | 151 (55| N0 |59 | 16 (6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 =
55,00 2 S3HG250M2B  [Cast Iron| 438 740 |MSOx1.5| 349 | 406 (250|575 |2400( 170 (60| 140 |64 | 18 | 6315 ZZ C4 | 6313 ZZ C4 | 75*T12*12 -
7500 2 S4HG280M2C  [Cast Iron| 574 907 |MSOx1.5| 368 | 457 (280|658 |2400| 190 (65| 140 (69 | 18 | 6314 C4 6314 C4 | 70*90*10 =
90,00 2 S4HG280M2D  |Cast Iron| 574 907 |MSOx1.5| 368 | 457 (280|658 |2400| 190 (65| 140 |69 | 18 | 6314 C4 6314 C4 | 70*90*10 -

10,00 2 S4HG3ISS2C  [Cast Iron| 645 978 |MSOx15| 406 |508| 315|823 (2800 216 |65| 140 |69 | 18 | 6316 C4 6316 C4 | 72*80*1 =

132,00 2 S4HG3ISM2B  [Cost Iron| 645 978 [MSOx15[ 406 |508|315|823(2800| 216 |65 140 |69 |18 | 6316 C4 6316 C4 | 72*80*1 -
160,00 2 S4HG3ISL2A | Cost lron| 645 978 [MSOx15[ 406 |508|315|823(2800| 216 |65|140 |69 |18 | 6316 C4 6316 C4 | 72*80*1 -

200,00 2 S4HG3ISL2C  [Cast Iron| 645 978 [MSOx15[ 406 |508|315|823(2800| 216 |65|140 |69 |18 | 6316 C4 6316 C4 | 72*80*1 -

055 4 S3HG8OM4C  |Cost lron| 175 247 |M20x15( 100 | 125 |80 (230 |1000| 50 (19| 40 (25| 6 (6204 ZZ C4|6204 ZZ C4| 20*30*7 -
075 4 S3HG8OM4D  |Cost lron| 175 282 |M20x15| 100 125 |80 |230(1000| 50 |19 40 |215| 6 |6204 ZZ C4|6204 ZZ C4| 20*30*7 -
110 4 S3HG90L4C  [Cast Iron| 185 325 |M25x15| 125 140 | 90 | 242 | 1000 | 56 (24| 50 |27 | 8 |6305ZZ C4|6205 ZZ C4| 25*40*7 =
150 4 S3HG90L4D Cost Iron| 185 325 |M25x15| 125 140 | 90 | 242 | 1000 | 56 (24| 50 |27 | 8 (6305 ZZ C4|6205 ZZ C4| 25*40*7 -
220 4 S3HGI00L4C  |Cost lron| 202 373 [M25x15| 140 160 (100 | 269 | 1200 | 63 |28| 60 | 31 | 8 (6306 ZZ C4|6306 ZZ C4| 30*47*7 =
300 4 S3HGIOOL4D  |Cost Iron| 202 403 |M25x15| 140 160 | 100 | 269 | 1200 | 63 |28| 60 | 31 | 8 (6306 ZZ C4|6306 ZZ C4| 30*47*7 -
400 4 S3HGN2M4D  [Cast Iron| 222 415 [M25x1.5( 140 190 | 12 294 |1200| 70 (28| 60 | 31 | 8 (6306 ZZ C4|6306 ZZ C4| 30*47*7 =
550 4 S3HGI32S4B  |Cost lron| 273 479 [M32x1.5| 140 216 132|354 |1200| 89 (38| 80 | 41 | 10 (6308 ZZ C4|6306 ZZ C4| 40*62*10 N
750 4 S3HGI32M4D | Cost Iron| 273 479 [M32x15| 140 216 | 132|354 (1200 89 38| 80 | 41 | 10 (6308 ZZ C4|6306 ZZ C4| 40*62*10 °
1.00 4 S3HGIBOM4C  |Cost Iron| 327 543 |M32x15| 210 | 254 160 | 404 | 1450 | 108 |[42| M0 | 45| 12 |6309 ZZ C4|6309 ZZ C4| 45*72*10 -

1500 4 S3HGIBOL4B  |Cast Iron| 327 543 |M32x.5( 210 | 254 (160 | 404 |1450 | 108 (42| 1O |45 | 12 (6309 ZZ C4|6309 ZZ C4| 45*72*10 =

18.50 4 S3HGIBOM4B  (Cast Iron| 355 618 |M4OX15| 241 | 279|180 | 467 (1450 | 121 |48| N0 |515| 14 | 6310 ZZ C4 6310 ZZ C4 | 50*80*10 -
22,00 4 S3HGIBOL4B  [Cast Iron| 355 678 |M4Ox15| 241 | 279 (180 | 467 | 1450 | 121 (48| MO (515 14 | 6310 ZZ C4 | 6310 ZZ C4 | 50*80*10 =
3000 4 S3HG200L4D  |Cast Iron| 355 680 [M40x15| 305 | 318 [200| 484 | 1850 | 135 |55| 1O |59 | 16 | 6312 ZZ C4 (6310 ZZ C4 | 60*90*10 -
3700 4 S3HG225S4B  |Cast Iron| 438 740 |M40Ox15[ 286 | 356 (225|550 | 1850 | 151 (60| 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 =
45,00 4 S3HG225M4C | Cost Iron| 438 805 [M40x15| 286 | 356 225|550 1850 | 151 |60 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 -
55,00 4 | ***S3HG250M4B |Cast Iron
7500 4 S4HG280M4C  |Cast Iron| 574 913 [MSOx15| 419 | 457 |280|658 (2400 190 |75| 140 |795|20 | 6317 C4 6317 C4 | 85*17*12 -
90,00 4 S4HG280M4D  |Cast Iron| 574 913 [MSOx15| 419 | 457 |280| 658 (2400 190 |75| 140 |795|20 | 6317 C4 6317 C4 | 85*117*12 -

*** Please contact us for your requests. Q

A
WAT | IM en 24.0
N NS



THREE PHASE SMOKE EXTRACTION MOTORS

F400 SERIES DIMENSION B3

10,00 4 S4HG315S4C | Cast Iron 1008  [M50x1.5 2800 6319 C4 6319 C4 | 85*95*1

132,00 4 S4HG3I1SM4B  [Cost Iron| 645 1008 |M50xL5| 406 |508 (315|823 |2800| 216 (80| 170 | 85|22 | 6319 C4 6319 C4 | 85*95*1 -
160,00 4 S4HG3ISL4A  [Cost lron| 645 1088 |M50xL5| 457 |508 (315|823 |2800| 216 (80| 170 | 85|22 | 6319 C4 6319 C4 | 85*95*1 -
200,00 4 S4HG3I5L4C  [Cost Iron| 645 1088 |M50xL5| 457 |508 (315|823 |2800| 216 (80| 170 | 85|22 | 6319 C4 6319 C4 | 85*95*1 =

020/080 | 2-4 | S2HG8OM2-4A |[Costlron| 175 247 |M20x15| 100 125 |80 (230 | 1000 | 50 (19| 40 |215| 6 (6204 ZZ C4 (6204 ZZ C4| 20*30*7 -
025/110 | 2-4 | S2HGBOM2-4B |Cast Iron| 175 282 |M20x15| 100 | 125 |80 |230|1000| 50 (19| 40 |25 6204 77 C4 (6204 ZZ C4| 20*30*7 =
037/150 | 2-4 | S2HG90S2-4B |Cast Iron| 185 295 |M25x15| 100 140 | 90 (242 (1000 | 56 |24 S0 |27 6305 ZZ C4 (6205 ZZ C4| 25%40*7 -
050/220 | 2-4 S2HG90L2-4C  [Cost Iron| 185 325 |M25x15| 125 140 | 90 (242 (1000 | 5S6 |24 S0 |27 6305 ZZ C4 (6205 ZZ C4| 25*40*7 =
065/250 | 2-4 | S2HGIOOL2-4B |[Cost Iron| 202 403 |M25x15| 140 160 | 100 (269 [ 1200 | 63 |28| 60 | 3l 6306 ZZ C4|6306 ZZ C4| 30*47*7 -

080/310 | 2-4 | S2HGIOOL2-4D |Cast Iron| 202 373 |M25x15| 140 160 | 100 (269 [ 1200 | 63 |28| 60 | 3l 6306 ZZ C4|6306 ZZ C4| 30*47*7 =

o © o 0 o o

110/440 | 2-4 | S2HGN2M2-4D |Cost Iron| 222 415 [M25x1.5 140 190 | 112 | 294 | 1200 70 [28| 60 | 3I 6306 ZZ C4 (6306 ZZ C4| 30*47*7 -

150/6.00 | 2-4 | S2HGI32S2-4B |Cost Iron| 273 479 |M32x1.5( 140 | 216 |132 (354 | 1200 | 89 (38| 80 | 4l | 10 (6308 ZZ C4|6306 ZZ C4| 40*62*10 -

200/800 | 2-4 | S2HGI32M2-4D |Cast lron| 273 479 |M32x15| 140 216 | 132|354 (1200 | 89 |38| 80 | 41 | 10 |6308 ZZ C4|6306 ZZ C4| 40*62*10 -
300/1200 | 2-4 | S2HGIBOM2-4B |Cast Iron| 327 543 |M32x15| 210 | 254 |160 | 404 |1450 | 108 |42 N0 | 45 | 12 (6309 ZZ C4|6309 ZZ C4| 45*72*10 -
400/1600 | 2-4 | S2HGIBOL2-4B |Cast Iron| 327 585 |[M32x1.5| 210 | 254 |160 | 404 |1450 | 108 |42 NO | 45 | 12 (6309 ZZ C4|6309 ZZ C4| 45*72*10 -
550/2000 | 2-4 | S2HGIBOL2-4C |Cost Iron| 355 748 |M4Ox1.5[ 241 | 279 (180 | 467 | 1450 | 121 (48| MO |515| 14 | 6310 ZZ C4 | 6310 ZZ C4 | 50*80*10 =
630/2500 | 2-4 | S2HGIBOL2-4B |Cost Iron| 355 678 |M4Ox15| 241 | 279 (180 | 467 [ 1450 | 121 (48| N0 |515| 14 | 6310 ZZ C4 | 6310 ZZ C4 | 50*80*10 -
850/3300 | 2-4 | S2HG200L2-4B |Cost Iron| 355 750 |M40x1.5( 305 | 318 (200|484 | 1850 | 135 (55| N0 | 59 | 16 | 6312 ZZ C4 | 6310 ZZ C4 | 60*90*10 =
900/3700 | 2-4 | S2HG225M2-4C |Cost Iron| 438 805 [M40x15| 286 | 356 (225|550 1850 | 151 |60 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 -
1200/46.00 | 2-4 | S2HG225M2-4D |Cost Iron| 438 805 [M40x15| 286 | 356 (225|550 1850 | 151 |60 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 =
1500/5500 | 2-4 [***S2HG250M2-4C|Cost Iron
015/060 | 4-8 | S2HG8OM4-8C |Cost Iron| 175 247 |M20x15| 100 125 |80 (2301000 | 50 (19| 40 |215| 6 (6204 ZZ C4 (6204 ZZ C4| 20*30*7 =
020/080 | 4-8 | S2HG8OM4-8D |[Cost Iron| 175 282 |M20x15| 100 125 |80 2301000 | 50 |19 40 |215| 6 (6204 ZZ C4 (6204 ZZ C4| 20*30*7 -
030/120 | 4-8 | S2HG9Y0S4-8B |Cost Iron| 185 325 |M25x15| 125 140 | 90 (242 | 1000 | 56 (24| 50 | 27 | 8 (6305 ZZ C4|6205 ZZ C4| 25*40*7 =
040/160 | 4-8 S2HG90L4-8C  [Cast Iron| 185 325 |M25x15| 125 140 | 90 (242 | 1000 | 56 (24| 50 | 27 | 8 (6305 ZZ C4|6205 ZZ C4| 25*40*7 -
8

055/220 | 4-8 | S2HGIOOL4-8B |[Cast Iron| 202 373 |M25x15| 140 160 | 100 (269 [ 1200 | 63 |28| 60 | 3l 6306 ZZ C4 (6306 ZZ C4| 30*47*7 =

070/280 | 4-8 | S2HGIOOL4-8C |[Cast Iron| 202 403 |M25x15| 140 160 |100 | 269 | 1200 | 63 |28| 60 | 31 | 8 (6306 ZZ C4 (6306 ZZ C4| 30*47*7 -
100/380 | 4-8 | S2HGI2M4-8B  [Cast Iron| 222 380 |M25x15| 140 190 | 12 | 294 | 1200 | 70 (28| 60 | 31 | 8 (6306 ZZ C4|6306 ZZ C4| 30*47*7 =

130/500 | 4-8 | S2HGI32S4-8B |[Cast ron| 273 479 |M32x15| 140 216 (132|354 (1200 89 (38| 80 | 41 | 10 (6308 ZZ C4|6306 ZZ C4| 40*62*10 -
180/720 | 4-8 | S2HGI32M4-8C |[Cost Iron| 273 479 [M32x15| 140 216 | 132|354 (1200 | 89 |38| 80 | 41 | 10 |6308 ZZ C4|6306 ZZ C4| 40*62*10 =

300/100 | 4-8 | S2HGIBOM4-8B |[Cast Iron| 327 585 |[M32x.5| 210 | 254 160 | 404 |1450 | 108 |42 N0 | 45 | 12 (6309 ZZ C4|6309 ZZ C4| 45*72*10 -
350/1400 | 4-8 | S2HGIBOL4-8A |Cast lron| 327 585 [M32x15| 210 | 254 (160 | 404 | 1450 | 108 |42| TO |45 | 12 [6309 ZZ C4 (6309 ZZ C4| 45*72*10 =

430/1700 | 4-8 | S2HGIBOM4-8B |[Cost Iron| 355 618 |M4Ox.5| 241 | 279 |180 | 467 | 1450 | 121 |48 N0 |515| 14 | 6310 ZZ C4 |6310 ZZ C4 | 50*80*10 -
500/2000 | 4-8 | S2HGIBOL4-8A |Cast lron| 355 618 M4Ox.5| 241 | 279 (180 | 467 | 1450 121 (48| N0 |515| 14 (6310 ZZ C4 | 6310 ZZ C4 | 50*80*10 =
650/2800 | 4-8 | S2HG200L4-8B |Cost Iron| 355 750 [M40x15| 305 | 318 [200| 484 |1850 | 135 |55| 10 |59 | 16 | 6312 ZZ C4 (6310 ZZ C4 | 60*90*10 -
800/3000 | 4-8 | S2HG200L4-8D |Cost Iron| 355 750 [M40x15| 305 | 318 (200|484 | 1850 | 135 |55| 10 |59 | 16 | 6312 ZZ C4 (6310 ZZ C4 | 60*90*10 =
920/3700 | 4-8 | S2HG225S4-8A |Cost Iron| 438 740 |M4Ox1.5| 286 | 356 (225|550 | 1850 | 151 (60| 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 -
100/4400 | 4-8 | S2HG225M4-8B |Cost Iron| 438 740 |M40x1.5( 286 | 356 (225|550 | 1850 | 151 |60 140 | 64 | 18 | 6313 ZZ C4 | 6313 ZZ C4 | 65*100*13 =
1470/5500 | 4-8 |***S2HG250L4-8D |Cast Iron

*** Please contact us for your requests. @ @
A —_

WAT | IM en 24.0
N S












BRAKE MOTORS

Mechanical and electrical properties are same as standard type
motors. Non-drive endshields are made of cast-iron

DC electromagnetic brakes with a safety-design are used in brake
motors. Different brake voltages are available upon request.

When the supply fails, the springs make the armature plate press
the brake disk and then motor automatically starts braking. When
the brake being supplied. electromagnet pulls the armature plate
then bath the brake disk and motor shaft are set to free.

Ashestos-free brake material is used with long-life friction rings.

Braking torgue can be adjusted by ring. In the table shown below,
you will find the distance "A" in order to obtain the braking torque
requested.

The change in the wear of the friction material due to the change
in braking torgue is given below.

Distance between Adjusting-ring and Electromagnet: “A” (in mm)

Type

4 3 2 1 A
H80 16 18 22 24 26
H90 16 18 22 24 26
HI00 26 34 38 42 48
Hii2 45 50 58 67 80
HI32 90 95 100 10 120
. Max.

Breaking Torque Value [kgm) torque

(kgm]

Braking torque can be adjusted by ring. In the table shown below,
you will find the distance A" in order to obtain the braking torque
requested. The variation in the wear of friction material which is
subject to change in braking torque is given below.

Normal switching times are given in the table below. These values
are subject to change according to load characteristics.

WAT [ IM en 24.0

Tue Normal switch-off Normal switch-on Fast switch-off

time ms time ms time ms
Q3H80 15 55 30
Q3H90 15 65 40
Q3H100 20 75 45
Q3HI2 25 180 85

The following special construction class features are possible upon
request;

» Special shaft end

« Special flanges

« Different type bearings

» Fixed bearings

« IPS5 protection class

« Different voltages an frequencies

* AC type brake

Ideal air-gap values are given in the table below.
The maximum acceptable air-gap value is 0.7 mm.
If this value is exceeded. the brake's performance
will change and air gap must be adjusted again.

120

100

o

60

40

Wear Friction Material (%)

20

0

0 10 20 30 40 50 60 70 80 920 100 1o
Braking Torque (%)

Type  Q3H80 Q3HSO Q3HI00 Q3HI2 Q3HI32

[deal
Air-gap 02 02 03 03 03
[mm]

Normal Type (AS] half-wave rectifier is used as
standard in motors. By using fast type (ASR] rectifier,
it is possible to get fast switch on times which is
shown on the table.



ELECTRICAL CHARACTERISTICS @ 50 Hz
S MmO

2 pole 3000 rpm

BRAKE MOTORS

Q3HBOM2A70 | Aluminium | 075 | 10 | 2890 16 25 83 | - |37 | - 42 807 085 | 20-30 | 000K | B 57
Q3H8OM2B70 | Aluminium | 11 15 | 2890 23 36 9l - |39 | - 43 827 085 | 20-30 | 00017 | 1B 57
Q3H90S2A70 | Aluminium | 15 20 | 2930 30 49 13 | - 38| - 50 842 085 | 20-30 | 00023 | 17 62
Q3HI0L2A70 | Auminum | 22 | 30 | 2077 43 72 92 | - |31 | - 49 859 087 | 20-30 | 00028 | 19 62
Q3HIOOL2A70 | Aluminium | 30 | 40 | 2925 55 98 o | - |39 | - 47 871 090 | 33-48 | 00052 | 19 66
Q3HI2M2A70 | Aluminium | 40 | 55 | 2918 73 131 37 | m | u |34 45 88l 089 | 33-48 | 00056 | 32 68
Q3HI32M2070 | Aluminium | 55 75 | 2920 | 102/59 179 - |89 | - |3 43 892 088 | 80-120 - 52 73
4 pole 1500 rpm
Q3H8OM4A70 | Aluminum | 055 | 3/4 | 1435 13 36 64 | - | 23| - 32 771 076 | 20-30 | 000775 | 10 49
Q3HBOM4B70 | Aluminium | 075 1 1445 17 50 67 | - |28 | - 34 825 077 | 20-30 | 000261 | 13 52
Q3H90S4A70 | Aluminium | 11 15 | 145 25 73 72 | - | 32| - 40 841 078 | 20-30 | 00043 | 19 54
Q3H90L4A70 | Auminium | 15 2 1449 35 99 8l - | 38| - 42 853 076 | 20-30 | 000526 | 20 54
Q3HI0OL4A70 | Aluminium | 22 3 1445 45 144 89 | - |35 | - 43 867 083 | 33-48 | 000810 | 26 55
Q3HIOOL4B70 | Aluminium | 30 | 40 | 1446 62 199 84 | - | 33| - 38 877 08l | 33-48 | 00059 | 3 56
Q3HN2M4B70 | Aluminum | 40 | 55 | 1452 82 265 91 | 30 | 1 |33 41 886 080 | 67-85 | 001383 | 3l 56
Q3HI32M4D70 | Aluminum | 75 0 | w167 152 488 27 | 82 |08 | 23| 38 896 08l + 004030 | 60 60
6 pole 1000 rpm
Q3H8OMBA70 | Aluminum | 037 | 1/2 | 953 12 37 4a | - |21 | - 28 676 065 | 20-30 | 000261 | 10 52
Q3HSOMBB70 | Aluminium | 055 | 8/4 | 942 16 56 4] - s | - 23 731 070 | 20-30 | 000328 | 12 52
Q3H90S6A70 | Aluminium | 075 | 10 | 950 21 76 49 | - |25 | - 30 789 067 | 20-30 | 000460 | 18 53
Q3H90LEB70 | Aluminum | 110 15 | 950 30 1 45 | - |28 | - 29 810 067 | 20-30 | 000528 | 20 53
Q3HIOOLBA70 | Aluminum | 150 | 20 | 960 4] 149 48 | - |28 | - 30 825 065 | 33-48 | 00059 | 26 55
Q3HI2MBA70 | Aluminum | 220 | 30 | 957 52 220 49 | - | 27| - 30 843 071 | 67-85 | 001383 | 32 57
I Q3HI32MBB70 | Aluminium | 50 75 | 9n | 126/73 541 - |s7 | - |15 28 872 075 + 0059 | 66 73

* According to IEC 60034-2-1
**The sound pressure measurements are taken Im away from the motor

** Tolerance +3 dBA

*** Please contact us for your requests.

1yl

WAT | IM en 24.0
L1 N L1



Power Number
(kW) of Poles

037
0.55
055
075
075
075

BRAKE MOTORS

e S LS e > S S R e I S S e I S L« B S\ e > B e ]

Motor Type

Q3HBOMBA70
Q3H80M4A70
Q3H80OMBB70
Q3H8OM2A70
Q3H80M4B70
Q3H90S6A70
Q3H80M2B70
Q3H90S4A70
Q3H90L6B70
Q3H90S2A70
Q3H90L4A70
Q3HI00LBA70
Q3H90L2A70
Q3HI00L4A70
Q3H1I2MBA70
Q3HI00L2A70
Q3H100L4B70
Q3HII2M2A70
Q3H12M4B70
Q3H132M4D70

Braking
Torque
(Nm)
20-30
20-30
20-30
20-30
20-30
20-30
20-30
20-30
20-30
20-30
20-30
33-48
20-30
33-48
67-85
33-48
33-48
67-85
67-85
95-120

Housing
Tupe

Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium

Main Dimensions

AC

158
158
158
158
158
176
158
176
176
176
176
196
176
196
219
196
196
219
219
260

L

340
340
365
340
340
420
340
460
420
420
460
482
420
482
497
482
482
497
497
516

0

1xM20
1xM20
1xM20
1xM20
1xM20
IxM25
1xM20
IxM25
1xM25
1xM25
1xM25
1xM25
1xM25
1IxM25
1xM25
1xM25
1xM25
1xM25
1xM25
1xM32

100
100
100
100
100
100-125
100
100-125
100-125
100-125
100-125
140
100-125
140
140
140
140
140
140
140-178

Foot Mounted Motors

A

125
125
125
125
125
140
125
140
140
140
140
160
140
160
190
160
160
190
190
216

H

80
80
80
80
80
90

100
2
2
132

HD

216
216
216
216
216
223
216
223
223
223
223
243
223
243
265
243
243
265
265
312

50
50
50
50
50
56
50
56
56
56
56
63
56
63
70
63
63
70
70
89

Shaft

40
40
40
40
40
50
40
50
50
50
50
60
50
60
60
60
60
60
60
80

GA

215
215
215
215
215
27
215
27
27
27
27
3l
27
3l
3l
3l
3l
3l
3l
41

0 0 O 0 0 O W 0 W W W W O W o o o o o =

3

Bearing

Drive Side

6204-77
6204-77
6204-77
6204-27
6204-77
6305-7Z
6204-77
6305-7Z
6305-7Z
6305-7Z
6305-7Z
6306-7Z
6305-7Z
6306-7Z
6306-7Z
6306-7Z
6306-2Z
6306-7Z
6306-2Z
6208 ZZ

Non drive
Side
6204-27
6204-27
6204-27
6204-22
6204-27
6205-72Z
6204-27
6205-72Z
6205-22
6205-2Z
6205-22
6205-2Z
6205-22
6205-2Z
6206-2Z
6205-22
6205-22
6206-2Z
6206-2Z
6208-72Z

Seal

Drive Side
20*30*7
20*30*7
20*30*7
20*30*7
20*30*7
25*40*7
20*30*7
25*40*7
25*40*7
25*40*7
25*40*7
30*47*7
25*40*7
30*47*7
30*47*7
30*47*7
30*47*7
30*47*7
30*47*7
40*62*10

Non drive
Side
20*30*7
20*30*7
20*30*7
20*30*7
20*30*7
25*40*7
20*30*7
25*40*7
25*40*7
25*40*7
25*40*7
25*40*7
25*40*7
25*40*7
30%47*7
25*40*7
25*40*7
30*47*7
30%47*7
40*62*10

Dimensions are in mm

(1] Tolerance DIN EN 50347 “j6" up to f28mm.’k6" above f28mm

[
(
[

2] According to DIN 6885
3) Tolerance DIN EN 50347 “j6°
4] Lifting bolt is mounted from frame size 112 on

WAT | IM en 24.0



BRAKE MOTORS

DIMENSION BS - B35

037 Q3H80MBA70 | 20-30 | Aluminium xM20 215 6204-77 | 6204-ZZ | 20*30*7 |20*30*7
055 Q3HBOM4A70 | 20-30 | Aluminium | 158 | 340 | 1xM20 | 100 125 |80 | 216 10| S0 |19 |40 215 6204-77 | 6204-7Z | 20*30*7 |20*30*7 (200 130|165 | - | 12
0.55 Q3H80MEB70 | 20-30 | Aluminium | 158 | 365 | 1xM20 | 100 125 (80 | 216 [10| S0 |19 |40 |25 6204-77 | 6204-7Z | 20*30*7 | 20*30*7| 200 (130 165 - | 13
075 Q3HBOM2A70 | 20-30 | Aluminium | 158 | 340 | 1xM20 | 100 125 (80 | 216 [10 | 50 | 19 | 40 215 6204-77 | 6204-7ZZ | 20*30*7 |20*30*7 [ 200 130 | 165 | - | 12
075 Q3H80M4B70 | 20-30 | Aluminium | 158 | 340 | 1xM20 | 100 125 (80 | 216 [10| 50 |19 |40 |25 6204-77 | 6204-7Z | 20*30*7 | 20*30*7| 200 (130 165 | - | 13
075 Q3H90S6A70 | 20-30 | Aluminium | 176 | 420 | IxM25 | 100-125 | 140 | 90 | 223 |10 | 56 |24 | 50 | 27 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 130 | 165 | - | 14
Q3HBOM2B70 | 20-30 | Aluminium | 158 | 340 | IxM20 | 100 125 |80 | 216 [10| S0 |19 |40 |25 6204-77 | 6204-ZZ | 20*30*7 | 20*30*7 (200 (130|165 | - | 12
Q3H90S4A70 | 20-30 | Aluminium | 176 | 460 | IxM25 | 100-125 | 140 | 90 | 223 |10 | 56 |24 | 50 | 27 6305-77 | 6205-ZZ | 25*40*7 | 25*40*7 | 200 (130 165 | - | 14
Q3H90L6B70 | 20-30 | Aluminium | 176 | 420 | IxM25 | 100-125 | 140 | 90 | 223 |10 | 56 |24 | 50 | 27 6305-Z7 | 6205-ZZ | 25*40*7 | 25*40*7 (200 (130|165 - | 15
Q3H90S2A70 | 20-30 | Aluminium | 176 | 420 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 6305-Z7 | 6205-ZZ | 25*40*7 | 25*40*7 [ 200 (130 | 165 | - | 12
Q3H90L4A70 | 20-30 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 | 24 | 50 | 27 6305-Z7 | 6205-ZZ | 25*40*7 | 25*40*7 | 200 (130 165 | - | 15
Q3HI00LBA70 | 33-48 | Aluminium | 196 | 482 | xM25 | 140 | 160 | 100 | 243 |12 | 63 |28 | 60 | 3I 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 [180 | 215 | - |145
Q3H90L2A70 | 20-30 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 [ 10 | 56 |24 | 50 | 27 6305-ZZ | 6205-Z7Z | 25*40*7 | 25*40*7 | 200 | 130 [ 165 | - | 12
Q3HIO0L4A70 | 33-48 | Aluminium | 196 | 482 | xM25 | 140 | 160 (100 [ 243 | 12 | 63 |28 | 60 | 3 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 [ 180 | 215 | - |145
Q3HII2MBA70 | 67-85 | Aluminium | 219 | 497 | IxM25 | 140 190 | 12 | 265 |12 | 70 |28 | 60 | 31 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - |155
Q3HI00L2A70 | 33-48 | Aluminium | 196 | 482 | xM25 | 140 | 160 (100 [ 243 |12 | 63 |28 | 60 | 3I 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 [ 180 | 215 | - |145
Q3HI00L4B70 | 33-48 | Aluminium | 196 | 482 | IxM25 | 140 | 160 100 | 243 |12 | 63 |28 | 60 | 3I 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 (180 | 215 | - |155
Q3HII2M2A70 | 67-85 | Aluminium | 219 | 497 | IxM25 | 140 190 | 12 | 265 |12 | 70 |28 | 60 | 31 6306-ZZ | 6206-ZZ | 30*47*7 |30*47*7 | 250 |180 |25 | - |155
Q3HNI2M4B70 | 67-85 | Aluminium | 219 | 497 | IxM25 | 140 190 | 12 | 265 |12 | 70 [ 28| 60 | 31 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 [180 | 215 | - |165
(Q3H132M4D70 | 95-120 | Aluminium | 260 | 516 | IxM32 | 140-178 | 216 | 132 | 312 | 12 | 89 |38 | 80 | 41 6208 ZZ | 6208-ZZ | 40*62*10 [40*62*10( 300 |230(265| - (145

W |0 |W|W | W|W | | ®|W®W| ®/ O O D

o
Sl E DI IMDIO O BID OIS DO BIDIOIESE DO BO

=]

Dimensions are in mm.
(1] Tolerance DIN EN 50347 “j6" up to f28mm.’k6" above f28mm.

(2] According to DIN 6885
(3] Tolerance DIN EN 50347 “j6°
(4] Lifting bolt is mounted from frame size 112 on ﬂ

WAT | IM en 24.0
LN S



BRAKE MOTORS

DIMENSION Bl4a - 34a

([0

037 6 | Q3H8OMBA70 | Aluminium xM20 215 | 6 | 6204-7ZZ | 6204-ZZ | 20*30*7 |20*30*7
0.55 4 | Q3H8OM4A70 | Aluminium | 158 | 340 | IxM20 100 125 |80 | 216 [ 10| 50 |19 |40 |25 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7| 120 | 80 | 100 | - | M6
055 6 | Q3HBOM6B70 | Aluminium | 158 | 365 | IxM20 100 125 (80 | 216 |10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 [20*30*7| 120 | 80 [ 100 | - | M6
075 2 | Q3H8OM2A70 | Aluminium | 158 | 340 | xM20 | 100 125 (80 | 216 |10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 [20*30*7 | 120 | 80 [ 100 | - | M6
075 4 | Q3HBOM4B70 | Aluminium | 158 | 340 | 1xM20 100 125 |80 | 216 [ 10| 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7| 120 | 80 | 100 | - | M6
075 6 | Q3HI0SBA70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7| 140 | 95 | N5 | - | M8
11 2 | Q3HBOM2B70 | Aluminium | 158 | 340 | 1xM20 100 125 |80 | 216 [ 10| 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7| 120 | 80 | 100 | - | M6
11 4 | Q3H90S4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7| 140 | 95 | N5 | - | M8
1 6 Q3H90L6B70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7| 140 | 95 | U5 | - | M8
15 2 | Q3H90S2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 [25*40*7 | 140 | 95 | 15 | - | M8
15 4 Q3HI0L4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7| 140 | 95 | N5 | - | M8
15 6 | Q3HIOOLBA70 | Aluminium | 196 | 482 | 1xM25 140 160 (100 | 243 | 12 | 63 | 28| 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 |25*40*7 | 160 | 1O | 130 [ - | M8
22 2 Q3H90L2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 |25*40*7 | 140 | 95 | N5 | - [ M8
22 4 | Q3HIO0L4A70 | Aluminium | 196 | 482 | xM25 140 160 (100 | 243 | 12 | 63 | 28| 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 |25*40*7 | 160 | MO [ 130 | - | M8
22 6 | Q3HN2MBA70 | Aluminium | 219 | 497 | IxM25 140 190 | M2 [ 265 |12 | 70 |28 |60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 |30*47*7 | 160 | N0 | 130 | - | M8
3 2 | Q3HIO0L2A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 |12 | 63 |28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 | - | M8
3 4 | Q3HIOOL4B70 | Aluminium | 196 | 482 | 1xM25 140 160 (100 | 243 | 12 | 63 |28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 |25*40*7 | 160 | 10 | 130 | - | M8
4 2 | Q3HI2M2A70 | Aluminium | 219 | 497 | 1xM25 140 190 | 12 | 265 |12 | 70 |28 | 60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7| 160 | 10 | 130 | - | M8
75 4 | Q3H132M4D70 | Aluminium | 219 | 497 | 1xM25 140 190 | 12 | 265 |12 | 70 |28 | 60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7| 200 | 130 | 165 | - |MIO

Hnin

WAT | IM en 24.0
L N LJ



BRAKE MOTORS

DIMENSION Bi4b - B34b e

—fd
17, ) i
“ATA D
B . 4543
i o p - |
I
A
| =)
[ A e
- s H i«
N
1 LAY
L] b /
’ _1/,

Q3H8OMBA70 | Aluminium 1xM20 215
Q3H80M4A70 | Aluminium | 158 | 340 | 1xM20 | 100 125 |80 | 216 [10| 50 |19 |40 |25
Q3H80MBB70 | Aluminium | 158 | 365 | 1xM20 | 100 125 |80 | 216 [10| 50 |19 |40 |25
Q3HBOM2A70 | Aluminium | 158 | 340 | 1xM20 | 100 125 |80 | 216 [10| S0 |19 |40 |25
Q3H80M4B70 | Aluminium | 158 | 340 | 1xM20 | 100 125 |80 | 216 [ 10| 50 |19 | 40 | 215
Q3H90SBA70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27
Q3H80OM2B70 | Aluminium | 158 | 340 |1xM20 | 100 125 |80 | 216 [10| 50 |19 |40 | 215
Q3HY0S4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27
Q3HI0L6B70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 | 24| 50 | 27
Q3H90S2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27
Q3HY0L4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 [ 10 | 56 |24 | 50 | 27
Q3HIOOLBA70 | Aluminium | 196 | 482 | IxM25 | 140 160 | 100 | 243 [ 12 | 63 |28 | 60 | 3l
Q3H90L2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 [ 10 | 56 |24 | 50 | 27
Q3HI00L4A70 | Aluminium | 196 | 482 | 1xM25 | 140 160 | 100 | 243 [ 12 | 63 |28 | 60 | 31
Q3HII2MBA70 | Aluminium | 219 | 497 | 1xM25 | 140 190 | M2 | 265 [ 12| 70 (28|60 | 3l
Q3HI00L2A70 | Aluminium | 196 | 482 | 1xM25 | 140 160 | 100 | 243 [ 12 | 63 |28 | 60 | 3
Q3HI00L4B70 | Aluminium | 196 | 482 | 1xM25 | 140 160 | 100 | 243 [ 12 | 63 |28 | 60 | 3l
Q3HII2M2A70 | Aluminium | 219 | 497 |1xM25 | 140 190 | M2 | 265 [ 12| 70 (28 |60 | 3
Q3H132M4D70 | Aluminium | 219 | 497 | 1xM25 | 140 190 | M2 [ 265 [ 12 | 70 |28 | 60 | 31

6204-77 | 6204-7ZZ | 20*30*7 | 20*30*7
6204-77 | 6204-77 | 20*30*7 | 20*30*7| 160 | 10 | 130 | - | M8
6204-77 | 6204-7ZZ | 20*30*7 [20*30*7| 160 | MO | 130 | - | M8
6204-77 | 6204-ZZ | 20*30*7 [20*30*7 | 160 | 1O | 130 | - | M8
6204-77 | 6204-77 | 20*30*7 | 20*30*7| 160 | 10 | 130 | - | M8
6305-ZZ | 6205-ZZ | 25*40*7 |25*40*7 | 160 | MO | 130 | - | M8
6204-77 | 6204-77 | 20*30*7 | 20*30*7| 160 | 10 | 130 | - | M8
6305-ZZ | 6205-ZZ | 25*40*7 |25*40*7 | 160 | 1O | 130 | - | M8
6305-ZZ | 6205-ZZ | 25*40*7 |25*40*7 | 160 | MO | 130 | - | M8
6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7| 160 | 10 | 130 | - | M8
6305-ZZ | 6205-ZZ | 25*40*7 |25*40*7 | 160 | MO | 130 | - | M8
6306-ZZ | 6205-ZZ | 30*47*7 |25*40*7 | 200 | 130 | 165 | - | MIO
6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7| 160 | 10 | 130 | - | M8
6306-ZZ | 6205-ZZ | 30*47*7 |25*40*7 | 200 | 130 | 165 | - | MIO
6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | - | MIO
6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | - | MIO
6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | Mi2

(42}
S D IE DO BN O DO BEIND O DO B

© © |00 0|00 | W|0Ww W|(w (o W o & o O &®

75

IS

WAT | IM en 24.0
LN/ S



BRAKE MOTORS

Brake Kit

ING

WAT | IM en 24.0
L1 N S

Flexibility - Our IEC standard motors can
easily be converted into a brake motor
within minutes using our modular brake
kit



BRAKE KIT NOMENCLATURE

BRAKE MOTORS

Normal, without Without T 15
H80 08 . NO | Without Brake 00 | 72 072 | Small S 000 seal, Without Without Paint
friction plate Brake
hand-release
A With dust
Hoo 0g | Deep. without Lo | EMIF half A | 90 090 | Normal N | 24V DC 024 | seal, without RALEOI W
friction plate wave
hand-release
Normal, without Without dust
HS90 08 | friction plate, fixed NI | EMF full wave AB | 12 2 Large L | 100V DC 100 seal, With RAL 7015 H
NDE hand-release
Deep. without EMF. half With dust
HI00 10 friction plate, fixed L1 | wave, AC | 132 132 180V DC 180 seal, With RAL 7030 L
NDE microswitch hand-release
Hsioo  og | Nomol with fricion ., | EMF. ful wave, g 145 220VAC 220 RAL7031 0O
plate microswitch
Hil2 I E;is with fiotion 1o | fompoiti 1 BA | 170 170 230VAC 230
HS1I2 o | Nomol with friotion o | roniti 2 BB | 196 196 380VAC 380
plate, fixed NDE
Deep. with friction -
HI32 13 plate, fixed NDE L3 | Temporiti, 3 BC 400V AC 400
HS132 I Temporiti, 4 BD
HI60 16 Intorg CA
HS160 13 Precima DA
HI80 18 Dereli EA
H200 20
[\ J
\Y4
090 N 20x20 090N 20x20
12 S 15x20 n2S 15x20
12 N 20x20 12N 20x20
132 S 20x20 1328 20x20
132 N 25x25 132N 25x25
145 S 20x20 1458 20x20
145 N 25x25 145N 25x25
170 S 25x25 170S 25x25
170 N 35x30 170N 35x30
196 N 35x30 196N 35x30

1017/

WAT | IM en 24.0
L1l N L/



BRAKE MOTORS

Q3H80OM2C
Q3H8OM2D
Q3H80M4D
(Q3H80M2DE
(Q3H80M4DE
Q2H80oM2C
Q2H80M4C
Q2H80M2D
(Q2H80M2DE
Q2H80M4D
Q2H80MA4DE
Q3H80OM4C
Q3H8OMBA
Q3H80MEB
Q3H90L2C
Q3H30L2D
Q3H90L4C
Q3H90L4D
Q3H30L6C
Q3H90L6D
Q3H90L2E
Q3H90L4DE
Q2H90S6B
Q2H390L6C
Q2H90L2D
Q2H90L4D
Q2H90L4DE
Q2H90L2DE
Q3HS90S2C
Q3HS9084C
Q2HS90S2B
Q2HS90L2C
02HS90S4B
Q2HS90L4C
Q3HI00L4C
Q3H100L4D

Q3HiooLeD

075

075

0.55

037

0.55

15/2

22/3

22

075

3/4

172

3/4

15/2

22/3

363

4,96

493

725

367

497

498

732

735

1004

376
559
497
720
762
9.89
754
.06
991
14.46
760
120
992
1462
1990
131
492
726
498
732
735
1004
14.49
19.81

1492

230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
400/690V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V

230/400V

FKOSNOOOOSONOOOX
FKOBNOOOOSONOOOX
FKO8NOOOOSONOOOX
FKO8LOOOOSONOOOX
FKO8LOOOT2NOOOX
FKOBNOOOOSONOOOX
FKOSNOOOOSONOOOX
FKO8NOOOOSONOOOX
FKO8LO0O2NO00X
FKOBNOOON2NO0OX
FKO8LOOON2NO00X
FKO8NOOOOSONOOOX
FKO8LOOOOSONOOOX
FKO8LOO0ON2NO00X
FKO9NOOOOSONOOOX
FKOSNOOON2NO00X
FKOSNOOOI2NO0OX
FKOSNOOON2NO0OX
FKOSNOOON2NO00X
FKO9NOOOI2NO00X
FKO9NOOOTI2NO0OX
FK09L000132S000X
FKO9NOOOI12NO00X
FKO9NOOOTI2NO0OX
FKO9NOOOI2NO0OX
FKO9N000132S000X
FK09L000132S000X
FK0SL000132S000X
FKO8LOOON2NO00X
FKO8LOOON2NO0OX
FKOBNOOON2NO00X
FKO8LOOON2NO00X
FKO8NOOOI2NO00X
FKO8LOOON2NO0OX
FKIONOOO0132N000X
FKIONOOO145N000X

FKIONOOOI32NO00X

26

26

26

26

26

26

26

26

26

48

26

26

26

48

48

48

26

26

26

26

26

26

48

80

48

FKOSNOAAOSONIOOX
FKOBNOAAOSONIOOX
FKOSNOAAOSONIOOX
FKOBLOAAOSONIOOX
FKOBLOAATI2NIOOX
FKOSNOAAOSONIOOX
FKOSNOAAOSONIOOX
FKOBNOAAQSONIOOX
FKOSLOAATI2NIOOX
FKOSNOAAN2NIOOX
FKOSLOAATI2NIOOX
FKOSNOAAOSONIOOX
FKOBLOAAOSONIOOX
FKOSLOAATI2NIOOX
FKO9NOAAOSONIOOX
FKOSNOAANI2NIOOX
FKOSNOAAN2NIOOX
FKOSNOAAN2NIOOX
FKOSNOAANI2NIOOX
FKOSNOAAN2NIOOX
FKOSNOAANI2NIOOX
FKOSLOAAI32S100X
FKOSNOAAN2NIOOX
FKOSNOAANI2NIOOX
FKOSNOAAN2NIOOX
FKOSNOAAI32S100X
FKOSLOAAI32S100X
FKOSLOAAI32S180X
FKOSLOAATI2NIOOX
FKO8LOAATI2NIOOX
FKOSNOAAI2NIOOX
FKOBLOAAIN2NIOOX
FKOSNOAAN2NIOOX
FKOBLOAAN2NIOOX
FKIONOAAT32NI00X
FKIONOAAI45NIOOX

FKIONOAAI32NI00X

26

26

26

26

26

26

26

26

26

48

26

26

26

48

48

48

26

26

26

26

26

26

48

80

48

1N

WAT | IM en 24.0

L1 N S



BRAKE MOTORS

Q3HI00L2DE 1301 400/690V FK1ONOOO0132S000X FKIONOAAI32S180X

Q3HI00L4E 4 55 4 C 2644 400/690V FK10L000145N000X 80 FKIOLOAAI4SNIBOX 80
Q3Hi00L2D 3 4 2 S 973 230/400V FKIONO0O0132S000X 48 FKIONOAAI32S100X 48
Q3HI00L2E 5 7 2 SC 1791 400/690V FK10L000145N000X 80 FKIOLOAAI4SNIBOX 80
Q2Hi00L6C 15 2 6 S 15,00 230/400V FKIONOOOI32NO00X 48 FKIONOAAI32NI00X 48
Q2H100L4D 22 3 4 c 26,53 400/690V FKIONOOO145N000X 80 FKIONOAAT45NIBOX 80
Q2HI00L2DE 5 7 2 SC 18.05 400/690V FKIONOOO0132S000X 48 FKIONOAAI32S180X 48
Q2HI00L2E 75 10 2 SC 2474 400/690V FK10LO00145N000X 80 FK10LOAAI45NISOX 80
Q3HsiooL2C 3 4 2 S 991 230/400V FKOSNOOOI2NOOOX 26 FKO9NOAAN2NIO0X 26
Q3Hs100L4C 22 3 4 S 14,56 230/400V FK09L000132S000X 48 FKOSLOAAI32S100X 48
Q2HS100L2B 3 4 2 S 992 230/400V FKO9NOOOII2NO00X 26 FKO9NOAAN2NIO0X 26
Q2HS100L4B 22 3 4 S 1462 230/400V FKOINO00132S000X 48 FKO9NOAAI32S100X 48
Q2Hsio0L4C 3 4 4 S 19.90 230/400V FK09L000132N000X 48 FKO9LOAAIZ2NI00X 48
Q2Hs100L2C 4 55 2 C 131 400/690V FK0SL000132S000X 48 FKOSLOAAI32S180X 48
Q3H12M4D 4 55 4 S 2631 400/690V FKTINOOO145NO00X 80 FKTINOAAI45NIBOX 80
Q3H12M6D 22 3 6 S 2195 230/400V FKTINOOO145N000X 80 FKTINOAAI4SNIOOX 80
Q3Hn2m2c 4 55 2 S 1304 400/690V FKTINOOOI32NO0OX 48 FKTINOAAI32NIBOX 48
Q3Hn2m2D 55 75 2 C 1799 400/690V FKTINOOO145N000X 80 FKTINOAAI45NISOX 80
Q3HI2M2DE 7 10 2 C 24,85 400/690V FKTILO00145N00OX 80 FKTILOAAI45NIBOX 80
Q3HN2M4E 4 55 4 C 36.40 400/690V FKTILOOO0145N000X 80 FKTILOAAI45NIBOX 80
Q2H12MBC 22 3 6 S 2230 230/400V FKTINOOO145NO00X 80 FKTINOAAI45NI00X 80
Q2H12M4D 55 75 4 C 36.35 400/690V FKTINOOO145N000X 80 FKTINOAAI45NISOX 80
Q3HS112M2C 4 55 2 S 1301 400/690V FKIONOOO0132S000X 48 FKIONOAAI32S180X 48
Q2HS112M2B 4 55 2 S 1317 400/690V FK10NO0O0132S000X 48 FKIONOAAI32S180X 48
Q2HS12M4C 4 55 4 S 2653 400/690V FKIONOOO145N0O00OX 80 FKIONOAAI4SNIBOX 80
Q2HST12M2C 55 75 2 C 18.05 400/690V FK1ONOOO0132S000X 48 FKIONOAAI32S180X 48
Q2HS112M2D 75 10 2 C 2474 400/690V FKIONOOO0145N0O00X 80 FKIONOAAI4SNIBOX 80
Q4H13252D 55 75 2 S 17.84 400/690V FKI3NOOQ145N000X 80 FKI3NOAAI45NIBOX 80
Q4H13252DE 75 10 2 S 2439 400/690V FKI3NOOO145N000X 80 FKI3NOAAI45NIBOX 80
Q4H13284C 55 75 4 S 3563 400/690V FKI3N000170S000X 120 FKI3NOAAT70S180X 120
Q4HI32M4DE 75 10 4 S 4889 400/690V FKI3N000170S000X 120 FKI3NOAAT70S180X 120
Q3H13254B 55 75 4 S 3580 400/690V FK13N000170S000X 120 FKIBNOAAT70S180X 120
Q3HI32M4D 75 10 4 S 4882 400/690V FK13N000170S000X 120 FKI3NOAAT70S180X 120
Q3HI32S6A 3 4 6 S 2929 230/400V FKI3NOOQ145N000X 80 FKI3NOAAI145N100X 80
Q3HI32MBA 4 55 6 S 3918 400/690V FKI3N000170S000X 120 FKI3NOAAI70S180X 120
Q3H132M6B 55 75 6 S 54,09 400/690V FKI3NO00170NO0OX 120 FKI3NOAAI70NI80X 120
Q3H13252C 5.5 75 2 S 17.99 400/690V FKI3NOOQ145N000X 80 FKI3NOAA145NIBOX 80
Q3H13252D 75 10 2 S 2428 400/690V FK13NOOO0145N000X 80 FKI3NOAAT45NIB0X 80
Q3HI32M2A 1 15 2 C 3591 400/690V FKI3N000170S000X 120 FKI3NOAAI70S180X 120

1nce!
WAT | IM en 24.0

L1 N NS



BRAKE MOTORS

Q3HI32M28
Q3HI32MAE
Q2HI32M4C
Q2HI3256A
Q2HI32MBA
Q2HI32M6B
Q2HI32M2A
Q2HI32M28
Q2HI32M2C
Q2HI32M4D
Q2HI32MA4E
Q3HS13252C
3HS13252D
Q2HS132528
Q2HS13252C
Q2HSI3254A
Q3HI00L6C
Q4HI00L2D
Q4HI0OL4E
Q4HII2M4E
Q3HI3252DE
Q4HI32M2AE
Q4H80M2D
Q4HBOMAE
Q3HI0L4E
Q4H90L2D
Q4HI0L2E
Q4H9OL4E
Q4HI0L4D
Q3HSI3254B
Q4H8OM4D
Q4HI00LBA
Q4H80M2DE
Q4HI00LAC
Q4HI00L4D
Q4HI2MA4D

Q4H2M2D0

75

75

55
75
55
75

55

075

075

55
75

75

1115

55

4881
7146
49,06
2969
3938
5471
3594
4914
60.30
7156
9798
1800
2455
1802
2470
3635
.06
97
20
26.71
2909
3573
243
5,08
1020
4,86
70
1031
745
3699
374
112
357
1016
14,80
2032

1291

400/690V
400/630V
400/690V
230/400V
400/690V
400/630V
400/690V
400/690V
400/690V
400/630V
400/690V
400/630V
400/690V
400/630V
400/690V
400/690V
230/400V
2307400V
230/400V
400/690V
400/690V
400/690V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V

400/690V

FK13L000170S000X
FK13LO00I96NO00X
FKI3N000170S000X
FKI3NOOQ145N000X
FKI3N000170S000X
FKI3N000170S000X
FKI3N000170S000X
FKI3N000170S000X
FK13LO00I96NO00X
FK13LO00I96NO00X
FK13LO00I9BNO00X
FKTINOOO145N000X
FKTILO0O0145N000X
FKTINOOO145N000X
FKTINOOO145N000X
FKTINOOO145N0O00X
FKIONOOOT2NO0OX
FKIONO0O0132S000X
FK10L000145N000X
FKNLOOO0145NO00OX
FKI3NOOO0145NO00X
FK13L000170S000X
FKOBNOOOOSONOOOX
FKOB8LOOOOSONOOOX
FKO9NOOOTI2NO0OX
FKO9NOOOOSONOOOX
FKO9NOOOI2NO0O0X
FKO9NOOOTI2NO0OX
FKO9NOOOI2NO0OX
FKTILOO0145N000X
FKOBNO0OOOS0ONOOOX
FKIONOOOTI2NO0OX
FK08LOO0OO90NOOOX
FKIONO00132N000X
FKIONOOOI32NO00X
FKTILO00145NO00X

FKTINO00132S000X

240
120
80
120
120
120
120

240

240

240
80
80
80
80
80
26
48
80
80
80

120

26

26

26

80

48

48

80

48

FKI3LOAAT70S180X
FKI3LOAAIZBNIBOX
FKIBNOAAI70S180X
FKI3NOAAI45N100X
FKIBNOAAI70S180X
FKI3NOAAI70S180X
FKIBNOAAI70S180X
FKI3NOAAI70S180X
FKI3LOAAI9BNIBOX
FKI3LOAAIZBNIBOX
FKI3LOAAI9BNIBOX
FKTINOAAI45NIB0X
FKTILOAAT45NIBOX
FKTINOAAI45NIB0X
FKTINOAAI45NIBOX
FKTINOAAI4SNIBOX
FKIONOAATI2NIOOX
FKIONOAAI32S100X
FKIOLOAAI45NI00X
FKNLOAAI45NIBOX
FKI3NOAA145NIBOX
FKI3LOAAI70SI80X
FKOBNOAAO9ONIOOX
FKO8LOAAO9ONIOOX
FKOSNOAAN2NI00X
FKOSNOAAO9ONIOOX
FKOSNOAAT2NI00X
FKOSNOAAN2NI00X
FKO9NOAAN2NI00X
FKTILOAAT45NI00X
FKOBNOAAO9ONIOOX
FKIONOAATI2NI00X
FKOBLOAAOQONIOOX
FKIONOAAI32NI00X
FKIONOAAI32NI00X
FKTILOAAI45NI00X

FKTINOAAI32S180X

240
120
80
120
120
120
120

240

240

240
80
80
80
80
80
26
48
80
80
80

120

26

26

26

80

48

48

80

48

1N

WAT | IM en 24.0
L1 L NS



BRAKE MOTORS

BRAKE KIT DIMENSIONS
(Based on EMF Brand Brake)

FKO8LOAAOSONIOOX 12 20 20 1405 1496 | M5 | 90 | 3xMS 105 20 1555 | 4xM4 | 990 540 45 20 1580 | 025 2kg

FKO8LOAAN2NI00X 26 20 20 140.5 1496 | M5 | T2 3xMé 130 20 185.5 4xM4 | 1040 | 540 50 20 159.0 025 | 36kg
FKOBNOAAOSONIOOX 12 20 20 1405 1496 | M5 | 90 3xM5 105 20 1555 4xMa | 737 287 45 20 1300 025 2kg
FKOBNOAATI2NIOOX 26 20 20 140.5 1496 | M5 | T2 3xMé 130 20 1555 4xM4 | 787 287 50 20 1300 025 | 36kg
FKOSLOAAN2NIOOX 26 20 20 1495 1586 | M5 | 12 3xM6 130 20 174.0 4xMS | 100 600 50 20 176.5 025 | 36kg
FKOSLOAAN2NIBOX 26 20 20 1495 1586 | M5 | T2 3xM6 130 20 1740 4xMS | 100 600 50 20 1765 025 | 36kg
FKO9LOAAI32NI0OX 48 25 25 1495 1586 | M5 | 132 | 3xM6 150 25 1740 4xM5 | T80 600 58 25 176.5 030 | 56kg
FKOSLOAAI32S100X 48 20 20 1495 1586 | M5 | 132 | 3xM6 150 20 1740 4xMs | 1180 60.0 58 20 1765 030 | S6kg
FKOSLOAAI32S180X 48 20 20 1495 1586 | M5 | 132 | 3xM6 150 20 1740 4xM5 | T80 600 58 20 176.5 030 | 56kg
FKOSNOAAO9ONIOOX 2 20 20 1495 1586 | M5 | 90 3xMS 105 20 1740 4xM5 | 675 225 45 20 1335 025 2kg
FKOSNOAAN2NIOOX 26 20 20 1495 1586 | M5 | T2 3xM6 130 20 174.0 4xM5 | 725 225 50 20 1335 025 | 36kg
FKOSNOAAI32S100X 48 20 20 1495 1586 | M5 | 132 | 3xM6 150 20 1740 4xM5 | 805 225 58 20 1335 030 | 56kg
FKIOLOAAI32NIOOX 48 25 25 166.0 1780 MS | 132 | 3xM6 150 25 1920 4xM4 | 985 405 58 25 1440 030 | 56kg
FKIOLOAAI32NIBOX 48 25 25 166.0 1780 MS | 132 | 3xMé 150 25 1920 4xM4 | 985 405 58 25 1440 030 | 56kg
FKIOLOAAI45NI00X 80 25 25 166.0 1780 MS | 145 | 3xM8 165 25 1920 4xM4 | 125 405 72 25 1440 030 | 79kg

FKIOLOAAI45NIBOX 80 25 25 166.0 1780 M5 | 145 | 3xM8 165 25 1920 4xM4 | 1125 405 72 25 1440 030 | 79kg

FKIONOAATI2NIOOX 26 20 | 20 166.0 1780 | M5 | T2 | 3xMé 130 20 1920 | 4xM4 | 760 260 50 20 1390 | 025 | 36kg

il

WAT | IM en 24.0
[ I



BRAKE MOTORS

“Mass
) Mn dl d2 d3 L2 )
Brake kit SKU ) | (17 P H7 d4 d5 d6 d7 dio di3 dis die L il L3 LIS Lt Air gap bEEEE]“

FKIONOAATI2NIBOX 26 20 20 166.0 1780 M5 | m2 3xM6 130 20 1920 4xM4 | 760 260 50 20 1390 025 | 36kg
FKIONOAAI32NI00X 48 25 25 166.0 1780 M5 | 132 | 3xM6 150 25 1920 4xM4 | 840 260 58 25 139.0 030 | S6kg
FKIONOAAI32NIB0X 48 25 25 166.0 1780 M5 | 132 | 3xM6 150 25 1920 4xM4 | 840 260 58 25 1390 030 | S56kg
FKIONOAAI32S100X 48 20 20 166.0 1780 | M5 | 132 | 3xM6 150 20 1920 4xM4 | 840 260 58 20 139.0 030 | S6kg
FKIONOAA132S180X 48 20 20 166.0 1780 MS | 182 | 3xM6 150 20 1920 4xM4 | 840 260 58 20 1390 030 | 56kg
FKIONOAA145N100X 80 25 25 166.0 1780 MS | 145 | 3xM8 165 25 1920 4xM4 | 980 260 72 25 139.0 030 79 kg
FKIONOAAI4SNIBOX 80 25 25 166.0 1780 MS | 145 | 3xM8 165 25 1920 4xM4 | 980 260 72 25 139.0 030 79 kg
FKTILOAAI32NI00X 48 25 25 1820 1930 M6 | 132 | 3xM6 150 25 216.0 4xM6 | 1090 510 58 25 194.0 030 | 56kg
FKTILOAAT32NIBOX 48 25 25 1820 1930 M6 | 132 | 3xM6 150 25 216.0 4xM6 | 1090 510 58 25 1940 030 | 56kg
FKTILOAAI45NI00X 80 25 25 182.0 1930 M6 | 145 | 3xM8 165 25 2160 4xM6 | 1230 510 72 25 194,0 030 | 79kg
FKTILOAAT45NIBOX 80 25 25 182.0 1930 M6 | 145 | 3xM8 165 25 2160 4xM6 | 1230 510 72 25 1940 030 | 79kg
FKTINOAATI2NIBOX 26 20 20 182.0 1930 M6 | n2 3xM6 130 20 2160 4xM6 810 275 50 20 165.0 025 | 36kg
FKTINOAA132S180X 48 20 20 182.0 1930 | M6 | m2 3xMé 150 20 2160 4xM6 | 855 275 58 20 165.0 030 | 56kg
FKTINOAAI32NI00X 48 25 25 1820 1930 | M6 | 132 | 3xM6 150 25 2160 4xM6 | 855 275 58 25 165.0 030 | 56kg
FKTINOAAT32NIBOX 48 25 25 1820 1930 | M6 | 132 | 3xM6 150 25 2160 4xM6 | 855 275 58 25 165.0 030 | 56kg
FKTINOAAI45NI00X 80 25 25 1820 1930 | M6 | 145 | 3xM8 165 25 2160 4xM6 | 995 275 72 25 165.0 030 | 79kg
FKTINOAAT45NIBOX 80 25 25 1820 1930 | M6 | 145 | 3xM8 165 25 216.0 4xM6 | 995 275 72 25 165.0 030 | 79kg
FKI3LOAAI45NIBOX 80 25 25 2250 2410 | M8 | 145 | 3xM8 165 25 2530 | 4xM5 | 1560 | 840 72 25 | 2340 | 030 | 79kg
FKI3LOAAI70NISOX 120 35 35 2250 2410 | M8 | 170 | 3xM8 190 35 2530 | 4xM5 | 1620 | 840 78 30 | 2340 | 030 | T8kg
FKI3LOAAI70S180X 120 25 25 2250 2410 | M8 | 170 | 3xM8 190 25 2530 | 4xM5 | 1620 | 840 78 25 | 2340 | 030 | T8kg
FKI3LOAAI9BNIBOX 240 35 35 2250 2410 | M8 | 196 | 6xM8 217 35 2530 | 4xM5 | 1690 | 840 85 30 | 2340 | 040 | 184kg
FKI3NOAAI32NI00X 48 25 25 2250 2410 | M8 | 132 | 3xM6 150 25 2530 | 4xM5 | 855 275 58 25 1430 | 030 | 56kg
FKI3NOAAI32NIBOX 48 25 25 2250 2410 | M8 | 132 | 3xM6 150 25 2530 | 4xM5 | 855 275 58 25 1430 | 030 | 56kg
FKI3NOAAI145N100X 80 25 25 2250 2410 | M8 | 145 | 3xM8 165 25 2530 | 4xM5 | 995 275 72 25 1430 | 030 79 kg
FKI3NOAAI45NIBOX 80 25 25 2250 2410 M8 | 145 | 3xM8 165 25 2530 | 4xM5 | 995 275 72 25 1430 030 79 kg

FKI3NOAAIT70NIBOX 120 35 35 2250 2410 M8 | 170 | 3xM8 190 35 2530 | 4xM5 | 1055 275 78 30 1430 030 | N8kg

FKI3NOAAT70S180X 120 25 25 2250 2410 M8 | 170 | 3xM8 190 25 2530 | 4xM5 | 1055 275 78 25 1430 030 1.8 kg

WAT [ IM en 24.0












SINGLE PHASE MOTORS

Motors are manufactured in IEC 63-100 frame size as single phase, fully closed, short-circuit rotor and fan cooling.

Motors have been designed according to 230V, 50Hz as standard. Motors with other voltage and 60Hz frequency rating can be manufactured

on demand.

QM type single phase motors are with run capacitors and QC type single phase motors are with start and run capacitors.

Q2M type motors with run capacitor:
400V run capacitor is used in the motors.

QC type motors with start and run capacitor:

Motors have electronic relay as well as 400V run capacitor and start capacitor. These type of motors with high startup moment have the

capability of 300 start/stop per hour.

Moment

HI;

Torque-Speed curve of Q2M type motors with run capacitor

= Moment

Hiz

Torque-Speed curve of Q2C type motors with start and run capacitor

WAT [ IM en 24.0



SINGLE PHASE MOTORS

ELECTRICAL CHARACTERISTICS @ 50 Hz

2 pole 3000 rpm

Q2M 63M2A | Aluminium /4 018 2783 140 062 370 080 230 604 | 546 | 447 | 096 100 0,00021 535
Q2M 63M2B | Auminium | 1/3 | 025 | 2840 180 084 500 070 270 | 648 | 586 | 494 | 097 | 150 | 000026 | 620
Q2M 63M2D | Aluminium 3/4 0.55 2853 380 184 2380 0.50 150 74] 634 | 542 | 093 125 0.00030 7.60
Q2M 7IM2K | Aluminium /4 018 2800 126 061 350 070 2,00 604 | 542 | 437 | 099 125 000028 6.50
Q2M 7IM2A | Aluminium /3 025 2780 179 0.86 4,00 070 192 648 | 577 | 456 | 098 125 0.,00035 6.00
Q2M 7IM2B | Aluminium /2 037 2877 290 123 300 080 2380 695 | 625 | 515 | 085 | 350 0,00040 720
Q2M 7IM2C | Aluminium 3/4 055 2750 340 191 420 060 220 74] 714 | 832 | 099 | 300 0,00051 940
Q2MN 80S2A | Auminum | 3/4 | 055 | 2800 | 340 188 410 073 251 741 | 682 | 623 | 099 | 300 | 000122 | 960
Q2MN 80S2B | Aluminium 10 075 2840 430 252 395 065 220 774 | 732 | 642 | 099 | 350 0.00138 10.80
Q2MN 80L2A | Aluminium IS 11 2800 6.20 8Y75) 318 057 2,00 796 761 | 882 | 099 | 450 0.00160 1240
Q2MN 90L2A | Aluminium 15 11 2812 6.20 374 290 060 190 796 761 | 691 099 | 400 0.0018 14,80
Q2MN 90L2B | Aluminium 20 15 2830 850 5,06 310 060 190 813 803 | 744 | 099 | 600 0,00152 16.50
Q2MN 90L2C | Aluminium 30 22 2888 6.47 727 460 065 210 740 711 693 | 099 | 500 000172 18.00
Q2MN 100L2B | Aluminium 40 30 2820 1870 1016 250 040 180 750 721 | 703 | 099 | 800 0,00213 2200
4 pole 1500 rpm
Q2M 63M4A | Aluminium /6 012 1395 100 082 28 0.50 180 591 | 5170 | 3980 | 096 80 000025 520
Q2M 63M4B | Aluminium /4 018 1403 140 123 22 0.50 190 647 | 5610 | 4420 | 096 100 0.00071 540
Q2M 7IM4K | Aluminium /6 012 1430 090 080 31 065 2,00 591 | 5210 | 4050 | 091 100 0,00095 6,20
Q2M 7IM4A | Aluminium /4 018 1438 125 120 35 070 2,00 647 | 5500|4400 098 125 0,00107 7.40
Q2M 7M4B | Auminum | /3 | 025 | 1420 160 168 30 060 210 | 685 | 6150|5050 | 099 | 150 | 000167 | 780
Q2M 7IM4C | Aluminium 1/2 037 1413 240 250 30 070 210 727 |6650|5500| 097 | 200 0.00204 950
Q2MN 80S4A | Aluminium 1/2 037 1415 230 250 36 0.76 200 727 |6790|6020| 098 | 200 0.00200 10,00
Q2MN 80L4A | Aluminium 3/4 0.55 1400 330 375 24 061 171 771 | 7210 | 6620 | 099 | 250 0.00237 1.50
Q2MN 80L4B | Aluminium 10 075 1387 430 516 8IS 065 175 796 | 7450|6600 | 098 | 300 000290 12.80
Q2MN 90L4A | Aluminium 10 075 1448 430 495 30 0.50 190 774 |7600| 6610 | 099 | 350 0,00381 13.80
Q2MN 90L4B | Aluminium 15 11 1408 615 7.46 33 070 2,00 814 | 7720|6790 | 099 | 400 0,00471 1530
Q2MN 90L4C | Aluminium 20 15 1400 10,50 1023 50 055 160 760 |7330|7000| 099 | 500 0,00351 18.00
Q2MN 100L4B | Auminum | 30 | 22 | 400 | 1450 1501 30 055 180 | 760 | 7310 | 7150 | 099 | 750 | 000471 | 2400

1117/

WAT | IM en 24.0
(I N A



SINGLE PHASE MOTORS

AC
L
0
LI 1111 ]
[ [ \
®
| [°] [°] | o
: ‘ =
O ———— ———
. | [J] [o] | T
)
i
K
C B A
B3-B6-B7-B8-V5-V6
L
L
0
E”76777777077
Z| 0O
a|=z|o —= = _°! — —
Lol 1ol |
E R E R
B14-V18-V19 B5-VI-V3
Bs | FA |10 |95 | s [o] 10
63M  Auminm | 2.4 |123| 2205 [*M20| 80 | 100 |63 | 182 | 7 |40| n| 23 |125| 4 | 62012z | 620127 | 12%22#7 | 12*22*7 | B | FB | 120 | 80 | 100 |0 Me
B4 | Fc | 9 |60 75 |of Ms
Bs | FA | 160 |10 |10 [0] 10
7IM Auminum| 2.4 [138| 2525 |Me0| 90 | m2 | 71 [wes| 7 |45 || 30 |160| 5 | 620207 | 620227 | 15*24%5 | 15%24%5 | B | FB | w40 |95 | w5 0| M
B4 | Fc [ 105 |70 |85 |0 Ms
y 2550 Bs | FA | 198 [130 |65 0] 12
80 Auminiom | 2.4 | 156 ™20 | 100 | 125 |80 | 255 | 10 |50 |19 | 40 |215] 6 |6204-27 | 6204-27 | 2030%7 | 20%30*7 | B | B | 180 | M0 | 130 0] Ms
L 2 B4 | Fc | 17 |80 |00 |o] Me
. 5200 0 Bs | FA | 200|130 |65 0] 12
9% Auminiom | 2.4 | 178 "M20 o |90 | 24| 10 |56 |24] 50 |270| 8 | 620527 | 620527 | 25*40*7 | 25%40*7 | B4 | FB | 160 | M0 | 130 |0 M8
tH 3550 125 B4 | Fc | o |95 | s |of Ms
Bs | FA | 250|180 | 25 [o] 15
100L Aumim | 2.4 | 196 | 3700 |1*M25 | 140 | 160 100|262 | 12 |63 (28| 60 |310| 8 |6208-22 | 620627 | 30*47*8 | 30*47*8 | B | FB | 160 | M0 | 130 |0 M8
B4z | FC | 200 | 130 | 165 |0 | MiO

Dimensions are in mm

2] According to DIN 6885

3] Tolerance DIN EN 50347 “j6"

4) IPS5

5) Q2MB3M2B and Q2MB3M2D length 234 mm
6) Q2M7IM2C length 262mm

170

WAT | IM en 24.0
L LN












SPECIAL MOTORS

9-lead motors with YY / Y connection and 12-lead motors with A/YY/Y connection. Generally designed for 230/460V 60Hz operating
values, these motors address different mains voltage needs.

Star Star / Star Star / Star Star
L1 L1 2
~ A Connectior ~ AX Connection L1 Connection L1 Connection
L2 (G9) L @ 0 6 @
~ O I ~ O I I L2 U1 u3 U2 L2 U1 U3 U2
L3 @ B QB W U 9
O I O I I L3 W V3 V2 L3 W V3 V2
@__» W @ _®» @ W ~ ~
W1 W3 w2 W1 W3 w2
Delta (NN
L1 A Connection o 72X7)

shaf m L2 L1 L3

TT H N s 20 JERERE
¥ N\ L2 L3

9-lead motors with YY / Y connection and 12-lead mators with A/YY/Y connection. Generally designed for 230/460V 60Hz operating
values, these motors address different mains voltage needs.

QIEN2mM2/12D 380V 50Hz 4.9/0.8kW 2900/385 d/d

Low speed connection

l

|
-$-zu -$-w —= o)

- 1u -Eb— ™ -Eb— w

High speed connection

WAT [ IM en 24.0



SPECIAL MOTORS

Humidity, particularly on motor windings operating in humid environment, reduces insulation resistance and causes shorter motor life. In such
applications, with the heaters placed on motor winding, the humidity of windings are removed before starting the motor.

Our standard motors have Class F insulation. However, we also manufacture motors with Class H insulation.

Ambient Temperature Winding Temperature Rise Limit
‘ 40 ‘ 125 ‘ 15 ‘
180 °

We also manufacture UL certified motors upon request.

We also produce Bureu Veritas Certified marine motors upon request

Different from standard voltages, we also manufacture motors in different voltage steps (290/500V, 330/570V etc] upon request.

Different from standard frequencies, we also manufacture motors in different frequencies (32Hz, 87Hz etc] upon request.

We manufacture motors with bearings that suit to various temperature steps [150°C , 200°C etc] and axial-radial loads for different
applications.

« Special axle or double axle motors

« Special flange motors

» Fixed bearing motors

* Drain hole to remove condensation

* Use of thermic or thermistor to prevent motor winding temperature from rising above limit values
* Inverter duty motors

WAT [ IM en 24.0



MOTOR PART LIST

SM8JJS 18A0J UD4

18A09 UD4

un4

(pu3 8ALIp-UON] [08S

(pu3 BALIp-UON) SMma1ds platyspul
(pug 8ALp-UON] plaIYspU3
Jaysom Buudg

(pu3 eALp-uoN] Buuag (jog
1010y

fiay

yoys

(pu3 8AlQ) Busg [jog
(4pys] dioug

(Prayspu3) dijoaig

(pu3 enuq] piayspul

[
62
8¢
‘Le
9
S¢
e
€
k44

0¢

6l
8l
Al
9l

(pu3 8ALIQ) SMBIIS piBIyspug
(pu3 8AlQ) pBS

SM8IJS 100

1004

Bnid pulg

pupjb 8|qog

M819s Buipunoig)

}ogef3

SM8IJS X0Q |ouluLIa]
a10(d |puIwLIB]

184S0 18A09 X0q |puILLIB]
194506 X0q [pUIULLIB]

18A0D X0Q [DUILLIBL

X0Q [oulwIB]

J030}S PUNOM,

<l
7l
€l
<l

ol

‘60
‘80

L0

‘90
'S0
0
‘€0
'e0

WAT | IM en 24.0



MANAGEMENT OF WASTE MOTORS AND PARTS

X . . Terminal box and cover seals made of 7
Impact resistant with sheet material, durable material. ~
long lasting with galvanized coating. Grounded aluminum terminal box
with physical contact.

Durable with high strength plastic material. Terminal box ready for grounding. Rotatable in & different directions.

Two-way use, low ventilation loss and efficient cooling. You can also choose a big box if you
need more volume.

High strength covers reinforced
with steel bushing. Blockless rotor and corrosion
protection application with
Shaft design ready for die casting.
brake mounting.

Laser-written 2D barcode and
information fixed with rivets
durable motor label.

High insulation and lifetime with
bakelite terminal plate.

High IP protection class with

Durable aluminum body with high cooling specally designed gasket

performance. With 3 lifting points in 3 directions,
it is ready for different mounting styles.

Precise success in IP tests with
the use of a liquid gasket
between the cover and the body.

Long-term use with oil seal and

absolute success in IP tests.
o ) o Superior bearing protection and long

For superior paint quality, sandblasting is lubrication life with grease selected 63 series bearing for long life and

opplied to the body and covers produced by for high temperature. high load carrying capacity.
high pressure injection.

Protection part against impacts during
shipment and storage and corrosion
protection application. With grounding points in 3
different directions on the body
ease of assembly.
In conversion applications with two
mounting holes easy assembly and

compatibility. 160 fr and above PTC tn([pmtentinn.

s 1 0n each phase.

High quality insulation system for trouble-free
operation in the high service sector.
] The feet are machined after assembly to ensure the size

of the structure (frame). Full compliance with IEC

and EN standards in all dimensions.

By definition. an electric motor is a device that converts electrical energy into mechanical energy. An electric motor consists of a stationary (stator)
and a rotating (rotor or inductor] consists of two main moving parts. These main parts are the parts that conduct electric current. such as windings.
the parts that conduct magnetic flux. screws. construction parts such as housing and covers are divided into parts again.

The approximate lifetime of an electric motor used at the right power and in the right structure is accepted as 10 years.
The service life of motors can end in two ways:

1- Burning of the motor. damage to the components. quality problems caused by incorrect rewinding and repair processes. decrease in energy efficiency.
etc. reasons or as a necessity when its use is prohibited by regulations.

2- To achieve regulatory compliance. low-carbon production. energy and sustainability targets. and to enable inefficient motors to be used for higher
energy prefer to replace them with motors with higher efficiency.

Recycling is the process of reusing waste materials in order to avoid wasting potentially valuable materials. reduce raw material consumption and
energy use into usable objects.

Recycling makes many contributions to the environment and the economy.

« Natural resources are protected.

« Recycling reduces the need to extract raw materials for new products.

« Greenhouse gas emissions are reduced.

» Greenhouse gas emissions caused by landfiling of waste and raw material extraction are prevented.
« Energy consumption is reduced.

« Savings are achieved in the energy used for raw material extraction and processing.

WAT | IM en 24.0



MANAGEMENT OF WASTE MOTORS AND PARTS

Although the recycling process generally differs according to commodity and region. the basic steps can be expressed as collection. processing and
remanufacturing into a new product.

Collection: Wastes are collected separately at source by the generator and temporarily stored in accordance with local regulations. It is sent by licensed
carriers to be sent to the waste processing facility that meets the conditions according to the waste and regulatory requirements.

Processing: Recyclables are transported by the licensed collector to the recovery facility or storage facility. At the processing facility. recyclables are
separated by subjecting them to the relevant separation methods. Prepared for transportation directly to a production facility.

Recycling: The separated raw materials are subjected to processes according to the content and raw materials are obtained.

Re-production: After all necessary processes are completed, recyclable materials are transformed into new products in recycling facilities.

Electric motors can be subjected to the following processes before they become waste:

Reuse/recycling: Recycling/recovery:
Waste Motor and/or__s,  Replacement of parts of the > The engine is separated into all its parts and ——> Rqw Material
parts electric motor that are not of taken to recycling/recovery processes to be
suitable quality. treated with the appropriate waste code.

Attention! Rewinding is not recommended for electric motors. Rewinding of the motor can cause energy losses. especially rewinding and other incorrect
techniques that do not follow the original design of the motor can greatly reduce the efficiency of electric motors. as well as cause thermal damage
and problems such as high vibration. so rewinding after failure isn't recommended.

Waste motors should be kept in temporary waste storage at the generator's facility and marked with the appropriate waste code. According to legal
requirements, waste generators have the right to store the waste they produce on their premises for 6 months. Within this period. or preferably before.
they are obliged to send it to waste transportation and processing facilities licensed for the designated waste codes. The vehicle transferring the waste
must have the necessary license for the relevant waste code.

Within the scope of the Waste Management Regulation. the different waste codes given below are considered appropriate for waste motors.

Electric motors have a complicated structure including different types of metals. plastic parts. oils. etc. Since motors contain 97% recyclable materials.
at the end of their life, the contribution of waste to the circular economy should be preserved and evaluated within the scope of local and international
legislation. Waste engines and parts must be delivered to licensed waste collection/separation/recycling facilities. Waste motors and parts are subjected
to the following pre-treatments at licensed facilities.

« Proper treatment of valuable parts for recycling.
» Removal and disposal of hazardous parts. if any.

Waste Management Regulation

Waste Code - Description
Waste Description p
16 02 16 16 02 15 parts removed from discarded equipment other than 15 | Waste motor
16 0216 16 02 15 parts removed from discarded equipment other than 15 | Various motor parts
16 02 15* Dangerous parts removed from discarded equipment Waste motor in the presence of hazardous contamination
16 02 15* Dangerous parts removed from discarded equipment Vunousvmo.tor parts n the presence of hazardous
contamination
Wastes from waste treatment plants where waste motors
1912 XX - .
will be treated/pre-treated

WAT [ IM en 24.0



As WAT. we carry out Motor Conversion Projects. which include the replacement of inefficient electric motors used in industry that consume high
energy with energy efficient ones. and provide expertise support for the right feasibility and high contribution to our industry.

Our aim and services with these projects;

» Reducing the high electricity consumption caused by inefficient motors in the industry, reducing the electricity bills of enterprises and increasing total
efficiency.

« Conducting field measurements in enterprises for electric motors. system efficiency and energy efficiency feasibility studies.

« Providing technical support for the selection of high energy efficient, low carbon motors for the different needs of businesses.

« Providing services to businesses to benefit from KOSGEB Grants and Leasing financing services.

« Reducing the total cost of replacement by converting the waste motor into commercial value.

« Provide support for an appropriate waste management model to bring inefficient motors with 97% recycling potential into the circular economy.

« Contributing to Turkey's climate goals.

WAT [ IM en 24.0






WAT Motor Sanayi ve Ticaret A.S. reserves the right
to alter any data given in this catalogue.






